JIS MAS 403 / B6339
PRECISION TOOL HOLDERS SYSTEM

BT J] 1 & 5
CNC TOOL SYSTEMS



5 O0-N-w®

-BEEH REFERENCE DETAILS
L6
60°
L3 ~7
L4 ] ff Y
BT. NO K
5 8 3 1 89 o9

-
L7
<>

L2 a] L5

L1 )

##& Model 63

BT30 46 | 31.75 | 56.14 | 38 12.5 16.1 8 70.4 | 48.4 34 24 20 2 M12*1.75P

BT40 63 | 44.45 |75.679| 53 17 16.1 10 92.4 | 65.4 70 30 25 2 M16*2.0P

BT50 100 | 69.85|119.02| 83 25 25.7 15 | 139.8 | 101.8 90 45 35 3 M24*3.0P
S

OHERBE: <AT3

OEARHE: JIS-SCM415 or JIS SNCM220 or JIS SNCM439

OEE: HRC56°~58° BHRFE >0.8mm

OERE: <0.8um

OFMEHMME: Ra<0.5um

OJIMAIRTI BIMEE : B V BEUA=ZiRHK#HHE (DIN-69871-AD+B)

© ER, EOC, FMA, FMB, MLC, MLD. MLT, SCK, SFC, SKS. SLN (DIN, FID. JIS) . SOM, TG BE&&: @I IR AMEF L HKHA
# (DIN-69871-AD)

O TIMBETIRIFER T G6.3, TTRIMEERZHES G2.5

OZAEIME: JIS MAS 403 & B6339

@
3
(%]
ac
>
2
=
v
<
w
=
m
=
)

Features:

© Taper tolerance<AT3

© Basic Material:JIS-SCM415

© Hardness>HRC 56° Carbon depth>0.8mm

© Roundness<0.8um

© Surface roughness:Ra<0.5um

© Ifitis suitable for center coolant standard(DIN-69871-AD or B),it can be ordered

© ER. EOC. FMA, FMB. MLC. MLD. MLT, SCK, SFC. SKS. SLN(DIN. FID. JIS). SOM. TG Are in compliance
with:Water through the chuck body center type(DIN-69871-AD)

© The shank has pre-balance at G6.3,and can provide percision balance at G2.5,made by request

© Shank body standard:JIS MAS 403 and B6339



5 O-N-w ®

-BT30-PHC & EJI#A BT30-PHC HYDRAULIC TOOL HOLDER

FIG.1

D3

FIG.2

c1

/

N 07777

L3

D1

D2
D3

L4

L2

L1

RABARE C RVBNZRE C
Max. insertion depth ~ Min insertion depth
BT30-PHCO03 - 60 |108.4| 60 | 38 | 22 |28 | 46 |20|23|45| 3 * 18 * 0.75
-PHC3.175-60 [108.4| 60 | 38 | 22 | 28 | 46 | 20(23|45|3.175 * 18 * 0.75
-PHCO4- 60 108.4| 60 | 38 | 22 | 28 | 46 |21 |24 45| 4 * 24 * 0.75 =
-PHCO5- 60 108.4| 60 | 38 | 22 | 28| 46 |22(25/45| 5 * 26 * 0.75 @ s
-PHCO06- 70 118.4| 70 | 48 | 22 | 28| 46 |23|26|45| 6 37 27 M5*0.8P 0.8 )_j|;§
-PHCO08- 70 118.4| 70 |48 | 22 | 28| 46 |25|28|45| 8 37 27 M6*1.0P 0.85 g%
-PHC10- 75 123.4| 75 |53 | 22 | 36| 46 |27|30|45| 10 41 31 M8*1.0P 0.85 &
-PHC12- 75 123.4| 75 |53 |22 |36| 46 [29(32(45| 12 46 36 M10*1.0P 0.85
-PHC14- 85 133.4(85 |63 |22 |44 | 46 [31|34|45| 14 46 36 M10*1.0P 0.95
-PHC16- 90 138.4| 90 | 68 | 22 |48 | 46 [35(38|45| 16 52 39 M12*1.0P 1.05
-PHC18- 90 138.4| 90 | 68 | 22 |48 | 46 |37|40|45| 18 52 39 M12*1.0P 1.1
-PHC20- 90 138.4| 90 | 68 | 22 |48 | 46 [39|42|45| 20 52 41 M16*1.0P 115
-PHC25-105 153.4(105|83 | 22 |44 | 46 |52|55|63| 25 80 47 M16*1.0P | 2 | 1.65
-PHC32-105 153.4(105/83 | 22 |39 | 46 |57|60|68| 32 80 51 M16*1.0P | 2 1.8

g5 RA:
EF @ L1 [ Length (L1)
TJI¥FE 1R Diameter
IhBES Holder type
HEAZ T Taper size




5 O0-N-w®

BT30-PHC ‘iR EJ] 4% BT30-PHC HYDRAULIC TOOL HOLDER

25 Model D3 d . enion s i s oot
BT30-PHC05-101.6 | 150 | 101.6 [79.6 | 22 |54.5 46 | 22 |25|45| 5 * 26 * 2
-PHC06-101.6 | 150 |101.6 |79.6| 22 |54.5|46 |22.2|26|45| 6 37 27 M5*0.8P 2
-PHC08-101.6 | 150 |101.6|79.6| 22 |54.5 |46 |22.2|26|45| 8 37 27 M6*1.0P 2
-PHC10-101.6 | 150 |101.6 |79.6| 22 |55.7 |46 | 26 |30|45|10 41 31 M8*1.0P 2
-PHC12-101.6 | 150 |101.6 |79.6| 22 |56.2 |46 | 26 |32|45|12 46 36 M10*1.0P 2
-PHC14-101.6 | 150 |101.6 |79.6| 22 | 57 |46 | 30 |36|45|14 46 36 M10*1.0P 2
-PHC16-101.6 | 150 |101.6 |79.6| 22 | 57 |46 | 32 |38|45|16 49 39 M12*1.0P 2
-PHC18-101.6 | 150 |101.6 |79.6| 22 | 58 |46 | 34 |40|45|18 49 39 M12*1.0P 2
-PHC20-101.6 | 150 |101.6|79.6| 22 |59.5|46 | 36 |42 (45|20 51 41 M16*1.0P 2

MRS ER:

@
3
(%]
ac
>
2
=
v
<
w
=
m
=
)

E L1 ¥ Length (L1)
TI¥FE 1R Diameter

IHRE(XS Holder type
AR, Taper size




5 O0-N-w®

-BT40-PHC & EJI#A BT40-PHC HYDRAULIC TOOL HOLDER

FIG.1

D
BT. NO L

[z

D2
D3

Ep— [ L of 5

L3 L2
L1

—

FIG.2 C1

BS Model D3 d Mﬁ?xé:sﬁe{t\ifgge‘p(t:h %ﬁ:i{;ﬁi;}}
BT40-PHC03-75 140.4| 75|48 | 27 | 26 | 63 | 20 |23 |50 3 * 18 * 1] 128
=90 [155.4|90 |63 |27 |29 | 63|20 (23|50| 3 * 18 * 1| 1.38
-PHC3.175-75 |140.4| 75 |48 | 27 | 26 | 63 | 20 |23 |50 (3.175 * 18 * 1| 1.28
-90 [155.4|90 |63 |27 |29 | 63 | 20 |23|50|3.175 * 18 * 1| 1.38
-PHC04-75 |140.4| 75 |48 | 27 | 26| 63 | 21 |24|50| 4 * 24 * 1| 1.28
=90 | 155490 |63 |27 |29| 63|21 |24/50| 4 * 24 * 1] 138
-PHC05-75 |140.4| 75 |48 | 27 | 26| 63 | 22 |25|50| 5 * 26 * 1 1.3 E
=90 155490 |63 |27 |29| 63|22 |25/50| 5 * 26 * 1 1.4
-PHC06-75 |140.4| 75 |48 | 27 | 26| 63 | 23 |26|50| 6 37 27 M5*0.8P | 1 | 1.32 @ =
-90 155.41 90 |63 | 27 |29 | 63 | 23 |26|50| 6 37 27 M5*0.8P | 1 | 1.41 7] ‘g
-PHCO08-75 |140.4| 75|48 | 27 |26 | 63 | 25 |28|50| 8 37 27 M6*1.0P | 1 | 1.36 ﬁg
-90 155.4190 |63 | 27 |30 | 63 | 25 |28|50| 8 37 27 M6*1.0P | 1 | 1.46 /;‘jé
-PHC10-75 |140.4| 75 |48 | 27 | 26| 63 | 27 |30|50| 10 41 31 M8*1.0P | 1 | 1.43 “
-90 155.4| 90 | 63 | 27 | 35| 63 | 27 |30| 50| 10 41 31 M8*1.0P | 1 | 1.57
-PHC12-75 |140.4| 75|48 | 27 | 26| 63 | 29 |32|50| 12 46 36 M10*1.0P | 1 | 1.46
-90 155.4| 90 |63 | 27 |40 | 63 | 29 |32|50| 12 46 36 M10*1.0P | 1 | 1.62
-PHC14-75 140.4| 75 | 48 | 27 | 26| 63 | 31 |34|50| 14 46 36 M10*1.0P | 1 | 1.48
-90 155.4| 90 |63 | 27 |40 | 63 | 31 |34|50| 14 46 36 M10*1.0P | 1 | 1.68
-PHC16-75 140.4| 75 | 48 | 27 | 26| 63 | 35 |38|50| 16 75 39 M12*1.0P | 1 | 1.51
-90 155.4| 90 |63 | 27 |45 | 63 | 35 |38|50| 16 75 39 M12*1.0P | 1 1.7
-PHC18-75 [140.4| 75|48 | 27 | 26 | 63 | 37 |40|50| 18 75 39 M12*1.0P | 1 | 1.51
-90 155.4190 | 63 | 27 |46 | 63 | 37 |40|50| 18 75 39 M12*1.0P | 1 1.7
-PHC20-75 |140.4| 75|48 | 27 |26 | 63 | 39 |42|50| 20 80 41 M16*1.0P | 1 | 1.52
-90 155.4| 90 | 63 | 27 |47 | 63 | 39 |42|50| 20 80 41 M16*1.0P | 1 | 1.75
-PHC25-105 |170.4|105| 78 | 27 | 50 | 63 | 52 |55|63 | 25 80 47 M16*1.0P | 1 | 2.05
-PHC32-105 |170.4|105| 78 | 27 |48 | 63 | 60 |63 |73 | 32 90 51 M16*1.0P | 2 | 2.34
-PHC40-120 |185.4|120| 93 | 27 63 40 90 M16*1.0P | 2 3
-PHC42-120 |185.4|120| 93 | 27 63 42 90 M16*1.0P | 2 3

A& ER:

BT40)E - ['8] - @
L1 & Length (L1)
TI#FE 12 Diameter
Ih8

AEXS Holder type
HARAZ T, Taper size




5 O0-N-w®

BT40-PHC /& EJJ#§  BT40-PHC HYDRAULIC TOOL HOLDER

S Model D3 d R e

BT40-PHC05-140 | 205.4|140|113| 27 |43 | 63 |22 |25|/45| 5 * 26 * 2.1
-PHC06-140 |205.4(140(113| 27 |43 | 63 | 23 [26|45| 6 37 27 M5*0.8P 2.1
-PHC08-140 205.4(140(113| 27 |44 | 63 | 25 [28|45| 8 37 27 M6*1.0P 2.1
-PHC10-140 205.4(140(113| 27 |44 | 63 | 27 |30| 45|10 41 31 M8*1.0P 2.1
-PHC12-140 205.4(140(113| 27 |44 | 63 | 29 |32|45|12 46 36 M10*1.0P 2.1
-PHC14-140 205.4(140(113| 27 |44 | 63 | 31 |34|45 |14 46 36 M10*1.0P 2.2
-PHC16-140 205.4(140(113| 27 |47 | 63 | 35 38|45 |16 52 42 M12*1.0P 2.2
-PHC18-140 205.4(140(113| 27 |47 | 63 | 37 40| 45|18 52 42 M12*1.0P 2.2
-PHC20-140 205.4(140(113| 27 |47 | 63 | 39 [42|45 |20 52 42 M16*1.0P 2.2
-PHC25-140 205.4(140(113| 27 |47 | 63 | 52 |55|57 |25 57 47 M16*1.0P 2.8
-PHC32-140 205.4(140(113| 27 |47 | 63 | 60 |63|62 |32 61 51 M16*1.0P 2.9

AR ER:

@
3
(%]
ac
>
2
=
v
<
w
=
m
=
)

BT40)E qm
L1 ¥E Length (L1)

JIMFE 1R Diameter

IHEE{X S Holder type
AT Taper size




5 O0-N-w®

-BT40-JPHC #&EJI#  BT40-JPHC HYDRAULIC TOOL HOLDER

%S Model I e eeniog s i o et
BT40-JPHC05-150 |215.4|150(|123| 27 |103| 63 | 21 |25|50| 5 * 26 * 2.1
-200 |265.4|200(173| 27 |153| 63 | 21 [25|50| 5 * 26 * 2.2
-250 315.4(250(223| 27 |203| 63 | 21 |25|50 | 5 * 26 * 2.3
-JPHC06-150 | 215.4|150|123| 27 |103| 63 | 22 [26|50| 6 37 27 M5*0.8P 2.1
-200 |265.4(200(173| 27 |153| 63 | 22 |26|50 | 6 37 27 M5*0.8P 2.2
-250 |315.4|250(223| 27 |203| 63 | 22 |26|50 | 6 37 27 M5*0.8P 2.3
-JPHC08-150 |215.4|150(123| 27 |104| 63 | 24 |28|50 | 8 37 27 M6*1.0P 2.1
-200 |265.4|200|173| 27 |154| 63 | 24 |28|50| 8 37 27 M6*1.0P 2.2
-250 [315.4|250(223| 27 |204| 63 | 24 |28 |50 | 8 37 27 M6*1.0P 2.3
-JPHC10-150 |215.4|150|123| 27 |104| 63 | 26 |30|50 (10 41 31 M8*1.0P 2.1
-200 |265.4(200(173| 27 |154| 63 | 26 |30| 50 |10 41 31 M8*1.0P 2.2
-250 |315.4|250(223| 27 |204| 63 | 26 |30| 50 |10 41 31 M8*1.0P 2.3
-JPHC12-150 |215.4|150(123| 27 |105| 63 | 28 |32|50 |12 46 36 M10*1.0P 2.1 E
-200 |265.4|200(173| 27 |155| 63 | 28 |32|50 |12 46 36 M10*1.0P 2.2
-250 |315.4|250(223| 27 |204| 63 | 28 |32| 50 |12 46 36 M10*1.0P 2.3 = 3
-JPHC14-150 |215.4|150(123| 27 |105| 63 | 30 |34 |50 (14 46 36 M10*1.0P 2.1 %%
-200 |265.4|200(173| 27 |155| 63 | 30 |34|50 |14 46 36 M10*1.0P 2.2 ’;‘/"I‘jg
-250 |315.4|250(223| 27 |204| 63 | 30 |34|50 |14 46 36 M10*1.0P 2.3
-JPHC16-150 |215.4|150|123| 27 |106| 63 | 34 |38 |50 |16 49 39 M12*1.0P 2.2
-200 |265.4|200(173| 27 |156| 63 | 34 |38|50 |16 49 39 M12*1.0P 2.3
-250 |315.4|250(223| 27 |206| 63 | 34 |38|50 |16 49 39 M12*1.0P 2.4
-JPHC18-150 |215.4|150(123| 27 |107| 63 | 36 |40|50 |18 49 39 M12*1.0P 2.2
-200 |265.4|200(173| 27 |157| 63 | 36 |40| 50 |18 49 39 M12*1.0P 2.3
-250 |315.4|250(223| 27 |207| 63 | 36 |40| 50|18 49 39 M12*1.0P 2.4
-JPHC20-150 |215.4|150|123| 27 |108| 63 | 38 |42 | 50|20 51 41 M16*1.0P 2.3
-200 |265.4|200(173| 27 |158| 63 | 38 |42|50 |20 51 41 M16*1.0P 2.4
-250 |315.4|250(223| 27 |208| 63 | 38 |42|50 |20 51 41 M16*1.0P 2.5

ARSI ER:

BT40[E -8 - @
L1 KJE Length (L1)
TI¥FE 1R Diameter
IHEEfLS Holder type

AT Taper size




5 O-N-w ®

-BT40-PHC #EEJJ#8  BT40-PHC HYDRAULIC TOOL HOLDER

= BABARE C BOBARE C1
S Model D2 o Max. insertion dyt;pth Min insertion ;pth
BT40-PHC20-32.5 | 979 | 32.5 [5.5| 27 | 63 | 34 | 49.5 | 20 51 41 M16*1.0P 0.7
A& LA

BT40§ - - @
L1 #EE Length (L1)
TIFFE1Z Diameter
)|

IHEE{X S Holder type
SRR Taper size

m

@
|
%)
I
>
z
=
%)
2
\
=
m
=
]

@
s |
7]
Liz]
#
il




5 O0-N-w®

-BT50-PHC & E IR BT50-PHC HYDRAULIC TOOL HOLDER

S Model d e
BT50-PHCO05- 90 |191.8| 90 | 52 | 38 | 32 |100| 22 [25|49.5| 5 * 26 * 4.2
-120 |221.8|120|82 | 38 |44 |100| 22 [25|49.5| 5 * 26 * 4.5
-PHC06- 90 191.8(90 | 52 | 38 | 32 (100| 23 [26|49.5| 6 37 27 M5*0.8P 4.2
-120 |221.8|120|82 | 38 |44 |100| 23 [26|49.5| 6 37 27 M5*0.8P 4.5
-PHC08- 90 191.8(90 | 52 | 38 | 32 (100| 25 [28|49.5| 8 37 27 M6*1.0P 4.2
=120 |221.8|120|82 | 38 |44 |100| 25 [28|49.5| 8 37 27 M6*1.0P 4.5
-PHC10- 90 191.8(90 | 52 | 38 | 32 |100| 27 [30|49.5|10 41 31 M8*1.0P 4.2
-120 |221.8|/1201 82| 38 |44 |100| 27 |30(49.5|10 41 31 M8*1.0P 4.5
-PHC12- 90 191.8(90 | 52 | 38 | 32 |100| 29 [32|49.5|12 46 36 M10*1.0P 4.3
=120 |221.8|120|82 | 38 |44 |100| 29 [32|49.5|12 46 36 M10*1.0P 4.5 E
-PHC14- 90 191.8(90 | 52 | 38 | 32 |100| 31 [34|49.5|14 46 36 M10*1.0P 4.3
-120 |221.8|120|82 | 38 | 44 |100| 31 [34|49.5|14 46 36 M10*1.0P 4.6 %g
-PHC16- 90 191.8(90 | 52 | 38 | 32 |100| 35 [38|49.5|16 75 39 M12*1.0P 4.3 g%
-120 |221.8|120| 82 | 38 |48 |100| 35 [38|49.5|16 75 39 M12*1.0P 4.6 §IJ§
-PHC18- 90 191.81 90 | 52| 38 | 32 |100| 37 |40[49.5/18 75 39 M12*1.0P 4.4
-120 |221.8|120|82 | 38 |48 |100| 37 [{40|49.5|18 75 39 M12*1.0P 4.6
-PHC20- 90 191.8(90 | 52 | 38 | 32 |100| 39 [42|49.5|20 75 41 M16*1.0P 4.4
-120 |221.8|/1201 82| 38 |48 |100| 39 [{42]49.5|20 75 41 M16*1.0P 4.7
-PHC25-120 |221.8|120|/ 82| 38 | 48 |100| 53 |57 | 63 |25 80 47 M16*1.0P 4.9
-PHC32-120 |221.8|120/ 82 | 38 | 48 |100| 58 |62| 70 |32 90 51 M16*1.0P 5.2
-PHC40-120 |221.8(120| 82 | 38 100 40 90 61 M16*1.0P 6
-PHC42-120 |221.8|120| 82 | 38 100 42 90 61 M16*1.0P 6
-PHC50-120 |221.8(120| 82 | 38 100 50 90 61 M16*1.0P 7
A& ER:

@Ll K Length (L1)
JIFFE 1R Diameter
IHEEFLS Holder type
SHIRFZ T, Taper size




5 0-N-w®

-BT50-PHC & EJJ#8  BT50-PHC HYDRAULIC TOOL HOLDER

2% Model o oo e | i o
BT50-PHC05-140 |241.8(140(102| 38 | 29 |100| 22 |25|49.5| 5 * 26 * 4.8
-200 |301.8|200(162| 38 | 29 [100| 22 |25|49.5| 5 * 26 * 5.2
-PHC06-140 |241.8|140(102| 38 | 29 [100| 23 [26|49.5| 6 37 27 M5*0.8P 4.8
-200 [301.8(200(|162| 38 | 29 |100| 23 |26|49.5| 6 37 27 M5*0.8P 5.2
PHC08-140 |241.8|140|102| 38 | 30 |100| 25 |28|49.5| 8 37 27 M6*1.0P 4.8
-200 |301.8(200|162| 38 | 30 |100| 25 |28|49.5| 8 37 27 M6*1.0P 5.2
-PHC10-140 |241.8(140(102| 38 | 35 |100| 27 |30|49.5|10 41 31 M8*1.0P 4.8
-200 |301.8(200|162| 38 | 35 |100| 27 |30/49.5|10 41 31 M8*1.0P 5.2
-PHC12-140 |241.8|140|102| 38 |40 |100| 29 [32|49.5|12 46 36 M10*1.0P 4.8
-200 |301.8(200|162| 38 | 40 |100| 29 |32/49.5|12 46 36 M10*1.0P 5.2
-PHC14-140 |241.8(140(102| 38 | 40 |100| 31 |34|49.5 |14 46 36 M10*1.0P 4.8
-200 |301.8(200|162| 38 | 40 |100| 31 |34/49.5|14 46 36 M10*1.0P 5.2
-PHC16-140 |241.8|140|102| 38 |45 |100| 35 [38|49.5|16 75 39 M12*1.0P 4.8
; -200 |301.8(200|162| 38 | 45 |100| 35 |38/49.5|16 75 39 M12*1.0P 5.2
% -PHC18-140 |241.8|140|102| 38 | 46 |100| 37 [40|49.5|18 75 39 M12*1.0P 4.9
§ -200 |301.8(200|162| 38 | 46 |100| 37 |40/49.5|18 75 39 M12*1.0P 5.3
-PHC20-140 |241.8(140(102| 38 | 42 |100| 39 |42|49.5|20 75 41 M16*1.0P 4.9
-200 |301.8(200|162| 38 | 42 |100| 39 |42|49.5|20 75 41 M16*1.0P 5.3
-PHC25-140 |241.8|140(102| 38 | 48 |100| 53 |57| 63 |25 80 47 M16*1.0P 5.6
-200 |301.8|200|162| 38 | 48 |100| 53 |57 | 63 |25 80 47 M16*1.0P 6
-PHC32-140 |241.8(140(102| 38 | 50 |100| 58 |62| 70 |32 90 51 M16*1.0P 5.8
-200 |301.8(200|162| 38 | 50 |100| 58 |62| 70 |32 90 51 M16*1.0P 6.2
R 5 ER:
T le KE Length (L1)
TI¥FE 1R Diameter
IhEELS Holder type
AR, Taper size



5 O0-N-w®

-BT50-JPHC & E ]Ik BT50-JPHC HYDRAULIC TOOL HOLDER

85 Model g BABAREC BOBARE CI

Max. insertion depth  Min insertion depth

BT50-JPHC05-160 |261.8|160|122| 38 |104|100| 22 |25(49.5| 5 * 26 * 4.8
-200 | 301.8/200|162| 38 |144|100| 22 |25(49.5| 5 * 26 * 5.2
-250 | 351.8/250(212| 38 |194|100| 22 |25(49.5| 5 * 26 * 5.6
-JPHC06-160 | 261.8 (160|122| 38 |104|100| 23 [26(49.5| 6 37 27 M5*0.8P 4.8
-200 |301.8|200(162| 38 |144|100| 23 |26|49.5| 6 37 27 M5*0.8P 5.2
-250 |351.8(250(212| 38 [194|100| 23 |26|49.5| 6 37 27 M5*0.8P 5.6
-JPHC08-160 |261.8|160(122| 38 |104|100| 25 [28|49.5| 8 37 27 M6*1.0P 4.8
-200 |301.8(200|162| 38 |{144|100| 25 [28|49.5| 8 37 27 M6*1.0P 5.2
-250 |351.8250(212| 38 [194|100| 25 |28|49.5| 8 37 27 M6*1.0P 5.6
-JPHC10-160 | 261.8|160(122| 38 |105|100| 27 |30{49.5|10 41 31 M8*1.0P 4.8
-200 |301.8200({162| 38 [145|100| 27 |30{49.5|10 41 31 M8*1.0P 5.2
-250 |351.8|250(212| 38 |{195|100| 27 |30|49.5|10 41 31 M8*1.0P 5.6
-JPHC12-160 |261.8(160|122| 38 |105|100| 29 [32(49.5|12 46 36 M10*1.0P 4.8
-200 |301.8(200({162| 38 [145|100| 29 |32|49.5|12 46 36 M10*1.0P 5.2
-250 |351.8(250(212| 38 [195|100| 29 |32|49.5|12 46 36 M10*1.0P 5.6
-JPHC14-160 |261.8|160(122| 38 |107|100| 31 |34|49.5|14 46 36 M10*1.0P 4.8 E
-200 |301.8200({162| 38 [147|100| 31 |34|49.5|14 46 36 M10*1.0P 5.2 @
-250 |351.8(250(212| 38 [197|100| 31 |34|49.5|14 46 36 M10*1.0P 5.6 )_j|§
-JPHC16-160 |261.8|160(122| 38 |107|100| 35 |38|49.5|16 75 39 M12*1.0P 5 ﬁz
-200 |301.8|200(162| 38 |147|100| 35 |38|49.5|16 75 39 M12*1.0P 5.4 ’;ﬁé
-250 |351.8|250(212| 38 |197|100| 35 |38|49.5|16 75 39 M12*1.0P 5.8
-JPHC18-160 |261.8|160(122| 38 |108|100| 37 |40|49.5|18 75 39 M12*1.0P 5
-200 |301.8200({162| 38 [148|100| 37 |40|49.5|18 75 39 M12*1.0P 5.4
-250 |351.8(250(212| 38 [198|100| 37 |40|49.5|18 75 39 M12*1.0P 5.8
-JPHC20-160 |261.8|160(122| 38 |108|100| 39 |42 49.5|20 75 41 M16*1.0P 5
-200 |301.8200(162| 38 [148|100| 39 |42|49.5|20 75 41 M16*1.0P 5.4
-250 |351.8|250(212| 38 {198|100| 39 |42|49.5|20 75 41 M16*1.0P 5.8
-JPHC25-160 |261.8(160|122| 38 |110|100| 53 [57| 63 |25 80 47 M16*1.0P 5.2
-200 |301.8|200(162| 38 |150|{100| 53 |57| 63 |25 80 47 M16*1.0P 5.6
-250 |351.8(250(212| 38 [200|100| 53 |57| 63 |25 80 47 M16*1.0P 6
-JPHC32-160 |261.8|160|122| 38 |110{100| 58 |63 | 70 |32 90 51 M16*1.0P 6
-200 |301.8200({162| 38 [150|100| 58 |63| 70 |32 90 51 M16*1.0P 6.2
-250 |351.8250(212| 38 [200|100| 58 |63| 70 |32 90 51 M16*1.0P 6.4

MRSt RR:

E L1 ¥ E Length (L1)
JIFFE 1R Diameter
IHEEfLS Holder type

T Taper size




5 O0-N-w®

BT50-PHC & &£ JJ48  BT50-PHC HYDRAULIC TOOL HOLDER

c
C1
D
BT. NO %
ﬁ Z
7L7 7” Tj a S
_L3 ) L2
L1
L

S BRAEANZEE C B ENRE C
#S Model d Max. insertit;n ;pth Min insertic’m dzepth
BT50-PHC32-51 152.8 51 13|38 | 100 | 46 | 70.5 | 32 71 61 M16*1.0P 3.8
KA 5 ER:

? $Ll P Length (L1)
JI#FE 1R Diameter
I58

BE{L 2 Holder type
SRR Taper size

m

@
|
%)
I
>
z
=
%)
2
\
=
m
=
]

@©
=
7]
Liz]
EXS
5




®
*5 O-N-W BT M

-BT30-SPHC {#EEJJ#  B730-SPHC HYDRAULIC TOOL HOLDER

215 Model d| e Tl
BT30-SPHCO03- 85 |133.4| 85|63 | 22 |42 | 46 | 11 45 | 3 * 18 * 1.1
-SPHC04- 85 |133.4| 85|63 | 22 |42 | 46 | 11 45 | 4 * 24 * 1.1
-SPHCO5- 85 |133.4| 85|63 |22 (42|46 | 12 45 | 5 * 26 * 1.4
-SPHC06-115 [163.4|115/93 | 22 |74 | 46 | 13 45 | 6 37 27 M5%0.8P 1.4
-SPHC08-115 |163.4|115/93 | 22 | 74 | 46 | 15 45 | 8 37 27 M6*1.0P 1.4
-SPHC10-115 [163.4|115/ 93 | 22 |74 | 46 | 17 45 |10 41 31 M8*1.0P 1.4
-SPHC12-115 |163.4|115|/93 | 22 | 75| 46 | 19 45 |12 46 36 M10*1.0P 1.4
FMAB AR
T T $Ll E Length (L1)
JIFFE 1R Diameter
IHAEX S Holder type E
SRS Taper size

@
=
(%)
ac
>
z
=
(%)
<
%l
=
m
=
v}

vs)
=
7]
2]
ES
5




5 0-N-w®

-BT40-SPHC iREJI & BT40-SPHC HYDRAULIC TOOL HOLDER

2S Model e
BT40-SPHCO03- 90 |155.4|90 | 63 | 27 |42 | 63 | 11 46 | 3 * 18 * 1.1
-120 [185.4(120|193 | 27 | 72| 63 | 11 46 | 3 * 18 * 1.3
-SPHC04- 90 |155.4/90 | 63 | 27 |42 |63 | 11 46 | 4 * 24 * 1.1
-120 [185.4(120| 93 | 27 | 72| 63 | 11 46 | 4 * 24 * 1.3
-SPHCO05- 90 |155.4|90 | 63 | 27 |42 | 63 | 12 46 | 5 * 26 * 1.4
-120 [185.4(120|93 | 27 | 72| 63 | 12 46 | 5 * 26 * 1.3
-SPHC06-120 |185.4|120|{93 | 27 |74 | 63 | 13 46 | 6 37 27 M5*0.8P 1.4
-150 [215.4|150(123| 27 |104| 63 | 13 46 | 6 37 27 M5*0.8P 1.5
-200 |265.4|200|173| 27 [154| 63 | 13 46 | 6 37 27 M5*0.8P 1.7
-SPHC08-120 (185.4|120|93 | 27 |74 | 63 | 15 46 | 8 37 27 M6*1.0P 1.4
-150 |215.4|150(|123| 27 [104| 63 | 15 46 | 8 37 27 M6*1.0P 1.5
-200 |265.4|200|173| 27 [154| 63 | 15 46 | 8 37 27 M6*1.0P 1.7
-SPHC10-120 (185.4|120|93 | 27 |74 | 63 | 17 46 |10 41 31 M8*1.0P 1.4
-150 [215.4|150(123| 27 |104| 63 | 17 46 |10 41 31 M8*1.0P 1.5
-200 |265.4|200|173| 27 [154| 63 | 17 46 |10 41 31 M8*1.0P 1.7
-SPHC12-120 |185.4(120|93 | 27 | 75| 63 | 19 46 |12 46 36 M10*1.0P 1.4
z -150 |215.4|150|123| 27 [105| 63 | 19 46 |12 46 36 M10*1.0P 1.5
% -200 |265.4|200|173| 27 [154| 63 | 19 46 |12 46 36 M10*1.0P 1.7
é -SPHC14-120 |185.4(120| 93 | 27 | 75 | 63 | 21 46 |14 46 36 M10*1.0P 1.4
-150 |215.4|150|123| 27 |105| 63 | 21 46 |14 46 36 M10*1.0P 1.5
-200 |265.4|200|173| 27 |154| 63 | 21 46 |14 46 36 M10*1.0P 1.7
-SPHC16-120 |185.4|120|93 | 27 | 75| 63 | 23 50 |16 49 39 M12*1.0P 1.5
-150 [215.4|150(123| 27 |105| 63 | 23 50 |16 49 39 M12*1.0P 1.6
-SPHC16-200 |265.4|200(173| 27 |154| 63 | 23 50 |16 49 39 M12*1.0P 1.8
-SPHC18-120 |185.4(120|93 | 27 | 75| 63 | 25 50 (18 49 39 M12*1.0P 1.5
-150 |215.4|150|123| 27 [105| 63 | 25 50 |18 49 39 M12*1.0P 1.6
-200 [265.4|200(173| 27 |154| 63 | 25 50 (18 49 39 M12*1.0P 1.8
-SPHC20-120 |185.4|120| 93 | 27 | 75| 63 | 27 50 |20 51 41 M16*1.0P 1.6
-150 [215.4|150(123| 27 |105| 63 | 27 50 |20 51 41 M16*1.0P 1.7
-200 |265.4|200|173| 27 (154| 63 | 27 50 |20 51 41 M16*1.0P 1.9
FA& IR
BT4018 - [i§] - qﬂ
ETE L1 K Length (L1)
JIFFE 1R Diameter
IHEEfLS Holder type
SENRAZ T Taper size



5 O0-N-w®

-BT50-SPHC i&EJJ#8  BT50-SPHC HYDRAULIC TOOL HOLDER

=5 Model b2 B oD D e eriog et oserion ot
BT50-SPHCO05-150 251.8 (150(112| 38 | 80 [100| 12 50 | 5 * 26 * 4.2
-200 |301.8|200|162| 38 |130|100| 12 50 | 5 * 26 * 4.4
-250 |351.8|250|212| 38 |180|100| 12 50 | 5 * 26 * 4.6
-300 |401.8|300(262| 38 [230|100| 12 50 | 5 * 26 * 4.8
-SPHC06-150 251.8150(112| 38 | 80 |100| 13 50 | 6 37 27 M5*0.8P | 4.2
-200 |301.8|200(162| 38 {130|100| 13 50 | 6 37 27 M5*0.8P | 4.4
-250 |351.8|250(212| 38 |180|100| 13 50 | 6 37 27 M5*0.8P | 4.6
-300 |401.8|300(262| 38 |230|{100| 13 50 | 6 37 27 M5*0.8P | 4.8
-SPHC08-150 |251.8|150|112| 38 | 80 |[100| 15 50 | 8 37 27 M6*1.0P 4.2
-200 |301.8|200(162| 38 |130{100| 15 50 | 8 37 27 M6*1.0P 4.4
-250 |351.8(250(212| 38 |180|100| 15 50 | 8 37 27 M6*1.0P 4.6
-300 |401.8|300(262| 38 [230{100| 15 50 | 8 37 27 M6*1.0P 4.8
-SPHC10-150 |251.8|150|112| 38 | 80 |100| 17 50 |10 41 31 M8*1.0P 4.3
-200 |301.8|200|162| 38 |130({100| 17 50 |10 41 31 M8*1.0P 4.5
-250 |351.8|250(212| 38 |180|100| 17 50 |10 41 31 M8*1.0P 4.7
-300 |401.8|300(262| 38 [230{100| 17 50 [10 41 31 M8*1.0P 4.9
-SPHC12-150 |251.8|150(112| 38 | 80 |100| 19 50 |12 46 36 M10*1.0P | 4.3 E
-200 |301.8|200(162| 38 |{130{100| 19 50 [12 46 36 M10*1.0P | 4.5
-250 |351.8|250(212| 38 |180|100| 19 50 |12 46 36 M10*1.0P | 4.7 ® g
-300 |401.8|300(262| 38 [230|/100| 19 50 |12 46 36 M10*1.0P | 4.9 e
-SPHC14-150 |251.8|150(112| 38 | 80 [100| 21 50 |14 46 36 M10*1.0P | 4.4 g%
-200 |301.8|200(162| 38 |{130{100| 21 50 (14 46 36 M10*1.0P | 4.6 53
-250 |351.8|250(212| 38 |180(100| 21 50 (14 46 36 M10*1.0P | 4.8
-300 |401.8 (300|262 38 |230|100| 21 50 |14 46 36 M10*1.0P 5
-SPHC16-150 |251.8(150(112| 38 | 80 |100| 23 50 |16 75 39 M12*1.0P | 4.4
-200 |301.8|200(162| 38 {130|100| 23 50 |16 75 39 M12*1.0P | 4.6
-250 |351.8(250(212| 38 |180|100| 23 50 |16 75 39 M12*1.0P | 4.8
-300 |401.8|300(262| 38 |230|100| 23 50 |16 75 39 M12*1.0P 5
-SPHC18-150 |251.8|150|112| 38 | 80 |100| 25 50 |18 75 39 M12*1.0P | 4.5
-200 |301.8|200|162| 38 |130|100| 25 50 |18 75 39 M12*1.0P | 4.7
-250 |351.8(250(212| 38 |180|100| 25 50 |18 75 39 M12*1.0P | 4.9
-300 |401.8|300(262| 38 [230|100| 25 50 |18 75 39 M12*1.0P | 5.1
-SPHC20-150 |251.8|150|112| 38 | 80 |100| 27 50 |20 75 41 M16*1.0P | 4.6
-200 |301.8|200(162| 38 |130|100| 27 50 |20 75 41 M16*1.0P | 4.8
-250 |351.8(250(212| 38 |180|100| 27 50 |20 75 41 M16*1.0P 5
-300 |401.8|300(262| 38 |230|100| 27 50 |20 75 41 M16*1.0P | 5.2
MRS RA:

f L1 £ Length (L1)
JI#FE 1R Diameter
IHEEfLS Holder type

H$RAZ T Taper size




5 O0-N-w®

‘BT30-ZPHC AZF#®EJI4W  BT30-zZPHC ZERO FIT HYDRAULIC TOOL HOLDER

X FIPEEIRET

zero fit screw
D G
BT.NO /é%}/ r 2ém
é 77

L3

Y= BRABARE C DBARE Q1
BS Model d Max. insertitl)n ;pth Min inserti(l)n dxepth
BT30-ZPHC06- 90 |138.4| 90 | 68 | 22 (48 | 46 | 23 |26| 45 | 6 41 31 M5*0.8P 0.8
-ZPHCO08- 90 |138.4(90 | 68 | 22 |48 | 46 | 25 |28| 45 | 8 41 31 M6*1.0P 0.8
-ZPHC10- 90 |138.4(90 |68 |22 | 51|46 |27 [30| 45 |10 48 38 M8*1.0P 0.8
-ZPHC12- 95 |143.4(95 |73 |22 | 56|46 |29 [32| 45 |12 53 43 M10*1.0P 0.9
-ZPHC16-100 |148.4(100| 78 | 22 | 58 | 46 | 35 [38| 45 |16 58 48 M12*1.0P 1.1
-ZPHC20-105 |153.4(105| 83 | 22 | 63 | 46 | 39 [42| 45 |20 58 48 M16*1.0P 1.2
A& ER:
T $L1 K E Length (L1)
TI¥FE 1R Diameter
IhBefLS Holder type
HAZ T Taper size

@
3
(%]
ac
>
2
=
v
<
w
=
m
=
)




®
*5 O-N-W BT M

‘BT40-ZPHC BZ®EJIW  BT40-zPHC ZERO FIT HYDRAULIC TOOL HOLDER

X FIFEEAZET

zero fit screw

2

BT. NO

D2
D3

-t 5

Y= BABARE C DBARE C1
BS Model d M:x. insertiz;n dS;_pth Mxin inserti(l)n d%epth
BT40-ZPHCO05- 90 |155.4|90 | 63 | 27 |44 | 63 | 22 [25| 50 | 5 * 26 * 1.4
-ZPHCO06- 90 |155.4|90 |63 |27 |44 |63 |23 (26| 50 |6 41 31 M5*0.8P 1.4
-ZPHCO08- 90 |155.4|90 |63 |27 |44 |63 |25 (28| 50 |8 41 31 M6*1.0P 1.4
-ZPHC10- 95 |160.4| 95|68 | 27 |49 | 63 | 27 [30| 50 |10 48 38 M8*1.0P 1.5
-ZPHC12-100 |165.4(100| 73 | 27 | 54 | 63 | 29 [32| 50 |12 53 43 M10*1.0P 1.6
-ZPHC16-105 |170.4[105| 78 | 27 | 63 | 63 | 35 [38| 50 |16 58 48 M12*1.0P 1.7
-ZPHC20-105 |170.4[105| 78 | 27 | 63 | 63 | 39 (42| 50 |20 58 48 M16*1.0P 1.8
-ZPHC25-110 |175.4|110|83 | 27 | * | 63 | 53 |57| 57 |25 67 57 M16*1.0P 2.3
-ZPHC32-115 |180.4(115/88 | 27 | * | 63 | 58 [62| 62 |32 71 61 M16*1.0P 2.6
A& ER: E
BT40[8 -8 - %ﬂ
@ g
L1 K Length (L1) )‘j‘ 2
JIFFE 1R Diameter WE
IHEE{X S Holder type ,zég
HERAZ T Taper size 5l &




5 O0-N-w®

‘BT50-ZPHC AZF®EJIW  BT50-2ZPHC ZERO FIT HYDRAULIC TOOL HOLDER

T EFEEIRET

zero fit screw

o

C
C1

L4

L3 L2
L1

=
|
— NN y

25 Model d o oot kst oo st
BT50-ZPHC05-105 |206.8|105| 67 | 38 | 47 |100| 21 |25| 50 | 5 * 26 * 4.2
-ZPHC06-105 |206.8|105| 67 | 38 | 47 |100| 23 |26| 50 | 6 41 31 M5*0.8P 4.2
-ZPHC08-105 |206.8|105| 67 | 38 | 47 |100| 25 |28| 50 | 8 41 31 M6*1.0P 4.2
-ZPHC10-110 |211.8|110| 72 | 38 | 52 |100| 27 |30| 50 |10 48 38 M8*1.0P 4.3
-ZPHC12-115 |216.8|115| 77 | 38 | 57 |100| 29 |32| 50 |12 53 43 M10*1.0P 4.3
-ZPHC16-120 |221.8|120| 82 | 38 | 62 |100| 35 |38| 50 |16 58 48 M12*1.0P 4.5
-ZPHC20-120 |221.8|120| 82 | 38 | 62 |100| 39 |42| 50 |20 58 48 M16*1.0P 4.6
-ZPHC25-125 |226.8(125| 87 | 38 | * |100| 53 |57 | 57 |25 67 57 M16*1.0P 5.2
-ZPHC32-125 |226.8(125| 87 | 38 | * |100| 58 |62| 62 |32 71 61 M16*1.0P 5.4
; A& LRA:
§ T %1 K Length (L1)
TIWFFE 1R Diameter
IHREX S Holder type
AR Taper size



®
*5 O-N-W BT M

-BT-SLK #A 48 B i 4% BT-SLK SEMI-FINISHED SHRINK FIT CHUCK

FlG.1 D
BT. NO 3°
1Al ST.D
L3 L2
L1
L
FIG. 2 D

FIG.3

#M #% Model

BT30-SLK12- 45 93.4 45 23 22 = = 46 40 = 38 1

BT40-SLK12- 45 110.4 45 18 27 = = 63 40 = 38 1 115
- 75 1404 | 75 | 48 | 27 | - - | 63 424 - | 38 |1 1.45 E
-135 2004 | 135 | 108 | 27 | 89 | - | 63 | 47 | - | 38 |2 2.2
-165 2304 165 | 138 | 27 | 89 | - | 63 | 47 | - | 38 |2 2.65 o
-200 2654 | 200 | 173 | 27 | 89 | 145 | 63 | 47 | 52 | 38 |3 3.25 .y
-225 2904 | 225 | 198 | 27 | 89 [ 145 | 63 | 47 | 52 | 38 | 3 3.7 %%

A& ER: 5a

$Ll [ Length (L1)
JI#FE 1R Diameter
IHEEfLS Holder type

AR, Taper size




5 O0-N-w®

-BT50-SLK # 45 B it i BT50-SLK SEMI-FINISHED SHRINK FIT CHUCK

=—= =—= = g

M

L2
L1

fic 4 Accessories

#M 1% Model

E BT50-SLK12- 75 176.8 75 37 38 = 100 41 = 38 1
-105 206.8 105 67 38 12 100 43 65 38 2

g = -135 236.8 135 97 38 12 100 46.5 65 38 2
7] -165 266.8 165 127 38 12 100 50 65 38 2
gffﬁ -200 301.8 200 162 38 12 100 53.5 65 38 2
g ’?ﬂ -225 326.8 225 187 38 12 100 56 65 38 2
-265 366.8 265 227 38 12 100 60 65 38 2

-315 416.8 315 277 38 12 100 65.5 65.5 38 2

AR RA:

T ?Ll K Length (L1)
##[JA/J\ Connection size

IhRE(X S Holder type
IR Taper size



5 O0-N-w®

FIG. 1

M10*1.5

FIG. 2

M10%1. 5

R4 SSafety sign

2EQ
7 Thickness
I — DY
RERBKE
L5 Minimum clamping length
TNERKBAKE

Maximum inse

rtion depth

d FIG
CR12- 3- 35 80 35 22 3.5 9.5 12 = = 7.5 9.9 3 2.25 1 0.2
- 55 100 55 42 3.5 9.5 12 = = 7.5 12 3 2.25 1 0.2 E
- 80 125 80 67 BES 9.5 12 = = 7.5 14.6 3 2.25 1 0.2
- 4- 35 80 35 22 3.5 9.5 16 = = 10 12.4 4 3 1 0.2 EE
- 55 100 55 42 3.5 9.5 16 = = 10 14.5 4 3 1 0.2 ﬂ%
- 80 125 80 67 3.5 9.5 16 = = 10 171 4 3 1 0.2 gg
-110 155 | 110 97 3.5 9.5 16 = = 10 20.2 4 3 1 0.25 5l 5
-5-35 80 35 22 3.5 9.5 18 = = 11 13.3 5 3 1 0.2
- 55 100 55 42 3.5 9.5 18 = = 11 15.4 5 3 1 0.2
- 80 125 80 67 3.5 9.5 18 = = 11 18.1 5 3 1 0.2
-110 155 | 110 97 3.5 9.5 18 = = 11 21.2 5 3 1 0.25
- 6- 35 80 35 22 3.5 9.5 23 = = 12 14.4 6 3 1 0.2
- 55 100 55 42 3.5 9.5 23 = = 12 16.5 6 3 1 0.2
- 80 125 80 67 3.5 9.5 23 = = 12 19.1 6 3 1 0.2
-110 155 | 110 97 3.5 9.5 23 = = 12 22.2 6 3 1 0.25
= &= 25 80 35 22 3.5 9.5 27 = = 14 16.4 8 3 1 0.2
- 55 100 55 42 3.5 9.5 27 = = 14 18.5 8 3 1 0.2
- 80 125 80 67 3.5 9.5 27 = = 14 21.1 8 3 1 0.3
-110 155 | 110 97 3.5 9.5 27 = = 14 24.2 8 3 1 0.35
-10- 35 80 35 22 3.5 9.5 32 42 = 16 18.4 10 3 1 0.2
- 55 100 55 42 3.5 9.5 32 42 = 16 20.5 10 3 1 0.2
- 80 125 80 67 3.5 9.5 32 42 = 16 231 10 3 1 0.3
-110 155 | 110 97 3.5 9.5 32 42 86 16 251 10 3 2 0.35
-12- 35 80 35 22 3.5 9.5 37 48 = 20 22.4 12 4 1 0.2
- 55 100 55 42 3.5 9.5 37 48 = 20 24.5 12 4 1 0.2
- 80 125 80 67 3.5 9.5 37 48 48 20 25.5 12 4 2 0.3
-110 155 | 110 97 3.5 9.5 37 48 48 20 251 12 4 2 0.35




@
=
%)
ac
>
2
=
v
<
u
=
m
=
)

5 0-N-w®

-CS REEERT (FEM)

L 4idSSafety sign

2EQ

Thickness

)}

L5

RIRFFKE

Minimum clamping length

L6

TNERKXBAKE

Maximum insertion depth

CS HEAT SHRINKABLE EXTENSION ROD (THIN WALL STYLE)

FIG. 1 3
0| ) 2 O O O I | S
M10¥1. 5 A 9|3 e
©
L5
L4 L2
L3 L1
L
N 5
FIG. 2
AL
M10*1.5 “ R I I =
<
L5
L3 ﬂ, L6
L7
L2
L1
L

# #% Model D d

CS12- 3- 35 80 35 22 3.5 9.5 12 - - 6 8.4 3 1.5 1 0.2
- 55 100 55 42 3.5 9.5 12 - - 6 10.5 3 1.5 1 0.2

- 80 125 80 67 3.5 9.5 12 - - 6 13.1 3 1.5 1 0.2
-110 155 110 97 3.5 9.5 12 - - 6 16.2 3 1.5 1 0.25

- 4- 35 80 35 22 3.5 9.5 16 - - 7 9.4 4 1.5 1 0.2
- 55 100 55 42 3.5 9.5 16 - - 7 11.5 4 1.5 1 0.2

- 80 125 80 67 3.5 9.5 16 = = 7 141 4 1.5 1 0.2
-110 155 110 97 3.5 9.5 16 - = 7 17.2 4 1.5 1 0.25

- 5- 35 80 35 22 3.5 9.5 18 - - 8 10.4 5 1.5 1 0.2
- 55 100 55 42 3.5 9.5 18 - - 8 12.5 5 1.5 1 0.2

- 80 125 80 67 3.5 9.5 18 = = 8 151 5 1.5 1 0.2
-110 155 110 97 3.5 9.5 18 = = 8 18.2 5 1.5 1 0.25

- 6- 35 80 35 22 3.5 9.5 23 - - 9 11.4 6 1.5 1 0.2
- 55 100 55 42 3.5 9.5 23 - - 9 13.5 6 1.5 1 0.2

- 80 125 80 67 3.5 9.5 23 - - 9 16.1 6 1.5 1 0.2
-110 155 110 97 3.5 9.5 23 = = 9 19.2 6 1.5 1 0.25

- 7- 35 80 35 22 3.5 9.5 25 - - 10 12.4 7 1.5 1 0.2
- 55 100 55 42 3.5 9.5 25 - - 10 14.5 7 1.5 1 0.2

- 80 125 80 67 3.5 9.5 25 - - 10 171 7 1.5 1 0.2
-110 155 110 97 3.5 9.5 25 = = 10 20.2 7 1.5 1 0.25

- 8- 35 80 35 22 3.5 9.5 27 - - 11 13.4 8 1.5 1 0.2
- 55 100 55 42 3.5 9.5 27 - - 11 15.5 8 1.5 1 0.2

- 80 125 80 67 3.5 9.5 27 - - 11 18.1 8 1.5 1 0.2
-110 155 110 97 3.5 9.5 27 = = 11 21.2 8 1.5 1 0.25

- 9- 35 80 35 22 3.5 9.5 29 42 - 12 14.4 9 1.5 1 0.2
- 55 100 55 42 3.5 9.5 29 42 - 12 16.5 9 1.5 1 0.2

- 80 125 80 67 3.5 9.5 29 42 - 12 19.1 9 1.5 1 0.2
-110 155 110 97 3.5 9.5 29 42 = 12 22.2 9 1.5 1 0.25
-10- 35 80 35 22 3.5 9.5 32 42 - 13 15.4 10 1.5 1 0.2
- 55 100 55 42 3.5 9.5 32 42 - 13 17.5 10 1.5 1 0.2

- 80 125 80 67 3.5 9.5 32 42 - 13 20.1 10 1.5 1 0.2
-110 155 110 97 3.5 9.5 32 42 = 13 23.2 10 1.5 1 0.25
-11- 35 80 35 22 3.5 9.5 34 44 - 14 16.4 11 1.5 1 0.2
- 55 100 55 42 3.5 9.5 34 44 - 14 18.5 11 1.5 1 0.2

- 80 125 80 67 3.5 9.5 34 44 - 14 21.1 11 1.5 1 0.2
-110 155 110 97 3.5 9.5 34 44 = 14 24.2 11 1.5 1 0.25
-12- 35 80 35 22 3.5 9.5 37 48 - 15 17.4 12 1.5 1 0.2
- 55 100 55 42 3.5 9.5 37 48 - 15 19.5 12 1.5 1 0.2

- 80 125 80 67 3.5 9.5 37 48 - 15 221 12 1.5 1 0.2
-110 155 110 97 3.5 9.5 37 48 95 15 25 12 1.5 2 0.25




®
*5 O-N-W BT M

-BT30-SF 45 JJ4% (4.5 EHRERY)  8130-5F SHRINKFITTOOL HOLDER (4.5° STANDARD VERSION)

FIG.1
BT. NO

L4
LN

7’|E—,. - [ofala

FIG. 2

# % Model L L1 L2 L3 L4 D D1 D2 d R FIG E& KGS
BT30-SF03- 80 128.4 80 58 22 12 46 12 17 3 5 1 0.6
-SF04- 80 128.4 80 58 22 16 46 12 17 4 5 1 0.6
-120 168.4 120 98 22 16 46 12 20 4 5 2 0.7
-SFO5- 80 128.4 80 58 22 18 46 12 17 5 5 1 0.6
-120 168.4 120 98 22 18 46 12 20 5 5 2 0.7
g EE:

m

? @ L1 ¥ Length (L1)
JI#FE 1R Diameter

IHEEfLS Holder type
H$EARAZ T Taper size

@
=
(%)
ac
>
z
=
(%)
<
%l
=
m
=
v}

vs)
=
7]
2]
ES
5




5 O0-N-w®

-BT30-SF R 4EJ1H# (4.5 EtRER)

BT30-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

FIG.1

BT. NO

—ofa

D2

FIG. 2

L5

L4

45
T
d]
D
D2

# ¥ Model L LT L2 L3 L4 L5 D D1 D2 d T T1 R FIG E=KGS
BT30-SF06- 80 128.4 | 80 | 58 | 22 | 26 | 36 | 46 | 21 | 27 | 6 M5*0.8P M6*1.0P 3 1 0.7
-120 168.4 [120| 98 | 22 | 26 | 36 | 46 | 21 | 27 | 6 M5*0.8P M6*1.0P 5 2 0.9
-SF08- 80 128.4 | 80 | 58 | 22 | 26 | 36 | 46 | 21 | 27 | 8 M6*1.0P M6*1.0P 3 1 0.7
-120 168.4 [120| 98 | 22 | 26 | 36 | 46 | 21 | 27 | 8 M6*1.0P M6*1.0P 5 2 0.9
-SF10- 80 128.4 | 80 | 58 | 22 | 32 | 42 | 46 | 24 | 32 | 10 | M8*1.0P M6*1.0P 1 1 0.8
-120 168.4 [120| 98 | 22 | 32 | 42 | 46 | 24 | 32 | 10 | M8*1.0P M6*1.0P 4 2 1.1
-SF12- 80 128.4 | 80 | 58 | 22 | 37 | 47 | 46 | 24 | 32 | 12 | M10*1.0P M6*1.0P 1 1 0.8
-120 168.4 [120| 98 | 22 | 37 | 47 | 46 | 24 | 32 | 12 | M10*1.0P M6*1.0P 4 2 1.1
-SF14- 80 128.4 | 80 | 58 | 22 | 37 | 47 | 46 | 27 | 34 | 14 | M10*1.0P M6*1.0P 1 1 0.8
-120 168.4 [120| 98 | 22 | 37 | 47 | 46 | 27 | 34 | 14 | M10*1.0P M6*1.0P 3 2 1.1
3 -SF16- 90 1384 | 90 | 68 | 22 | 40 | 50 | 46 | 27 | 34 | 16 | M12*1.0P M6*1.0P 1 1 0.8
E -120 168.4 [120| 98 | 22 | 40 | 50 | 46 | 27 | 34 | 16 | M12*1.0P M6*1.0P 3 2 1.1
g -SF18- 90 1384 | 90 | 68 | 22 | 40 | 50 | 46 | 33 | 42 | 18 | M12*1.0P M6*1.0P 1 1 1
o -120 168.4 [120| 98 | 22 | 40 | 50 | 46 | 33 | 42 | 18 | M12*1.0P M6*1.0P 1 2 1.5
° -SF20- 90 1384 | 90 | 68 | 22 | 42 | 52 | 46 | 33 | 42 | 20 | M16*1.0P M6*1.0P 1 1 1
-120 168.4 |120| 98 | 22 | 42 | 52 | 46 | 33 | 42 | 20 | M16*1.0P M6*1.0P 1 2 1.5
A& ER:
@Ll KJE Length (L1)
TJIWFE 1R Diameter
IHRE{X S Holder type

S$EARAZ T Taper size




5 O-N-w ®

-BT40-SF 45 JJ4R (4.5 EHREERY)  8140-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1
BT. NO

FIG. 2

P

L2
L1
L
M % Model L L1 L2 L3 L4 D D1 D2 d R FIG B8 KGS

BT40-SF03- 90 155.4 90 63 27 12 63 12 17 3 5 1 1.1

-120 185.4 120 93 27 12 63 12 20 3 5 2 1.2

-160 225.4 160 133 27 12 63 12 20 3 5 2 1.3

-SF04- 90 155.4 90 63 27 16 63 12 17 4 5 1 1.1

-120 185.4 120 93 27 16 63 12 22 4 5 2 1.2

-160 225.4 160 133 27 16 63 12 22 4 5 2 1.3

-SF05- 90 155.4 90 63 27 18 63 12 17 5 5 1 1.1

-120 185.4 120 93 27 18 63 12 22 5 5 2 1.2
-160 225.4 160 133 27 18 63 12 22 5 5 2 1.3 E

MRS ER:

@
=
(%)
ac
>
z
=
(%)
<
%l
=
m
=
v}

vs)
=
7]
2]
ES
5

BT40[SFINO3B
L1 4K Length (L1)
TI¥FE 1R Diameter
Ih

&S Holder type
$EARFZ T, Taper size




5 0-N-w®

-BT40-SF 45 JJ4R (4.5 EHREERY)  8140-SF SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1
BT. NO D
T1 L5
/ L4
7 o
7

FIG. 2

FIG. 3

#M 4% Model o] R FIG =& KGS
BT40-SF06- 90 | 155.4 | 90 | 63 | 27 | 26 |36 | - |63 |21 |27 | - | 6 | M5*0.8P | M6*1.0P | 5 | 1 1.2
-120 | 185.4 (12093 | 27 | 26 |36 | - |63 |21 |27 | - | 6 | M5*0.8P | M6*1.0P | 10 | 2 1.5
-160 | 225.4 (160|133 | 27 | 26 | 36 | 78 | 63 |21 |27 |41 | 6 | M5*0.8P | M6*1.0P | 5 | 3 1.8
-200 | 265.4 (200|173 | 27 | 26 | 36 (11863 |21 |27 |41 | 6 | M5*0.8P | M6*1.0P | 5 | 3 2.2
; -250 | 315.4 250|223 | 27 | 26 | 36 [168| 63 |21 |27 |41 | 6 | M5*0.8P | M6*1.0P | 5 | 3 2.6
2 -SF08- 90 | 155.4 | 90 | 63 | 27 | 26 |36 | - | 63|21 |27 | - | 8 | M6*1.OP | M6*1.0P | 5 | 1 1.2
‘é’ -120 | 1854|120 93 | 27 | 26 |36 | - |63 |21 |27 | - | 8 | M6"1.0P | M6*1.0P | 10| 2 1.5
2 -160 | 225.4 |160|133| 27 | 26 | 36 | 78 | 63 | 21 | 27 | 41| 8 | M6*1.0P | M6*1.0P | 5 | 3 1.8
-200 | 265.4 |200|173| 27 | 26 | 36 |118| 63 | 21 | 27 |41 | 8 | M6*1.0P | M6*1.0P | 5 | 3 2.2
-250 | 315.4 | 250|223 | 27 | 26 | 36 |168| 63 | 21 | 27 | 41 | 8 | M6*1.0P | M6*1.0P | 5 | 3 2.6
-SF10- 90 | 155.4 | 90 | 63 | 27 | 32 |42 | - [ 63|24 (32| - | 10| M8*1.0P | M6*1.0P | 2 | 1 1.3
-120 | 185.4|120| 93 | 27 |32 |42 | - |63 |24 |32| - | 10| M8*1.0Pp | M6*1.0P | 10 | 2 1.6
-160 | 225.4 |160|133| 27 | 32 | 42 | 78 | 63 | 24 | 32| 40 | 10 | M8*1.0P | M6*1.0P | 5 | 3 1.9
-200 | 265.4 (200|173 | 27 | 32 | 42 |118| 63 | 24 | 32 | 40 | 10 | M8*1.0P | M6*1.0P | 5 | 3 2.3
-250 | 315.4 (250|223 | 27 | 32 | 42 |168| 63 | 24 | 32 | 40 | 10 | M8*1.0P | M6*1.0P | 5 | 3 2.7
-SF12- 90 | 155.4 | 90 | 63 | 27 | 37 |47 | - | 63|24 |32 | - |12 | M10*1.0P | M6*1.0P | 2 | 1 1.3
-120 | 185.4 (120| 93 | 27 | 37 |47 | - |63 |24 (32| - |12 | M10*1.0P | M6*1.0P | 10 | 2 1.6
-160 | 225.4 (160|133 | 27 | 37 | 47 | 78 | 63 | 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 5 | 3 1.9
-200 | 265.4 (200|173 | 27 | 37 | 47 (118| 63 | 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 5 | 3 2.3
-250 | 315.4 | 250|223 | 27 | 37 | 47 |168| 63 | 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 5 | 3 2.7
-SF14- 90 | 155.4| 90 | 63 | 27 | 37 |48 | - | 63|27 |34 | - | 14 | M10*1.0P | M6*1.0P | 4 | 1 1.3
-120 | 185.4 (120| 93 | 27 | 37 | 47 | - |63 |27 |34 | - | 14 | M10*1.0P | M6*1.0P | 10 | 2 1.6
-160 | 225.4 |160|133| 27 | 37 | 47 | 78 | 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 | 3 1.9
-200 | 265.4 |200|173| 27 | 37 | 47 |118| 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 | 3 2.3
-250 | 315.4 |250|223| 27 | 37 | 47 |168| 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 | 3 N/

AR RA:

BT40NSFEN06E qﬂ
L1 KE Length(L1)
JIFFE 1R Diameter
I

BE{XS Holder type
HARFZ T, Taper size



5 O0-N-w®

-BT40-SF 45 JJ4R (4.5 EHREERY)  8140-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

FIG.1
BT. NO

D2

77
o

FIG.2

FIG. 3

L5

w4
I |
L6
L2
L1
# ¥ Model L L1 L2 L3 L4 L5 L6 D D1 D2 D3 d T T1 R FIG &= KGS
BT40-SF16- 90 155.4 |90 | 63 | 27 |40 | 50 | - | 63|27 |34 | - |16 | M12*1.0P | M6*1.0P 3 1 1.3
-120 185.4 [120| 93 | 27 | 40 | 50 - |63 (27| 34| - 16 | M12*1.0P | M6*1.0P | 10 | 2 1.6 E
-160 225.4 |1160(133| 27 | 40 | 50 | 78 | 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 3 3 1.9
-200 265.4 |200(173| 27 | 40 | 50 |118| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 3 3 2.3 B
-250 315.4 | 250|223 | 27 | 40 | 50 |168| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 3 2.7 — E
-SF18- 90 155.4 | 90 | 63 | 27 | 40 | 50 | - | 63 | 33 | 41 - | 18 | M12*1.0P | M6*1.0P 2 1 1.4 7] )é
-120 185.4 [120| 93 | 27 | 40 | 50 | - | 63|33 |42 | - |18 | M12*1.0P | M6*1.0P 5 2 1.8 gg
-160 2254 |1160(133| 27 |40 | 50 | - |63 |33 |42 | - |18 | M12*1.0P | M6*1.0P 5 2 2.1 /yﬁg
-200 265.4 |200(173| 27 |40 | 50 | - |63 |33 |42 | - |18 | M12*1.0P | M6*1.0P 5 2 2.4
-250 315.4 |250(223| 27 | 40 | 50 | - |63 |33 42| - | 18 | M12*1.0P | M6*1.0P 2 2.8
-SF20- 90 155.4 | 90 | 63 | 27 | 42 | 50 | - | 63 | 33 | 41 - | 20 | M16*1.0P | M6*1.0P 2 1 1.4
-120 185.4 [120| 93 | 27 | 42 | 50 | - | 63|33 |42 | - |20 | M16*1.0P | M6*1.0P 5 2 1.8
-160 2254 |1160(133| 27 | 42 | 50 | - |63 |33 |42 | - |20 | M16*1.0P | M6*1.0P 5 2 2.1
-200 265.4 |200(173| 27 | 42 | 50 | - |63 33|42 | - |20 | M16*1.0P | M6*1.0P 5 2 2.4
-250 315.4 | 250|223 | 27 | 42 | 52 - | 63(33|42| - | 20 | M16*1.0P | M6*1.0P 2 2.8
-SF25-100 155.4 | 90 | 63 | 27 | 48 | 58 - |63 |44 |53 | - | 25| M16*1.0P | M6*1.0P 2 1 2.1
-120 185.4 |120| 93 | 27 | 48 | 58 | - |63 |44 |53 | - | 25| M16*1.0P | M6*1.0P 2 2 2.3
-160 225.4 |160 133 | 27 | 48 | 58 - | 6344 |53 | - | 25| M16*1.0P | M6*1.0P 2 2 2.6
-200 265.4 |200(173| 27 | 48 | 58 | - | 63 |44 |53 | - |25 | M16*1.0P | M6*1.0P 2 2 3.1
-250 315.4 | 250|223 | 27 | 48 | 58 | - |63 |44 | 53| - | 25 | M16*1.0P | M6*1.0P 2 3.6
-SF32-100 155.4 | 90 | 63 | 27 | 52 | 62 - |63 (44|53 | - | 32| M16*1.0P | M6*1.0P 2 1 2.1
-120 185.4 [120| 93 | 27 | 52 | 62 - |63 (44|53 | - | 32| M16*1.0P | M6*1.0P 2 2 2.3
-160 225.4 1160|133 | 27 | 52 | 62 - |63 (44|53 | - | 32| M16*1.0P | M6*1.0P 2 2 2.6
-200 265.4 | 200173 | 27 | 52 | 62 - |63 (44|53 | - | 32| M16*1.0P | M6*1.0P 2 2 3.1
-250 315.4 | 250|223 | 27 | 52 | 62 - |63 (44|53 | - | 32| M16*1.0P | M6*1.0P 2 3.6
AR RA:
BT40SFEN16 B qg
L1 KE Length(L1)
JIFFE 1 Diameter
IHEEfLS Holder type
AT Taper size




5 O0-N-w®

-BT50-SF #4571 (4.5 EfRER)

BT50-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

FlG.1

D

L2

L1

FIG. 2

L4

~

"UTE S[

L2

L1

# # Model L L1 L2 L3 L4 D D1 D2 d R FIG =2 KGS

BT50-SF03-100 201.8 | 100 62 38 12 100 12 17 3 10 1 3.7
-120 221.8 | 120 82 38 12 100 12 20 3 10 2 3.9

-160 261.8 | 160 | 122 38 12 100 12 20 3 10 2 4.2
-SF04-100 201.8 | 100 62 38 16 100 12 17 4 10 1 3.7
-120 221.8 | 120 82 38 16 100 15 22 4 10 2 3.9

-160 261.8 | 160 | 122 38 16 100 15 22 4 10 2 4.2
-SF05-100 201.8 | 100 62 38 18 100 12 17 5 10 1 3.7
-120 221.8 | 120 82 38 18 100 15 22 5 10 2 3.9

-160 261.8 | 160 | 122 38 18 100 15 22 5 10 2 4.2

g EE:

@
|
%)
I
>
z
=
%)
=<
\
=
m
=
]

E L1 Length(L1)

JIFFE 1 Diameter

/I
I THEELS Holder type

HARAZ T Taper size



5 O0-N-w®

-BT50-SF R 4EJ1H# (4.5 EfRER)

M #% Model d T1 FIG ZE|= KGS
BT50-SF06-100 201.8 [100| 62 | 38 | 26 | 36 - |100] 21 | 27 | - 6 M5*0.8P M6*1.0P 1 3.7
-120 221.8 [120| 82 | 38 | 26 | 36 - (100 21 | 27 | - 6 M5*0.8P M6*1.0P 2 3.9
-160 2618 [160|122| 38 | 26 | 36 | 78 |100| 21 | 27 | 41 6 M5*0.8P M6*1.0P 3 4.2 E
-200 301.8 {200 |162| 38 | 26 | 36 |118|100| 21 | 27 | 41 | 6 | M5*0.8P | M6*1.0P | 3 5.8
-250 351.8 {250 (212| 38 | 26 | 36 |168|100| 21 | 27 | 41 | 6 | M5*0.8P | M6*1.0P | 3 7.4 = g
-SF08-100 201.8 |100| 62 | 38 | 26 | 36 | - [100| 21 | 27 | - 8 | M6*1.0P | M6*1.0P | 1 3.8 7] g
-120 221.8 |120| 82 | 38 | 26 | 36 | - [100| 21 | 27 | - 8 | M6*1.0P | M6*1.0P | 2 3.9 7@2
-160 2618 | 160|122 | 38 | 26 | 36 | 78 |100| 21 | 27 | 41 | 8 | M6*1.0P | M6*1.0P | 3 4.2 %I\E
-200 301.8 {200 |162| 38 | 26 | 36 |118|100| 21 | 27 | 41 | 8 | M6*1.0P | M6*1.0P | 3 5.8 &
-250 351.8 {250 (212| 38 | 26 | 36 |168|100| 21 | 27 | 41 | 8 | M6*1.0P | M6*1.0P | 3 7.4
-SF10-100 201.8 |100| 62 | 38 | 32 | 42 | - |100| 24 | 32| - | 10| M8*1.0P | M6*1.0P | 1 3.9
-120 221.8 |120| 82 | 38 | 32 | 42 | - |100| 24 |32 | - | 10| M8*1.0P | M6*1.0P | 2 4.1
-160 2618 | 160|122 | 38 | 32 | 42 | 78 |100| 24 | 32 | 40 | 10 | M8*1.0P | M6*1.0P | 3 4.3
-200 301.8 {200 |162| 38 | 32 | 42 |118|100| 24 | 32 | 40 | 10 | M8*1.0P | M6*1.0P | 3 5.9
-250 351.8 {250 (212| 38 | 32 | 42 |168|100| 24 | 32 | 40 | 10 | M8*1.0P | M6*1.0P | 3 5
-SF12-100 201.8 |100| 62 | 38 | 37 | 47 - 1100 24 | 32 | - 12 | M10*1.0P | M6*1.0P 1 3.9
-120 221.8 |120| 82 | 38 | 37 | 47 - 1100 24 | 32 | - 12 | M10*1.0P | M6*1.0P 2 41
-160 2618 [ 160 |122| 38 | 37 | 47 | 78 [100| 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P 3 4.3
-200 301.8 | 200|162 | 38 | 37 | 47 |118|100| 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P 3 5.9
-250 351.8 {250 (212| 38 | 37 | 47 |168|100| 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 3 7.5
-SF14-100 201.8 |100| 62 | 38 | 37 | 47 | - |100| 27 | 34| - | 14 | M10*1.0P | M6*1.0P | 1 3.9
-120 221.8 [120| 82 | 38 | 37 | 47 - [100| 27 | 34| - 14 | M10*1.0P | M6*1.0P 2 4.1
-160 2618 | 160|122 | 38 | 37 | 47 | 78 |100| 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 4.3
-200 301.8 {200 |162| 38 | 37 | 47 |118|100| 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 5.9
-250 351.8 [250|212| 38 | 37 | 47 |168|100| 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 5
A& ER:
le K Length (L1)
JIFFE 1R Diameter
IHREXS Holder type

ARSI Taper size




5 0-N-w®

BT50-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

# #& Model T1 FIG ZF=E KGS
BT50-SF16-100 201.8 |100| 62 | 38 | 40 | 50 | - |100| 27 | 34| - | 16 | M12*1.0P | M6*1.0P 1 3.9
-120 221.8 [120| 82 | 38 | 40 | 50 - [100| 27 | 34| - 16 | M12*1.0P | M6*1.0P 2 41
-160 2618 [ 160|122 | 38 | 40 | 50 | 78 [100| 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 3 4.3
-200 301.8 | 200|162 | 38 | 40 | 50 |118|100| 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 3 5.9
- -250 351.8 |250|212| 38 | 40 | 50 |168|100| 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 3 7.5
%’ -SF18-100 201.8 |100| 62 | 38 | 40 | 50 | - |100| 33 |42 | - | 18 | M12*1.0P | M6*1.0P 1 41
;Zi -120 221.8 [120| 82 | 38 | 40 | 50 | - |100| 33 |42 | - | 18 | M12*1.0P | M6*1.0P 2 4.2
G -160 2618 |160|122| 38 | 40 | 50 | 78 |100| 33 | 42 18 | M12*1.0P | M6*1.0P 3 4.4
:13"» -200 301.8 |200|162| 38 | 40 | 50 |118|100| 33 | 42 18 | M12*1.0P | M6*1.0P 3 6.1
-250 351.8 | 250|212 | 38 | 40 | 50 |168|100| 33 | 42 18 | M12*1.0P | M6*1.0P 3 7.8
-SF20-100 201.8 [100| 62 | 38 | 42 | 52 | - |100| 33 |42 | - | 20 | M16*1.0P | M6*1.0P 1 4.1
-120 221.8 |120| 82 | 38 | 42 | 52 - |100| 33 |42 | - | 20 | M16*1.0P | M6*1.0P 2 4.2
-160 2618 [160|122| 38 | 42 | 52 | 78 |100| 33 | 42 20 | M16*1.0P | M6*1.0P 3 4.4
-200 301.8 |200|162| 38 | 42 | 52 |118|100| 33 | 42 20 | M16*1.0P | M6*1.0P 3 6.1
-250 351.8 | 250|212 | 38 | 42 | 52 |168|100| 33 | 42 20 | M16*1.0P | M6*1.0P 3 7.8
-SF25-110 211.8 |110| 72 | 38 | 48 | 58 | - |100| 44 | 53| - | 25 | M16*1.0P | M6*1.0P 1 4.5
-120 221.8 |120| 82 | 38 | 48 | 58 | - |100| 44 | 53| - | 25 | M16*1.0P | M6*1.0P 2 4.7
-160 2618 [160|122| 38 | 48 | 58 | 78 |100| 44 | 53 25 | M16*1.0P | M6*1.0P 3 5.1
-200 301.8 |200|162| 38 | 48 | 58 |118|100| 44 | 53 25 | M16*1.0P | M6*1.0P 3 6.1
-250 351.8 | 250|212 | 38 | 48 | 58 |168|100| 44 | 53 25 | M16*1.0P | M6*1.0P 3 7.8
-SF32-110 211.8 |110| 72 | 38 | 52 | 62 | - |100| 44 | 53| - | 32 | M16*1.0P | M6*1.0P 1 4.5
-120 221.8 [120| 82 | 38 | 52 | 62 | - |100| 44 | 53| - | 32 | M16*1.0P | M6*1.0P 2 4.7
-160 2618 [160|122| 38 | 52 | 62 | 78 |100| 44 | 53 32 | M16*1.0P | M6*1.0P 3 5.1
-200 301.8 |200|162| 38 | 52 | 62 |118|100| 44 | 53 32 | M16*1.0P | M6*1.0P 3 6.1
-250 351.8 | 250|212 | 38 | 52 | 62 |168|100| 44 | 53 32 | M16*1.0P | M6*1.0P 3 7.8
AR5 RA:
le E Length (L1)
JIFFE 1R Diameter
IHEEFLS Holder type
AR, Taper size



5 O0-N-w®

-BT30-SFS A4 (3 EHEKR)

BT30-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FI1G. 1
BT. NO

3
K

L2

L1

FIG. 2
BT.NO

L2

L1

# #& Model d RAEI FIG Z&KGS
BT30-SFS03- 80 1284 [ 80 | 58 | 22 | 12| - |46 | 7 [ 13 ] 3 - 5 1 0.6
-120 168.4 |120| 98 | 22 | 12| - |46 | 7 |17 | 3 = 5 2 0.9
-SFS04- 80 1284 [ 80 | 58 | 22|16 | - |46 | 8 |14 | 4 - 5 1 0.6
-120 1684 (120 98 | 22 |16 | - |46 | 8 | 18| 4 g 5 2 0.9
-SFS05- 80 1284 | 80 | 58 | 22|18 | - |46 | 9 [ 15| 5 - 5 1 0.6
-120 168.4 |120] 98 | 22 [ 18| - |46 | 9 [ 19 ] 5 - 5 2 0.9
-SFS06- 80 128.4 | 80 | 58 | 22 | 26 | 36 | 46 | 10 | 16 | 6 | M5*0.8P 5 1 0.7
-120 168.4 |120| 98 | 22 | 26 | 36 | 46 | 10 | 20 | 6 | M5*0.8P 5 2 1
-SFS08- 80 128.4 | 80 | 58 | 22 | 26 | 36 | 46 | 12 | 16 | 8 | M6*1.0P 5 1 0.7
-120 168.4 | 120 | 98 | 22 | 26 | 36 | 46 | 12 | 20 | 8 | mMe*1.0P 5 2 1
-SFS10- 80 128.4 | 80 | 58 | 22 | 32 | 42 | 46 [ 14 | 16 | 10 | mM8*1.0P 5 1 0.8
-120 168.4 | 120 | 98 | 22 | 32 | 42 | 46 | 14 | 20 | 10 | mM8*1.0P 5 2 1.1 E
-SFS12- 80 128.4 | 80 | 58 | 22 | 37 | 47 | 46 | 16 | 22 | 12 | m10*1.0P 5 1 0.8
-120 168.4 | 120 | 98 | 22 | 37 | 47 | 46 | 16 | 26 | 12 | m10*1.0P 5 2 11 _—
- SFS14- 80 128.4 | 80 | 58 | 22 | 37 | 47 | 46 | 18 | 24 | 14 | m10*1.0P 5 1 1 =g
-120 168.4 | 120 | 98 | 22 | 37 | 47 | 46 | 18 | 28 | 14 | m10*1.0P 5 2 1.2 ;%’;’
-SFS16- 80 128.4 | 80 | 58 | 22 | 40 | 50 | 46 | 22 | 28 | 16 | M12*1.0P 5 1 1 %5
-120 168.4 | 120 | 98 | 22 | 40 | 50 | 46 | 22 | 31 | 16 | m12*1.0P 5 2 1.2 5%

MRS RA:

JI#FE 1 Diameter

@ L1 K[E Length(L1)
IHEEFLS Holder type

H$ARAZT Taper size




@
3
(%]
ac
>
2
=
v
<
w
=
m
=
)

5 O0-N-w®

# 1% Model

-BT40-SFS #A4EJI# (3 EHKR)

BT40-SFS SHRINK CHUCK (3° C SLENDER TYPE)

1
X 7777

L2

L4

4
D1

L1

FI1G. 2

R KRR

FIG

BE KGS

d

BT40-SFS03- 90 155.4 90 63 27 12 63 9 15 3 10 1 1
-120 185.4 120 93 27 12 63 9 16 3 10 2 1.1
-160 225.4 160 133 27 12 63 9 19 3 10 2 1.2
-200 265.4 200 173 27 12 63 9 22 3 10 2 1.2
-SFS04- 90 155.4 90 63 27 16 63 10 16 4 10 1 1
-120 185.4 120 93 27 16 63 10 17 4 10 2 1.1
-160 225.4 160 133 27 16 63 10 20 4 10 2 1.2
-200 265.4 200 173 27 16 63 10 23 4 10 2 1.3
-SFS05- 90 155.4 90 63 27 18 63 11 17 5 10 1 1.1
-120 185.4 120 93 27 18 63 11 18 5 10 2 1.1
-160 225.4 160 133 27 18 63 11 21 5 10 2 1.2
-200 265.4 200 173 27 18 63 11 24 5 10 2 1.3

BT40P ?
7]
T4

AL RA:

L1 4<E Length (L1)

MFE1R Diameter

£{X S Holder type

AR, Taper size




5 O-N-w®

-BT40-SFS #A4ETIH (3 EMIKEL)  BT40-SFS SHRINK CHUCK (3° C SLENDER TYPE)

# #& Model d RAEIN FIG === KGS
BT40-SFS06- 90 155.4 90 | 63 | 27 | 26 | 36 | 63 | 12 | 18 6 M5*0.8P 10 1 1.1
-120 185.4 |120| 93 | 27 | 26 | 36 | 63 | 12 | 21 6 M5*0.8P 10 2 1.1
-160 225.4 (160|133 | 27 | 26 | 36 | 63 | 12 | 24 6 M5*0.8P 10 2 1.2
-200 265.4 (200|173 | 27 | 26 | 36 | 63 | 12 | 27 6 M5*0.8P 10 2 1.3
-250 315.4 | 250 (223 | 27 | 26 | 36 | 63 | 12 6 M5*0.8P 10 2 1.4
-SFS08- 90 155.4 90 | 63 | 27 | 26 | 36 | 63 | 14 | 20 8 M6*1.0P 10 1 1.1
-120 1854 |120| 93 | 27 | 26 | 36 | 63 | 14 | 23 8 M6*1.0P 10 2 1.2
-160 225.4 |160 133 | 27 | 26 | 36 | 63 | 14 | 26 8 M6*1.0P 10 2 1.3
-200 265.4 (200|173 | 27 | 26 | 36 | 63 | 14 | 29 8 M6*1.0P 10 2 1.4
-250 315.4 | 250|223 | 27 | 26 | 36 | 63 | 14 8 M6*1.0P 10 2 1.5 E
-SFS10- 90 155.4 90 | 63 | 27 | 32 | 42 | 63 | 16 | 22 | 10 M8*1.0P 10 1 1.1 _
-120 1854 |120| 93 | 27 | 32 | 42 | 63 | 16 | 25 | 10 M8*1.0P 10 2 1.2 )_]| :)If
-160 2254 |[160 133 | 27 | 32 | 42 | 63 | 16 | 28 | 10 M8*1.0P 10 2 1.3 7@5
-200 265.4 (200173 | 27 | 32 | 42 | 63 | 16 | 31 10 M8*1.0P 10 2 1.5 ’;‘jé
-250 315.4 | 250|223 | 27 | 32 | 42 | 63 | 16 10 M8*1.0P 10 2 1.7
-SFS12- 90 155.4 90 | 63 | 27 | 37 | 47 | 63 | 18 | 24 | 12 | M10*1.0P 10 1 1.1
-120 185.4 |120| 93 | 27 | 37 | 47 | 63 | 18 | 27 | 12 | M10*1.0P 10 2 1.2
-160 225.4 160|133 | 27 | 37 | 47 | 63 | 18 | 30 | 12 | M10*1.0P 10 2 1.4
-200 265.4 (200|173 | 27 | 37 | 47 | 63 | 18 | 33 | 12 | M10*1.0P 10 2 1.6
-250 315.4 | 250|223 | 27 | 37 | 47 | 63 | 18 12 | M10*1.0P 10 2 1.8
S5 RA:

BT40[ -8 - @
L1 Length (L1)
T E 1R Diameter
|

IHEEfLS Holder type
AR Taper size




5 0-N-w®

-BT40-SFS #A4E7]H# (3 EMIKE!)  BT40-SFS SHRINK CHUCK (3° C SLENDER TYPE)

M # Model RKEIN FIG Z=EKGS

-SFS14- 90 155.4 90 | 63 | 27 | 37 | 47 | 63 | 20 | 26 14 M10*1.0P 10 1 1.1

-120 185.4 |120| 93 | 27 | 37 | 47 | 63 | 20 | 29 | 14 | M10*1.0P 10 2 1.3

-160 225.4 160|133 | 27 | 37 | 47 | 63 | 20 | 32 | 14 | M10*1.0P 10 2 1.5

-200 265.4 | 200|173 | 27 | 37 | 47 | 63 | 20 | 35 | 14 | M10*1.0P 10 2 1.7

-250 315.4 | 250|223 | 27 | 37 | 47 | 63 | 20 14 | M10*1.0P 10 2 1.9

-SFS16- 90 155.4 90 | 63 | 27 | 40 | 50 | 63 | 22 | 28 | 16 | M12*1.0P 10 1 1.2

-120 185.4 |120| 93 | 27 | 40 | 50 | 63 | 22 | 31 16 | M12*1.0P 10 2 1.3

-160 225.4 | 160|133 | 27 | 40 | 50 | 63 | 22 | 34 | 16 | M12*1.0P 10 2 1.5

-200 265.4 | 200|173 | 27 | 40 | 50 | 63 | 22 | 37 | 16 | M12*1.0P 10 2 1.8

-250 315.4 | 250|223 | 27 | 40 | 50 | 63 | 22 16 | M12*1.0P 10 2 2

-SFS18- 90 155.4 90 | 63 | 27 | 40 | 50 | 63 | 24 | 30 | 18 | M12*1.0P 10 1 1.2

@ -120 185.4 |120| 93 | 27 | 40 | 50 | 63 | 24 | 33 | 18 | M12*1.0P 10 2 1.3
§ -160 2254 |160 (133 | 27 | 40 | 50 | 63 | 24 | 36 | 18 | M12*1.0P 10 2 1.6
g -200 265.4 | 200|173 | 27 | 40 | 50 | 63 | 24 | 39 | 18 | M12*1.0P 10 2 1.9
g -250 315.4 | 250|223 | 27 | 40 | 50 | 63 | 24 18 | M12*1.0P 10 2 2.1
-SFS20- 90 155.4 90 | 63 | 27 | 42 | 52 | 63 | 26 | 32 | 20 | M16*1.0P 10 1 1.2

-120 185.4 |120| 93 | 27 | 42 | 52 | 63 | 26 | 35 | 20 | M16*1.0P 10 2 1.3

-160 225.4 160 | 133 | 27 | 42 52 | 63 | 26 | 38 | 20 M16*1.0P 10 2 1.7

-200 265.4 | 200|173 | 27 | 42 | 52 | 63 | 26 | 41 20 | M16*1.0P 10 2 2

-250 315.4 | 250|223 | 27 | 42 | 52 | 63 | 26 20 | M16*1.0P 10 2 2.2

A5 PR

BT40[ - - q_i]
L1 ¥ E Length (L1)
TI¥FE 1R Diameter
1)

IHEEFLS Holder type
$EIRAZ T Taper size



5 O0-N-w®

-BT50-SFS #A4EJIHH (3 EMIKE!)  Br50-SFS SHRINK CHUCK (3° C SLENDER TYPE)

L5
L4

L2

# #& Model d RAKEIR FIG E=EKGS
BT50-SFS06-100 201.8 |100| 62 | 38 | 26 | 36 |100| 12 | 18 6 M5*0.8P 10 1 3.8
-120 221.8 |120| 82 | 38 | 26 | 36 |100| 12 | 20 6 M5*0.8P 10 1 3.9
-160 162.8 | 160|122 | 38 | 26 | 36 |100| 12 | 24 6 M5*0.8P 10 2 4.2
-200 301.8 | 200|162 | 38 | 26 | 36 |100| 12 | 28 6 M5*0.8P 10 2 5.8
-250 351.8 |250(212| 38 | 26 | 36 | 100 | 12 6 M5*0.8P 10 2 7.2
-SFS08-100 201.8 |100| 62 | 38 | 26 | 36 |100| 14 | 20 8 M6*1.0P 10 1 3.8
-120 221.8 |120| 82 | 38 | 26 | 36 |100| 14 | 22 8 M6*1.0P 10 1 3.9 E
-160 162.8 | 160|122 | 38 | 26 | 36 |100| 14 | 26 8 M6*1.0P 10 2 4.2
-200 301.8 | 200|162 | 38 | 26 | 36 |100| 14 | 30 8 M6*1.0P 10 2 5.8 E" 3
-250 351.8 |250(212| 38 | 26 | 36 | 100 | 14 8 M6*1.0P 10 2 7.2 7] %
-SFS10-100 201.8 |100| 62 | 38 | 32 | 42 |100| 16 | 22 | 10 M8*1.0P 10 1 3.9 gé
-120 221.8 |120| 82 | 38 | 32 | 42 |100| 16 | 24 | 10 M8*1.0P 10 1 41 &
-160 162.8 | 160|122 | 38 | 32 | 42 |100| 16 | 28 | 10 M8*1.0P 10 2 4.3
-200 301.8 |200(162| 38 | 32 | 42 |100| 16 | 32 | 10 M8*1.0P 10 2 5.9
-250 351.8 |250(212| 38 | 32 | 42 | 100 | 16 10 M8*1.0P 10 2 7.6
-SFS12-100 201.8 [100| 62 | 38 | 37 | 47 |100| 18 | 24 | 12 | M10*1.0P 10 1 3.9
-120 221.8 |120| 82 | 38 | 37 | 47 |100| 18 | 26 | 12 M10*1.0P 10 1 4.1
-160 162.8 [160|122| 38 | 37 | 47 |100| 18 | 30 | 12 | M10*1.0P 10 2 4.3
-200 301.8 [200|162 | 38 | 37 | 47 |100| 18 | 34 | 12 | M10*1.0P 10 2 5.9
-250 351.8 |250(212| 38 | 37 | 47 | 100 | 18 12 | M10*1.0P 10 2 7.6
g5 RA:

i L1 4 Length(L1)
JIFFE 1R Diameter
I

BE1XS Holder type
HARAZ T Taper size




5 0-N-w®

-BT50-SFS #A4ETIHH (3 EMIKE!)  Br50-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FI1G.1

= —fala

L5
L4

= = - ot 5

L2

L1

# 4% Model L Il L2 L3 14 L5 D DI D2 d T RAKEIN FIG == KGS
BT50 -SFS14-100 201.8 |100| 62 | 38 | 37 | 47 |100| 20 | 26 | 14 | M10*1.0P 10 1 3.9
-120 221.8 |120| 82 | 38 | 37 | 47 |100| 20 | 28 | 14 | M10*1.0P 10 1 41
-160 162.8 | 160|122 | 38 | 37 | 47 |100| 20 | 32 | 14 | M10*1.0P 10 2 4.3
-200 301.8 |200|162| 38 | 37 | 47 |100| 20 | 36 | 14 | M10*1.0P 10 2 5.9
-250 351.8 |250|212| 38 | 37 | 47 | 100 | 20 14 | M10*1.0P 10 2 7.6
-SFS$16-100 201.8 |100| 62 | 38 | 40 | 50 |100| 22 | 28 | 16 | M12*1.0P 10 1 4
-120 221.8 |120| 82 [ 38 | 40 | 50 |100| 22 | 30 | 16 | M12*1.0P 10 1 4.2
-160 162.8 | 160|122 | 38 | 40 | 50 |100| 22 | 34 | 16 | M12*1.0P 10 2 4.4
-200 301.8 |200|162| 38 | 40 | 50 |100| 22 | 38 | 16 | M12*1.0P 10 2 6
o -250 351.8 |250|212| 38 | 40 | 50 | 100 | 22 16 | M12*1.0P 10 2 7.7
£ -SF$18-100 201.8 |100| 62 | 38 | 40 | 50 |100| 24 | 30 | 18 | M12*1.0P 10 1 4
= -120 221.8 |120| 82 | 38 | 40 | 50 |100| 24 | 32 | 18 | M12*1.0P 10 1 4.2
g -160 162.8 |160|122| 38 | 40 | 50 |100| 24 | 36 | 18 | M12*1.0P 10 2 4.4
& -200 301.8 [200|162| 38 | 40 | 50 |100| 24 | 40 | 18 | M12*1.0P 10 2 6
-250 351.8 [250(212| 38 | 40 | 50 | 100 | 24 18 | M12*1.0P 10 2 7.7
-SFS$20-100 201.8 |100| 62 | 38 | 42 | 52 |100| 26 | 32 | 20 | M16*1.0P 10 1 41
-120 221.8 |120| 82 | 38 | 42 | 52 |100| 26 | 34 | 20 | M16*1.0P 10 1 4.3
-160 162.8 | 160|122 | 38 | 42 | 52 |100| 26 | 38 | 20 | M16*1.0P 10 2 4.4
-200 301.8 |200|162| 38 | 42 | 52 |100| 26 | 42 | 20 | M16*1.0P 10 2 6.1
-250 351.8 |250|212| 38 | 42 | 52 | 100 | 26 20 | M16*1.0P 10 2 7.8
AL ER:

E L1 Length(L1)
TI¥FE 4R Diameter
Ihd

BEXS Holder type
AT Taper size



®
*5 O-N-W BT M

-BT30-SFK #45J1#A (4.5°87KEBY ) B130-5FK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

2-M3*0. 5P

2-M3*0. 5P

#M #& Model L L1 L2 L3 L4 D D1 D2 d R FIG HE KGS

BT30-SF03- 80K 128.4 80 58 22 12 48 14 20 3 5 1 0.6
-120K 168.4 | 120 98 22 12 48 14 20 3 5 2 0.9

-SF04- 80K 128.4 80 58 22 16 48 14 20 4 5 1 0.6

-120K 168.4 | 120 98 22 16 48 14 20 4 5 2 0.9

-SF05- 80K 128.4 80 58 22 18 48 14 20 5 5 1 0.6

-120K 168.4 | 120 98 22 18 48 14 20 5 5 2 0.9

AR RA:

m

? E L1 & Length (L1)
JIFFE 1R Diameter
I

BE1LS Holder type
SEIRFZ T, Taper size

@
=
(%)
ac
>
z
=
(%)
<
%l
=
m
=
v}

vs)
=
7]
2]
ES
5




5 O0-N-w®

BT30-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG. 1
D
BT. NO L5
m
l L4 2-M3*0. 5P
7
- 5|8
P\
L3 L2
L1
L
FIG. 2

2-M3%0. 5P

e

"Dﬁ‘a o

# % Model L L1 L2 L3 L4 L5 D D1 D2 o] T T1 R FIG &= KGS

BT30-SF06- 80K 128.4 | 80 | 58 | 22 | 26 | 36 | 48 | 21 27 6 M5*0.8P | M6*1.0P 3 1 0.7

-120K 168.4 | 120| 98 | 22 | 26 | 36 | 48 | 21 27 6 M5*0.8P | M6*1.0P 5 2 1
-SF08- 80K 128.4 | 80 | 58 | 22 | 26 | 36 | 48 | 21 27 8 M6*1.0P M6*1.0P 3 1 0.7

-120K 168.4 | 120| 98 | 22 | 26 | 36 | 48 | 21 27 8 M6*1.0P M6*1.0P 5 2 1
-SF10- 80K 128.4 | 80 | 58 | 22 | 32 | 42 | 48 | 24 | 32 | 10 | M8*1.0P M6*1.0P 1 1 0.8

-120K 168.4 | 120| 98 | 22 | 32 | 42 | 48 | 24 | 32 | 10 | M8*1.0P M6*1.0P 4 2 1.1
-SF12- 80K 128.4 | 80 | 58 | 22 | 37 | 47 | 48 | 24 | 32 | 12 | M10*1.0P | M6*1.0P 1 1 0.8

-120K 168.4 | 120 | 98 | 22 | 37 | 47 | 48 | 24 | 32 | 12 | M10*1.0P | M6*1.0P 4 2 1.1
-SF14- 80K 128.4 | 80 | 58 | 22 | 37 | 47 | 48 | 27 | 34 | 14 | M10*1.0P | M6*1.0P 1 1 0.8

-120K 168.4 | 120 | 98 | 22 | 37 | 47 | 48 | 27 | 34 | 14 | M10*1.0P | M6*1.0P 3 2 1.1
-SF16- 80K 128.4 | 80 | 58 | 22 | 40 | 50 | 48 | 27 | 34 | 16 | M12*1.0P | M6*1.0P 1 1 0.8

z -120K 168.4 | 120 98 | 22 | 40 | 50 | 48 | 27 | 34 | 16 | M12*1.0P | M6*1.0P 3 2 1.1
% -SF18- 90K 138.4 | 90 | 68 | 22 | 40 | 50 | 48 | 33 | 42 | 18 | M12*1.0P | M6*1.0P 1 1 0.9
5 -120K 168.4 | 120 98 | 22 | 40 | 50 | 48 | 33 | 42 | 18 | M12*1.0P | M6*1.0P 1 2 1.2
g -SF20- 90K 138.4 | 90 | 68 | 22 | 42 | 52 | 48 | 33 | 42 | 20 | M16*1.0P | M6*1.0P 1 1 0.9
& -120K 168.4 | 120 | 98 | 22 | 42 | 52 | 48 | 33 | 42 | 20 | M16*1.0P | M6*1.0P 1 2 1.2

AR RA:
@Ll KE Length (L1)
TJI#FE 1R Diameter
I1EE{LS Holder type
HERAZ T Taper size




5 O-N-w ®

BT #&ZTH

-BT40-SFK 45T (4.5°187KH )

BT40-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FlG. 1
BT. NO D s
T1 L4 2-M3*0. 5P
i ——
o . ,i—- <58
U - L2
L
Fla. 2

L5
L4 2-M3*0. 5P
# # Model L L1 L2 L3 L4 D D1 D2 d R FIG B2 KGS

BT40-SF03- 90K 155.4 | 90 63 27 12 63 14 20 3 5 1 1.1
-120K 185.4 | 120 93 27 12 63 14 20 3 5 2 1.4

-SF04- 90K 155.4 | 90 63 27 16 63 14 20 4 5 1 1.1
-120K 185.4 | 120 93 27 16 63 14 20 4 5 2 1.4

-SF05- 90K 155.4 | 90 63 27 18 63 14 20 5 5 1 1.1
-120K 185.4 | 120 93 27 18 63 14 20 5 5 2 1.4

MR RA:

BT40SF 038 gim
L1 4 E Length (L1)
JIFFE 1 Diameter
I

BE1LS Holder type

SIRFZ T Taper size

m

@
=
(%)
ac
>
z
=
(%)
<
%l
=
m
=
v}

vs)
=
7]
2]
ES
5




@
=
(%]
ac
>
2
=
v
<
w
=
m
=
)

5 0-N-w®

BT40-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG.1

BT. NO L5
T

2-M3%0. 5P

-1 <58

2-M3%0. 5P

<=

2-M3*0. 5P

g —— o358

# 4% Model L L1 L2 L3 L4 L5 L6 D D1 D2 D3 d T T1 R FIG EEZ KGS

BT40-SF06- 75K 140.4 | 75 | 48 | 27 | 26 | 36 | - | 63| 21 | 27 | - 6 | M5*0.8P | M6*1.0P | 5 | 1 1.1
- 90K 155.4 | 90 | 63 | 27 | 26 | 36 | - | 63| 21 | 27 | - 6 | M5*0.8P | M6*1.0P | 5 | 1 1.2

-120K 185.4 {120 93 | 27 | 26 | 36 | - | 63| 21 | 27 | - 6 | M5*0.8P | M6*1.0P | 10 | 2 1.5

-160K 225.4 160|133 | 27 | 26 | 36 | 78 |63 | 21 | 27 | 41 | 6 | M5*0.8P | M6*1.0P | 5 | 3 1.8

-200K 265.4 200|173 | 27 | 26 | 36 |118|63 | 21 | 27 | 41 | 6 | M5*0.8P | M6*1.0P | 5 | 3 2.2

-SF08- 75K 140.4 | 75 | 48 | 27 | 26 | 36 | - | 63| 21 | 27 | - 8 | M6*1.0P | M6*1.0P | 5 | 1 JIAl

- 90K 155.4 | 90 | 63 | 27 | 26 | 36 | - | 63| 21 | 27 | - 8 | M6*1.0P | M6*1.0P | 5 | 1 1.2

-120K 185.4 |120] 93 | 27 | 26 | 36 | - |63 | 21 | 27 | - 8 | M6*1.0P | M6*1.0P | 10 | 2 1.5

-160K 225.4 |160|133| 27 | 26 | 36 | 78 | 63| 21 | 27 | 41 | 8 | M6*1.0P | M6*1.0P | 5 | 3 1.8

-200K 265.4 |200|173| 27 | 26 | 36 |118|63 | 21 | 27 | 41 | 8 | M6*1.0P | M6*1.0P | 5 | 3 2.2

-SF10- 75K 1404 | 75 |48 |27 |32 |42 | - |63|24 |32 | - | 10| M8*1.0P | M6*1.0P| 2 | 1 1.2

- 90K 155.4 | 90 | 63 |27 |32 |42 | - |63|24 |32 | - |10 | M8*1.0P | M6*1.0P| 2 | 1 1.3

-120K 185.4 |120| 93 | 27 |32 |42 | - |63|24 |32 | - | 10 | M8*1.0P | M6*1.0P | 10 | 2 1.6

-160K 225.4 |160|133| 27 | 32 |42 | 78 |63 | 24 | 32 | 40 | 10 | M8*1.0P | M6*1.0P | 5 | 3 1.9

-200K 265.4 |200|173| 27 | 32 | 42 |[118|63| 24 | 32 | 40 | 10 | M8*1.0P | M6*1.0P | 5 | 3 2.3

-SF12- 75K 140.4 | 75 | 48 | 27 |37 |47 | - | 63|24 |32 | - | 12 | M10*1.0P | M6*1.0P | 2 | 1 1.2

- 90K 155.4 | 90 | 63 | 27 |37 |47 | - | 63|24 |32 | - | 12 | M10*1.0P | M6*1.0P | 2 | 1 1.3

-120K 185.4 (120| 93 | 27 |37 |47 | - |63| 24 |32 | - | 12 | M10*1.0P | M6*1.0P | 10 | 2 1.6

-160K 225.4 160|133 | 27 | 37 | 47 | 78 |63 | 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 5 | 3 1.9

-200K 265.4 200|173 | 27 | 37 | 47 |118|63 | 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 5 | 3 2.3
BT40-SF14- 75K 140.4 | 75 | 48 | 27 |37 |47 | - | 63|27 | 34| - | 14 | M10*1.0P | M6*1.0P | 4 | 1 1.2
- 90K 155.4 | 90 | 63 | 27 |37 |47 | - | 63|27 | 34| - | 14 | M10*1.0P | M6*1.0P | 4 | 1 1.3

-120K 185.4 |120| 93 | 27 |37 |47 | - | 63|27 | 34| - | 14 | M10*1.0P | M6*1.0P | 10 | 2 1.6

-160K 225.4 |160|133| 27 | 37 | 47 | 78 | 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 | 3 1.9

-200K 265.4 |200|173| 27 | 37 | 47 |118| 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 | 3 2.3

MRSt RR:

JIFFE 1R Diameter

BT40SF EN06E qn
L14€E Length (L1)
IhH

BEX S Holder type

AR, Taper size




5 O0-N-w®

-BT40-SFK #A45 718 (4.5°87KEBY ) B140-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG. 1

BT. NO L5
T

2-M3*0. 5P

ol o g ESIPNPN

2-M3%0. 5P

<tz 8

2-M3%0. 5P

Yoo — - <58

# #& Model L LT L2 L3 L4 L5 L6 D D1 D2 D3 d T T1 R FIG EE= KGS
BT40-SF16- 75K 1404 | 75 | 48 |27|40 |50 | - | 63|27 |34 | - | 16 | M12*1.0P | M6*1.0P | 3 | 1 1.2
- 90K 155.4 | 90 | 63 |27 |40 |50 | - | 63|27 |34 | - | 16 | M12*1.0P | M6*1.0P | 3 | 1 1.3
-120K 185.4 [120| 93 (27|40 |50 | - | 63|27 |34 | - | 16 | M12*1.0P | M6*1.0P | 10 | 2 1.6 E
-160K 225.4 |160|133|27 |40 (50| 78 | 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 3 | 3 1.9
-200K 265.4 |200|173|27| 40 |50 (118| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 3 | 3 2.3 Be
-SF18- 75K 140.4 | 75 | 48 |27 | 40 | 50 | - 63 | 33 | 42 - 18 | M12*1.0P | M6*1.0P | 2 1 1.3 _|£‘
- 90K 155.4 | 90 | 63 |27 | 40 |50 | - 63 | 33 | 42 - 18 | M12*1.0P | M6*1.0P | 2 1 1.4 ;%)é
-120K 185.4 |120| 93 |27 |40 |50 | - 63 | 33 | 42 - 18 | M12*1.0P | M6*1.0P | 5 2 1.7 /g\g
-160K 225.4 1160|133 [27| 40 | 50| - 63 | 33 | 42 - 18 | M12*1.0P | M6*1.0P | 5 2 2 5”%
-200K 265.4 1200(173[27| 40 |50 | - 63 | 33 | 42 - 18 | M12*1.0P | M6*1.0P | 5 2 2.4
-SF20- 75K 1404 | 75 | 48 |27|42 |52 | - | 63|33 |42 | - | 20 | M16*1.0P | M6*1.0P | 2 | 1 1.3
-90K 155.4 | 90 | 63 |27|42 |52 | - | 63|33 |42| - | 20 | M16*1.0P | M6*1.0P | 2 | 1 1.4
-120K 185.4 [120| 93 (27|42 |52 | - | 63|33 |42| - |20 |M16*1.0P | M6*1.0P | 5 | 2 1.7
-160K 225.4 |160|133|27|42 |52| - [63 |33 |42 | - | 20 | M16*1.0P | M6*1.0P | 5 | 2 2
-200K 265.4 |200|173|27|42 (52| - [63 |33 |42 | - | 20 | M16*1.0P | M6*1.0P | 5 | 2 2.4
-SF25- 75K 1404 | 75 | 48 |27|48 |58 | - |63 |44 |53 | - | 25 | M16*1.0P | M6*1.0P | 2 | 1 1.6
- 90K 155.4 | 90 | 63 |27 |48 |58 | - |63 |44 |53 | - | 25 | M16*1.0P | M6*1.0P | 2 | 1 2
-120K 185.4 [120| 93 (27|48 |58 | - |63 |44 |53 | - | 25| M16*1.0P | M6*1.0P | 2 | 2 2.3
-160K 225.4 |160|133|27|48 |58 | - |63 |44 |53 | - | 25 | M16*1.0P | M6*1.0P | 2 | 2 2.6
-200K 265.4 |200|173|27 |48 |58 | - [63 |44 |53 | - | 25 | M16*1.0P | M6*1.0P | 2 | 2 3
-SF32- 75K 140.4 | 75 | 48 |27 | 52 |62 | - 63 | 44 | 53 = 32 | M16*1.0P | M6*1.0P | 2 1 1.6
- 90K 155.4 | 90 | 63 [27|52 |62 | - |63 |44 |53 | - |32 |MI16*1.0P | M6*1.0P | 2 | 1 2
-120K 185.4 |120| 93 (27|52 |62 | - 63 | 44 | 53 - 32 | M16*1.0P | M6*1.0P | 2 2 2.3
-160K 225.4 1160|133 [27| 52 |62 | - 63 | 44 | 53 - 32 | M16*1.0P | M6*1.0P | 2 2 2.6
-200K 265.4 120017327 | 52 |62 | - 63 | 44 | 53 - 32 | M16*1.0P | M6*1.0P | 2 2 3
Mg RA:
BT40ASF EN16E @
L1 Length (L1)
JI¥FE 1R Diameter
IHEEFLS Holder type
AR, Taper size




5 0-N-w®

-BT50-SFK #48J1#8 (4.5°87KEBY ) Br50-SrK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG. 1 D

T1

2-M3*0. 5P

- _1<f5|8

L2

L3

L1

FIG.2 D

2-M3*0. 5P

=158

FIG. 3 D

2-M3*0. 5P

L2

L3

L1

. M 4 Model d R FIG E& KGS
g BT50- SF06-100K 201.8 |[100| 62 |38 |26 |36 | - |100| 21 | 27 | - 6 | M5*0.8P | M6*1.0P | 5 | 1 3.7
§ -120K 221.8 |120| 82 |38 |26 |36 | - |100| 21 | 27 | - 6 | M5*0.8P | M6*1.0P | 10 | 2 3.9
5 -160K 2618 |160|122|38 |26 |36 | 78 |100| 21 | 27 | 41 | 6 | M5*0.8P | M6*1.0P | 5 | 3 4.2
2 -200K 301.8 |200|162| 38 |26 | 36 |118|100| 21 | 27 | 41 | 6 | M5*0.8P | M6*1.0P | 5 | 3 5.8
- SF08-100K 201.8 |[100| 62 |38 |26 |36 | - |100| 21 | 27 | - 8 | M6*1.0P | M6*1.0P | 5 | 1 3.8
-120K 221.8 |120| 82 |38 |26 |36 | - |100| 21 | 27 | - 8 | M6*1.0P | M6*1.0P | 10 | 2 3.9
-160K 2618 (160|122 |38 |26 |36 | 78 |100| 21 | 27 | 41 | 8 | M6*1.0P | M6*1.0P | 5 | 3 4.2
-200K 301.8 |200(162| 38 | 26 | 36 |{118|100| 21 | 27 | 41 | 8 | M6*1.0P | M6*1.0P | 5 | 3 5.8
- SF10-100K 201.8 [100| 62 |38 |32 |42 | - |100| 24 | 32| - | 10 | M8*1.0P | M6*1.0P | 5 | 1 3.9
-120K 221.8 |120| 82 |38 32|42 | - |100| 24 | 32 - 10 | M8*1.0P | M6*1.0P | 10 | 2 4.1
-160K 2618 |160(122|38 32|42 | 78 |100| 24 | 32 | 40 | 10 | M8*1.0P | M6*1.0P | 5 | 3 4.3
-200K 301.8 |200|162| 38 | 32|42 |118|100| 24 | 32 | 40 | 10 | M8*1.0Pp | M6*1.0P | 5 | 3 5.9
- SF12-100K 201.8 [100| 62 |38 |37 |47 | - |100| 24 | 32 | - | 12 | M10*1.0P | M6*1.0P | 5 | 1 3.9
-120K 221.8 (120 82 |38 |37 |47 | - |100| 24 | 32| - | 12 | M10*1.0P | M6*1.0P | 10 | 2 4.1
-160K 2618 (160|122 |38 |37 |47 | 78 |100| 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 5 | 3 4.3
-200K 301.8 |200|162| 38 |37 | 47 |118|100| 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 5 | 3 5.9
- SF14-100K 201.8 [100| 62 |38 |37 |47 | - |100| 27 | 34 | - | 14 | M10*1.0P | M6*1.0P | 5 | 1 3.9
-120K 221.8 (120| 82 |38 |37 |47 | - |100| 27 | 34| - | 14 | M10*1.0P | M6*1.0P | 10 | 2 41
-160K 2618 (160|122 |38 |37 |47 | 78 |100| 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 5 | 3 4.3
-200K 301.8 |200|162| 38 | 37 | 47 |118|100| 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 5 | 3 5.9
AL RA:
E L1 K[ Length (L1)
TI¥FE 1R Diameter
IHEEfLS Holder type
AT Taper size



5 O0-N-w®

-BT50-SFK #A4EJ] 4% (4.5°87KH )

BT50-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG. 1 D

m
2-M3*0. 5P

L2

L3

L1

FIG.2

T1 L5

2-M3%*0. 5P
o e

AR At —

_I<ta

o~
o

L2

L3

L1

FIG. 3

2-M3*0. 5P

L2

L3

L1

L E
W@
# # Model R FIG F& KGS —a
BT50- SF16-100K 201.8 ({100 62 | 38 | 40 | 50 | - |100| 27 |34 | - | 16 | M12*1.0P | M6*1.0P | 5 | 1 3.9 /] E
-120K 221.8 ({120(82 |38 |40 | 50 | - |100| 27 | 34| - | 16 | M12*1.0P | M6*1.0P | 10 | 2 41 %ﬁig
-160K 2618 |160|122| 38 | 40 | 50 | 78 |100| 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 5 | 3 4.3 yug
-200K 301.8 |200|162| 38 | 40 | 50 |118|100| 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 5 | 3 5.9
- SF18-100K 201.8 ({10062 | 38 | 40 | 50 | - |100| 33 |42 | - | 18 | M12*1.0P | M6*1.0P | 5 | 1 41
-120K 221.8 1120182 |38 | 40 | 50| - [100| 33 |42 | - | 18 | M12*1.0P | M6*1.0P | 10 | 2 4.2
-160K 2618 |160|122| 38 | 40 | 50 | 78 |100| 33 | 42 18 | M12*1.0P | M6*1.0P | 5 3 4.4
-200K 301.8 |200|162| 38 | 40 | 50 |118|100| 33 | 42 18 | M12*1.0P | M6*1.0P | 5 | 3 6.1
- SF20-100K 201.8 {100 62 | 38 | 42 | 52 | - |100| 33 |42 | - | 20 | M16*1.0P | M6*1.0P | 5 | 1 4.
-120K 221.8 {12082 | 38 | 42 | 52 | - |100| 33 |42 | - | 20 | M16*1.0P | M6*1.0P | 10 | 2 4.2
-160K 2618 |160|122| 38 | 42 | 52 | 78 | 100| 33 | 42 20 | M16*1.0P | M6*1.0P | 5 | 3 4.4
-200K 301.8 |200|162| 38 | 42 | 52 |118|100| 33 | 42 20 | M16*1.0P | M6*1.0P | 5 | 3 6.1
- SF25-110K 211.8 ({11072 | 38 | 48 | 58 | - |100| 44 | 53 | - | 25 | M16*1.0P | M6*1.0P | 5 | 1 4.5
-120K 221.8 ({12082 | 38 | 48 | 58 | - |100| 44 | 53 | - | 25 | M16*1.0P | M6*1.0P | 10 | 2 4.7
-160K 2618 |160|122| 38 | 48 | 58 | 78 | 100| 44 | 53 25 | M16*1.0P | M6*1.0P | 5 | 3 5l
-200K 301.8 |200|162| 38 | 48 | 58 |118|100| 44 | 53 25 | M16*1.0P | M6*1.0P | 5 | 3 6.1
- SF32-110K 211.8 ({11072 |38 | 52 | 62 | - |100| 44 | 53 | - | 32 | M16*1.0P | M6*1.0P | 5 | 1 4.5
-120K 221.8 (12082 | 38 | 52 | 62 | - |100| 44 | 53 | - | 32 | M16*1.0P | M6*1.0P | 10 | 2 4.7
-160K 2618 |160|122| 38 | 52 | 62 | 78 |100| 44 | 53 32 | M16*1.0P | M6*1.0P | 5 | 3 5.1
-200K 301.8 |200|162| 38 | 52 | 62 |118|100| 44 | 53 32 | M16*1.0P | M6*1.0P | 5 | 3 6.1
RS RA:
E L1 K[E Length(L1)
TJIMFE 1R Diameter
IHAEX S Holder type
AT Taper size




5 0-N-w®

-BT30-SL #4571 (3°—F&) BT30-SL SHRINK FIT HOLDER(3° MONO)

BT. NO

— = | ofo|5 S
k]D{F \¢» I AMKE

M Working length

L
gaics EF masEm
B2 # Accessories O e nugEEmARRT, HER
g = BAHLLT
bPJ19 Jﬁ ﬁﬂ**‘**‘r o TIRRE BATIAN, BEY

NEBAENKE BTEBAZLILSEROUE,

(Maximum insert length of the tool )

S Model

BT30-SLSA3- 75-M 22 3 6 1.5 75 22 | 31 8.3 25| 9 99 0.4 4.6

- 95-M 42 3 6 1.5 95 42 | 31 104 | 25 | 9 119 0.4 9.2
-120-M 67 3 6 1.5 120 67 | 31 13 25| 9 144 0.5 14.9

-SLRA3- 75-M 22 3 7.5 2.25 75 22 | 31 9.8 25| 9 99 0.5 2.8

-SLSA3.175- 75-M 22 3175 | 6175 1.5 75 22 | 31 8.5 25| 9 99 0.4 4.4

-95-M 42 3175 | 6175 1.5 95 42 | 31 10,6 | 25 | 9 119 0.4 8.8

-SLSA4- 75-M 22 4 7 1.5 75 22 | 31 9.3 25 | 12 99 0.4 3.6

- 95-M 42 4 7 1.5 95 42 | 31 1.4 | 25 | 12 | 119 0.4 7.3
E -120-M 67 4 7 1.5 120 67 31 14 25 12 144 0.5 11.9
é -SLRA 4- 75-M 22 4 10 3 75 22 | 31 12.3 | 25 | 12 99 0.5 1.8
é -SLSA6- 75-M 22 6 9 1.5 75 22 | 31 11.3 | 25 | 18 99 0.4 2.4
: - 95-M 42 6 9 1.5 95 42 | 31 134 | 25 | 18 | 119 0.4 4.9
-120-M 67 6 9 1.5 120 67 | 31 16 25 | 18 | 144 0.5 8.3

-SLRA6- 75-M 22 6 12 3 75 22 31 14.3 25 18 99 0.4 1.4

-SLRAS8- 75-M 22 8 14 3 75 22 31 16.3 25 24 99 0.4 1.2

-SLRA10- 75-M 22 10 16 3 75 22 31 18.3 25 30 99 0.4 1.1

-SLRA12- 75-M 22 12 20 4 75 22 31 22.3 25 30 99 0.5 1

-SLRA16- 60-M 22 16 26 5 60 22 16 28.3 34 32 60 0.5 0.5

-SLRA20- 65-M 22 20 32 6 65 22 21 34.3 40 38 60 0.5 0.4

AR EA:
T T T %Iﬁs&{cﬁ? Working length
KE Length (
JI#FE 1 Diameter
IHEEXS Holder type
AR, Taper size



5 O-N-w ®

+BT30-SL 45714 (CV B 8Y)

BT30-SL SHRINK FIT HOLDER(CV CURVE)

FIG.1 o
BT. NO _zéD’Ecﬁegi
sé 1 | O 0 %W‘ =1 OI 5
M MIEMKE
Working length
L
FIG.2
! BT.NO i
ﬁ - e —————
o %
_ _ _ Al _ _ . - i QT ols
‘ ——
" MIBYKE
Working length
L
o e
] g, EERER
BS #F Accessories [ I ©® T EEMMANET, SER
f=X e ﬁ L. BT
- =N < &
» P19 T, LEEREKE g mmmm A, BE
h TEBRBAKE g EEALRSICSERONE.
S Model FIG D (@ t L M (@] H h &F= KGS )
BT30-SLSA4- 75CV 1 4 7 1.5 75 53 34 12 99 0.5 1.8
- 90CV 1 4 7 1.5 90 68 34 12 114 0.5 2.8 =
-120CV 1 4 7 1.5 120 98 34 12 144 0.5 6.6 .
—
-SLRA4- 90CV 2 4 10 3 90 68 34 12 114 0.5 2 7] =
-120CV 2 4 10 3 120 98 34 12 144 0.5 2.9 gg
-SLSA6- 75CV 1 6 9 1.5 75 53 34 18 99 0.5 1.5 5l g
- 90CV 1 6 9 1.5 90 68 34 18 114 0.5 2.4
-120CV 1 6 9 1.5 120 98 34 18 144 0.5 5.6
-SLRA6- 90CV 2 6 13 3.5 90 68 34 18 114 0.5 1.6
-120CV 2 6 13 3.5 120 98 34 18 144 0.5 2.5
-SLSA8- 75CV 1 8 11 1.5 75 53 34 24 99 0.5 1.3
- 90CV 1 8 11 1.5 90 68 34 24 114 0.6 2.2
-SLRA8- 90CV 2 8 16 4 90 68 34 24 114 0.5 1.1
-SLSA10- 75CV 1 10 13 1.5 75 53 34 30 99 0.5 1.2
- 90CV 1 10 13 1.5 90 68 34 30 114 0.5 2
-SLRA10- 90CV 1 10 19 4.5 90 68 34 30 114 0.6 1.1
g5 RE:
$ﬂé£§2 Curve
L €E Length (L)
JIMFE 1R Diameter
IHaE{X S Holder type
AR Taper size




5 O0-N-w®

FIG.1

BT40-SL SHRINK FIT HOLDER(3° MONO)

ﬁs[s
mTaE
FIG.2
2,
-~ == ofo|o
=
L1 M MIHEHK]
2228 2R masEm
B2 1% Accessories ﬁ\ —————f ® BAT BENANRT, REH
3 G DI BALHILT.

-2 =5 J(/HJ W BEREKE o AR EATAN, BEE®

» P19 h DABKENKE gl AmALRLICSEROME,

#S Model FIG D C t L M L1 L2 Cc1 c2 Cc3 H E=KGS S

BT40-SLSA3- 95-M 42 1 3 6 1.5 95 42 26 * 10.4 25 * 9 130 1 9.1
-120-M 67 1 3 6 1.5 120 67 26 * 13 25 * 9 155 1 14.6
-125-M 42 1 3 6 1.5 125 42 56 * 10.4 25 * 9 160 1.1 9.7
-150-M 67 1 3 6 1.5 150 67 56 * 13 25 * 9 185 1.1 15.7
-M 97 1 3 6 1.5 150 97 26 * 16.2 25 * 9 185 1.1 20.4
-155-M 42 2 3 6 1.5 155 42 33 53 10.4 26 40 9 190 1.4 9.9
z -180-M 67 2 3 6 1.5 180 67 33 53 13 25 39 9 215 1.4 15.7
Lﬁ -M 97 1 3 6 1.5 180 97 56 * 16.2 25 * 9 215 1.2 221
i -210-M 97 2 3 6 1.5 210 97 33 53 16.2 25 39 9 245 1.4 221
é -SLRA3- 75-M 22 1 3 | 75| 2.25 75 22 26 * 9.8 25 * 9 110 1 2.7
° - 95-M 42 1 3 | 75| 2.25 95 42 26 * 11.9 25 * 9 130 1 5.3
-105-M 22 1 3 | 75| 2.25 105 22 56 * 9.8 25 * 9 140 1.1 3.2
-120-M 67 1 3 7.5 | 2.25 120 67 26 * 14.5 25 * 9 155 1.1 8.8

-125-M 42 1 3 7.5 | 2.25 125 42 56 * 11.9 25 * 9 160 1.1 6
-135-M 22 2 3 75 | 2.25 135 22 33 53 9.8 25 39 9 170 1.4 3.2
-150-M 67 1 3 | 75| 2.25 150 67 56 * 14.5 25 * 9 185 1.2 14.5
-M 97 1 3 | 75| 2.25 150 97 26 * 17.7 25 * 9 185 1.1 12.8

-155-M 42 2 3 | 75| 2.25 155 42 33 53 11.9 25 39 9 190 1.4 6
-180-M 67 2 3 | 75| 2.25 180 67 33 53 14.5 26 40 9 215 1.4 9.8
-M 97 1 3 7.5 | 2.25 180 97 56 * 17.7 25 * 9 215 1.2 14.3
-M127 1 3 | 75| 2.25 180 127 | 26 * 20.8 36 * 9 215 1.1 15.7
-210-M 97 2 3 7.5 | 2.25 210 97 33 53 17.7 25 39 9 245 1.5 14.4
-M127 1 3 7.5 | 2.25 210 127 56 * 20.8 32 * 9 245 1.4 16.5
-240-M127 2 3 75 | 2.25 240 127 28 58 20.8 36 50 9 275 1.8 16.3

AL EA:

BT40|E BT

? E INITHEMEKRE Working length
L € Length (L)

TJIMFE 1R Diameter
IHAE{X S Holder type

AR Taper size



®
@ O-N-W BT #7787

-BT40-SL & 4871 (3°—HhH) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

mIBK

4

Working length

FIG.2

[
c
ct

MITEYKE
We

jorking length

#4ige 3] W EEER

Bt 14 Accessories { Safety mark ) (Thickness )

H (Minimum insert length of the tool )

h ( Maximum insert length of the tool )

o HIET BEAMMBREET, HER

= Y
& s ﬁ 5ol BT,
» P19 JT’* BEREKE o NNERE FEAJIEN, EEY

TNARKBANKE BINAEBALZSIESERNME,

S Model FIG D C t L M L1 L2 Cc1 c2 c3 H h E=KGS S
BT40-SLFB3- 75-M 22 1 3 19.5]3.25 75 22 26 * 11.8 25 * 9 110 1 1.9
/ - 95-M 42 1 3 19.5]3.25 95 42 26 * 13.9 25 * 9 130 1 3.2
@ -105-M 22 1 3 19.5]| 3.25 105 22 56 * 11.8 25 * 9 140 1.1 2.3
-120-M 67 1 3 19.5]3.25| 120 67 26 * 16.5 25 * 9 155 1.1 5.3
-125-M 42 1 3 19.5]3.25| 125 42 56 * 13.9 25 * 9 160 11 3.9
-135-M 22 2 3 19.5]3.25| 135 22 33 | 53 11.8 25 39 9 170 1.4 2.3 E
-150-M 67 1 3 19.5]| 3.25 150 67 56 * 16.5 25 * 9 185 1.2 6.4
-155-M 42 2 3 |9.5]3.25| 155 42 33 | 53 13.9 25 39 9 190 1.4 3.9 Ea
-180-M 67 2 3 19.5]3.25| 180 67 33 | 53 16.5 26 | 40 9 215 1.4 6.3 )jg
-SLSA4- 95-M 42 1 4 7 1.5 95 42 26 * 11.4 25 * 12 130 1 7.1 ﬁg
-120-M 67 1 4 7 1.5 120 67 26 * 14 25 * 12 155 1 11.7 /ﬁgﬁé
-125-M 42 1 4 7 1.5 125 42 56 * 11.4 25 * 12 160 1.1 79 2
-150-M 67 1 4 7 1.5 150 67 56 * 14 25 * 12 185 1.1 12.8
-M 97 1 4 7 1.5 150 97 26 * 17.2 25 * 12 185 1.1 16.5
-155-M 42 2 4 7 1.5 155 42 33 53 11.4 25 39 12 190 1.4 79
-180-M 67 2 4 7 1.5 180 67 33 | 53 14 25 39 12 215 1.4 12.8
-M 97 1 4 7 1.5 180 97 56 * 17.2 25 * 12 215 1.2 18.3
-210-M 97 2 4 7 1.5 210 97 33 | 53 17.2 25 39 12 245 1.5 18.2
-SLRA4- 75-M 22 1 4 10 3 75 22 26 * 12.3 25 * 12 110 1 1.7
- 95-M 42 1 4 10 3 95 42 26 * 14.4 25 * 12 130 1 3.1
-105-M 22 1 4 10 3 105 22 56 * 12.3 25 * 12 140 1.1 2.2
-120-M 67 1 4 10 3 120 67 26 * 17 25 * 12 155 1.1 5.1
-125-M 42 1 4 10 3 125 42 56 * 14.4 25 * 12 160 1.1 3.8
-135-M 22 2 4 10 3 135 22 33 53 12.3 25 39 12 170 1.4 2.2
-150-M 67 1 4 10 3 150 67 56 * 17 25 * 12 185 1.2 6.3
-M 97 1 4 10 3 150 97 26 * 20.2 25 * 12 185 1.1 7.7
KA 5 ER:
BT40[E -3-3- NF
NI BRI E Working length
L €E Length (L)
T E 1R Diameter
H8EfXS Holder type
AR Taper size




5 O0-N-w®

BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

ﬁs[s
mLEHKE
FIG.2
7
-~ = ofo|o
: R4
L LRkl
- N
B2 £ Accessories %ﬁ%@aﬁ (T%{;ZS) N EEER
m-:&: [ | o RIfT BEMANERT, sER
e ﬁ ol R
T |LEEARKE e MARREANAN, Esu
h ﬂﬁfﬁﬁ@ﬁ%m BINEBALRSIESERNME, )
S Model FIG D C t L M L1 L2 Cc1 c2 c3 H h E=KGS S
BT40-SLRA4-155-M 42 2 4 10 3 155 42 33 | 53 14.4 25 39 12 190 1.4 3.8
-180-M 67 2 4 10 3 180 67 33 | 53 17 25 39 12 215 1.4 6.2
-M 97 1 4 10 3 180 97 56 * 20.2 25 * 12 215 1.2 9.5
-M127 1 4 10 3 180 127 | 26 * 23.3 32 * 12 215 1.2 9.4
-210-M 97 2 4 10 3 210 97 33 | 53 20.2 25 39 12 245 1.5 9.4
-M127 1 4 10 3 210 127 | 56 * 23.3 32 * 12 245 1.4 10.3
-240-M127 2 4 10 3 240 127 | 30 | 56 23.3 32 | 46 12 275 1.8 10.4
E -SLFB4- 75-M 22 1 4 12 4 75 22 26 * 14.3 25 * 12 110 1 1.3
é / - 95-M 42 1 4 12 4 95 42 26 * 16.4 25 * 12 130 1.1 2.2
5 -105-M 22 1 4 12 4 105 22 56 * 14.3 25 * 12 140 1.1 1.8
E -120-M 67 1 4 12 4 120 67 26 * 19 25 * 12 155 1.1 3.5
-125-M 42 1 4 12 4 125 42 56 * 16.4 25 * 12 160 1.2 2.9
-135-M 22 2 4 12 4 135 22 33 | 53 14.3 25 39 12 170 1.4 1.8
-150-M 67 1 4 12 4 150 67 56 * 19 25 * 12 185 1.2 4.7
-155-M 42 2 4 12 4 155 42 33 | 53 16.4 25 39 12 190 1.4 2.9
-180-M 67 2 4 12 4 180 67 33 | 53 19 25 39 12 215 1.5 4.7
-SLSA6- 95-M 42 1 6 9 1.5 95 42 26 * 13.4 25 * 18 130 1 4.8
-120-M 67 1 6 9 1.5 120 67 26 * 16 25 * 18 155 1.1 8
-125-M 42 1 6 9 1.5 125 42 56 * 13.4 25 * 18 160 1.1 5.6
-150-M 67 1 6 9 1.5 150 67 56 * 16 25 * 18 185 1.2 9.2
-M 97 1 6 9 1.5 150 97 26 * 19.2 32 * 18 185 1.1 11
-155-M 42 2 6 9 1.5 155 42 33 | 53 13.4 25 39 18 190 1.4 5.6
-180-M 67 2 6 9 1.5 180 67 33 | 53 16 25 39 18 215 1.4 9.2
-M 97 1 6 9 1.5 180 97 56 * 19.2 32 * 18 215 1.3 11.7
-210-M 97 2 6 9 1.5 210 97 30 | 56 19.2 32 | 46 18 245 1.7 11.7
FRA& 5 ER:

TIWFE 1R Diameter

BT408 - - - @
NI BRI Working length
L €E Length (L)

IHEEX S Holder type
AT Taper size



®
*5 O-N-W BT M

-BT40-SL & 4871 (3°—HhH) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

Faf o gig

mIAKE
Working length
FIG.2
D
787 = === ofo|o
%,
UL it

REiS 2= W EEER
Bt 14 Accessories { Safety mark ) (Thickness )
o HIfT BEMANERT, sER

,‘_‘ —— R 0
w2 ﬁ‘ Jol BIHET.
» P19 JT’* BEREKE o NNERE FEAJIEN, EEY

H (Minimum insert length of the tool )

TNARKBANKE BINAEBALZSIESERNME,

h ( Maximum insert length of the tool )

S Model D t h ZEEKGS S
BT40-SLSB6- 95-M 42 1 6 | 10 2 95 42 26 * 14.4 25 * 18 130 1 3.6
-120-M 67 1 6 | 10 2 120 67 26 * 17 25 * 18 155 1.1 6.1
-125-M 42 1 6 | 10 2 125 42 56 * 14.4 25 * 18 160 1.1 4.5
-150-M 67 1 6 | 10 2 150 67 56 * 17 25 * 18 185 1.2 7.4
-M 97 1 6 | 10 2 150 97 26 * 20.2 32 * 18 185 1.2 8.5 E
-155-M 42 2 6 | 10 2 155 42 33 | 53 14.4 25 | 39 18 190 1.4 4.4
-180-M 67 2 6 | 10 2 180 67 33 | 53 17 25 | 39 18 | 215 1.4 7.4 Be
-M 97 1 6 | 10 2 180 97 56 * 20.2 32 * 18 | 215 1.3 9.2 —|§
-M127 1 6 | 10 2 180 127 | 26 * 23.3 32 * 18 | 215 1.2 11 ;%%
-210-M 97 2 6 | 10 2 210 97 30 | 56 20.2 32 | 46 18 | 245 1.7 9.2 ,%g
-M127 1 6 | 10 2 210 127 | 56 * 23.3 32 * 18 | 245 1.4 12 55
-M157 1 6 | 10 2 210 157 | 26 * 26.5 32 * 18 | 245 1.3 13.2
-240--M127 2 6 | 10 2 240 127 | 30 | 56 23.3 32 | 46 18 | 275 1.8 12
-M157 1 6 | 10 2 240 157 | 56 * 26.5 36 * 18 | 275 1.7 14.5
-270-M157 2 6 | 10 2 270 157 | 30 | 56 26.5 32 | 46 18 305 1.9 14.6
-SLRB6- 75-M 22 1 6 | 14 4 75 22 26 * 16.3 32 * 18 110 1.1 1
- 95-M 42 1 6 | 14 4 95 42 26 * 18.4 32 * 18 130 1.1 1.6
-105-M 22 1 6 | 14 4 105 22 56 * 16.3 32 * 18 140 1.2 1.2
-120-M 67 1 6 | 14 4 120 67 26 * 21 32 * 18 155 1.2 2.6
-125-M 42 1 6 | 14 4 125 42 56 * 18.4 32 * 18 160 1.3 1.9
-135-M 22 2 6 | 14 4 135 22 30 | 56 16.3 32 | 46 18 170 1.6 1.2
-150-M 67 1 6 | 14 4 150 67 56 * 21 32 * 18 185 1.3 3
-155-M 42 2 6 | 14 4 155 42 30 | 56 18.4 32 | 46 18 190 1.6 1.9
-180-M 67 2 6 | 14 4 180 67 30 | 56 21 32 | 46 18 | 215 1.7 3.1
FA& 5 BR:
BT401E -B-E8 - MEE
10T &I E Working length
L €E Length (L)
JIFFE 1R Diameter
hisefXS Holder type
HARAZ T, Taper size




5 O0-N-w®

-BT40-SL & 4871 (3°—HhH) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

ﬁs[s
MIEER
FIG.2
2
-~ == ofo|o
: R4
L 1 LRkl
- N
B2 £ Accessories ?gﬁ%@ﬁ (T%{;ZS) N EEER
e [ Kt o H§T BEEMANRT, stfEA
T ﬁ‘ ot BT,
T |LEEARKE e MARREANAN, Esu
h ﬂaﬁfﬁﬁﬁjﬁ%m BINEBALRSIESERNME, )
D t h B= KGS
BT40-SLFB6- 75-M 22 1 6 | 14 4 75 22 26 * 16.3 32 * 18 110 1.1 1
/ - 95-M 42 1 6 | 14 4 95 42 26 * 18.4 32 * 18 130 1.1 1.6
g -105-M 22 1 6 | 14 4 105 22 56 * 16.3 32 * 18 140 1.2 1.2
-120-M 67 1 6 | 14 4 120 67 26 * 21 32 * 18 155 1.2 2.6
-125-M 42 1 6 | 14 4 125 42 56 * 18.4 32 * 18 160 1.3 1.9
-135-M 22 2 6 | 14 4 135 22 30 | 56 16.3 32 | 46 18 170 1.6 1.2
. -150-M 67 1 6 | 14 4 150 67 56 * 21 32 * 18 185 1.3 3
% -155-M 42 2 6 | 14 4 155 42 30 | 56 18.4 32 | 46 18 190 1.6 1.9
E -180-M 67 2 6 | 14 4 180 67 30 | 56 21 32 | 46 18 | 215 1.7 3.1
g -SLSA8- 95-M 42 1 8 | 11 1.5 95 42 26 * 15.4 25 * 24 130 1 3.4
& -120-M 67 1 8 | 11 1.5 120 67 26 * 18 32 * 24 155 1.1 5.4
-125-M 42 1 8 | 11 1.5 125 42 56 * 15.4 25 * 24 160 1.1 4.3
-150-M 67 1 8 | 11 1.5 150 67 56 * 18 32 * 24 185 1.3 5.9
-M 97 1 8 | 1 1.5 150 97 26 * 21.2 32 * 24 185 1.2 7.9
-155-M 42 2 8 | 11 1.5 155 42 33 | 53 15.4 25 | 39 24 190 1.4 4.3
-180-M 67 2 8 | 11 1.5 180 67 30 | 56 18 32 | 46 24 | 215 1.6 5.9
-M 97 1 8 | 11 1.5 180 97 56 * 21.2 32 * 24 | 215 1.3 8.7
-210-M 97 2 8 | 11 1.5 210 97 28 | 58 21.2 36 50 24 | 245 1.9 8.4
-SLSB8- 95-M 42 1 8 | 13| 2.5 95 42 26 * 17.4 32 * 24 130 1.1 2.1
-120-M 67 1 8 | 13| 2.5 120 67 26 * 20 32 * 24 155 1.1 3.5
-125-M 42 1 8 | 13| 2.5 125 42 56 * 17.4 36 * 24 160 1.3 2.3
-150-M 67 1 8 | 13| 2.5 150 67 56 * 20 32 * 24 185 1.3 4
-M 97 1 8 | 13| 2.5 150 97 26 * 23.2 32 * 24 185 1.2 5.2
-155-M 42 2 8 | 13| 2.5 155 42 30 | 56 17.4 32 | 46 24 190 1.6 2.5
FA& 5 BR:
BT4018 ET}] -B-18 - MF
1T &I E Working length
L €E Length (L)
TI¥FE 1R Diameter
IHEEX S Holder type
AT Taper size



®
@ O-N-W BT #7787

-BT40-SL & 4871 (3°—HhH) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

mIAKE

Working length

FIG.2

|

I

I

I

I
[
c
ct

MITEYKE

L1 M Working length

REiS 2= W EEER
Bt 14 Accessories { Safety mark ) (Thickness )
o HIfT BEMANERT, sER

= Y
& s ﬁ 5ol BT,
» P19 JT’* BEREKE o NNERE FEAJIEN, EEY

H (Minimum insert length of the tool )

TNARKBANKE BINAEBALZSIESERNME,

h ( Maximum insert length of the tool )

S Model D h =E=2KGS S
BT40-SLSB8-180-M 67 2 8 13 | 2.5 180 67 30 56 20 32 46 24 215 1.7 4
-M 97 1 8 13 | 2.5 180 97 56 * 23.2 32 * 24 215 1.4 6
-M127 1 8 13 2.5 180 127 | 26 * 26.3 32 * 24 215 1.3 7
-210-M 97 2 8 13 | 2.5 210 97 30 56 23.2 32 46 24 245 1.7 6
-M127 1 8 13 | 2.5 210 127 | 56 * 26.3 36 * 24 245 1.5 77
-M157 1 8 13 2.5 210 157 | 26 * 29.5 36 * 24 245 1.4 8.5 E
-240-M127 2 8 13 2.5 240 127 | 30 56 26.3 32 46 24 275 1.8 8.1
-M157 1 8 13 | 2.5 240 157 | 56 * 29.5 42 * 24 275 1.7 8.6 EU| a
-270-M157 2 8 13 | 2.5 270 157 | 28 | 58 29.5 42 53 24 305 2.2 8.7 7] g
-SLRB8- 75-M 22 1 8 18 5 75 22 26 * 20.3 32 * 24 110 1.1 0.7 1" Z«
- 95-M 42 1 8 18 5 95 42 26 * 22.4 32 * 24 130 1.1 1.1 /ﬁgﬁ é
-105-M 22 1 8 18 5 105 22 56 * 20.3 32 * 24 140 1.2 0.9 °
-120-M 67 1 8 18 5 120 67 26 * 25 32 * 24 155 1.2 1.7
-125-M 42 1 8 18 5 125 42 56 * 22.4 32 * 24 160 1.3 1.4
-135-M 22 2 8 18 5 135 22 30 56 20.3 32 46 24 170 1.6 1
-150-M 67 1 8 18 5 150 67 56 * 25 32 * 24 185 1.4 2.2
-155-M 42 2 8 18 5 155 42 30 56 22.4 32 46 24 190 1.7 1.5
-180-M 67 2 8 18 5 180 67 30 56 25 32 46 24 215 1.8 2.2
-SLFB8- 75-M 22 1 8 18 5 75 22 26 * 20.3 32 * 24 110 1.1 0.7
/ - 95-M 42 1 8 18 5 95 42 26 * 22.4 32 * 24 130 1.1 1.1
-105-M 22 1 8 18 5 105 22 56 * 20.3 32 * 24 140 1.2 0.9
-120-M 67 1 8 18 5 120 67 26 * 25 32 * 24 155 1.2 1.7
-125-M 42 1 8 18 5 125 42 56 * 22.4 32 * 24 160 1.3 1.4
-135-M 22 2 8 18 5 135 22 30 56 20.3 32 46 24 170 1.6 1
-150-M 67 1 8 18 5 150 67 56 * 25 32 * 24 185 1.4 2.2
-155-M 42 2 8 18 5 155 42 30 56 22.4 32 46 24 190 1.7 1.5
-180-M 67 2 8 18 5 180 67 28 | 58 25 36 50 24 215 1.9 2
AR RA:

TI#FE 1 Diameter
IHEEfLS Holder type
AR, Taper size

BT40E - K - - W
MBI E wWorking length
L £ Length (L)




5 O0-N-w®

-BT40-SL & 4871 (3°—HhH) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

ﬁs[s
mLEHKE
FIG.2
7
-~ == ofo|o
: 2/
L M LA
- N
B2 £ Accessories ?gﬁ%@ﬁ (T%{;ZS) B EEER
e [ Kt o H§T BEEMANRT, stfEA
T ﬁ‘ ot BT,
T | LREKE e IARRBATAN, BHY
N NARKIENKE BIEBALRSIEEERIME, )
S Model h &= KGS

BT40-SLSA10- 95-M 42 1 10 | 13 1.5 95 42 26 * 17.4 25 * 30 130 1 2.6

-120-M 67 1 10 | 13 1.5 120 67 26 * 20 32 * 30 155 1.1 4

-125-M 42 1 10 | 13 1.5 125 42 56 * 17.4 25 * 30 160 1.1 3.6

-150-M 67 1 10 | 13 1.5 150 67 56 * 20 32 * 30 185 1.3 4.6

-M 97 1 10 | 13 1.5 150 97 26 * 23.2 32 * 30 185 1.2 6

-155-M 42 2 10 | 13 1.5 155 42 30 | 53 17.4 25 39 30 190 1.4 3.6

. -180-M 67 2 10 | 13 1.5 180 67 28 | 58 20 36 50 30 215 1.8 4.4
Q -M 97 1 10 | 13 1.5 180 97 56 * 23.2 32 * 30 215 1.3 6.9
% -210-M 97 2 10 | 13 1.5 210 97 30 | 56 23.2 32 | 46 30 245 1.7 6.9
g -SLSB10- 95-M 42 1 10 | 16 3 95 42 26 * 20.4 32 * 30 130 1.1 1.4
& -120-M 67 1 10 | 16 3 120 67 26 * 23 32 * 30 155 1.2 2.4
-125-M 42 1 10 | 16 3 125 42 56 * 20.4 32 * 30 160 1.3 1.8

-150-M 67 1 10 | 16 3 150 67 56 * 23 32 * 30 185 1.3 3

-M 97 1 10 | 16 3 150 97 26 * 26.2 32 * 30 185 1.3 3.6

-155-M 42 2 10 | 16 3 155 42 30 | 56 20.4 32 | 46 30 190 1.6 1.9

-180-M 67 2 10 | 16 3 180 67 30 | 56 23 32 | 46 30 215 1.7 3

-M 97 1 10 | 16 3 180 97 56 * 26.2 32 * 30 215 1.4 4.5

-M127 1 10 | 16 3 180 127 | 26 * 29.3 42 * 30 215 1.4 4.5

-210-M 97 2 10 | 16 3 210 97 30 | 56 26.2 32 | 46 30 245 1.8 4.5

-M127 1 10 | 16 3 210 127 | 56 * 29.3 42 * 30 245 1.6 4.9

-M157 1 10 | 16 3 210 157 | 26 * 32.5 42 * 30 245 1.5 5.6

-240-M127 1 10 | 16 3 240 127 | 86 * 29.3 50 * 30 275 2.1 5

-M157 1 10 | 16 3 240 157 | 56 * 32.5 50 * 30 275 1.8 5.8

-270-M157 2 10 | 16 3 270 157 | 28 | 58 32.5 42 53 30 305 2.3 6.3

AL ER:

BT40 M -BF - mfg
T EXEE Working length
L <E Length (L)
B 1% Diameter
HRE

X = Holder type
ARSI Taper size



®
@ O-N-W BT #7787

-BT40-SL & 4871 (3°—HhH) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

mIBK

4

Working length

FIG.2

[
c
ct

MITEYKE
We

jorking length

#4ige 3] W EEER

Bt 14 Accessories { Safety mark ) (Thickness )

H (Minimum insert length of the tool )

h ( Maximum insert length of the tool )

o HIET BEAMMBREET, HER

=2 - e
R ﬁ ol BT,
» P19 JT’J BEREKE o NNERE FEAJIEN, EEY

TNARKBANKE BINAEBALZSIESERNME,

t h ZE=ZKGS S
BT40-SLRB10- 75-M 22 1 10 | 22 6 75 22 26 * 24.3 32 * 30 110 1.1 0.6
- 95-M 42 1 10 | 22 6 95 42 26 * 26.4 32 * 30 130 1.2 0.8
-105-M 22 1 10 | 22 6 105 22 56 * 24.3 32 * 30 140 1.3 0.8
-120-M 67 1 10 | 22 6 120 67 26 * 29 42 * 30 155 1.3 1.1
-125-M 42 1 10 | 22 6 125 42 56 * 26.4 32 * 30 160 1.3 1.2
-135-M 22 2 10 | 22 6 135 22 30 56 24.3 32 46 30 170 1.7 0.9 E
-150-M 67 1 10 | 22 6 150 67 56 * 29 42 * 30 185 1.5 1.3
-155-M 42 2 10 | 22 6 155 42 30 56 26.4 32 46 30 190 1.7 1.3 E ©
-180-M 67 2 10 | 22 6 180 67 28 58 29 42 53 30 215 2.1 1.4 7] ;§
-SLFB10- 75-M 22 1 10 | 22 6 75 22 26 * 24.3 32 * 30 110 1.1 0.6 yo] ;
/ - 95-M 42 1 10 | 22 6 95 42 26 * 26.4 32 * 30 130 1.2 0.8 ,g\ﬁ
@ -105-M 22 | 1 [ 1022 6 | 105 | 22 |56 | * | 243 | 32| * |30 140 | 13 |08 &
-120-M 67 1 10 | 22 6 120 67 26 * 29 42 * 30 155 1.3 1.1
-125-M 42 1 10 | 22 6 125 42 56 * 26.4 32 * 30 160 1.3 1.2
-135-M 22 2 10 | 22 6 135 22 30 56 24.3 32 46 30 170 1.7 0.9
-150-M 67 1 10 | 22 6 150 67 56 * 29 42 * 30 185 1.5 1.3
-155-M 42 2 10 | 22 6 155 42 28 58 26.4 36 50 30 190 1.9 1.1
-180-M 67 2 10 | 22 6 180 67 28 | 58 29 42 53 30 215 2.1 1.4
-SLSA12- 95-M 42 1 12 | 15 1.5 95 42 26 * 19.4 32 * 30 130 1.1 1.8
-120-M 67 1 12 | 15 1.5 120 67 26 * 22 32 * 30 155 1.1 3.3
-125-M 42 1 12 | 15 1.5 125 42 56 * 19.4 32 * 30 160 1.2 2.3
-150-M 67 1 12 | 15 1.5 150 67 56 * 22 36 * 30 185 1.4 3.6
-M 97 1 12 | 15 1.5 150 97 26 * 25.2 32 * 30 185 1.2 4.9
-155-M 42 2 12 | 15 1.5 155 42 30 56 19.4 32 46 30 190 1.6 2.3
-180-M 67 2 12 | 15 1.5 180 67 30 56 22 32 46 30 215 1.7 3.9
-M 97 1 12 | 15 1.5 180 97 56 * 25.2 32 * 30 215 1.4 5.8
-210-M 97 2 12 | 15 1.5 210 97 30 56 25.2 32 46 30 245 1.7 5.8
g5 RE:
BT40[E - -3 - NF
I T AR E Working length
L E Length (L)
TIHFE 1R Diameter
IHEE{X S Holder type
AT Taper size




5 O0-N-w®

-BT40-SL & 4871 (3°—HhH) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

ﬁs[s
mLEHKE
FIG.2
7
-~ == ofo|o
: 2/
L M LA
- N
B2 £ Accessories ?gﬁ%@ﬁ (T%{;ZS) B EEER
e [ Kt o H§T BEEMANRT, stfEA
T ﬁ‘ ot BT,
T | LREKE e IARRBATAN, BHY
N NARKIENKE BIEBALRSIEEERIME, )

S Model h ZE=KGS S

BT40-SLSB12- 95-M 42 1 12 | 19 | 3.5 95 42 26 * 23.4 32 * 30 130 1.1 1.1

-120-M 67 1 12 | 19 | 3.5 120 67 26 * 26 32 * 30 155 1.2 1.8

-125-M 42 1 12 | 19 | 3.5 125 42 56 * 23.4 32 * 30 160 1.3 1.5

-150-M 67 1 12 | 19 | 3.5 150 67 56 * 26 32 * 30 185 1.3 2.5

-M 97 1 12 | 19 | 3.5 150 97 26 * 29.2 42 * 30 185 1.3 2.4

-155-M 42 2 12 | 19 | 3.5 155 42 30 | 56 23.4 32 | 46 30 190 1.7 1.6

. -180-M 67 2 12 | 19 | 3.5 180 67 28 | 58 26 36 50 30 215 1.9 2.2
Q -M 97 1 12 | 19 | 3.5 180 97 56 * 29.2 50 * 30 215 1.7 2.6
% -M127 1 12 | 19 | 3.5 180 127 | 26 * 32.3 42 * 30 215 1.5 3.3
g -210-M 97 2 12 | 19 | 3.5 210 97 28 | 58 29.2 42 53 30 245 2.1 2.9
& -M127 1 12 | 19 | 3.5 210 127 | 56 * 32.3 50 * 30 245 1.9 3.5
-M157 1 12 | 19 | 3.5 210 157 | 26 * 35.5 42 * 30 245 1.7 4.1

-240-M127 1 12 | 19 | 3.5 240 127 | 86 * 32.3 50 * 30 275 2.2 3.8

-M157 1 12 | 19 | 3.5 240 157 | 56 * 35.5 42 * 30 275 1.9 4.7

-270-M157 2 12 | 19 | 3.5 270 157 | 28 | 58 35.5 42 53 30 305 2.4 4.8

-SLRB12- 75-M 22 1 12 | 26 7 75 22 26 * 28.3 42 * 30 110 1.2 0.4

- 95-M 42 1 12 | 26 7 95 42 26 * 30.4 42 * 30 130 1.2 0.6

-105-M 22 1 12 | 26 7 105 22 56 * 28.3 50 * 30 140 1.4 0.5

-120-M 67 1 12 | 26 7 120 67 26 * 33 42 * 30 155 1.4 0.8

-125-M 42 1 12 | 26 7 125 42 56 * 30.4 42 * 30 160 1.5 0.7

-135-M 22 1 12 | 26 7 135 22 86 * 28.3 50 * 30 170 1.8 0.6

-150-M 67 1 12 | 26 7 150 67 56 * 33 42 * 30 185 1.6 1.1

-155-M 42 2 12 | 26 7 155 42 28 | 58 30.4 42 53 30 190 2 0.8

-180-M 67 2 12 | 26 7 180 67 28 | 58 33 42 53 30 215 2.1 1.1

AL ER:

BT40E - - - m
T EXEE Working length
L E Length (L)
108

M E 1R Diameter
BE1LS Holder type
AR Taper size



®
*5 O-N-W BT M

-BT40-SL & 4871 (3°—HhH) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

mIBK

4

Working length

FIG.2

[
c
ct

MITEYKE

Working length

#4ige 3] WEEER

Bt 14 Accessories { Safety mark ) (Thickness )

H (Minimum insert length of the tool )

h ( Maximum insert length of the tool )

o HIET BEAMMBREET, HER

,‘_‘ —— R 0
w2 ﬁ‘ Jol BIHET.
» P19 JT’* BEREKE o NNERE FEAJIEN, EEY

TNARKBANKE BINAEBALZSIESERNME,

h ZEZEKGS S

BT40-SLFB12- 75-M 22 | 1 |12 |26 | 7 | 75 | 22 | 26 | * | 283 | 42| * | 30 | 110 | 12 | 0.4
A -95Ma2 | 1 |1226| 7 | 95 | 42 | 26| * | 304 |42 * |30 | 130 | 12 |06
JE 105-M22 | 1 | 12|26 7 | 105 | 22 | 56| * | 283 | 42| * | 30 | 140 | 14 |05
1200M67 | 1 | 12|26 7 | 120 | 67 | 26 | * | 33 | 42| * | 30 | 155 | 14 |o08
125-M42 | 1 |12 ]26| 7 | 125 | 42 | 56| * | 304 | 42| * | 30 | 160 | 15 |07 E
135-M22 | 2 | 12|26 7 | 135 | 22 | 28 | 58 | 283 | 42| 53 | 30 | 170 | 19 | 06
150-M67 | 1 |12 |26| 7 | 150 | 67 |56 | * | 33 | 42| * | 30 | 185 | 16 | 1 o
155-M 42 | 1 |12 |26| 7 | 155 | 42 |86 | * | 304 | 50| * | 30 |19 | 2 |o8 "g
180-M67 | 2 |12 26| 7 | 180 | 67 | 28 | 58 | 33 | 42| 53 | 30 | 215 | 21 | 11 ;%g
SLSB16- 95-M 42 | 1 | 16 | 24 | 4 | 95 | 42 | 26 | * | 284 | 42| * | 32 | 105 | 12 |07 %3
1200M 67 | 1 | 16| 24| 4 | 120 | 67 | 26| * | 31 | 42| * |32 130 | 13 | 11 5a
125-M42 | 1 |16 24| 4 | 125 | 42 | 56| * | 284 | 42| * | 32 | 135 | 14 |09
150-M67 | 1 | 16|24 4 | 150 | 67 |56 | * | 31 | 42| * | 32 | 160 | 15 |14
M97 | 1 |16 24| 4 | 150 | 97 | 26 | * | 342 |42 | * | 32 | 160 | 14 |17
155-M 42 | 2 |16 | 24| 4 | 155 | 42 | 28 | 58 | 284 | 42 | 53 | 32 | 165 | 1.9 1
180-M67 | 2 |16 |24 4 | 180 | 67 | 28 | 58 | 31 | 42| 53 | 32 | 190 | 2 15
Mo97 | 1 |16 24| 4 | 180 | 97 | 56| * | 342 |42 | * | 32 | 190 | 17 | 21
-M127 | 1 |16 | 24| 4 | 180 | 127 | 26 | * | 373 |53 | * | 32 | 190 | 17 | 21
210-M 97 | 1 |16 24| 4 | 210 | 97 |86 | * | 342 |50 | * | 32 | 220 | 21 | 21
M127 | 1 |16 | 24| 4 | 210 | 127 | 56| * | 373 |50 | * | 32 | 220 | 2 |25
-M157 | 1 |16 | 24| 4 | 210 | 157 | 26 | * | 405 |53 | * | 32 | 220 | 19 | 27
240-M127 | 1 |16 | 24| 4 | 240 | 127 | 86| * | 373 | 53| * | 32 | 250 | 25 |26
M157 | 1 |16 | 24| 4 | 240 | 157 | 56 | * | 405 |50 | * | 32 | 250 | 22 | 31
270-M157 | 1 | 16 | 24| 4 | 270 | 157 | 86 | * | 405 | 53| * | 32 | 280 | 27 |35
AR ER:

M HE1R Diameter
BE1LS Holder type
ARSI Taper size

BT408 - - - @
1T B E Working length
L <E Length (L)
N8




5 O0-N-w®

-BT40-SL & 4871 (3°—HhH) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

ﬁs[s
mEEAKE
FIG.2
)
-~ == ofo|o
]
L1 M MIHAK
— N
BZ 14 Accessories ?gﬁ%@ﬁ (T%{;ZS) HEEER
e [ Kt o H§T BEEMANRT, stfEA
T ﬁ‘ ot BT,
T LEERIEE e IARREANAN, WEL
h ?&%ﬁszﬁ?ﬁ)ﬂ}ﬁﬁ” BIEBALZSIESERIMIE. )
S Model t

BT40-SLRB16- 75-M 22 | 1 |16 | 32| 8 75 | 22 [ 26| * | 343 42| * | 32| 85 12 |03

-95-M42 | 1 |16]32] 8 95 | 42 | 26| * | 36.4 | 42| * | 32| 105 13 |05

-105-Mm 22 | 1 |16[32| 8 | 105 | 22 | 56| * | 343 42| * | 32| 115 14 |05

120Mm67 | 1 /1632 8 | 120 | 67 | 26 | * 39 |42| * | 32130 15 |07

125-Mm 42 | 1 |16 (32| 8 | 125 | 42 |56 | * | 364 | 42| * | 32| 135 16 |07

-135-Mm 22 | 2 |16 (32| 8 | 135 | 22 | 28| 58| 343 | 42| 53 | 32| 145 2 0.5

_ -150-Mm 67 | 1 |16[32| 8 | 150 | 67 | 56 | * 39 | 42| * | 32| 160 17 | 09
g -155-M 42 | 2 |16 |32| 8 | 155 | 42 | 28 | 58| 36.4 | 42| 53 | 32 | 165 21 0.7

= -180-Mm67 | 2 |16|32| 8 | 180 | 67 | 28 |58 | 39 |42| 53| 32|19 | 23 1
7 -SLFB16- 75-M 22 1 ]16]32] 8 75 | 22 [ 26| * | 343 [a2] * [ 32] 85 12 |03
& -95-M42 | 1 |16]32] 8 95 | 42 | 26| * | 364 | 42| * | 32| 105 13 |05
-105-Mm 22 | 1 |16(32| 8 | 105 | 22 | 56| * | 343 42| * | 32| 115 14 |05

120Mm67 | 1 |16(32| 8 | 120 | 67 | 26 | * 39 |42| * | 32130 15 |07

125-Mm42 | 1 (1632 8 | 125 | 42 |56 | * | 364 | 42| * | 32| 135 16 |07

135-Mm 22 | 1 |16(32| 8 | 135 | 22 |8 | * | 343 |s50| * | 32| 145 19 |05

-150-Mm 67 | 1 |16[32| 8 | 150 | 67 | 56 | * 39 | 42| * | 32| 160 17 | 09

-155-M 42 | 1 |16 (32| 8 | 155 | 42 |86 | * | 364 | 50| * | 32| 165 2 0.7

-180-Mm67 | 2 |16/32| 8 | 180 | 67 | 28 | 58| 39 |42| 53| 32|19 | 23 1

-SLSB20- 95-M 42 | 1 | 20] 29| 45| 95 | 42 [26] * | 334 [42] * | 40 | 105 12 |06

-1200Mm67 | 1 |20]29| 45 | 120 | 67 | 26 | * 36 | 42| * | 40 | 130 13 |09

125-Mm 42 | 1 | 2029 | 45 | 125 | 42 |56 | * | 334 | 42| * | 40 | 135 1.5 |08

-150-M 67 | 1 |20|29| 45 | 150 | 67 | 56 | * 36 | 42| * | 40 | 160 1.6 1.2

-Mm97 | 1 |20|29| 45| 150 | 97 | 26| * | 392 | 53| * | 40 | 160 1.6 1.2

-155-M 42 | 2 | 20|29 | 45 | 155 | 42 | 28 | 58 | 33.4 | 42| 53 | 40 | 165 2 0.9

g5 RE:

MFHE 1R Diameter
IHEE{X S Holder type
AR Taper size

BT40 8 - - - @
T HBMEE Working length
L E Length (L)
1



®
@ O-N-W BT #7787

-BT40-SL & 4871 (3°—HhH) BT40-SL SHRINK FIT HOLDER(3° MONO)

I

I
[l
c
ot

MIHHKE

M Working length

REES BE W EESEH
BE % Accessories { Safety mark ) ( Thickness )
o HET BEMMBNET, HEH

- | Y )
o ﬁ‘ > ol BT,
» P19 Jrf BT o IERE EATIRN, BEY
h

(Minimum insert length of the tool )

NEBKENKE — HJ] BElALLRSIESERNME,

( Maximum insert length of the tool

h ZEE2KGS S

BT40-SLSB20-180-M 67 | 20 | 29 | 4.5 180 67 | 86 * 36 50 * 40 | 190 2 1.2
-M 97 | 20 | 29 | 4.5 180 97 56 * 39.2 50 * 40 | 190 1.9 1.4

-M127 | 20 | 29 | 4.5 180 | 127 | 26 * 42.3 53 * 40 | 190 1.8 1.6

-210-M 97 | 20 | 29 | 4.5 210 97 | 86 * 39.2 53 * 40 | 220 2.4 1.6

-M127 | 20 | 29 | 4.5 210 | 127 | 56 * 42.3 50 * 40 | 220 2.1 1.9

-M157 | 20 | 29 | 4.5 210 | 157 | 26 * 45.5 50 * 40 | 220 2 2.1

-240-M127 | 20 | 29 | 4.5 240 | 127 | 86 * 42.3 50 * 40 | 250 2.4 2.3

-M157 | 20 | 29 | 4.5 240 | 157 | 56 * 45.5 50 * 40 | 250 2.4 2.4

-270-M157 | 20 | 29 | 4.5 270 | 157 | 86 * 45.5 50 * 40 | 280 2.7 2.9

-SLRB20- 95-M 42 20 | 38 95 42 | 26 * 42.4 | 53 * 40 | 105 1.5 0.4
-120-M 67 | 20 | 38 120 67 | 26 * 45 53 * 40 | 130 1.7 0.5

-125-M 42 | 20 | 38 125 42 | 56 * 42.4 | 53 * 40 | 135 1.9 0.5

-150-M 67 | 20 | 38 150 67 56 * 45 50 * 40 | 160 2 0.7

-155-M 42 | 20 | 38 155 42 | 86 * 42.4 | 53 * 40 | 165 2.2 0.6

-180-M 67 | 20 | 38 180 67 | 86 * 45 50 * 40 | 190 2.3 0.9

-SLFB20- 95-M 42 20 | 38 95 42 | 26 * 42.4 | 53 * 40 | 105 1.5 0.4
/ -120-M 67 | 20 | 38 120 67 | 26 * 45 53 * 40 | 130 1.7 0.5
[‘“ﬂ -125-M 42 | 20 | 38 125 42 | 56 * 42.4 | 53 * 40 | 135 1.9 0.5
—  -150-M 67 | 20 | 38 150 67 56 * 45 50 * 40 | 160 2 0.7
-155-M 42 | 20 | 38 155 42 | 86 * 42.4 | 50 * 40 | 165 2.1 0.7

-180-M 67 | 20 | 38 180 67 | 86 * 45 50 * 40 | 190 2.3 0.9

-SLRB25- 95-M 42 25 | 45 95 42 | 26 * 49.4 | 53 * 45 | 105 1.5 0.3
-125-M 42 | 25 | 45 125 42 | 56 * 49.4 | 53 * 45 | 135 1.9 0.4

-155-M 42 | 25 | 45 155 42 | 86 * 49.4 | 53 * 45 | 165 2.3 0.6

-SLFB25- 95-M 42 25 | 45 95 42 | 26 * 49.4 | 53 * 45 | 105 1.5 0.3
Z -125-M 42 | 25 | 45 125 42 | 56 * 49.4 | 53 * 45 | 135 1.9 0.4
l:m -155-M 42 | 25 | 45 155 42 | 86 * 49.4 | 53 * 45 | 165 2.3 0.6
-SLRB32- 95-M 42 32 | 54 95 42 | 26 * 58.4 | 63 * 50 87 1.8 0.3

MRS RA:

BT40E - - - W
I B B E Working length

L < E Length (L)
JI¥FE 1R Diameter
IHREXS Holder type
AT Taper size

m

@
=
(%)
ac
>
z
=
(%)
<
%l
=
m
=
v}

vs)
=
7]
iz]
ES
5

R PR N SR R R
S|lo|lololo|lo|]o|©|©|O |0 |O© | O|O| OOV OV O O




-BT40-SL #R4ETIH (CV BH&R)

5 0-N-w®

FIG.1

FIG.2

BT40-SL SHRINK FIT HOLDER(CV CURVE)

Zihsk

2D curve

MITAEYKE

M Working length

k' 3:::15 3

2D curve

@
=
(%]
ac
>
2
=
v
<
w
=
m
=
)

M mIEMKE
L
- N\
B2 & Accessories %%WIEE (T%ES] B EEER
o 7 o Wi HEMMAHRT, R
i ﬁ oL LT,
T, | JEEREKE e ARE BANAN, H5
, | ZRENEAKE | RIRRALRERIERNUR. |
A= Model FIG D C t L \Y| C1 H h B= KGS S
BT40-SLSA4- 90CV 1 4 7 1.5 90 63 53 12 125 1.2 1.8
-120CV 1 4 7 1.5 120 93 53 12 155 1.3 2.7
-150CV 1 4 7 1.5 150 123 53 12 185 1.5 4
-180CV 1 4 7 1.5 180 153 53 12 215 1.5 6.6
-210CV 1 4 7 1.5 210 183 53 12 245 1.6 11.6
-240CV 1 4 7 1.5 240 213 53 12 275 1.8 14
-SLRA4-120CV 2 4 10 3 120 93 53 12 155 1.3 1.9
-150CV 2 4 10 3 150 123 53 12 185 1.4 2.9
-180CV 2 4 10 3 180 153 53 12 215 1.5 4.2
-210CV 2 4 10 3 210 183 53 12 245 1.7 5.7
-SLSA6- 90CV 1 6 9 1.5 90 63 53 18 125 1.2 1.6
-120CV 1 6 9 1.5 120 93 53 18 155 1.3 2.3
-150CV 1 6 9 1.5 150 123 53 18 185 1.5 3.6
-180CV 1 6 9 1.5 180 153 53 18 215 1.5 5.7
-210CV 1 6 9 1.5 210 183 53 18 245 1.7 73
-240CV 1 6 9 1.5 240 213 53 18 275 1.8 12
-SLRA6- 90CV 2 6 13 3.5 90 63 53 18 125 1.2 1.2
-120CV 2 6 13 3.5 120 93 53 18 155 1.3 1.7
-150CV 2 6 13 3.5 150 123 53 18 185 1.5 2.1
-180CV 2 6 13 3.5 180 153 53 18 215 1.7 2.8
-210CV 2 6 13 3.5 210 183 53 18 245 1.7 4.8

FAZIHEE:

BT40E -B-EN- ?
Bh£EE! Curve
L €E Length (L)
JIMFE 1R Diameter

IHAE{X S Holder type

AR Taper size



®
@ O-N-W BT #7787

-BT40-SL #4578 (CV %) BT40-SL SHRINK FIT HOLDER(CV CURVE)

FIG.1

ZHhsk

2D curve

[
C
C1

MTEYKE

Working length

Zifhek

2D curve

= s

M n&%ﬁ%ﬁﬁ
L
— N
fit 1+ Accessories [%Evlmaaﬁ [T%’Ew B EEER
P Kt o HIT EEMMANIT, HEEH
T ﬁ o BT,
T, | JEEREKE e IAEE BANAHN, S
N ﬂ%ﬁﬁki‘ﬁ‘i\ﬁ{?w BIIEBALZSIESERNMNE, )
#IES Model FIG D (@ t L M C1 H h B= KGS S
BT40-SLFA6- 90CV 2 6 13 3.5 90 63 53 18 125 1.2 1.2
A -120cv 2 6 13 3.5 120 93 53 18 155 1.3 1.7 E
@ -150CV 2 6 13 3.5 150 123 53 18 185 1.5 211
-180CV 2 6 13 3.5 180 153 53 18 215 1.7 2.8 Tz
-210CV 2 6 13 3.5 210 183 53 18 245 1.7 4.8 E
-SLSA8- 90CV 1 8 11 1.5 90 63 53 24 125 1.2 1.4 ’g%
-120CV 1 8 11 1.5 120 93 53 24 155 1.3 2 ;gg
-150CV 1 8 11 1.5 150 123 53 24 185 15 2.7
-180CV 1 8 11 1.5 180 153 53 24 215 1.6 5
-210CV 1 8 11 1.5 210 183 53 24 245 1.7 6.6
-240CV 1 8 11 1.5 240 213 53 24 275 1.9 8.3
-SLRA8- 90CV 2 8 16 4 90 63 53 24 125 1.2 0.7
-120CV 2 8 16 4 120 93 53 24 155 1.4 1.2
-150CV 2 8 16 4 150 123 53 24 185 1.6 1.8
-180CV 2 8 16 4 180 153 53 24 215 1.7 2.6
-210CV 2 8 16 4 210 183 53 24 245 1.8 3.5
-SLFA8- 90CV 2 8 16 4 90 63 53 24 125 1.2 0.7
A -120cv 2 8 16 4 120 93 53 24 155 1.4 1.2
== -150CV 2 8 16 4 150 123 53 24 185 1.6 1.8
——— -180cv 2 8 16 4 180 153 53 24 215 1.7 2.6
-210CV 2 8 16 4 210 183 53 24 245 1.8 3.5
AR RA:
BT40)E ETE -B-E8 - ?
FhZEE! Curve
L £E Length (L)
TI¥FE 1R Diameter
IhBEFLS Holder type
AR Taper size




5 0-N-w®

-BT40-SL #4571 (CV HHIZ& &) BT40-SL SHRINK FIT HOLDER(CV CURVE)

Zaus
moy ol
MIBHKE
M Working length
L
ZiEphsk
2D curve
m’”wd I
MITEYHE
M Working length
L
- R
B2 {4 Accessories %fﬁiﬂ?} (T%E ] HEEER
afety marl ickness
s () o 4T BEMANERT, HEM
bPUS ) ﬁ‘ o_pl ° BT,
4/_FIHJ (M\mm%n%%?iﬁﬁ!% 100l ) b 7] Eﬁg ?E)\H EHT §%
N ﬂﬂrk*ﬁ‘)\h{tjf ! BIEBALLZSIESERNME,
laximum insert length of the tool /
EE KGS
BT40-SLSA10- 90CV 1 10 13 1.5 90 63 53 30 125 1.2 1.8
-120CV 1 10 13 1.5 120 93 53 30 155 1.5 1.3
-150CV 1 10 13 1.5 150 123 53 30 185 1.6 2.2
@ -180CV 1 10 13 1.5 180 153 53 30 215 1.7 3.4
g -210CV 1 10 13 1.5 210 183 53 30 245 1.7 6
2 -240CV 1 10 13 1.5 240 213 53 30 275 2 5.8
E -SLRA10- 90CV 2 10 19 4.5 90 63 53 30 125 1.3 0.7
“ -120CV 2 10 19 4.5 120 93 53 30 155 1.4 0.9
-150CV 2 10 19 4.5 150 123 53 30 185 1.6 1.4
-180CV 2 10 19 4.5 180 153 53 30 215 1.8 2
-210CV 2 10 19 4.5 210 183 53 30 245 1.8 3.1
-SLFA10- 90CV 2 10 19 4.5 90 63 53 30 125 1.3 0.7
/ -120CV 2 10 19 4.5 120 93 53 30 155 1.4 0.9
@ -150CV 2 [ 10 [ 19| 45 [ 150 | 123 53 30 185 1.6 1.4
-180CV 2 10 19 4.5 180 153 53 30 215 1.8 2
-210CV 2 10 19 4.5 210 183 53 30 245 1.8 3.1
-SLSA12- 90CV 1 12 15 1.5 90 63 53 30 125 1.3 1.5
-120CV 1 12 15 1.5 120 93 53 30 155 1.5 1.2
-150CV 1 12 15 1.5 150 123 53 30 185 1.5 2.4
-180CV 1 12 15 1.5 180 153 53 30 215 1.7 3.3
-210CV 1 12 15 1.5 210 183 53 30 245 1.9 4.6
-240CV 1 12 15 1.5 240 213 53 30 275 2 5.5
A& ER:
BT40[ ?
fhZEA Curve
L & Length (L)
T E 1R Diameter
IHEE{X S Holder type
AR Taper size

__E50 &g



®
@ O-N-W BT #7787

-BT40-SL #4578 (CV %) BT40-SL SHRINK FIT HOLDER(CV CURVE)

:ZQD’EM%
o P JE ,QT [&) S
" MIEME
Working length
L

B2 {4 Accessories %%’y‘lﬂ% [T%}ES) HEEER

b= (+ ) o WET EEMANERT, HEM
et C ol BT,

BIGRISKE o ARE FEATAN, BEEL

H (Minimum insert length of the tool )

TIRRKIBNKE BIEBALZ2IESERINVE,

h ( Maximum insert length of the tool )

&S Model D C t L M C1 H h Z2BKGS S

BT40-SLRA12- 90CV 12 22 5 90 63 53 30 125 1.3 0.6

-120cv 12 22 5 120 93 53 30 155 1.6 0.7

-150CV 12 22 5 150 123 53 30 185 1.7 11

-180cV 12 22 5 180 153 53 30 215 1.7 1.9

-210cV 12 22 5 210 183 53 30 245 1.8 2.8

-SLFA12- 90CV 12 22 5 90 63 53 30 125 1.3 0.6

X -120cv 12 22 5 120 93 53 30 155 1.6 0.7

[::: -150CV 12 22 5 150 123 53 30 185 17 11
-180CV 12 22 5 180 153 53 30 215 1.7 1.9 E

-210cv 12 22 5 210 183 53 30 245 1.8 2.8
-SLSB16- 90CV 16 21 2.5 90 63 53 32 100 1.3 0.6 @ g
-120CcV 16 21 2.5 120 93 53 32 130 1.5 0.8 )_j' :
-150CV 16 21 2.5 150 123 53 32 160 1.6 1.5 e
-180CV 16 21 2.5 180 153 53 32 190 1.9 1.9 g’[]g

-210CV 16 21 2.5 210 183 53 32 220 2 3

-240CV 16 21 2.5 240 213 53 32 250 2.2 3.7

-SLSB20- 90CV 20 26 3 90 63 50.5 40 100 1.3 0.5

-120cv 20 26 3 120 93 53 40 130 1.5 0.8

-150CV 20 26 3 150 123 53 40 160 1.6 1.3

-180CV 20 26 3 180 153 53 40 190 1.9 1.8

-210¢cv 20 26 3 210 183 53 40 220 21 2.3

-240CV 20 26 3 240 213 53 40 250 2.4 3

KA 5 ER:
BT40[8 EF -9 - BN - ?
Hh£8Y Curve
L < E Length (L)
JIFFE 1R Diameter
IHEEX S Holder type
$ARAZ T Taper size




5 O0-N-w®

-BT50-SL #4571 (3°—F&)

BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

FIG.2

BT. NO

| N s e =
L2 L1 M mIHMKE
L
ZLIES | BE  mEEER
2 ¥ Accessories ( safety mark) (Thickness )
: 17 o H$T BEMANRT, REMH
= ﬁ ST AT,
e T LEERIEE e AR BATIAN, W5
h ﬂ%;fk@);ﬁ{?t‘ ) BIEBALZEIESERINIE.
#ES Model FIG D C t L M L1 L2 (@ c2 a3 H h =E=ZKG S
BT50-SLSA3-110-M 42 1136|1510 42|30 * | 104 |25 * 9 | 165 3.6 9.1
-135-M 67 | 1 | 3 | 6 | 15| 135 | 67 | 30 | * 13 |25 | * 9 | 190 3.6 | 147
-140-M42 | 1 | 3|6 | 15| 140 | 42 |60 | * | 104 | 25| * 9 | 195 3.7 9.8
-165-M 67 | 1 | 3 | 6 | 1.5 | 165 | 67 | 60 | * 13 | 25| * 9 | 220 37 |159
-Mm97 | 1|3 |6 | 15| 165 | 97 |[30] * | 162 | 26| * 9 | 220 37 |208
170-M 42 | 2 | 3 |6 | 15| 170 | 42 | 33|57 | 104 | 26| 40 | 9 | 225 41 9.9
. 195-M 67 | 2 | 3 | 6 | 15| 195 | 67 | 33|57 | 13 | 26| 40 | 9 | 250 41 |15.8
% Mm97 | 1|3 |6 | 15|19 |97 |[60]| * | 162 | 26| * 9 | 250 3.8 223
= -225-M 97 | 2 | 3 |6 | 15| 225 | 97 | 33|57 | 162 | 26| 40 | 9 | 280 41 | 221
% -SLRA3 - 90-M 22 1 ] 3|75]225| 90 | 22 |30 * 98 | 25| * 9 | 145 36 | 2.8
@ -110-Mm 42 | 1 | 3 |75|225| 110 | 42 [ 30| * | 119 |26 | * 9 | 165 3.7 5.4
-120-Mm 22 | 1 | 3 |75[225] 120 | 22 |60 | * 98 | 25| * 9 | 175 37 3.2
-135-M 67 | 1 | 3 |75[225| 135 | 67 | 30| * | 145 |26 | * 9 | 190 3.7 9
-140-Mm 42 | 1 | 3 |75|225| 140 | 42 |60 | * | 119 |26 | * 9 | 195 3.8 6
-150-M 22 | 2 | 3 |75|225| 150 | 22 |33 |57 | 9.8 |25] 39| 9 | 205 4 3.2
-165-M 67 | 1 | 3 |75|225| 165 | 67 | 60| * | 145 | 25 | * 9 | 220 3.8 10
-Mm97 | 1| 3 |75|225| 165 | 97 | 30| * | 177 | 26 | * 9 | 220 37 13
-170-M 42 | 2 | 3 |75/225| 170 | 42 |33 | 57| 119 | 26| 40 | 9 | 225 41 6
-195-M 67 | 2 | 3 | 75/225| 195 | 67 |33 | 57| 145 | 26| 40 | 9 | 250 41 9.8
-Mm97 | 1| 3 |75|225] 195 | 97 |60 | * | 177 | 26 | * 9 | 250 3.8 |145
-M127 | 1 | 3 |75]225| 195 | 127 [ 30| * | 208 | 32| * 9 | 250 3.8 |15.7
-225-M 97 | 2 | 3 |75|225| 225 | 97 |33 |57 | 177 | 25| 39 | 9 | 280 41  |14.4
-M127 | 1 | 3 |75]225| 225 | 127 |60 | * | 20.8 | 36 | * 9 | 280 41  ]16.3
-255-M127 | 2 | 3 |75]225| 255 | 127 | 30 | 60 | 208 | 32| 46 | 9 | 310 44 [16.5

AR RA:

L € Length (L)

i NI HBZEE Working length
JIFFE 1R Diameter
IHEEfLS Holder type
4

A= Taper size




5 O-N-w ®

-BT50-SL #4571 (3°—{F&)

B2 1 Accessories

BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

FIG.2

BT. NO

c3

-0l

L2

G2

L1

G

MITAEKE

Working length

ZEILT

( Safety mark )

D bl

*

#E

( Thickness )

RIGRFFKE

(Minimum insert length of the tool )

TIERKTBEAKE

( Maximum insert length of the tool )

B ESEHR

® ] BEMMABERT, HEMA
BAHIET,

o JIRRK AR, BESY
BNEBALZSIESERNME,

D H h ZE&KGS S

BT50-SLFB3- 90-M 22 1 3 195]3.25 90 22 | 30 * 11.8 26 * 9 145 3.6 1.9

/ -110-M 42 1 3 195(3.25] 110 42 | 30 * 13.9 26 * 9 165 3.7 3.3

g -120-M 22 1 3 195(3.25] 120 22 | 60 * 11.8 25 * 9 175 3.7 2.4

-135-M 67 1 3 19.5(3.25] 135 67 | 30 * 16.5 | 26 * 9 190 3.7 5.4
-140-M 42 1 3 19.5]3.25] 140 42 | 60 * 13.9 25 * 9 195 3.7 4 E

-150-M 22 2 3 19.5]3.25] 150 22 | 33 | 57 11.8 25 | 39 9 205 4 2.3
-165-M 67 1 3 19.5]3.25] 165 67 | 60 * 16.5 | 26 * 9 220 3.8 6.4 O =
-170-M 42 2 3 195(3.25] 170 42 | 33 | 57 13.9 25 | 39 9 225 4 3.9 E%
-195-M 67 2 3 19.5(3.25| 195 67 | 33 | 57 16.5 | 25 | 39 9 250 4.1 6.4 ﬁi
-SLSA4-110-M 42 1 4 7 1.5 110 42 | 30 * 11.4 25 * 12 | 165 3.6 7.2 L
-135-M 67 1 4 7 1.5 135 67 | 30 * 14 25 * 12 | 190 3.6 11.8 Sl

-140-M 42 1 4 7 1.5 140 42 | 60 * 1.4 25 * 12 | 195 3.7 8

-165-M 67 1 4 7 1.5 165 67 | 60 * 14 25 * 12 | 220 3.7 13

-M 97 1 4 7 1.5 165 97 | 30 * 17.2 25 * 12 | 220 3.7 16.7

-170-M 42 2 4 7 1.5 170 42 | 33 | 57 1.4 25 | 39 12 | 225 4 7.9

-195-M 67 2 4 7 1.5 195 67 | 33 | 57 14 25 | 39 12 | 250 4 12.8

-M 97 1 4 7 1.5 195 97 | 60 * 17.2 26 * 12 | 250 3.8 18.4

-225-M 97 2 4 7 1.5 225 97 | 33 | 57 17.2 25 | 39 12 | 280 4.1 18.2

-SLRA4- 90-M 22 1 4 |10 3 90 22 | 30 * 12.3 25 * 12 | 145 3.6 1.7

-110-M 42 1 4 |10 3 110 42 | 30 * 14.4 | 25 * 12 | 165 3.6 3.1

-120-M 22 1 4 |10 3 120 22 | 60 * 12.3 25 * 12 | 175 3.7 2.2

-135-M 67 1 4 |10 3 135 67 | 30 * 17 25 * 12 | 190 3.7 5.2

-140-M 42 1 4 |10 3 140 42 | 60 * 14.4 | 25 * 12 | 195 3.7 3.9

-150-M 22 2 4 |10 3 150 22 | 33 | 57 12.3 25 | 39 12 | 205 4 2.2

AR RA:

E MIBEM
JIFFE 1 Diameter
IHEEfLS Holder type

TRAZ T Taper size

L E Length (L

& Wworking length
)




5 O0-N-w®

BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

FIG.2

2 1 Accessories

BT. NO

C3

.0l

L2

C2

L1

£

ZEES

( Safety mark )

D_b!

o

H

RIZRFFKE

&5
( Thickness )

(Minimum insert length of the tool )

TIERABAKE

( Maximum insert length of the tool )

B ESER

o HIET BEAMMBREET, HER
BALHIET,

o JIARE HATRN, BSZD
BINAEBALZSIESERNME,

D t
BT50-SLRA4-165-M 67 | 1 | 4 | 10| 3 | 165 | 67 | 60 | * 17 |25 * [ 12 |220] 38 |64

-Mm97 | 1] 4 10] 3 [165| 97 [30] * [ 202 [25] « [12]220] 37 |79

-170-Mm 42 | 2 [ 4 |10 3 [ 170 | 42 |33 [ 57| 144 | 25| 39 | 12 | 225 4 3.8

195-Mm67 | 2 | 4 |10| 3 | 195 | 67 | 33|57 | 17 | 25| 39 | 12| 250 | 41 6.2

Mm97 | 1] 4 ]10] 3 [195| 97 60| * [ 202]25] * [12]250] 38 |97

-M127 | 1 | 4 [10] 3 [ 195 [ 127 30 * | 233 [32] * [ 12250 38 |94

225-M 97 | 2 | 4 [10] 3 | 225 | 97 [ 30|60 202 | 25] 39 | 12 | 280 | 41 9.4

E -M127 | 1 | 4 |10] 3 | 225 [ 127 60| * | 233 [ 32| * [ 12 ] 280 4 10.4
: -255-M127 | 2 | 4 | 10| 3 | 255 | 127 |30 |60 | 233 [32] 46 | 12 | 310 | 44 [103
2 -SLFB4- 90-M 22 | 1 | 4 | 12| 4 90 | 22 [ 30| * [ 143 [25] * [ 12 [145] 36 | 1.4
o A -1o-m42 | 1[4 2] 4 | 110 ] 4 [30] * | 164 [25] * [ 12165 37 |22
. @ 120-Mm 22 | 1 | 4 12 4 [ 120 22 60| * | 143 | 25| * |12 175 | 37 1.9
135-M 67 | 1 | 4 | 12| 4 | 135 | 67 [ 30 ] * 19 [26] * [ 12 ]190] 37 |36

140-Mm42 | 1 [ 4 [12] 4 [ 140 ] 42 [60] * | 164 [ 26| * |12 [195] 38 |29

150-Mm 22 | 2 | 4 [12] 4 | 150 | 22 [ 3357 143 |25 39 | 12 | 205 4 1.8

165-M67 | 1 | 4 |12| 4 | 165 | 67 | 60| * 19 | 25| * [ 12 |220] 38 |48

170-Mm 42 | 2 | 4 [12] 4 | 170 | 42 [ 3357 164 | 26| 40 | 12 | 225 | 41 2.8

195-M 67 | 2 | 4 [12| 4 [ 195 | 67 [ 3357 19 |26 40 | 12 250 42 a5

-SLSA6-110-M 42 | 1 | 6 | 9 | 1.5 | 110 | 42 | 30| * | 134 | 25| * | 18 | 165 | 3.6 | 4.8

135-M 67 | 1 | 6 | 9| 15| 135 | 67 | 30| * 16 | 25| * | 18 | 190 | 3.7 | 81

140-Mm42 | 1 | 6| 9| 15140 | 42 [60] * | 134 |25 * |18 [ 195 | 37 |57

165-M67 | 1 | 6 | 9| 15| 165 | 67 | 60 | * 16 | 25| * | 18 |220] 38 |94

mMm97 | 1 |6 915|165 | 97 [30] * [ 192 [32] * | 18] 220 37 1

170-Mm 42 | 2 [ 6 | 9 | 15| 170 | 42 | 33|57 | 134 | 26| 40 | 18 | 225 | 41 5.5

195-M67 | 2 | 6 | 9| 15| 195 | 67 [ 3357 | 16 |25] 39 | 18 | 250 4 9.2

mMm97 |1 |6 9] 15|19 97 [60] * | 192 [32] * |18 [250| 39 |17

225-M97 | 2 | 6 | 9 | 15| 225 | 97 [30] 60| 192 [ 32| 46 | 18 [ 280 | 43 [117

AR RA:

E NI B E Working length

L £E Length (L)

TJIWFE 1R Diameter

IHEEfLS Holder type
AR Taper size



®
*5 O-N-W BT M

-BT50-SL #4571 (3°—HhH) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

FIG.2 BT. NO

0l
G2

c3

L2 L1 w | BTEMKE

#E
( Thickness )

B ESEHR
® ] BEMMABERT, HEMA

X0 ﬁ o LERGR
» P10 J(’J SR KE o NNERE FEAJIEN, EEY

H (Minimum insert length of the tool )

TNARAIHNKE BNEBALZSIESERNME,

h ( Maximum insert length of the tool )

Z2igS
fic 4 Accessories { Safety mark)

D h ZE&KGS S
BT50-SLSB6-110-M 42 1 6 | 10 2 110 42 | 30 * 144 | 25 * 18 | 165 3.6 3.7
-135-M 67 1 6 | 10 2 135 67 | 30 * 17 25 * 18 | 190 3.7 6.2
-140-M 42 1 6 | 10 2 140 42 | 60 * 144 | 25 * 18 | 195 3.7 4.6
-165-M 67 1 6 | 10 2 165 67 | 60 * 17 25 * 18 | 220 3.8 7.6
-M 97 1 6 | 10 2 165 97 | 30 * 20.2 | 32 * 18 | 220 3.8 8.5 E
-170-M 42 2 6 | 10 2 170 42 | 33 | 57 14.4 | 25 | 39 18 | 225 4 4.4
-195-M 67 2 6 | 10 2 195 67 | 33 | 57 17 25 | 39 18 | 250 4.1 7.3 O =
-M 97 1 6 | 10 2 195 97 | 60 * 20.2 | 32 * 18 | 250 3.9 9.2 )_]'%‘
-M127 1 6 | 10 2 195 | 127 | 30 * 23.3 32 * 18 | 250 3.8 111 7@5
-225-M 97 2 6 | 10 2 225 97 | 30 | 60 | 20.2 | 32 | 46 18 | 280 4.3 9.2 L
-M127 1 6 | 10 2 225 | 127 | 60 * 23.3 32 * 18 | 280 4 121 Sl
-M157 1 6 | 10 2 225 | 157 | 30 * 26.5 | 32 * 18 | 280 3.9 13.3
-255-M127 2 6 | 10 2 255 | 127 | 30 | 60 | 23.3 32 | 46 18 | 310 4.4 12
-M157 1 6 | 10 2 255 | 157 | 60 * 26.5 | 32 * 18 | 310 4.1 14.7
-285-M157 2 6 | 10 2 285 | 157 | 30 | 60 | 26.5 | 32 | 46 18 | 340 4.5 14.5
-SLRB6- 90-M 22 1 6 | 14 4 90 22 | 30 * 16.3 32 * 18 | 145 3.7 1
-110-M 42 1 6 | 14 4 110 42 | 30 * 18.4 | 32 * 18 | 165 3.7 1.6
-120-M 22 1 6 | 14 4 120 22 | 60 * 16.3 32 * 18 | 175 3.8 1.2
-135-M 67 1 6 | 14 4 135 67 | 30 * 21 32 * 18 | 190 3.8 2.6
-140-M 42 1 6 | 14 4 140 42 | 60 * 18.4 | 32 * 18 | 195 3.9 1.9
-150-M 22 2 6 | 14 4 150 22 | 30 | 60 16.3 32 | 46 18 | 205 4.2 1.2
-165-M 67 1 6 | 14 4 165 67 | 60 * 21 32 * 18 | 220 3.9 3.1
-170-M 42 2 6 | 14 4 170 42 | 30 | 60 18.4 | 32 | 46 18 | 225 4.3 1.9
-195-M 67 2 6 | 14 4 195 67 | 30 | 60 21 32 | 46 18 | 250 4.3 3

AR RA:

T INITHBZEE Working length
L € Length (L)
JIFFE 12 Diameter
Ih

HE S Holder type
AR Taper size




5 O0-N-w®

-BT50-SL #4871 (3°—HhH) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

FIG.2 BT. NO

oL
C2

C3

L2 L1 w | MTEMKE

REiRS 2= W EEER
Bt 14 Accessories { Safety mark ) (Thickness )
o HIfT BEMANERT, sER

,‘_‘ —— R 0
w2 ﬁ‘ Jol BIHET.
» P19 JT’* BERBKE o NNERE FEAJIEN, EEY

H (Minimum insert length of the tool )

TNARKBNKE BINAEBALZSIESERNME,

h { Maximum insert length of the tool )

5 Model D h &E=Z2KGS S
BT50-SLFB6- 90-M 22 1 6 14 4 90 22 30 * 16.3 32 * 18 145 3.7 1
/ -110-M 42 1 6 14 4 110 42 30 * 18.4 32 * 18 165 3.7 1.6
E -120-M 22 1 6 14 4 120 22 60 * 16.3 32 * 18 175 3.8 1.2
-135-M 67 1 6 14 4 135 67 30 * 21 32 * 18 190 3.8 2.6
-140-M 42 1 6 14 4 140 42 60 * 18.4 32 * 18 195 3.9 1.9
-150-M 22 2 6 14 4 150 22 30 | 60 16.3 32 | 46 18 205 4.2 1.2
- -165-M 67 1 6 14 4 165 67 60 * 21 32 * 18 220 3.9 3.1
% -170-M 42 2 6 14 4 170 42 30 | 60 18.4 32 | 46 18 225 4.3 1.9
E -195-M 67 2 6 14 4 195 67 30 | 60 21 32 | 46 18 250 4.3 3
% -SLSA8-110-M 42 1 8 11 1.5 110 42 30 * 15.4 25 * 24 165 3.6 3.5
& -135-M 67 1 8 11 1.5 135 67 30 * 18 32 * 24 190 3.7 5.4
-140-M 42 1 8 11 1.5 140 42 60 * 15.4 25 * 24 195 3.7 4.4
-165-M 67 1 8 11 1.5 165 67 60 * 18 32 * 24 220 3.9 5.9
-M 97 1 8 11 1.5 165 97 30 * 21.2 32 * 24 220 3.8 79
-170-M 42 2 8 11 1.5 170 42 33 | 57 15.4 25 39 24 225 4 4.3
-195-M 67 2 8 11 1.5 195 67 30 | 60 18 32 | 46 24 250 4.3 5.9
-M 97 1 8 11 1.5 195 97 60 * 21.2 32 * 24 250 3.9 8.7
-225-M 97 2 8 11 1.5 225 97 28 | 62 21.2 36 50 24 280 4.5 8.3
-SLSB8-110-M 42 1 8 13| 25 110 42 30 * 17.4 32 * 24 165 3.7 2.1
-135-M 67 1 8 13| 25 135 67 30 * 20 32 * 24 190 3.7 3.5
-140-M 42 1 8 13| 25 140 42 60 * 17.4 32 * 24 195 3.8 2.4
-165-M 67 1 8 13| 25 165 67 60 * 20 32 * 24 220 3.9 4
-M 97 1 8 13 | 2.5 165 97 30 * 23.2 32 * 24 220 3.8 5.3
-170-M 42 2 8 13| 25 170 42 30 | 60 17.4 32 | 46 24 225 4.3 2.4
FA IR

? T INIBREKE Working length

L E Length (L)

JIFFE 1R Diameter
IHEEfLS Holder type
2T, Shank size



5 O-N-w ®

-BT50-SL #4571 (3°—{FE)

BS #f Accessories

BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

FIG.2

BT. NO

c3

-0l

L2

G2

L1

G

MITAEKE

Working length

ZEIES

( Safety mark )

D_Dl

o=

H

RIEREKE

g5
( Thickness )

(Minimum insert length of the tool )

TIERKIEAKE

( Maximum insert length of the tool }

W EEER

o HET IFAEMMBEET, HER
BFLRET .

® JIRRX AR, BFY
BNABALZEESERNMUE,

D
BT50-SLSB8-195-M 67 2 8 | 13| 25 195 67 | 30 | 60 20 32 | 46 | 24 | 250 4.3 4
-M 97 1 8 | 13| 25 195 97 | 60 * 23.2 | 32 * 24 | 250 4 6.1
-M127 1 8 | 13| 25 195 | 127 | 30 * 26.3 | 32 * 24 | 250 3.9 7.1
-225-M 97 2 8 | 13| 2.5 | 225 97 | 30 | 60 23.2 | 32 | 46 | 24 | 280 4.4 6
-M127 1 8 | 13| 25 | 225 | 127 | 60 * 26.3 | 32 * 24 | 280 4 8.2
-M157 1 8 | 13| 25 | 225 | 157 | 30 * 29.5 | 42 * 24 | 280 4 8 E

-255-M127 2 8 | 13| 25 | 255 | 127 | 30 | 60 263 | 32 | 46 | 24 | 310 4.5 8.1

-M157 1 8 | 13| 2.5 | 255 | 157 | 60 * 29.5 | 42 * 24 | 310 4.3 8.5 = 3

-285-M157 2 8 | 13| 25 | 285 | 157 | 28 | 60 29.5 | 42 | 56 | 24 | 340 4.9 8.5 E

-SLRB8- 90-M 22 1 8 | 18 5 90 22 | 30 * 20.3 | 32 * 24 | 145 3.7 0.7 2] g

-110-M 42 1 8 | 18 5 110 42 | 30 * 224 | 32 * 24 | 165 3.7 1.1 ’;‘jg
-120-M 22 1 8 | 18 5 120 22 | 60 * 20.3 | 32 * 24 | 175 3.8 0.9
-135-M 67 1 8 | 18 5 135 67 | 30 * 25 32 * 24 | 190 3.8 1.7
-140-M 42 1 8 | 18 5 140 42 | 60 * 224 | 32 * 24 | 195 3.9 1.4
-150-M 22 2 8 | 18 5 150 22 | 30 | 60 20.3 | 32 | 46 | 24 | 205 4.3 0.9
-165-M 67 1 8 | 18 5 165 67 | 60 * 25 32 * 24 | 220 4 2.2
-170-M 42 2 8 | 18 5 170 42 | 28 | 62 224 | 36 | 50 | 24 | 225 4.5 1.3
-195-M 67 2 8 | 18 5 195 67 | 30 | 60 25 32 | 46 | 24 | 250 4.4 2.2
-SLFB8- 90-M 22 1 8 | 18 5 90 22 | 30 * 20.3 | 32 * 24 | 145 3.7 0.7
-110-M 42 1 8 | 18 5 110 42 | 30 * 224 | 32 * 24 | 165 3.7 1.1
-120-M 22 1 8 | 18 5 120 22 | 60 * 20.3 | 32 * 24 | 175 3.8 0.9
-135-M 67 1 8 | 18 5 135 67 | 30 * 25 32 * 24 | 190 3.8 1.7
-140-M 42 1 8 | 18 5 140 42 | 60 * 224 | 32 * 24 | 195 3.9 1.4
-150-M 22 2 8 | 18 5 150 22 | 30 | 60 20.3 | 32 | 46 | 24 | 205 4.3 0.9
-165-M 67 1 8 | 18 5 165 67 | 60 * 25 32 * 24 | 220 4 2.2
-170-M 42 2 8 | 18 5 170 42 | 30 | 60 224 | 32 | 46 | 24 | 225 4.3 1.4
-195-M 67 2 8 | 18 5 195 67 | 30 | 60 25 32 | 46 | 24 | 250 4.4 2.2

AR RA:

I AR Taper size

E I A E wWorking length

L & Length (L)
TI¥FE 1R Diameter
IHEEfLS Holder type




5 O0-N-w®

-BT50-SL #4871 (3°—HhH) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

FIG.2 BT. NO

oL
C2

C3

L2 L1 w | MTEMKE

REiRS 2= W EEER
Bt 14 Accessories { Safety mark ) (Thickness )
o HIfT BEMANERT, sER

,‘_‘ —— R 0
w2 ﬁ‘ Jol BIHET.
» P19 JT’* BERBKE o NNERE FEAJIEN, EEY

H (Minimum insert length of the tool )

TNARKBNKE BINAEBALZSIESERNME,

h { Maximum insert length of the tool )

A= Model h ZE=KGS S

BT50-SLSA10-110-M 42 1 10 |13 | 1.5 110 42 | 30 * 17.4 25 * 30 | 165 3.6 2.6

-135-M 67 | 1 10 | 13| 1.5 135 67 | 30 * 20 32 * 30 | 190 3.7 4

-140-M 42 | 1 10 | 13| 1.5 140 42 | 60 * 17.4 25 * 30 | 195 3.7 3.7

-165-M 67 | 1 10 | 13| 1.5 165 67 | 60 * 20 32 * 30 | 220 3.9 4.6

-M 97 | 1 10 | 13| 1.5 165 97 | 30 * 23.2 | 32 * 30 | 220 3.8 6

-170-M 42 ( 2 | 10 | 13| 1.5 170 42 | 33 | 57 17.4 25 | 39 30 | 225 4 3.5

- -195-M 67 [ 2 | 10 | 13| 1.5 195 67 | 30 | 60 20 32 | 46 30 | 250 4.3 4.6
% -M 97 | 1 10 13| 1.5 195 97 | 60 * 23.2 | 32 * 30 | 250 3.9 6.9
E -225-M 97 [ 2 |10 | 13| 15 225 97 | 30 | 60 | 23.2 | 32 | 46 30 | 280 4.4 6.8
% -SLSB10-110-M 42 | 1 10 | 16 3 110 42 | 30 * 20.4 | 32 * 30 | 165 3.7 1.4
5 -135-M 67 | 1 10 | 16 3 135 67 | 30 * 23 32 * 30 | 190 3.8 2.4
-140-M 42 | 1 10 | 16 3 140 42 | 60 * 20.4 | 32 * 30 | 195 3.9 1.8

-165-M 67 | 1 10 | 16 3 165 67 | 60 * 23 32 * 30 | 220 3.9 3

-M 97 | 1 10 | 16 3 165 97 | 30 * 26.2 | 32 * 30 | 220 3.9 3.7

-170-M 42 ( 2 | 10 | 16 3 170 42 | 30 | 60 | 204 | 32 | 46 30 | 225 4.3 1.8

-195-M 67 | 2 | 10 | 16 3 195 67 | 30 | 60 23 32 | 46 30 | 250 4.3 3

-M 97 | 1 10 | 16 3 195 97 | 60 * 26.2 | 32 * 30 | 250 4 4.5

-M127 | 1 10 | 16 3 195 | 127 | 30 * 29.3 | 42 * 30 | 250 4 4.5

-225-M 97 ( 2 | 10 | 16 3 225 97 | 30 | 60 | 26.2 | 32 | 46 30 | 280 4.4 4.4

-M127 | 1 10 | 16 3 225 | 127 | 60 * 29.3 | 42 * 30 | 280 4.2 4.9

-M157 | 1 10 | 16 3 225 | 157 | 30 * 325 | 42 * 30 | 280 4. 5.6

-255-M127 [ 2 | 10 | 16 3 255 | 127 | 28 | 62 29.3 | 42 | 56 30 | 310 4.8 4.9

-M157 | 1 10 | 16 3 255 | 157 | 60 * 325 | 42 * 30 | 310 4.4 6.1

-285-M157 [ 2 | 10 | 16 3 285 | 157 | 28 | 62 325 | 42 | 56 30 | 340 5 6.1

AL RA:

? %IEWEE working length
L € Length (L)
JJ#FE 1 Diameter
R

X = Holder type
AT Taper size



5 O0-N-w®

-BT50-SL #4571 (3°—{F&)

FIG.2 BT. NO

0l
G2

c3

L2 L1 w | BTEMKE

#E
( Thickness )

B ESEHR
® ] BEMMABERT, HEMA

B2 ﬁ oL BT,
» P10 Jr’J SR KE o NNERE FEAJIEN, EEY

H (Minimum insert length of the tool )

TNARAIHNKE BNEBALZSIESERNME,

h ( Maximum insert length of the tool )

- Z2igS
fic 4 Accessories { Safety mark)

S Model t h &E=Z2KGS S
BT50-SLRB10- 90-M22 1 10 | 22 6 90 22 30 * 24.3 32 * 30 145 3.7 0.6
-110-M42 1 10 | 22 6 110 42 30 * 26.4 32 * 30 165 3.8 0.8
-120-M22 1 10 | 22 6 120 22 60 * 24.3 32 * 30 175 3.9 0.8
-135-M67 1 10 | 22 6 135 67 30 * 29 42 * 30 190 3.9 1.1
-140-M42 1 10 | 22 6 140 42 60 * 26.4 32 * 30 195 3.9 1.2
-150-M22 2 10 | 22 6 150 22 30 | 60 24.3 32 46 30 205 4.3 0.8 E
-165-M67 1 10 | 22 6 165 67 60 * 29 42 * 30 220 4.1 1.3
-170-M42 2 10 | 22 6 170 42 28 | 62 26.4 36 50 30 225 4.5 1 E E
-195-M67 2 10 | 22 6 195 67 28 | 62 29 42 56 30 250 4.7 1.3 7] §
-SLFB10-90-M22 1 10 | 22 6 90 22 30 * 24.3 32 * 30 145 3.7 0.6 ﬁg
/ -110-M42 1 10 | 22 6 110 42 30 * 26.4 32 * 30 165 3.8 0.8 /;‘jg
@ -120-M22 1 10 | 22 6 120 22 60 * 24.3 32 * 30 175 3.9 0.8
-135-M67 1 10 | 22 6 135 67 30 * 29 42 * 30 190 3.9 1.1
-140-M42 1 10 | 22 6 140 42 60 * 26.4 36 * 30 195 4 1
-150-M22 2 10 | 22 6 150 22 30 | 60 24.3 32 46 30 205 4.3 0.8
-165-M67 1 10 | 22 6 165 67 60 * 29 42 * 30 220 4.1 1.3
-170-M42 2 10 | 22 6 170 42 30 | 60 26.4 32 46 30 225 4.3 1.2
-195-M67 2 10 | 22 6 195 67 28 | 62 29 42 56 30 250 4.7 1.3
-SLSA12-110-M42 1 12 | 15 1.5 110 42 30 * 19.4 32 * 30 165 3.7 1.9
-135-M67 1 12 | 15 1.5 135 67 30 * 22 32 * 30 190 3.7 3.3
-140-M42 1 12 | 15 1.5 140 42 60 * 19.4 32 * 30 195 3.8 2.3
-165-M67 1 12 | 15 1.5 165 67 60 * 22 32 * 30 220 3.9 3.9
-M97 1 12 | 15 1.5 165 97 30 * 25.2 32 * 30 220 3.8 4.9
-170-M42 2 12 | 15 1.5 170 42 30 | 60 19.4 32 46 30 225 4.3 2.3
-195-M67 2 12 | 15 1.5 195 67 30 | 60 22 32 46 30 250 4.3 3.9
-M97 1 12 | 15 1.5 195 97 60 * 25.2 32 * 30 250 4 59
-225-M97 2 12 | 15 1.5 225 97 30 | 60 25.2 32 46 30 280 4.4 5.8
AR RA:
? %Iﬁ’?ﬁlﬁfg Working length
L £ Length (L)
JI#FE 1R Diameter
IHEEfLS Holder type
AT Taper size




5 O0-N-w®

-BT50-SL #4871 (3°—HhH) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

FIG.2 BT. NO

oL
C2

C3

L2 L1 M Working \En&hg

REiRS 2= W EEER
Bt 14 Accessories { Safety mark ) (Thickness )
o HIfT BEMANERT, sER

,‘_‘ —— R 0
w2 ﬁ‘ Jol BIHET.
» P19 JT’* BERBKE o NNERE FEAJIEN, EEY

H (Minimum insert length of the tool )

TNARKBNKE BINAEBALZSIESERNME,

h { Maximum insert length of the tool )

h ZEZEKGS S

BT50-SLSB12-110-M42 1 12 | 19 | 3.5 110 42 30 * 23.4 32 * 30 165 3.7 1.1
-135-M67 1 12 | 19 | 3.5 135 67 30 * 26 32 * 30 190 3.8 1.9
-140-M42 1 12 1 19 | 3.5 140 42 60 * 23.4 32 * 30 195 3.9 1.6
-165-M67 1 12 | 19 | 3.5 165 67 60 * 26 32 * 30 | 220 3.9 2.5
-M97 1 12 | 19 | 3.5 165 97 30 * 29.2 42 * 30 | 220 3.9 2.4
-170-M42 2 12 1 19 | 3.5 170 42 28 | 62 23.4 36 50 30 225 4.5 1.3
g -195-M67 2 12 | 19 | 3.5 195 67 30 | 60 26 32 | 46 30 | 250 4.4 2.4
% -M97 1 12 | 19 | 3.5 195 97 60 * 29.2 42 * 30 | 250 4.2 2.7
i -M127 1 12 1 19 | 3.5 195 127 | 30 * 32.3 42 * 30 250 4.1 3.3
é -225-M97 2 12 | 19 | 3.5 225 97 28 | 62 29.2 42 56 30 | 280 4.8 2.8
“ -M127 1 12 | 19 | 3.5 225 127 | 60 * 32.3 42 * 30 | 280 4.3 3.7
-M157 1 12 | 19 | 3.5 225 157 | 30 * 35.5 42 * 30 280 4.3 41
-255-M127 2 12 | 19 | 3.5 255 127 | 28 | 62 32.3 42 56 30 310 4.9 3.7
-M157 1 12 | 19 | 3.5 255 157 | 60 * 35.5 42 * 30 310 4.5 4.7
-285-M157 2 12 | 19 | 3.5 285 157 | 28 | 62 35.5 42 56 30 340 5.1 4.7
-SLRB12- 90-M22 1 12 | 26 7 90 22 30 * 28.3 42 * 30 145 3.7 0.4
-110-M42 1 12 | 26 7 110 42 30 * 30.4 42 * 30 165 3.8 0.6
-120-M22 1 12 | 26 7 120 22 60 * 28.3 42 * 30 175 4 0.5
-135-M67 1 12 | 26 7 135 67 30 * 33 42 * 30 190 4 0.8
-140-M42 1 12 | 26 7 140 42 60 * 30.4 42 * 30 195 4. 0.7
-150-M22 2 12 | 26 7 150 22 28 | 62 28.3 42 56 30 | 205 4.6 0.5
-165-M67 1 12 | 26 7 165 67 60 * 33 42 * 30 220 4.2 1
-170-M42 2 12 | 26 7 170 42 28 | 62 30.4 42 56 30 | 225 4.7 0.7
-195-M67 2 12 | 26 7 195 67 28 | 62 33 42 56 30 | 250 4.8 1.1
FRA& 5 BA:
T ? %Iﬁ?ﬂfﬂg working length
L € Length (L)
TI¥FE 1R Diameter
haefXS Holder type
HEARTZ T Taper size



®
*5 O-N-W BT M

-BT50-SL #4571 (3°—HhH) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

FIG.2 BT. NO

0l
G2

c3

L2 L1 w | BTEMKE

#E
( Thickness )

B ESEHR
® ] BEMMABERT, HEMA

X0 ﬁ o LERGR
» P10 J(’J SR KE o NNERE FEAJIEN, EEY

H (Minimum insert length of the tool )

TNARAIHNKE BNEBALZSIESERNME,

h ( Maximum insert length of the tool )

Z2igS
fic 4 Accessories { Safety mark)

h ZEEKGS S

BT50-SLFB12- 90-M22 1 11226 7 90 22 | 30| * | 283 | 42| * | 30 | 145 3.7 0.4
/ -110-M42 | 1 | 12| 26| 7 110 | 42 | 30| * | 304 | 42| * | 30 | 165 3.8 0.6
JE -120-mM22 | 1 | 12|26 | 7 120 | 22 | 60 | * 383 [ 42| * | 30 | 175 4 0.5
-135-M67 | 1 | 12|26 | 7 135 | 67 | 30| * 33 | 42| * | 30 | 190 4 0.8
-140-M42 | 1 | 12|26 | 7 140 | 42 | 60| * | 304 | 42| * | 30 | 195 41 0.7 E
-150-M22 | 2 | 12|26 | 7 150 | 22 | 28 | 62 | 283 | 42| 56 | 30 | 205 4.6 0.5
-165-M67 | 1 | 12|26 | 7 165 | 67 | 60 | * 33 | 42| * | 30 | 220 4.2 1 @ e
-170-M42 | 2 | 12|26 | 7 170 | 42 | 28 | 62 | 30.4 | 42| 56 | 30 | 225 4.7 0.7 )_]' §
-195-M67 | 2 | 12|26 | 7 195 | 67 | 28 | 62 33 | 42| 56 | 30 | 250 4.8 11 Wa
-SLSB16-110-M42 | 1 |16 | 24 | 4 110 | 42 | 30| * | 284 [42] * | 32 | 165 3.8 0.7 ;ﬁé
-135-M67 | 1 |16 |24 | 4 135 | 67 | 30 | * 31 42 | * | 32| 190 3.9 11 °
-140-M42 | 1 |16 | 24| 4 140 | 42 | 60| * | 284 | 42| * | 32| 195 4 0.9
-165-M67 | 1 |16 |24 | 4 165 | 67 | 60 | * 31 42 | * | 32| 220 41 1.4
-M97 | 1 |16 |24 | 4 165 | 97 | 30| * | 342 | 42| * | 32| 220 4 1.7
-170-M42 | 2 |16 |24 | 4 170 | 42 | 28 | 62 | 28.4 | 42| 56 | 32 | 225 4.6 0.9
-195-M67 | 2 |16 |24 | 4 195 | 67 | 28 | 62 31 42 | 56 | 32 | 250 4.7 1.4
-M97 | 1 |16 |24 | 4 195 | 97 | 60 | * | 342 | 42| * | 32 | 250 4.3 2
-M127 | 1 |16 |24 | 4 195 | 127 | 30 | * 373 | 53| * | 32| 250 4.2 21
-225-M97 | 2 |16 |24 | 4 | 225 | 97 | 28 | 62 | 34.2 |42 | 56 | 32 | 280 4.9 21
-M127 | 1 |16 | 24| 4 | 225 | 127 | 60 | * 373 | 53 | * | 32 | 280 4.6 2.3
-M157 | 1 |16 | 24| 4 | 225 | 157 |30 | * | 405 |53 | * | 32 | 280 4.4 2.6
-255-M127 | 2 |16 |24 | 4 | 255 | 127 | 28 | 62 | 373 |53 | 67 | 32 | 310 5.5 2.3
-M157 | 1 |16 |24 | 4 | 255 | 157 | 60 | * | 405 |53 | * | 32 | 310 4.8 2.8
-285-M157 | 2 |16 |24 | 4 | 285 | 157 | 28 | 62 | 40.5 | 53 | 67 | 32 | 340 5.7 2.9
FAS 5 BE:
T %Iﬁ?&ﬁfg Working length
L €E Length (L)
TI¥FE 1R Diameter
IBER S Holder type
AR, Taper size




5 O0-N-w®

BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

FIG.2 BT. NO

oL
C2

C3

L2 L1 M Working \En&hg

REiRS 2= W EEER
Bt 14 Accessories { Safety mark ) (Thickness )
o HIfT BEMANERT, sER

= Y
e ﬁ 5ol BT,
» P19 Ang~fJ BERBKE o NNERE FEAJIEN, EEY

H (Minimum insert length of the tool )

TNARKBNKE BINAEBALZSIESERNME,

h { Maximum insert length of the tool )

h ZEZEKGS S

BT50-SLRB16- 90-M22 1 16 | 32 8 90 22 | 30 * 343 | 42 * 32 | 145 3.8 0.3
-110-M42 1 16 | 32 8 110 42 | 30 * 36.4 | 42 * 32 | 165 3.9 0.5
-120-M22 1 16 | 32 8 120 22 60 * 34.3 42 * 32 175 4 0.5
-135-M67 1 16 | 32 8 135 67 | 30 * 39 42 * 32 | 190 4. 0.6
-140-M42 1 16 | 32 8 140 42 | 60 * 36.4 | 42 * 32 | 195 4.2 0.6
-150-M22 2 16 | 32 8 150 22 28 | 62 34.3 42 56 32 205 4.6 0.5
5 -165-M67 1 16 | 32 8 165 67 | 60 * 39 42 * 32 | 220 4.3 0.9
: -170-M42 2 |16 | 32 8 170 42 | 28 | 62 | 36.4 | 42 | 56 | 32 | 225 4.8 0.7
i -195-M67 2 16 | 32 8 195 67 28 | 62 39 42 56 32 250 4.9 0.9
é -SLFB16-90-M22 1 16 | 32 8 90 22 | 30 * 343 | 42 * 32 | 145 3.8 0.3
“ / -110-M42 1 16 | 32 8 110 42 | 30 * 36.4 | 42 * 32 | 165 3.9 0.5
@ -120-M22 | 1 |16 32| 8 | 120 | 22 |60 | * | 343 |42 | * | 32 | 175 4 0.5
-135-M67 1 16 | 32 8 135 67 | 30 * 39 42 * 32 | 190 4. 0.6
-140-M42 1 16 | 32 8 140 42 | 60 * 36.4 | 42 * 32 | 195 4.2 0.6
-150-M22 2 |16 | 32 8 150 22 | 28 | 62 | 343 | 42 | 56 | 32 | 205 4.6 0.5
-165-M67 1 16 | 32 8 165 67 | 60 * 39 42 * 32 | 220 4.3 0.9
-170-M42 2 16| 32 8 170 42 | 28 | 62 | 36.4 | 42 | 56 | 32 | 225 4.8 0.7
-195-M67 2 |16 32 8 195 67 | 28 | 62 39 42 | 56 | 32 | 250 49 0.9
-SLSB20-110-M42 1 20 | 29 | 4.5 110 42 30 * 33.4 42 * 40 165 3.8 0.5
-135-M67 1 120 |29 | 45 | 135 67 | 30 * 36 42 * 40 | 190 3.9 0.9
-140-M42 1 |20 |29 | 45 | 140 42 | 60 * 33.4 | 42 * 40 | 195 4. 0.8
-165-M67 1 20 | 29 | 4.5 165 67 60 * 36 42 * 40 220 4.2 1.2
-M97 1 |20 |29 | 45 | 165 97 | 30 * 39.2 | 53 * 40 | 220 4.1 1.1
-170-M42 2 12029 45 | 170 42 | 28 | 62 | 33.4 | 42 | 56 | 40 | 225 4.7 0.8
ARt RA:
%IE?&KE Working length
L €E Length (L)
JIFFE 1R Diameter
IHEEFLS Holder type
TAFZT, Taper size



®
*5 O-N-W BT M

-BT50-SL #4571 (3°—HhH) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

FIG.2 BT. NO

0l
G2

c3

L2 L1 w | BTEMKE

#E
( Thickness )

B ESEHR
® ] BEMMABERT, HEMA

X0 ﬁ o LERGR
» P10 J(’J SR KE o NNERE FEAJIEN, EEY

H (Minimum insert length of the tool )

TNARAIHNKE BNEBALZSIESERNME,

h ( Maximum insert length of the tool )

Z2igS
fic 4 Accessories { Safety mark)

S Model

BT50-SLSB20-195-M67 2 | 20|29 | 45 195 67 | 28 | 62 36 42 | 56 | 40 | 250 4.8 1.2
-M97 1 20| 29 | 45 195 97 | 60 * 39.2 | 53 * 40 | 250 4.5 1.3
-M127 1 20 | 29 | 4.5 195 | 127 | 30 * 42.3 53 * 40 | 250 4.3 1.5
-225-M97 2 | 20|29 | 45 225 97 | 28 | 62 39.2 | 53 | 67 | 40 | 280 5.4 1.3
-M127 1 20 | 29 | 4.5 225 | 127 | 60 * 42.3 53 * 40 | 280 4.7 1.8 E

-M157 1 20| 29 | 45 225 | 157 | 30 * 455 | 53 * 40 | 280 4.6 1.7 _—

-255-M127 2 |1 20|29 | 45 255 | 127 | 28 | 62 42.3 53 | 67 | 40 | 310 5.6 1.7 )_]' %

-M157 1 20 | 29 | 4.5 255 | 157 | 60 * 455 | 53 * 40 | 310 5 2.2 A 2

-285-M157 2 | 20|29 | 45 285 | 157 | 28 | 62 455 | 53 | 67 | 40 | 340 5.9 2.2 ’;‘jé
-SLRB20-110-M42 1 20 | 38 9 110 42 | 30 * 42.4 | 53 * 40 | 165 4 0.3
-135-M67 1 20 | 38 9 135 67 | 30 * 45 53 * 40 | 190 4.2 0.4
-140-M42 1 20 | 38 9 140 42 | 60 * 42.4 | 53 * 40 | 195 4.4 0.4
-165-M67 1 20 | 38 9 165 67 | 60 * 45 53 * 40 | 220 4.6 0.6
-170-M42 2 |20 ]| 38 9 170 42 | 28 | 62 424 | 53 | 67 | 40 | 225 5.3 0.4
-195-M67 2 | 20| 38 9 195 67 | 28 | 62 45 53 | 67 | 40 | 250 5.5 0.6
-SLFB20-110-M42 1 20 | 38 9 110 42 | 30 * 42.4 | 53 * 40 | 165 4 0.3
/ -135-M67 1 20 | 38 9 135 67 | 30 * 45 53 * 40 | 190 4.2 0.4
[:ﬂ -140-M42 1 20 | 38 9 140 42 | 60 * 42.4 | 53 * 40 | 195 4.4 0.4
-165-M67 1 20 | 38 9 165 67 | 60 * 45 53 * 40 | 220 4.6 0.6
-170-M42 2 | 20| 38 9 170 42 | 28 | 62 42.4 | 53 | 67 | 40 | 225 5.3 0.4
-195-M67 2 | 20| 38 9 195 67 | 28 | 62 45 53 | 67 | 40 | 250 5.5 0.6

FAZIEE:

T NI AR Working length
L €E Length (L)
JJ#FE 1% Diameter
108

BE1LS Holder type
AR Taper size




5 O0-N-w®

-BT50-SL #4871 (3°—HhH) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

FIG.2 BT. NO

— — — — — — - - alo| 5
L By R Il
O
L2 L1 w | MTEMKE
L
REiRe B HEEER

Bt 14 Accessories { Safety mark ) (Thickness )

o HIET BEAMMBREET, HER

- 4,;‘7_‘ - ¥
= ﬁ o BT,
» P10 ﬁ BRI KE o NNERE FEAJIEN, EEY

H (Minimum insert length of the tool )

TNARKBNKE BINAEBALZSIESERNME,

h { Maximum insert length of the tool )

S Model h ZE=KGS S

BT50-SLRB25-110-M42 1 25 [ 45| 10 110 42 | 30 * 49.4 | 53 * 45 | 165 4. 0.3

-140-M42 1 25145 10 140 42 | 60 * 49.4 | 53 * 45 | 195 4.5 0.4

-170-M42 2 | 25]45| 10 170 42 | 28 | 62 | 49.4 | 53 | 67 | 45 | 195 5.3 0.4
SLFB25-110-M42 1 25 [ 45| 10 110 42 | 30 * 49.4 | 53 * 45 | 165 4. 0.3

Z -140-M42 1 25145 10 140 42 | 60 * 49.4 | 53 * 45 | 195 4.5 0.4
E -170-M42 2 | 25]145| 10 170 42 | 28 | 62 | 49.4 | 53 | 67 | 45 | 195 5.4 0.4
-SLRB32-110-M42 1 32 |54 11 110 42 | 30 * 58.4 | 63 * 50 | 160 4.0 0.2
-140-M42 1 32 [ 54| M 140 42 | 60 * 58.4 | 63 * 50 | 171 4.6 0.3

-170-M42 2 3254 1 170 42 | 28 | 62 58.4 | 63 | 77 50 | 171 5.8 0.3

@
3
(%]
ac
>
2
=
v
<
w
=
m
=
)

AR RA:

T INT B E Working length
L € Length (L)
JIFFE1Z Diameter
IheE

BE1XS Holder type
S$IRFZ T, Taper size



5 O0-N-w®

-BT50-SL #4574 (CV HHZ& &) BT50-SL SHRINK FIT HOLDER(CV CURVE)

FIG.1

mITAEYKE

Working length

M TAMAKE
W

M orking length

B 4 Accessories #’[: 'éiﬁ',f?') [T%E ) M EESER
afety marl ickness
o HIfT BEMANERT, HEH

R Y
SPUl9 ﬁ‘ DI BrLRIET,
JF’J BARISKE o NIAREK HATAN, BEHY

H (Minimum insert length of the tool )

TIRRAIHNKE BINEBALRSIESERNVE,

h (Maximum insert length of the tool )

S Model FIG D C t L Y C1 H h E= KGS S
BT50-SLSA4-165CV 1 4 7 1.5 165 127 85 12 220 5.2 1.8
-195CV 1 4 7 1.5 195 157 85 12 250 5.3 2.6 E
-225CV 1 4 7 1.5 225 187 85 12 280 5.5 3.8
-255CV 1 4 7 1.5 255 217 85 12 310 5.6 5.7 X 3
-285CV 1 4 7 1.5 285 247 85 12 340 6.4 5.9 E
-315CV 1 4 7 1.5 315 277 85 12 370 8.3 7.7 W3
-SLSA6-165CV 1 6 9 1.5 165 127 85 18 220 5.1 1.5 ;ﬁﬁ
-195CV 1 6 9 1.5 195 157 85 18 250 5.2 2.4 :
-225CV 1 6 9 1.5 225 187 85 18 280 5.7 2.9
-255CV 1 6 9 1.5 255 217 85 18 310 5.9 4
-285CV 1 6 9 1.5 285 247 85 18 340 6.2 5.2
-315CV 1 6 9 1.5 315 277 85 18 370 8.4 6.9
-SLSA8-165CV 1 8 11 1.5 165 127 85 24 220 49 1.4
-195CV 1 8 11 1.5 195 157 85 24 250 5.3 1.9
-225CV 1 8 11 1.5 225 187 85 24 280 5.8 2.3
-255CV 1 8 11 1.5 255 217 85 24 310 5.8 3.7
-285CV 1 8 11 1.5 285 247 85 24 340 6 49
-315CV 1 8 11 1.5 315 277 85 24 370 8.4 5
-SLRA8-195CV 2 8 16 4 195 157 85 24 250 5.4 1.1
-225CV 2 8 16 4 225 187 85 24 280 5.6 1.5
-255CV 2 8 16 4 255 217 85 24 310 5.8 2.2
-285CV 2 8 16 4 285 247 85 24 340 5.9 3

AR RA:

*ﬁéﬁﬁ'—i Curve
L < Length (L)
JI#FE 1 Diameter
IHEEFLS Holder type
TRAZT, Taper size




5 0-N-w®

-BT50-SL #4571 (CV HHZ R ) BT50-SL SHRINK FIT HOLDER(CV CURVE)

FIG.1

BB E

M Working length
L
B2 ¥ Accessories %?iﬂ% ”%E ] HEEER
afety mar ickness
o HfT BEMMBREERT, HEH

ET: 1 0 .um
»P.J19 [ )bl * BFLAIET .
%/J BRI o AR BANAN, BESY

H (Minimum insert length of the tool )

TIERARIHNKE BIEBALLRSIESERNUE,

h ( Maximum insert length of the tool )

AE Model FIG ) C t L M 1 H h =2 KGS S

BT50-SLFA8-195CV 2 8 16 4 195 157 85 24 250 5.4 11

A 2250y 2 8 16 4 225 187 85 24 280 5.6 1.5
== -255CV 2 8 16 | 4 255 217 85 24 310 5.8 2.2

; =——— .285cv 2 8 16 4 285 247 85 24 340 5.9 3
2 -SLSA10-165CV 1 10 13 | 15 165 127 85 30 220 4.9 1.2
5 -195CV 1 10 13 | 15 195 157 85 30 250 5.5 1.5
E -225CV 1 10 13 | 1.5 | 225 187 85 30 280 5.4 2.4
-255CV 1 10 13 | 1.5 | 255 217 85 30 310 6.1 2.6
-285CV 1 10 13 | 1.5 | 285 247 85 30 340 6.3 3.7
-315CV 1 10 13 | 15 315 277 85 30 370 8.4 4.6
-SLRA10-165CV 2 10 19 | 45 | 165 127 85 30 220 5.1 0.7

-195CV 2 10 19 | 45 | 195 157 85 30 250 5.2 1.1

-225CV 2 10 19 | 45 | 225 187 85 30 280 5.9 1.2

-255CV 2 10 19 | 45 | 255 217 85 30 310 6.1 17
-285CV 2 10 19 | 45 | 285 247 85 30 340 6.2 2.4
-SLFA10-165CV 2 10 19 | 45 | 165 127 85 30 220 5.1 0.7

/ -195CV 2 10 19 | 45 | 195 157 85 30 250 5.2 11
4@ -225CV 2 10 19 | 45 225 187 85 30 280 5.9 1.2
-255CV 2 10 19 | 45 | 255 217 85 30 310 6.1 17
-285CV 2 10 19 | 45 | 285 247 85 30 340 6.2 2.4
g5 RE:
T Wﬁﬁ—ii‘] Curve
L &E Length (L)
TI¥FE 1R Diameter
IHREX S Holder type
1A= Taper size



®
*5 O-N-W BT M

-BT50-SL #4871 (CV HHZ&R) BT50-SL SHRINK FIT HOLDER(CV CURVE)

c—

MIBEYKE

Working length

FIG.2

122123
BT. NO 2D curve.

mIBRAKE

M Working length

B2 ## Accessories %ﬁ%lﬂ%ﬁ (T%F:SJ HEEER
o HET BEMANEKT, HEH

»P.J19 ° " ) Di E}L*ﬁﬂo
JF’J BERKE o NNARE FEATIAN, ESY

H (Minimum insert length of the tool )

TIERAKIHNKE BNEBALZSESERNNE

h ( Maximum insert length of the tool )

S Model FIG D C t L M C1 H h E= KGS S
BT50-SLSA12-165CV 1 1215 15 | 1es | 127 | ea 30 220 4.8 1.2
-195¢V 1 | 1215 15 | 195 | 157 | 85 30 250 5.6 1.2 E
-225CV 1 |12 15| 15 | 225 | 187 | 85 30 280 5.8 1.8 -
-255CV 1 | 1215 15 | 255 | 217 | 85 30 310 6 2.6 7_]' £
-285CV 1 |12 15| 15 | 285 | 247 | 85 30 340 6.2 3.5 e
-315¢CV 1 | 1215 15 | 315 | 277 | 85 30 370 8.5 3.6 ;2
-SLRA12-165CV 2 |12 ] 22| 22 | 1e5 | 127 | 85 30 220 51 07
-195¢cV 2 |12 22| 22 | 195 | 157 | 85 30 250 5.6 0.8
-225CV 2 |12 22| 22 | 225 | 187 | 85 30 280 5.6 1.3
-255CV 2 |12 22| 22 | 255 | 217 | 85 30 310 5.8 16
-285CV 2 |12 22| 22 | 285 | 247 | 85 30 340 6.1 21
-SLFA12-165CV 2 |12 22| 22 | 1e5 | 127 | 85 30 220 5.1 07
X -195cv 2 |12 2 22 | 195 | 157 | 85 30 250 5.6 0.8
[3=5] -225cv 2 |12 22| 22 | 225 | 187 | 85 30 280 5.6 1.3
-255CV 2 |12 2| 22 | 255 | 217 | es 30 310 5.8 16
-285CV 2 |12 2| 22 | 285 | 247 | 85 30 340 6.1 21

AR RA:

$Eé£§“ Curve
L & Length (L)
JIFFE 1R Diameter
#®

IHEEfLS Holder type
TAFZ T, Taper size




5 O0-N-w®

-BT50-SL #4571 (CV HHZ &) BT50-SL SHRINK FIT HOLDER(CV CURVE)

Ziheg
BT NO 2D curve
- = = = = = —_—— c——n = = el ol 5
MITAHKE
M Working length
L
2 4 Accessories %{éiﬂ% [T%E ) WESER
afety marl ickness
) == a
s Kt o WET BEMANERT, e
»P.J19 b [ ool ' BILHIET
H 1M§@¥ﬁﬁ%‘) e JIARE mATAN, EEY
inimum insert length of the tool

TIERKBNKE BINARBAKZSIESERNVE,

h ( Maximum insert length of the tool )

#S Model D C t L M (@ H h EE KGS S
BT50-SLSB16-165CV 16 21 2.5 165 127 85 32 220 5.4 0.6
-195CV 16 21 2.5 195 157 85 32 250 5.4 1.1
-225CV 16 21 2.5 225 187 85 32 280 6.3 1.2
-255CV 16 21 2.5 255 217 85 32 310 6.1 2
-285CV 16 21 2.5 285 247 85 32 340 7 2
-315CV 16 21 2.5 315 277 85 32 370 8.6 2.6
-SLSB20-165CV 20 26 3 165 127 85 40 220 5.4 0.6
-195CV 20 26 3 195 157 85 40 250 6.1 0.7
-225CV 20 26 3 225 187 85 40 280 5.8 1.2
-255CV 20 26 3 255 217 85 40 310 6.7 1.3
-285CV 20 26 3 285 247 85 40 340 7 1.7
-315CV 20 26 3 315 277 85 40 370 8.9 2.3
% R ER:
m ETE B Curve
L &FE Length (L)
JIFFE 1R Diameter
IHEEfLS Holder type
AR Taper size



5 O0-N-w®

‘BT-CESHERNIIWA

B

BT-C FORCE MILLING CHUCK

Features:

ORKEGIHITARAEHEE

O M EZERE LB B SRR EE

OFFFEREPTIERIK, R, TN SFEIZIER R0 RRIE
RIRERERRE, NEBDXLBARSRABETKERED

© This cover ring is connecting with the transfer screw cap by groove of
hermetic circle.

© This new power chuck millis belongs to the hermetic set for CNC
cutting tools.

© The cover ring can prevent the water, dust and cutting scrap going to
the spacing from chuck body and transfer cap. It can prolong the using
time for the power milling chuck.

[

RGBS FKIFTERTER =
EMBERNDRAFSRIZEEEFEERER, EANSIEREH
BRE. THINERENER, S-EREMEBAN, RIEFHEE
e YIBREE R, ERMMERAFSFIRENRE,
MBEBSERHRNE, FRADFAFIHEEMISERT TR, K&
REFFFRESTo

@) Atk @) AR
Holder body Body spacer
@) FirE Ak
Cover ring Body clamp spring
) BRI Q) gy
Keeping shelves Nut spacer
@) 128 SRR
Nut Nut clamp spring
() Afkip @) &t
Body spacer Needle roller
6) BHHLHE

Body lock ring

The shortcoming for the power milling chuck of standard type

The standard milling chuck has the spacing between chuck
body and transfer screw cap. It easily makes water with dust
and cutting scrap into the spacing, and it also will be move to
take the dust and cutting scrap together running, it not only
fret the surface of chuck body and transfer screw cap, but also
break the needle roller bearing. The holding precision will be
falling, at last it lose holding capacity.

m

@
=
(%)
ac
>
z
=
(%)
<
%l
=
m
=
v}

vs)
=
7]
iz]
ES
5




BT-C FORCE

MILLING CHUCK
BT. NO
T

Bt #f Accessories
» P.J27 »P.J12 »P.J19
# ¥ Model X#56E Range
BT30-C20- 80 128.4| 80 | 58 | 22 | 46 | 20 | 58 3456810121416 20 1.3
-C25-100 148.4|100| 78 | 22 | 46 | 25 | 63 3456810121416 18 20 25 1.6
-C32-105 153.4[105| 83 | 22 | 46 | 32 | 73 3456810121416 18 20 22 24 25 32 2.3
BT40-C20-100 165.4100| 73 | 27 | 63 | 20 | 58 3456810121416 20 2
-C25-100 165.4[100| 73 | 27 | 63 | 25 | 63 3456810121416 18 20 25 2.2
-135 200.4| 135|108 | 27 | 63 | 25 | 63 3456810121416 18 20 25 3.1
-C32-105 170.4|105| 78 | 27 | 63 | 32 | 73 3456810121416 182022242532 2.5
-135 200.4|{135|108 | 27 | 63 | 32 | 73 3456810121416 18 202224 2532 3.1
-165 230.4| 165|138 | 27 | 63 | 32 | 73 3456810121416 18 20 22 24 25 32 3.9
-200 265.4|200 | 173 | 27 | 63 | 32 | 73 3456810121416 182022242532 4.6
-250 315.4| 250|223 | 27 | 63 | 32 | 73 3456810121416 18 20 22 24 25 32 5.7
-C42-130 195.41 130 | 103 | 27 | 63 | 42 | 88 |3456810121416 18202224 25283032343642
BT50-C25-110 211.8|110| 72 | 38 | 100 | 25 | 63 3456810121416 18 20 25 4.8
-165 236.8| 165|127 | 38 | 100 | 25 | 63 3456810121416 18 20 25 6.1
-C32-110 211.8|110| 72 | 38 |100| 32 | 73 3456810121416 182022242532 5.3
-135 236.8|135| 97 | 38 | 100 | 32 | 73 3456810121416 18 20 22 24 25 32 6
-165 266.8| 165|127 | 38 | 100 | 32 | 73 3456810121416 182022242532 6.9
-200 301.8| 200|162 | 38 |100| 32 | 73 3456810121416 18 2022 24 25 32 7.8
-250 351.8| 250|212 | 38 |100| 32 | 73 3456810121416 18 20 22 24 25 32 9.45
-300 401.8 | 300 | 262 | 38 |100| 32 | 73 3456810121416 182022242532 11.75
-350 451.8 350|312 | 38 |100| 32 | 73 3456810121416 18 20 22 24 25 32 12.3
@ -400 501.8 | 400 | 362 | 38 | 100 | 32 | 73 3456810121416 182022242532
% -450 551.8 450 | 412 | 38 [ 100 | 32 | 73 3456810121416 18202224 2532
5, -C42-135 236.8|135| 97 | 38 | 100 | 42 | 88 (3456810121416 18 2022 242528 3032343642 6.2
B -165 266.8| 165|127 | 38 | 100 | 42 | 88 (3456810121416 182022242528 3032343642 7.6
& -200 301.8| 200|162 | 38 |100| 42 | 88 (3456810121416 182022242528 3032343642 9
S Features:

SR, BRE. aEmERIIARY!

O#BE: 20CrMnTi/15CrMn

Of#EE: HRC58-60, BHFE > 0.8mm

OHMNEFTR: <AT3

OTIMAILANEN T HE, LARFIETI B%ka), BAERD
OXARHMHFIERHHARIER, EKERED, 1BBLEN
ORBXIFNK, ERBES, HERTEANHE

O TJRMEFIINL: NIE R B IR

ONFZIXRFFE, TIIL Ra0.4, BREEHEWE
OYMERIKHE S RE, THA Ra0.4, EEIFEEME

OFME "WMR" BHRRELRE, RSXHEE. WEM, RSB EE,
REBRE, XEBEALB, HH. MEMKREY, FREFE, 4
MIEZES

OIRF. Hfl. FEABITHEIL

A5
@Ll £ Length (L1)

?ﬁﬁ%ﬂ% Collect model

RS FhE Collect type C
IR, Taper size

High speed, high accuracy, high durability C-STRAIGHT TOOL SERIES

© Material:20CrMnTi/15CrMn;

© Hardness:HRC58-60, Carbon depth > 0.8 © Tolerance class: <AT3
© Inner hole of the shank divide into 6 troughs to prevent the insert
remove, increase the grasp force

© Ball bearing cage is made of special material, improve the
endurance, enhance the grasp force

© Grasp force strong, centering accuracy high, suit to heavy cutting

© Two kinds looks provide:polishing or chemical nickel-plating
processing;

© Inner hole grinding for many times, so as to reach Ra0.4, has a
mirror effect;

© End and the cylindrical are grinding for many times, can reach
Ra0.4, has a mirror effect;

© Surface "environmental protection", special coating surface
treatment, improve the hardness and endurance of the surface,
cleaness better, accuracy stable, surface more smooth, antirust, feel
comfortable, appearance nice.

© The spanner. pull stud chuck must purchase alone.

-
FOsk 3p4k E -

2 [m]
“pd

bl

l
\

o
an

I 4B E R



5 O0-N-w®

‘BT60-C B SREBRNIIF

fid 4 Accessories

e
““~ % &=
»P.J12 » P.J19

» P.J27

# 1% Model
BT60-C32-130 291.8| 130 | 82 | 48 |155| 32 | 73

BT60-C FORCE MILLING CHUCK

BT. NO

I B p— ,Iq
— |

d2

L2

L3 L1

—

X+5EE Range
3456810121416 18202224 2532

-C42-130 291.8|130| 82 | 48 | 155| 42 | 88

3456810121416 18 20 22 24 25 28 30 32 34 36

42

R

Features:

BE. SRE. a5ETERIIARY

O#&: 20CrMnTi/15CrMn

OTEE: HRC58-60, BHIRE > 0.8mm

OHMAEZR: <AT3

OJIMAFNE T /48, VABSILTI A%, EAEFAH
OFRBEHRMAHIVERHMRRIER, ERERSD, BBkEN
OREBXIFNK, ERRBES, HERTEAE

O THRHERFISMNL: SEiE R ERIE

OWFLBRIFEE, THA Ra0.4, BIISEENE

ORI RIGE S IRE, Tk Ra0.4, BEIEEMER

OFXME "HMR" HHAELIE, REXEEE. MEM, BREBIE,
BEERE, REAEXE, BHH. BHEMNEER, FREFE, 4
WEZEM

ORF. HfT. FXABITUEL

AR IR .

BT60 C 32 %E
L1 4<E Length (L1)

B EIS Collect model
A3 fhZ Collect type C
AR Taper size

High speed, high accuracy, high durability C-STRAIGHT TOOL SERIES

© Material:20CrMnTi/15CrMn;

© Hardness:HRC58-60, Carbon depth > 0.8 © Tolerance class: < AT3
© Inner hole of the shank divide into 6 troughs to prevent the insert
remove, increase the grasp force

© Ball bearing cage is made of special material, improve the
endurance, enhance the grasp force

© Grasp force strong, centering accuracy high, suit to heavy cutting

© Two kinds looks provide:polishing or chemical nickel-plating
processing;

© Inner hole grinding for many times, so as to reach Ra0.4, has a
mirror effect;

© End and the cylindrical are grinding for many times, can reach
Ra0.4, has a mirror effect;

© Surface "environmental protection”, special coating surface
treatment, improve the hardness and endurance of the surface,
cleaness better, accuracy stable, surface more smooth, antirust, feel
comfortable, appearance nice.

© The spanner, pull stud chuck must purchase alone.

20 OF
JeOsk 3p4k
\

l
\

I 4B E R

m

@
g
)
I
>
z
=
%)
=<
%)
=
m
=
vl

vs)
=
7]
iz]
ES
5



CEARTIW (EE)  ASCMILLING CHUCK SET

# #& Model f@2Z%R Collet name

i & &£ Prepared collet #RF Wrench

BT30-C32-105/7P( E%) C32 681012162025 €32
BT40-C32-105/7P( E%) €32 681012162025 €32
BT50-C32-110/7P( %) 32 681012162025 32
BT50-C42-135/7P( E%) c42 681016202532 €32

B

i

OAVRHEMIMAE : JIS MAS 403 BT

O & NFETIMAFL D EIRE AR IEB RN FHMAER 1.
OXPBRBBRRE, KENR, HLEE,

@
=
(%]
ac
>
2
=
v
<
w
=
m
=
)

OEABHMEHENT AL, REMHIMIEIETIM,

OARTETIERTTEEXE, MURRIF.,
HR: BERERRFE, SUESEUIRRIR,
AHARE:

TR 1% Bk 74
R’FE: 1% KR\ 1D
HIET: 14

FAZIHER .

ﬁﬁ%ﬁ Collet No.
L14EE Length (L1)
382 Collect model

A SeFh Collect type C
AR Taper size

Features:

© Spindle conicity standard: JIS MAS 403 BT.

© Designed with inner hole

separation trough to prevent

slipping and increase the clamping force.

© Equipped with sophisticated
precision cutting

needle for hihg-speed and high

© Suitable for the diameter of integer specification tool

clamping

© Don't be empty clamping unless damage for tool holder

© Remarks: Always use the recommended wrench or spanner,

unless there might cause damage of cutting tools.

© Contained:

Tool holder 1pc collet

Pullstud  1pc

Wrench 1lpc Wooden case 1pc

Tpc

Sum

kOg

& s




®
® O-N-W BT #7787

HERILMEZENREEEIN  COLLET INSTALLING AND REMOVING INSRUCTION MANUAL

—. BWERATE

OFERFEWERLZ A, UIHRERANYEREZH WEFT) , ARFELRENURBERZITERTRZEIMNEL, FELET

BN AEEFEERATE
ORNRBRIEFERARE, EREREILZE, BRI EE, SIRESBLNIREMR. HEIEET S,
Installation:

© Firstly should install collet into clamp nut then uses a wrench to lock it on tool holder before working.
© Clean the collet, clamping nut before using so as to get a good performance.

BT TR s

holder ?;ZE

=

R F spanner RKE M

collet

i X RN

screw cap

KETHRBRENTELEF, KEWERBLTON—EAE, RAREENBEMHERENEFER, WTEMT:

In the process of installation, clamping nut should be tilted some angles with collet. And lock it in card slot.

3 \ \ \

A Y N 1 TR

» “‘\v‘\\i\ AR 3
- =%

KESUZBIENRES R

—. FEREmU
ORHEFILTIMKETIE#HITUHIMIEN, —EEIRKEMLNRETIE, URTAEEERERET THAA, HARLEK.
OMEFLTIMUAFRTIERSE, MRRBEETARETANPRIBEITEEIIRNREET L, UBZETR KA,
Warning

© Make sure that the cutter is correctly mounted in the holder before setting the tool in the machine in case of personal injury.
© Remove the cutter and collet from chuck.Otherwise, clamping force may be reduced. Even worse, cause the collet brittle fracture.

8577
g  Lnd

m

@
g
)
I
>
z
=
%)
<
%)
=
m
=
vl

vs)
=
7]
iz]
ES
5

— 1
/

IEMRIIEES I FRBIKERN

holding right holding wrong




BT30-ER COLLET CHUCK

B ¥ Accessories

» P.J27 » P.JO7

» P.J29

==
»P.J19

# & Model

AR _4BNET RN
X#EE Range  EE KGS

O RIRHEMIAE : JIS MAS 403 BT
OFCH ER ML, tEMAFRIFHT. k., 4%
ORKENFRMNFLEENES, BRATER, EEHEAKNE
OERERRF, FURHEIR, tlaEMIMRE

OiRF. Hfl. BEASITHEZ

AR RAR:

T,

@Ll £ Length (L1)

H 3 EYS Collect model
B Jefh Collect type ER
IR Taper size

BT30-ER11M- 60 108.4 60 38 22 46 16 11 16 M6*1.0P 1-7mm 0.53
-ER11M-100 148.4 100 38 22 46 16 11 16 M6*1.0P 1-7mm 0.53
-ER16- 60 108.4 60 38 22 46 28 16 28 M10*1.5P T-10mm 0.58
-100 148.4 100 78 22 46 28 16 28 M10*1.5P 1-10mm 0.7
-ER20- 60 108.4 60 38 22 46 34 20 34 M12*1.75P 1-13mm 0.63
-100 148.4 100 78 22 46 34 20 34 M12*1.75P 1-13mm 0.8
-150 198.4 150 | 128 22 46 34 20 34 M12*1.75P 1-13mm 1.5
-ER25- 60 108.4 60 38 22 46 42 25 42 M16*2.0P T-16mm 0.61
-100 148.4 100 78 22 46 42 25 42 M16*2.0P 1-16mm 1
-150 198.4 150 | 128 22 46 42 25 42 M16*2.0P T-16mm 1.5
-ER32- 60 108.4 60 38 22 46 50 32 50 M16*2.0P 2-20mm 0.7
-100 148.4 100 78 22 46 50 32 50 M16*2.0P 2-20mm 1
-150 198.4 150 | 128 22 46 50 32 50 M16*2.0P 2-20mm 1.55
-ER40- 80 128.4 80 58 22 46 63 40 63 M20*2.0P 2-26mm 1
‘)’I:
2 R Features:
?, i © Spindle conicity standard:JIS MAS 403 BT

© ER collet chuck set with ER collet with flexibility used for
gripping cutting tool, drill bit, draw bolt and so on.

© When using, nut should be clamped tensed firstly with
cutting tools then locked into the main body.

© Always use the recommended wrench or spanner, unless,
there might cause damage of cutting tools.

© The spanner, pull stud chuck must purchase alone.

8un
FeOkk 3D4h



5 O0-N-w®

-BT40-ER ¥ XE Ik BT40-ER COLLET CHUCK

o

BE 1 Accessories
%\‘ L
)} » P.J07
#M 1% Model F455EE Range  EE KGS
BT40-ER11M- 70 135.4 70 43 27 63 16 11 16 M6*1.0P 1-7mm 115

-ER11M-100 165.4 | 100 73 27 63 16 11 16 M6*1.0P 1-7mm 1.2
-150 215.4 | 150 123 27 63 16 11 16 M6*1.0P 1-7mm 1.5

-ER16- 70 135.4 70 43 27 63 28 16 28 M10*1.5P 1-10mm 1.3
-100 165.4 | 100 73 27 63 28 16 28 M10*1.5P 1-10mm 1.3
-150 215.4 | 150 123 27 63 28 16 28 M10*1.5P T-10mm 1.6
-200 265.4 | 200 173 27 63 28 16 28 M10*1.5P T-10mm 1.7
-250 315.4 | 250 | 223 27 63 28 16 28 M10*1.5P 1-10mm 2
-300 365.4 | 300 | 273 27 63 28 16 28 M10*1.5P 1-10mm 2.3

-ER20- 70 135.4 70 43 27 63 34 20 34 M12*1.75P 1-13mm 1.2
-100 165.4 | 100 73 27 63 34 20 34 M12*1.75P 1-13mm 1.4
-150 215.4 | 150 123 27 63 34 20 34 M12*1.75P 1-13mm 1.7
-200 265.4 | 200 173 27 63 34 20 34 M12*1.75P 1-13mm 2
-250 315.4 | 250 | 223 27 63 34 20 34 M12*1.75P 1-13mm 2.1
-300 365.4 | 300 | 273 27 63 34 20 34 M12*1.75P 1-13mm 2.4

-ER25- 70 135.4 70 43 27 63 42 25 42 M16*2.0P 1-16mm 1.3
-100 165.4 | 100 73 27 63 42 25 42 M16*2.0P 1-16mm 1.6
-150 215.4 | 150 123 27 63 42 25 42 M16*2.0P 1-16mm 2.05
-200 265.4 | 200 173 27 63 42 25 42 M16*2.0P 1-16mm 2.5 E
-250 315.4 | 250 | 223 27 63 42 25 42 M16*2.0P T-16mm 3.05
-300 365.4 | 300 | 273 27 63 42 25 42 M16*2.0P T-16mm 3.55 3 @

-ER32- 70 135.4 70 43 27 63 50 32 50 M16*2.0P 2-20mm 1.4 7] g
-100 165.4 | 100 73 27 63 50 32 50 M16*2.0P 2-20mm 1.7 o
-150 215.4 | 150 123 27 63 50 32 50 M16*2.0P 2-20mm 2.4 %%
-200 265.4 | 200 173 27 63 50 32 50 M16*2.0P 2-20mm 3.15 K
-250 315.4 | 250 | 223 27 63 50 32 50 M16*2.0P 2-20mm 4
-300 365.4 | 300 | 273 27 63 50 32 50 M16*2.0P 2-20mm 4.4

-ER40- 80 145.4 80 53 27 63 63 40 63 M20*2.0P 2-26mm 1.5
-100 165.4 | 100 73 27 63 63 40 63 M20*2.0P 2-26mm 2.1
-150 215.4 | 150 123 27 63 63 40 63 M20*2.0P 2-26mm 3.2
-200 265.4 | 200 173 27 63 63 40 63 M20*2.0P 2-26mm 3.3
-250 315.4 | 250 | 223 27 63 63 40 63 M20*2.0P 2-26mm 4.2
-300 365.4 | 300 | 273 27 63 63 40 63 M20*2.0P 2-26mm 4.5

-ER50- 100 165.4 | 100 43 27 63 78 50 78 M24*2.0P 6-34mm 115

ST Features:

E:

O Z{RHEARFE . JIS MAS 403 BT

OFCA ER RIS, tiEATHIFHT]. ok, «4#
ORXENELLEABENERE, BEANTIE, BEEHEAKK
OEHEARFE, AuUHEETIR, tguEmIiRR
ORFE. hfl. FEABTHEZ

MRS ER:

BT4A0PNERE - @
L1 4<E Length (L1)
&

A3z 8UE Collect model
Jefh Collect type ER

$HIRAZT, Taper size

© Spindle conicity standard:)IS MAS 403 BT

© ER collet chuck set with ER collet with flexibility used for gripping
cutting tool, drill bit, draw bolt and so on.

© When using, nut should be clamped tensed firstly with cutting tools
then locked into the main body.

© Always use the recommended wrench or spanner, unless, there
might cause damage of cutting tools.

© The spanner. pull stud chuck must purchase alone.

Bum
JeO 4k 304k




-BT50-ER ¥4 XTIk BT50-FP ~~* " ET CHUCK

D
BT. NO T 43 AR RBNE SR

FIG.1
BT. NO D
T
1 § E— ) —— s
\ L=
Il ;
Bt ¥ Accessories L3 L1
'\ % FIG.2 L
»P.J27 » P.JO7
# & Model FIG 4%EE Range FEE KGS
BT50-ER16- 80 171.8 80 42 38 100 28 16 28 1 T-10mm 3.7
-100 201.8 | 100 62 38 100 28 16 28 1 1-10mm 3.9
-150 251.8 | 150 112 38 100 28 16 28 1 1-10mm 4.2
-200 301.8 | 200 162 38 100 28 16 28 1 1-10mm 4.3
-250 351.8 | 250 212 38 100 28 16 31 2 1-10mm 4.7
-300 401.8 | 300 262 38 100 28 16 33 2 1-10mm 5.5
-350 451.8 | 350 312 38 100 28 16 35 2 1-10mm 6.3
-ER20- 80 181.8 | 80 42 38 100 34 20 34 1 1-13mm 3.8
-100 201.8 | 100 62 38 100 34 20 34 1 1-13mm 4
-150 251.8 | 150 112 38 100 34 20 34 1 1-13mm 4.3
-200 301.8 | 200 162 38 100 34 20 34 1 1-13mm 4.6
-250 351.8 | 250 212 38 100 34 20 37 2 1-13mm 5
-300 401.8 | 300 262 38 100 34 20 39 2 1-13mm 5.45
z -350 451.8 | 350 312 38 100 34 20 41 2 1-13mm 5.1
2 -400 501.8 | 400 362 38 100 34 20 43 2 1-13mm 6.4
é -ER25- 80 181.8 | 80 42 38 100 42 25 42 1 1-16mm 4
& -100 201.8 | 100 62 38 100 42 25 42 1 1-16mm 4.1
-150 251.8 | 150 112 38 100 42 25 42 1 T-16mm 4.6
-200 301.8 | 200 162 38 100 42 25 42 1 1-16mm 5.1
-250 351.8 | 250 212 38 100 42 25 45 2 T-16mm 5.8
-300 401.8 | 300 262 38 100 42 25 47 2 1-16mm 6.2
-350 451.8 | 350 312 38 100 42 25 49 2 1-16mm 7
-400 501.8 | 400 362 38 100 42 25 51 2 1-16mm 7.8
ST Features:
E: © Spindle conicity standard:JIS MAS 403 BT
OARMREREIAE : IS MAS 403 BT ©. ER collet .chuck set yvith ER collet with flexibility used for
gripping cutting tool, drill bit, draw bolt and so on.
OBCA ER IR, TEMTRIFHI]. k. Li © When using, nut should be clamped tensed firstly with
OXENFLEMNELBENES, BENTIE, EEPEAKRK cutting tools then locked into the main body.
OEREMIRE, ATFHEETE, TEMIIERE © Alwqys use the recommended. wrench or spanner, unless,
there might cause damage of cutting tools.
ORF. fIf]. HEAFBITHML © The spanner. pull stud chuck must purchase alone.
KA 5 ER:

F A2 Collect model
JeF$Z Collect type ER
A Taper size

Bun
@ FeOsk 3D4k
L1 4€E Length (L1)
T’Cﬁj -
G



5 O0-N-w®

-BT50-ER # 14 F X IR BT5N-ED ~~** ~T CHUCK

P HRBNET mR

FIG.1

BT. NO D

L2
L1

BZ ¥ Accessories
N

»P.% »P.J07

# & Model

FIG.2 ‘ L

d1 d2 d3 FIG X#5BE Range =& KGS

BT50-ER32- 80 181.8 80 42 38 100 50 32 50 1 2-20mm 3.9
-100 201.8 | 100 62 38 100 50 32 50 1 2-20mm 4.2
-150 251.8 | 150 112 38 100 50 32 50 1 2-20mm 4.9
-200 301.8 | 200 162 38 100 50 32 50 1 2-20mm 5.7
-250 351.8 | 250 212 38 100 50 32 50 1 2-20mm 6.5
-300 401.8 | 300 262 38 100 50 32 53 2 2-20mm 7.2
-350 451.8 | 350 312 38 100 50 32 54 2 2-20mm 8
-400 501.8 | 400 362 38 100 50 32 56 2 2-20mm 8.9
-450 551.8 | 450 412 38 100 50 32 58 2 2-20mm 11.5
-500 601.8 | 500 462 38 100 50 32 60 2 2-20mm 12.5
-550 651.8 | 550 512 38 100 50 32 65 2 2-20mm 15
-600 701.8 | 600 562 38 100 50 32 68 2 2-20mm 16
-ER40- 80 186.8 | 80 42 38 100 63 40 63 1 2-26mm 4.7 E
-100 201.8 | 100 62 38 100 63 40 63 1 2-26mm 5.2
-150 251.8 | 150 112 38 100 63 40 63 1 2-26mm 6.5 @ =
-200 301.8 | 200 162 38 100 63 40 63 1 2-26mm 7.5 —a
-250 351.8 | 250 212 38 100 63 40 63 1 2-26mm 8.6 ;%)é
-300 401.8 | 300 262 38 100 63 40 66 2 2-26mm 9.8 %\ﬁ
-350 451.8 | 350 312 38 100 63 40 67 2 2-26mm 11.5 5l 2
-400 501.8 | 400 362 38 100 63 40 70 2 2-26mm 13.5
-450 551.8 | 450 412 38 100 63 40 72 2 2-26mm 14
-500 601.8 | 500 462 38 100 63 40 73 2 2-26mm 16.5
-550 651.8 | 550 512 38 100 63 40 75 2 2-26mm 18.5
-600 701.8 | 600 562 38 100 63 40 78 2 2-26mm 21
-ER50-100 201.8 | 100 62 38 100 78 50 78 1 6-34mm 3.9
-150 251.8 | 150 112 38 100 78 50 78 1 6-34mm 6.2
-200 301.8 | 200 162 38 100 78 50 78 1 6-34mm 7.8
ST Features:
pa © Spindle conicity standard:JIS MAS 403 BT
O ARHEAEIE . JIS MAS 403 BT ©. ER collet .chuck set yvith ER collet with flexibility used for
gripping cutting tool, drill bit, draw bolt and so on.
OFcH ER MR, NEMTRIFHT. sk, £ © When using, nut should be clamped tensed firstly with
OXBNERVNEXRBENES, BEANIE, EEHEARNE cutting tools then locked into the main body.
OEMEMIRE, ATREETE, TESEmIIERE © Alwqys use the recommended. wrench or spanner, unless,
there might cause damage of cutting tools.
ORF. fIf]. HRAFBITHME © The spanner, pull stud chuck must purchase alone.

?%_1 E Length (L1)
&% A E Collect model - _
Jzfh Collect type ER
$EIRAZE Taper size

*m*%i%aﬁ. 8um
fal




‘BT60-ER I F XTI BT60-ER COLLET CHUCK

BT. NO D
I e e o o
el
\ %
L2
Bt 14 Accessories L3 > L1
S a L .
» P.J27 » P.JO7 »P.J29 »P.J19
#i& / BE Model *45EE Range
BT60-ER32-100 261.8 100 52 48 155 50 32 50 2-20mm
-150 311.8 150 102 48 155 50 32 50 2-20mm
-ER40-100 261.8 100 52 48 155 63 40 63 2-26mm
-150 311.8 150 102 48 155 63 40 63 2-26mm
-ER50-100 261.8 100 52 48 155 78 50 78 6-34mm
-150 311.8 150 102 48 155 78 50 78 6-34mm

@
=
%)
ac
>
2
=
v
<
u
=
m
=
)

@ EHNKEAR &) EiRMREH R
holding right holding wrong
iSI= Features:
i © Spindle conicity standard:JIS MAS 403 BT
O ARG . JIS MAS 403 BT ©' ER collet .chuck set yvith ER collet with flexibility used for
’ . . e S gripping cutting tool, drill bit, draw bolt and so on.
OFCH ER IR, TERTREFHI]. k. £it © When using, nut should be clamped tensed firstly with
ORBNEREMNELBNER, BREANTIE, EESEANKE cutting tools then locked into the main bodly.
OEMEMRE, FUBHTCTE, TaERIERE © Alwqys use the recommended‘ wrench or spanner, unless,
N P there might cause damage of cutting tools.
ORF. fIf]. HRABITME © The spanner. pull stud chuck must purchase alone.

BFAYS Collect model
FFhZE Collect type ER ] _
HRAZ T, Taper size

BT60 - - - m 8um 12um
L1 4 E Length(L1) ko4 @ 3D4k
&



5 O0-N-w®

BT30-FMB Em$tJI A BT30-FMB FACE MILL ARBOR

FIG.1  BI.NO N

I
d1
d2

L4

L3 L2

FIG. 2 BT. NO
/7

#M % Model
BT30-FMB16-60 125.4 | 60 33 27 17 46 16 38 3.2 8 M8*1.25P 1 0.5
-FMB22-45 111.4 | 45 18 27 18 46 22 48 4.8 10 M10*1.5P 2 0.75
-60 126.4 | 60 33 27 18 46 22 48 4.8 10 M10*1.5P 2 1.5
-FMB27-45 113.4 | 45 18 27 20 46 27 58 5.8 12 M12*1.75P 2 1.45
-60 128.4 | 60 33 27 20 46 27 58 5.8 12 M12*1.75P 2 1.45
-FMB32-45 115.4 | 45 18 27 22 46 32 63 6.8 14 M16*2.0P 2 1.5
-60 130.4 | 60 33 27 22 46 32 63 6.8 14 M16*2.0P 2 1.6
-FMB40-60 133.4| 60 33 27 25 46 40 63 6.8 14 M16*2.0P 2 1.8 z
ST Features: ;—"; g
E: © Spindle conicity standard: JIS MAS 403 BT ﬁ%
O ARERFHE : IS MAS 403 BT © With water through design that reduces vibration and ’;‘/ﬁg

steady for cutting.
© Connecting part(d) designed for metric size.

O thivBEFL AR T HAKRAERR

OFmEXTIESEML (d) HMELZE h6 © Tool holders with BT shank for face mill chuck, Face mill

OERFE@mESIMT holders equipped with screws and drive keys to assemble the
mill cutter to holder.

ORI FRAKE © Can be made upon requested dimensions.

O] ABITHE © The pull stud must purchase alone.

FUAEIEAA: EIRS, SEIR - ERERTIR

@Ll E Length (L1)
# [ E1R Bore diameter of cutter
I

BEAS Face mill holder type B
AL Taper size




-BT40-FMB @ik J1 1

FIG. 1

BT40-FMB FACE MILL ARBOR

BT.NO

L2

fic 14 Accessories L3
L2
%._!::ﬂ-: - L1
»P.J19
# # Model L L1 L2 L3 L4 D di d2 K1 K2 M FIG ZE= KGS
BT40-FMB16- 60 142.4 | 60 33 27 17 63 16 38 | 3.2 8 M8*1.25P 1 1.3
-100 182.4| 100 | 73 27 17 63 16 38 | 3.2 8 M8*1.25P 1 1.4
-FMB22- 60 143.4| 60 33 27 18 63 22 48 | 4.8 | 10 M10*1.5P 1 1.5
-100 183.4| 100 73 27 18 63 22 48 4.8 10 M10*1.5P 1 2.05
-150 233.4| 150 | 123 27 18 63 22 48 4.8 10 M10*1.5P 1 2.75
-200 283.4| 200 | 173 | 27 18 63 22 48 | 4.8 | 10 M10*1.5P 1 3.6
-250 333.4| 250 | 223 | 27 18 63 22 48 | 4.8 | 10 M10*1.5P 1 4.25
-300 383.4| 300 | 273 | 27 18 63 22 48 | 4.8 | 10 M10*1.5P 1 4.9
-350 433.4| 350 | 323 | 27 18 63 22 48 | 4.8 | 10 M10*1.5P 1 5.65
-400 483.4 | 400 | 373 | 27 18 63 22 48 | 4.8 | 10 M10*1.5P 1 6.4
-450 533.4| 450 | 423 27 18 63 22 48 4.8 10 M10*1.5P 1 715
-500 583.4| 500 | 473 27 18 63 22 48 4.8 10 M10*1.5P 1 79
-FMB27- 60 145.4 | 60 33 27 20 63 27 58 | 5.8 | 12 M12*1.75P 1 2.35
-100 185.4| 100 | 73 27 20 63 27 58 | 5.8 | 12 M12*1.75P 1 3.1
-150 235.4| 150 | 123 | 27 20 63 27 58 | 5.8 | 12 M12*1.75P 1 3.9
-200 285.4| 200 | 173 | 27 20 63 27 58 | 5.8 | 12 M12*1.75P 1 4.8
© -250 335.4| 250 | 223 | 27 20 63 27 58 | 5.8 | 12 M12*1.75P 1 5.7
;i: -300 385.4 | 300 | 273 27 20 63 27 58 5.8 12 M12*1.75P 1 6.6
;Zj -FMB32- 60 147.4 | 60 33 27 22 63 32 63 6.8 14 M16*2.0P 2 1.9
‘g -100 1874 | 100 | 73 27 22 63 32 63 | 6.8 | 14 M16*2.0P 2 2.8
& -150 2374 | 150 | 123 | 27 22 63 32 63 | 6.8 | 14 M16*2.0P 2 3.6
-200 287.4 | 200 | 173 | 27 22 63 32 63 | 6.8 | 14 M16*2.0P 2 4.2
-FMB40- 60 150.4 | 60 33 27 25 63 40 74 | 83 | 16 M16*2.0P 2 2.8
-100 190.4| 100 | 73 27 25 63 40 74 | 83 | 16 M16*2.0P 2 3.6
-150 240.4 | 150 | 123 27 25 63 40 74 8.3 16 M16*2.0P 2 4.9
-200 290.4 | 200 | 173 27 25 63 40 74 8.3 16 M16*2.0P 2 6.2
ST Features:
E: © Spindle conicity standard: JIS MAS 403 BT

O AAHARMAS : JIS MAS 403 BT

O thivBFL AR F HAKRAEMRR
OFEHBIIESEML (d) MERAZE h6
OERTFmEEHIMT
OTJEFEFEMEKE

OHETMFB T

AR RA:

BT40 - - qﬂ
L1 Length(L1)
# & 1R Bore diameter of cutter
I

BEFXS Face mill holder type B
$ERAZTL Taper size

© With water through design that reduces vibration and
steady for cutting.

© Connecting part(d) designed for metric size.

© Tool holders with BT shank for face mill chuck, Face mill
holders equipped with screws and drive keys to assemble the
mill cutter to holder.

© Can be made upon requested dimensions.

© The pull stud must purchase alone.

BERR, RAK EREXT]

AN

=




5 O0-N-w®

-BT50-FMB E @ikt J1 1

BT50-FMB FACE MILL ARBOR

BE F Accessories L2
g L
»P.J19
# % Model L L1 L2 L3 L4 D di d2 K1 K2 M FIG ZE= KGS
BT50-FMB16- 60 178.8 60 22 38 17 | 100 16 38 3.2 8 M8*1.25P 1 4.0

-100 218.8 | 100 | 62 38 17 | 100 16 38 3.2 8 M8*1.25P 1 4.2
-150 268.8 | 150 | 112 | 38 17 | 100 16 38 3.2 8 M8*1.25P 1 4.5
-200 318.8 | 200 | 162 | 38 17 | 100 16 38 3.2 8 M8*1.25P 1 4.8

-FMB22- 60-D48 179.8 60 22 38 18 | 100 22 48 4.8 | 10 M10*1.5P 1 4.6
-100-D48 219.8 | 100 | 62 38 18 | 100 22 48 4.8 | 10 M10*1.5P 1 4.55
-150-D48 269.8 | 150 | 112 | 38 18 | 100 22 48 4.8 | 10 M10*1.5P 1 5.25
-200-D48 319.8 | 200 | 162 | 38 18 | 100 22 48 4.8 | 10 M10*1.5P 1 6
-250-D48 369.8 | 250 | 212 | 38 18 | 100 22 48 4.8 | 10 M10*1.5P 1 7
-300-D48 419.8 | 300 | 262 | 38 18 | 100 22 48 4.8 | 10 M10*1.5P 1 77
-350-D48 469.8 | 350 | 312 | 38 18 | 100 22 48 4.8 | 10 M10*1.5P 1 8.4
-400-D48 519.8 | 400 | 362 | 38 18 | 100 22 48 4.8 | 10 M10*1.5P 1 9.2
-450-D48 569.8 | 450 | 412 | 38 18 | 100 22 48 4.8 | 10 M10*1.5P 1 10
-500-D48 619.8 | 500 | 462 | 38 18 | 100 22 48 4.8 | 10 M10*1.5P 1 11.2

-FMB22- 45-D60 164.8 | 45 7 38 18 | 100 22 60 4.8 | 10 M10*1.5P 1 4.0
- 60-D60 179.8 60 22 38 18 | 100 22 60 4.8 | 10 M10*1.5P 1 4.8
-100-D60 219.8 | 100 | 62 38 18 | 100 22 60 4.8 | 10 M10*1.5P 1 5.9
-150-D60 269.8 | 150 | 112 | 38 18 | 100 22 60 4.8 | 10 M10*1.5P 1 5.9
-200-D60 319.8 | 200 | 162 | 38 18 | 100 22 60 4.8 | 10 M10*1.5P 1 7.05
-250-D60 369.8 | 250 | 212 | 38 18 | 100 22 60 4.8 | 10 M10*1.5P 1 8.4
-300-D60 419.8 | 300 | 262 | 38 18 | 100 22 60 4.8 | 10 M10*1.5P 1 9.45 E
-350-D62 469.8 | 350 | 312 | 38 18 | 100 22 | 62-58 | 4.8 | 10 M10*1.5P 1 10.5
-400-D62 519.8 | 400 | 362 | 38 18 | 100 22 | 62-58 | 4.8 | 10 M10*1.5P 1 12
-450-D62 569.8 | 450 | 412 | 38 18 | 100 22 | 62-58 | 4.8 | 10 M10*1.5P 1 13.25 EE
-500-D62 619.8 | 500 | 462 | 38 18 | 100 22 | 62-58 | 4.8 | 10 M10*1.5P 1 15.6 ﬂg
-550-D62 669.8 | 550 | 512 | 38 18 | 100 22 | 62-58 | 4.8 | 10 M10*1.5P 1 16.95 ﬁg
-600-D62 719.8 | 600 | 562 | 38 18 | 100 22 | 62-58 | 4.8 | 10 M10*1.5P 1 18 ’;’/ﬁg
-650-D62 769.8 | 650 | 612 | 38 18 | 100 22 | 62-58 | 4.8 | 10 M10*1.5P 1 22
-700-D62 819.8 | 700 | 662 | 38 18 | 100 22 | 62-58 | 4.8 | 10 M10*1.5P 1 25

ST Features:

pa

O ANREEMFAE : JIS MAS 403 BT

O FMEFLEFF HKRINEMR
OFE#ENEESENL (d) HEAZE h6
OERTFmE#EHIMT
OTEHIFEEMEE
ONETMBITHIE

AR RA:

@Ll K Length(L1)
# [ E 1R Bore diameter of cutter
If

BEAS Face mill holder type B

HEARAZZC Taper size

© Spindle conicity standard: JIS MAS 403 BT

© With water through design that reduces vibration and

steady for cutting.

© Connecting part(d) designed for metric size.
© Tool holders with BT shank for face mill chuck, Face mill
holders equipped with screws and drive keys to assemble the
mill cutter to holder.

© Can be made upon requested dimensions.

© The pull stud must purchase alone.

WBINL, RAE-

%

SEKTIR

§E0




BT50-FMB FACE MILL ARBOR

BT.NO

fid #f Accessories 13 L2
L1
»P.J19
# 1% Model L L1 L2 L3 L4 ] dli  d2 K1 K2 M EE KGS
BT50-FMB27- 45 166.8 45 7 38 20 100 | 27 60 5.8 12 M12*1.75P 4.0
- 60 181.8 60 22 38 20 100 | 27 60 5.8 12 M12*1.75P 4.5
-100 221.8 | 100 | 62 38 20 100 | 27 60 5.8 12 M12*1.75P 4.8
-150 271.8 | 150 | 112 | 38 20 100 | 27 60 5.8 12 M12*1.75P 6.05
-200 321.8 | 200 | 162 | 38 20 100 | 27 60 5.8 12 M12*1.75P 6.9
-250 371.8 | 250 | 212 38 20 100 27 60 5.8 12 M12*1.75P 8.4
-300 421.8 | 300 | 262 | 38 20 100 | 27 60 5.8 12 M12*1.75P 9.5
-350 471.8 | 350 | 312 | 38 20 100 | 27 62 5.8 12 M12*1.75P 10.5
-400 521.8 | 400 | 362 | 38 20 100 | 27 62 5.8 12 M12*1.75P 12
-450 571.8 | 450 | 412 | 38 20 100 | 27 62 5.8 12 M12*1.75P 13.5
-500 621.8 | 500 | 462 | 38 20 100 | 27 62 5.8 12 M12*1.75P 15
-550 671.8 | 550 | 512 38 20 100 27 62 5.8 12 M12*1.75P 16.5
-600 721.8 | 600 | 562 38 20 100 27 62 5.8 12 M12*1.75P 18
-FMB32- 60 183.8 60 22 38 22 100 32 70 6.8 14 M16*2.0P 4.65
-100 223.8 | 100 | 62 38 22 100 | 32 70 6.8 14 M16*2.0P 5.6
-150 273.8 | 150 | 112 | 38 22 100 | 32 70 6.8 14 M16*2.0P 7.85
-200 323.8 | 200 | 162 | 38 22 100 | 32 70 6.8 14 M16*2.0P 9.75
-250 373.8 | 250 | 212 | 38 22 100 | 32 70 6.8 14 M16*2.0P 12
-300 423.8 | 300 | 262 | 38 22 100 | 32 70 6.8 14 M16*2.0P 15
-350 473.8 | 350 | 312 38 22 100 32 70 6.8 14 M16*2.0P 16.5
-400 523.8 | 400 | 362 | 38 22 100 | 32 70 6.8 14 M16*2.0P 18
-450 573.8 | 450 | 412 | 38 22 100 | 32 70 6.8 14 M16*2.0P 18.5
5 -500 623.8 | 500 | 462 | 38 22 100 | 32 70 6.8 14 M16*2.0P 20
g -FMB40- 60 186.8 60 22 38 25 100 | 40 80 8.3 16 M16*2.0P 5.5
2 -100 226.8 | 100 | 62 38 25 100 | 40 80 8.3 16 M16*2.0P 6.7
é -150 276.8 | 150 | 112 | 38 25 100 | 40 80 8.3 16 M16*2.0P 7.5
o -200 326.8 | 200 | 162 38 25 100 40 80 8.3 16 M16*2.0P 10.75
-250 376.8 | 250 | 212 | 38 25 100 | 40 80 8.3 16 M16*2.0P 12.75
-300 426.8 | 300 | 262 | 38 25 100 | 40 80 8.3 16 M16*2.0P 14.75
-350 476.8 | 350 | 312 | 38 25 100 | 40 80 8.3 16 M16*2.0P 16.75
-400 526.8 | 400 | 362 | 38 25 100 | 40 80 8.3 16 M16*2.0P 18.75
-450 576.8 | 450 | 412 | 38 25 100 | 40 80 8.3 16 M16*2.0P 20.8
-500 626.8 | 500 | 462 | 38 25 100 | 40 80 8.3 16 M16*2.0P 22.8
15 Features:
b © Spindle conicity standard: JIS MAS 403 BT

O AARHERRMAZ . JIS MAS 403 BT

O FMEFLEFITF HKRINE MR
OFE#EIEESEML (d) MELZE ho
OERTFmItEIMI
OTEFIFEMNEE
ONIEIMBITHE

AR ER:

? ?Ll K E Length (L1)
#[EH1R Bore diameter of cutter
IhH

BE1XS Face mill holder type B
SEIRFZ T, Taper size

© With water through design that reduces vibration and
steady for cutting.

© Connecting part(d) designed for metric size.

© Tool holders with BT shank for face mill chuck, Face mill
holders equipped with screws and drive keys to assemble the
mill cutter to holder.

© Can be made upon requested dimensions.

© The pull stud must purchase alone.

BINR, RAKR E[ERTIR




5 O0-N-w®

-BT-FMB EHEJIH (MKHFEH)

fid 4 Accessories

BT-FMB FACE MILL ARBOR (EXTENSION TYPE)

BT. NO
-

D

L3

L2

d1
d2

60

L4

L1

P AR ME T R

# ¥ Model d1 d2 d3 K1 EuEEK M EE KGS

BT40-FMB22-200BG 283.4| 200 | 173 | 27 | 18 | 63 | 22 | 48 | 60 | 4.8 10 M10*1.5P
-250BG 3334|250 | 223 | 27 | 18 | 63 | 22 | 48 | 60 | 4.8 10 M10*1.5P
-300BG 383.4| 300 | 273 | 27 | 18 | 63 | 22 | 48 | 60 | 4.8 10 M10*1.5P
-350BG 433.4| 350 | 323 | 27 18 63 22 48 60 4.8 10 M10*1.5P
-400BG 483.4| 400 | 373 | 27 | 18 | 63 | 22 | 48 | 60 | 4.8 10 M10*1.5P
-450BG 533.4| 450 | 423 | 27 18 63 22 48 60 4.8 10 M10*1.5P
-500BG 583.4| 500 | 473 | 27 | 18 | 63 | 22 | 48 | 60 | 4.8 10 M10*1.5P

BT50-FMB22-200BG 319.8| 200 | 162 | 38 | 18 | 100 | 22 | 58 | 80 | 4.8 10 M10*1.5P 8.5
-250BG 369.8| 250 | 212 | 38 | 18 [ 100 | 22 | 58 | 80 | 4.8 10 M10*1.5P 10
-300BG 419.8| 300 | 262 | 38 | 18 | 100 | 22 | 58 | 80 | 4.8 10 M10*1.5P 11
-350BG 469.8| 350 | 312 | 38 | 18 | 100 | 22 | 58 | 80 | 4.8 10 M10*1.5P
-400BG 519.8| 400 | 362 | 38 | 18 | 100 | 22 | 58 | 80 | 4.8 10 M10*1.5P 14.5
-450BG 569.8| 450 | 412 | 38 | 18 | 100 | 22 | 58 | 80 | 4.8 10 M10*1.5P 17
-500BG 619.8| 500 | 462 | 38 | 18 | 100 | 22 | 58 | 80 | 4.8 10 M10*1.5P 17.4
-550BG 669.8| 550 | 512 | 38 | 18 | 100 | 22 | 58 | 80 | 4.8 10 M10*1.5P 19
-600BG 719.8| 600 | 562 | 38 | 18 | 100 | 22 | 58 | 80 | 4.8 10 M10*1.5P 20.5
-650BG 769.8| 650 | 612 | 38 | 18 | 100 | 22 | 58 | 80 | 4.8 10 M10*1.5P E
-700BG 819.8| 700 | 662 | 38 | 18 | 100 | 22 | 58 | 80 | 4.8 10 M10*1.5P

BT50-FMB27-200BG 321.8| 200 | 162 | 38 | 20 | 100 | 27 | 60 | 80 | 5.8 12 M12*1.75P © @
-250BG 371.8| 250 | 212 | 38 | 20 | 100 | 27 | 60 | 80 | 5.8 12 M12*1.75P - %
-300BG 421.8| 300 | 262 | 38 | 20 | 100 | 27 | 60 | 80 | 5.8 12 M12*1.75P ;%i
-350BG 471.8| 350 | 312 | 38 | 20 | 100 | 27 | 60 | 80 | 5.8 12 M12*1.75P E-
-400BG 521.8| 400 | 362 | 38 | 20 | 100 | 27 | 60 | 80 | 5.8 12 M12*1.75P 55
-450BG 571.8| 450 | 412 | 38 20 | 100 | 27 60 80 5.8 12 M12*1.75P
-500BG 621.8| 500 | 462 | 38 | 20 | 100 | 27 | 60 | 80 | 5.8 12 M12*1.75P

ST Features:
pa © Spindle conicity standard: JIS MAS 403 BT

O Z{RHERRINAL : JIS MAS 403 BT
odBIL AR FHAKRIAEMR

OFEHEIESEAL (d) MERAZE h6

OERTFFmEEERIMT
O EFIEEMKE
OHETMFBITIEL

MRS ER:

# [ E 1% Bore diameter of cutter

BT40 8 - 3200BG
L1 4 Length (L1)
If

BEfX S Face mill holder type B

HARAZ T, Taper size

© With water through design that reduces vibration and

steady for cutting.

© Connecting part(d) designed for metric size.
© Tool holders with BT shank for face mill chuck, Face mill
holders equipped with screws and drive keys to assemble the
mill cutter to holder.
© Can be made upon requested dimensions.
© The pull stud must purchase alone.

0.005 @




-BT60-FMB FEH k71K

BT60-FMB FACE MILL ARBOR

#1& / BS Model L L1 L2 L3 L4 D d1 d2 K1 K2 FIG Y
BT60-FMB22-100 279.8 | 100 | 52 48 18 | 155 22 48-58 | 4.8 10 1 M10*1.5P
-150 329.8 | 150 | 92 48 18 | 155 22 48-58 | 4.8 10 1 M10*1.5P
-FMB27-100 281.8 | 100 | 52 48 20 | 155 27 58 5.8 12 1 M12*1.75P
; -FMB32-100 283.8 | 100 | 52 48 22 | 155 32 65 6.8 14 1 M16*2.0P
§ -FMB40-100 286.8 | 100 | 52 48 25 | 155 | 40 80 8.3 16 1 M16*2.0P
E -FMB60- 75 261.8 | 75 27 48 25 | 155 60 128 125 | 254 | 2 M16*2.0P
ST Features:
E: © Spindle conicity standard: JIS MAS 403 BT

O Z{AHERRIFL : ]IS MAS 403 BT
O MBFLEF F KRR

OFEHIIESEML (d) BARAZE h6

OERTFFmEEERIMT
O EFIEEMEKE
ORIETAFBTIBE

BT60JE -PH - qm
L1 [ Length(L1)
# [ E 1R Bore diameter of cutter
I

BEAS Face mill holder type B

SEIRFZT, Taper size

© With water through design that reduces vibration and
steady for cutting.
© Connecting part(d) designed for metric size.

© Tool holders with BT shank for face mill chuck, Face mill
holders equipped with screws and drive keys to assemble the
mill cutter to holder.
© Can be made upon requested dimensions.

© The pull stud must purchase alone.

@




5 O0-N-w®

‘BT-FMB EHEJI® BT-FMB FACE MILL ARBOR

FlG. 1 BT.NO

] P HBMEFRUA
L3 L2 L4
L1
L
D
FlG. 2 BT.NO
/ 1
=== g=]
fic 14 Accessories
-
»P.J19 ' -
L

#M % Model K1 K2 [migs.0E (PCD) FIG EE KGS
BT40-FMB40F- 60( PU$R7L) 150.4 | 60 | 33 | 27 | 25 | 63 | 40 | 99 | 8.3 | 16 66.7 1 2.8
-100( HUIRH, ) 190.4 |[100| 73 | 27 | 25 | 63 | 40 | 99 |83 | 16 66.7 1 3.6
BT50-FMB40F- 60( FUi27l ) 186.8 | 60 | 22 | 38 | 25 [100| 40 | 99 | 8.3 | 16 66.7 1 5.5
-100( PUsR#,) 226.8 | 100 | 62 | 38 | 25 [100| 40 | 99 | 8.3 | 16 66.7 1 6.7
-150( MU#R7L) 276.8 | 150 |112| 38 | 25 |100| 40 | 99 [ 8.3 | 16 66.7 2 7.5
-200( WUIRH,) 326.8 |200|162| 38 | 25 |100| 40 | 99 [ 8.3 | 16 66.7 2 10.75
-250( [UiR7, ) 376.8 | 250212 | 38 | 25 |100| 40 | 99 | 8.3 | 16 66.7 2 14
E
-300( PUsR7L) 426.8 |300|262| 38 | 25 |100| 40 | 99 | 8.3 | 16 66.7 2 17.25
@ 3
BT60-FMB40OF- 75( FU#R7.) | 261.8 | 75 | 37 | 38 | 25 [155| 40 |110| 8.3 | 16 66.7 1 14.75 )_j'g
s
-100( EU$R7L) 301.8 [100| 62 | 38 | 25 |155| 40 |110| 8.3 | 16 66.7 1 16.75 E-
&
ST Features:
pa= © Spindle conicity standard: JIS MAS 403 BT
O ARHERBHIE : JIS MAS 403 BT © With water through design that reduces vibration and
- . steady for cutting.
OPIBA BT HARNREEE © Connecting part(d) designed for metric size.
OFEKETIEEEML (d) HELZE h6 © Tool holders with BT shank for face mill chuck, Face mill
OBEETF @S T holders equipped with screws and drive keys to assemble the

mill cutter to holder.

OTEBFEAKE © Can be made upon requested dimensions.
ORI MBITBEZ © The pull stud must purchase alone.
KA 5t ER:

BT40 - - [0 (mmigFl)
L1 Length(L1)
# &% Bore diameter of cutter
IhA

BEAS Face mill holder type B
$HIRAZR, Taper size




@
=
%)
ac
>
2
=
v
<
u
=
m
=
)

‘BT-FMB EHEJI® BT-FMB FACE MILL ARBOR

FIG. 1

BT. NO

K1

=

3 | 12 | 14
L1

FIG.2

BT.NO

K1

=

d1
d2

L3

T L2 L4

M #% Model K2 mEATANE FIG EE KGS
BT40-FMB60- 75 1654 | 75 | 48 | 27 | 25 | 63 60 128.5 12.5 25.4 101.6 1 5
BT50-FMB60- 75 201.8 | 75 | 37 | 38 | 25 |100| 60 128.5 12.5 25.4 101.6 1 8.5

-100 226.8 |100| 62 | 38 | 25 |100| 60 128.5 12.5 25.4 101.6 1 10
-150 276.8 |150(112| 38 | 25 |100| 60 128.5 12.5 25.4 101.6 2 13.5
-200 326.8 [200(162| 38 | 25 |100| 60 128.5 12.5 25.4 101.6 2 16
-250 376.8 [ 250|212| 38 | 25 |100| 60 128.5 12.5 25.4 101.6 2 19
-300 426.8 |300|262| 38 | 25 |100| 60 128.5 12.5 25.4 101.6 2 24
-350 476.8 |350(312| 38 | 25 |100| 60 128.5 12.5 25.4 101.6 2 28
-400 526.8 [400(362| 38 | 25 |100| 60 128.5 12.5 25.4 101.6 2 32
-450 576.8 [450|412| 38 | 25 |100| 60 128.5 12.5 25.4 101.6 2 36
-500 626.8 | 500|462 | 38 | 25 |100| 60 128.5 12.5 25.4 101.6 2 40
B Features:

i

O ARHERRMAE 1 IS MAS 403 BT

O PIVEFLEFIF HKRIEMR
OFHEPENESEML (d) HMRELZE h6
OERTFF@EHEHIMT

O EHIIFFEMEE

ORI ABITEE

MRS ER:

BT408 -[ - ?
L1 ¥ E Length(L1)
#[E 1R Bore diameter of cutter
If

BEfX S Face mill holder type B
AL Taper size

© Spindle conicity standard: JIS MAS 403 BT

© With water through design that reduces vibration and
steady for cutting.

© Connecting part(d) designed for metric size.

© Tool holders with BT shank for face mill chuck, Face mill
holders equipped with screws and drive keys to assemble the
mill cutter to holder.

© Can be made upon requested dimensions.

© The pull stud must purchase alone.

@




5 O-N-w ®

‘BT-FMA EHE TR BT-FMA FACE MILL ARBOR

K1

=

FlG. 1 BT.NO

L3 | L2 | 14
L1

K1

1o
=

FIG.2 BT. NO

it 1 Accessories
— L3
m':!g: K L
»P.J19 L
# & Model K1 K2 MR duldE FIG ZEZ KGS
BT40-FMA47.625- 75 172.4 | 75 | 48 | 27 | 25 | 63 | 47.625| 128.5 | 12.5 | 25.4 101.6 1 5
BT50-FMA47.625- 75 208.8 | 75 | 37 | 38 | 25 | 100 | 47.625| 128.5 | 12.5 | 25.4 101.6 1 8.5
-100 233.8 |100| 62 | 38 | 25 | 100 |47.625| 128.5 | 12.5 | 25.4 101.6 1 10
-150 283.8 | 150 | 112 | 38 | 25 | 100 | 47.625 | 128.5 | 12.5 | 25.4 101.6 2 13.5
-200 333.8 | 200|162 | 38 | 25 | 100 | 47.625| 128.5 | 12.5 | 25.4 101.6 2 16
-250 383.8 | 250|212 | 38 | 25 | 100 | 47.625| 128.5 | 12.5 | 25.4 101.6 2 19
-300 433.8 | 300|262 | 38 | 25 |100|47.625| 128.5 | 12.5 | 25.4 101.6 2 24 E
-350 483.8 | 350 (312 | 38 | 25 | 100 |47.625| 128.5 | 12.5 | 25.4 101.6 2 28 o =
— 5
-400 533.8 [ 400|362 | 38 | 25 | 100 |47.625| 128.5 | 12.5 | 25.4 101.6 2 32 )]g
-450 583.8 [ 450|412 | 38 | 25 | 100 |47.625| 128.5 | 12.5 | 25.4 101.6 2 36 gg
2
-500 633.8 | 500 | 462 | 38 | 25 | 100 | 47.625| 128.5 | 12.5 | 25.4 101.6 2 40 35
ST Features:
pa © Spindle conicity standard: JIS MAS 403 BT
O AREIFHE : IS MAS 403 BT © With water through design that reduces vibration and
. . steady for cutting.
OPLEFAFR T LA KRB © Connecting part(d) designed for metric size.
OFEKETIEEEML (d) HELZE h6 © Tool holders with BT shank for face mill chuck, Face mill
OEBTFTELESINT h(?lders equipped with screws and drive keys to assemble the
_ . mill cutter to holder.
OFERIAIFRARE © Can be made upon requested dimensions.
ORI MBITIBE © The pull stud must purchase alone.
S5 B @

BT40[E - - ?
L1 4 Length (L1)
#OHE1Z Bore diameter of cutter m]l.
)

BEfX S Face mill holder type A
HEWRZZ Taper size




BT-FMA FACE MILL ARBOR

Fl1G.2

BT. NO

- 1r
fic 4 Accessories d
= g
»P.J19 -
#M 4& Model L L1 L2 L3 L4 D ol d2 K1 K2 FIG == KGS
BT30- FMA25.4- 45 113.4 45 23 22 20 46 25.4 50 4.52 9.52 1 1.1
- 60 128.4 60 38 22 20 46 25.4 50 4.52 9.52 1 1.3
- FMA31.75- 45 115.4 45 23 22 22 46 31.75 60 6.7 12.7 1 1.35
- 60 130.4 60 38 22 22 46 31.75 60 6.7 12.7 1 1.5
BT40- FMA25.4- 60 145.4 60 33 27 20 63 25.4 50 4.52 9.52 1 1.5
-100 185.4 | 100 73 27 20 63 25.4 50 4.52 9.52 1 2.05
-150 235.4 | 150 | 123 27 20 63 25.4 50 4.52 9.52 1 2.75
-200 285.4 | 200 | 173 27 20 63 25.4 50 4.52 9.52 1 3.6
- FMA31.75- 60 147.4 60 33 27 22 63 31.75 60 6.7 12.7 1 2.05
-100 187.4 | 100 73 27 22 63 31.75 60 6.7 12.7 1 2.9
_ -150 2374 150 | 123 27 22 63 31.75 60 6.7 12.7 1 4.1
%’ - FMA38.10- 60 150.4 60 33 27 25 63 38.1 75 8.87 15.87 2 2.1
%’ -100 190.4 | 100 73 27 25 63 38.1 75 8.87 15.87 2 2.95
5 - FMA50.80- 60 161.4 60 33 27 36 63 50.8 98 9.75 19.05 2 4.5
ST Features:
i © Spindle conicity standard: JIS MAS 403 BT
O ARYERTHE . IS MAS 403 BT © With water through design that reduces vibration and
steady for cutting.
OPLBABFH T HARNEER © Connecting part(d) designed for metric size.
OFmEETIEEEML (d) HELZE h6 © Tool holders with BT shank for face mill chuck, Face mill
OEBFEEEESIMNT holders equipped with screws and drive keys to assemble the

mill cutter to holder.

OTTEMAFRIUSE © Can be made upon requested dimensions.

ORI MHBITIEZ © The pull stud must purchase alone.
BEWR, RAR - TRERTIR

AR RA:

?Ll +E Length (L1)
#[H7% Bore diameter of cutter
I

8BS Face mill holder type A
SEIRFZ T, Taper size




5 O0-N-w®

-BT50-FMA E @ik J1E

BZ 4 Accessories

BT50-FMA FACE MILL ARBOR

#M 1& Model D di d2 K1 K2 BE KGS
BT50- FMA25.4- 60 181.8 60 22 38 20 100 25.4 50 4.52 9.52 4.5

-100 221.8 100 62 38 20 100 25.4 50 4.52 9.52 4.8
-150 271.8 150 112 38 20 100 25.4 50 4.52 9.52 6.05
-200 321.8 200 162 38 20 100 25.4 50 4.52 9.52 6.9
-250 371.8 250 212 38 20 100 25.4 50 4.52 9.52 8.4
-300 421.8 300 262 38 20 100 25.4 50 4.52 9.52 9.5
-350 471.8 350 312 38 20 100 25.4 50 4.52 9.52 10.5
-400 521.8 400 362 38 20 100 25.4 50 4.52 9.52 12
-450 571.8 450 412 38 20 100 25.4 50 4.52 9.52 13.5
-500 621.8 500 462 38 20 100 25.4 50 4.52 9.52 15

-FMA31.75 -60 183.8 60 22 38 22 100 31.75 60 6.7 12.7 4.65
-100 223.8 100 62 38 22 100 31.75 60 6.7 12.7 5.6
-150 273.8 150 112 38 22 100 31.75 60 6.7 12.7 7.85
-200 323.8 200 162 38 22 100 31.75 60 6.7 12.7 9.75
-250 373.8 250 212 38 22 100 31.75 60 6.7 12.7 12
-300 423.8 300 262 38 22 100 31.75 60 6.7 12.7 15
-350 473.8 350 312 38 22 100 31.75 60 6.7 12.7 18

-FMA38.10- 60 186.8 60 22 38 25 100 38.1 75 8.87 15.87 5.5
-100 226.8 100 62 38 25 100 38.1 75 8.87 15.87 6.7
-150 276.8 150 112 38 25 100 38.1 75 8.87 15.87 7.5 E
-200 326.8 200 162 38 25 100 38.1 75 8.87 15.87 10.75

-FMA50.80- 75 212.8 75 37 38 36 100 50.8 98 9.75 19.05 6.4 = 3
-100 237.8 100 62 38 36 100 50.8 98 9.75 19.05 7 7] %
-150 287.8 150 112 38 36 100 50.8 98 9.75 19.05 8.2 *,Eg
-200 337.8 200 162 38 36 100 50.8 98 9.75 19.05 9.4 /yﬁg

ST Features:
= © Spindle conicity standard: JIS MAS 403 BT

O ARSI . JIS MAS 403 BT
O hMBILE R FHAKRIAE MR
OFEETIEEINL (d) MIEAELZE ho

OEATFFHEFEHIMT
OTJEFIFEMKE
OHETMFBITIEL

AR RAR:

#H 1R Bore diameter of cutter

@Ll £ Length (L1)

T IHREA S Face mill holder type A

HEAZ I Taper size

© With water through design that reduces vibration and steady for

cutting.

© Connecting part(d) designed for metric size.

© Tool holders with BT shank for face mill chuck, Face mill holders

equipped with screws and drive keys to assemble the mill cutter to

holder.

© Can be made upon requested dimensions.

© The pull stud must purchase alone.

BERL, RK-ERE




@
=
(%]
ac
>
2
=
v
<
w
=
m
=
)

-BT30-LBK #&sL J] 4

BT30-LBK BORING HEAD SHANK

BT. NO L4

L5

A

d1
d2

B ¥ Accessories

SRR IE T R

# & Model MnIR2 Screw EFE KGS

BT30-LBK1-55 103.4 | 55 | 33 | 22 | 30 [505] 46 | 19 | 11 M4*0.5P 0.7
-70 118.4 70 48 22 30 5.05 46 19 11 M4*0.5P 0.7

-LBK2-80 1284 | 80 | 58 | 22 | 31 |6.62| 46 | 24 | 14 M5*0.5p 0.8
-LBK3-80 1284 | 80 | 58 | 22 | 35 | 8 | 46 | 31 | 18 M6*0.75P 0.9
-LBK4-70 1784 | 70 | 48 | 22 | 39 | 10 | 46 | 39 | 22 M8*0.75P 1.0
-LBK5-60 1084 | 60 | 38 | 22 | 45 | 13 | 46 | 50 | 28 M10*1.0P 11
-LBK6-60 1084 | 60 | 38 | 22 | 55 | 16 | 46 | 63 | 36 M12*1.0P 1.2

B Features:

i

OMFAZE He

OEZEI, FTFHARNE

OTHAHERF RS "LBK" K7

OMILBEIRL SHEIES 90 B, HREILHTENNENLE
OB EMEEABLE SHBILEEEAMIANTA, SHBLE
BEIE AR ENZE 55

ORI ETRBITHE

AR RA:

?Ll K E Length (L1)
O Taper No. of cutter
I

BEXS Face mill holder type

AR Taper size

O Internaltolerance is H6.

© The entire through hole,favors the water leakage and quakeproof.

© May use in common and the mutual capacitance in majority
"LBK"Series.

© The side locks the solid screw and the key slot assumes 90
degrees,guaranteed that time the boring cutting function draws back the
knife phase.

© Because locks is solid when please do use the screw against card
oil to prevent to process the torsion to be oversized boring ,Causes the
screw deactivation to disassemble the assembly with difficulty.

© The pull stud must purchase alone.



5 O0-N-w®

-BT40-LBK $23L 7]/ BT40-LBK BORING HEAD SHANK

BT. NO L4
L5
m— R
—‘7 T|T
L2
L3 1
fic 4 Accessories L
» P.J19
A HEWE RWA
#M #& Model MinIg22 Screw B2 KGS
BT40-LBK1- 75 140.4 75 48 27 30 5.05 63 19 11 M4*0.5P 1
-105 170.4 105 78 27 30 5.05 63 19 11 M4*0.5P 1.2
-LBK2- 85 150.4 85 58 27 31 6.62 | 63 24 14 M5*0.5P 1.2
-115 180.4 115 88 27 31 6.62 | 63 24 14 M5*0.5P 1.3
-165 230.4 165 138 27 31 6.62 | 63 24 14 M5*0.5P 1.4
-200 265.4 200 173 27 31 6.62 | 63 24 14 M5*0.5P 1.55
-LBK3- 95 160.4 95 68 27 35 8 63 31 18 M6*0.75P 1.3
-125 190.4 125 98 27 35 8 63 31 18 M6*0.75P 1.2
-155 220.4 155 128 27 35 8 63 31 18 M6*0.75P 1.6
-185 250.4 185 158 27 35 8 63 31 18 M6*0.75P 1.7
-205 270.4 205 178 27 35 8 63 31 18 M6*0.75P 1.8
-LBK4- 85 150.4 85 58 27 39 10 63 39 22 M8*0.75P 1.45
-130 195.4 130 103 27 39 10 63 39 22 M8*0.75P 1.5
-175 240.4 175 148 27 39 10 63 39 22 M8*0.75P 2.1
-205 270.4 205 178 27 39 10 63 39 22 M8*0.75P 2.2
-250 315.4 250 223 27 39 10 63 39 22 M8*0.75P 2.3
-300 365.4 300 273 27 39 10 63 39 22 M8*0.75P 2.4
-LBK5- 75 140.4 75 48 27 45 13 63 50 28 M10*1.0P 1.7
-125 190.4 125 98 27 45 13 63 50 28 M10*1.0P 1.95
-175 240.4 175 148 27 45 13 63 50 28 M10*1.0P 3 E
-205 270.4 205 178 27 45 13 63 50 28 M10*1.0P 3.2
-250 315.4 250 223 27 45 13 63 50 28 M10*1.0P 3.5 © @
-LBK6- 65 130.4 65 38 27 55 16 63 63 36 M12*1.0P 215 "§
-115 180.4 115 88 27 55 16 63 63 36 M12*1.0P 3.5 %%
-165 230.4 165 138 27 55 16 63 63 36 M12*1.0P 3.85 /Z{;g
-205 270.4 205 178 27 55 16 63 63 36 M12*1.0P 4.1 5l &
-250 315.4 250 223 27 55 16 63 63 36 M12*1.0P 4.4
-300 365.4 300 273 27 55 16 63 63 36 M12*1.0P 4.7
ST Features:
= © Internal tolerance is H6.
ORFAAZE H6 © The entire t_hrough hole,favors the water leakage qnd qualgeproqf. )
OBZEIL, FITHKRFE E?Bx'ggri:;e in common and the mutual capacitance in majority
OTHAHERF KRS "LBK" &7 © The side locks the solid screw and the key slot assumes 90
OMNS BB 5RBESE 90 B, HEEFHISENNBENAIE degrees,guaranteed that time the boring cutting function draws back the
OHiEMEFERZLBERHEBLEREAMIHNET R, SBBLFK knife phase. . .
FEE AR 4 5 © Because locks is solid when _please do use _the screw against card
= oil to prevent to process the torsion to be oversized boring ,Causes the
ORI RBITHE screw deactivation to disassemble the assembly with difficulty.
%m%iﬁﬂﬂ © The pull stud must purchase alone.
BT40[E -l - ?
L1 Length(L1)

EO$#RE Taper No. of cutter
IHEEL S Face mill holder type
IR Taper size




@
=
%)
ac
>
2
=
v
<
u
=
m
=
)

BT50-LBK BORING HEAD SHANK

d1
d2

fid # Accessories
#M % Model 1484 Screw B|E KGS

BT50-LBK1- 90 191.8 90 52 38 30 5.05 | 100 | 19 11 M4*0.5P 3.7
-115 216.8 115 | 77 38 30 5.05 | 100 | 19 11 M4*0.5P 3.9

-145 246.8 145 | 107 | 38 30 5.05 | 100 | 19 11 M4*0.5P 4.4

-175 276.8 175 | 137 | 38 30 5.05 | 100 | 19 11 M4*0.5P 4.5

-205 306.8 | 205 | 167 | 38 30 5.05 | 100 | 19 11 M4*0.5P 5

-LBK2- 90 191.8 90 52 38 31 6.62 | 100 | 24 14 M5*0.5P 3.8
-110 211.8 110 | 72 38 31 6.62 | 100 | 24 14 M5*0.5P 4

-140 241.8 140 | 102 | 38 31 6.62 | 100 | 24 14 M5*0.5P 4.3

-175 276.8 175 | 137 | 38 31 6.62 | 100 | 24 14 M5*0.5P 4.6

-205 306.8 | 205 | 167 | 38 31 6.62 | 100 | 24 14 M5*0.5P 4.9

-LBK3- 90 191.8 90 52 38 35 8 100 | 31 18 M6*0.75P 4.4
-125 226.8 125 | 87 38 35 8 100 | 31 18 M6*0.75P 4.4

-155 256.8 155 | 117 | 38 35 8 100 | 31 18 M6*0.75P 4.6

-185 286.8 185 | 147 | 38 35 8 100 | 31 18 M6*0.75P 4.4
-215 316.8 | 215 | 177 | 38 35 8 100 | 31 18 M6*0.75P 4.65

-LBK4- 90 191.8 90 52 38 39 10 100 | 39 22 M6*0.75P 4.6
-115 216.8 115 | 77 38 39 10 100 | 39 22 M8*0.75P 4.8

-145 246.8 145 | 107 | 38 39 10 100 | 39 22 M8*0.75P 5.2

-175 276.8 175 | 137 | 38 39 10 100 | 39 22 M8*0.75P 4.6
-205 306.8 | 205 | 167 | 38 39 10 100 | 39 22 M8*0.75P 4.85

-250 351.8 250 | 212 | 38 39 10 100 | 39 22 M8*0.75P 5.2

-300 401.8 300 | 262 | 38 39 10 100 | 39 22 M8*0.75P 5.5

-350 451.8 350 | 312 | 38 39 10 100 | 39 22 M8*0.75P 5.8

ST Features:

E:

OWFLAZE He

OEZ@EIL, FFHARNE

OTHAHERF RS "LBK" K7

OMNHEIRLERIER 90 B, HREAH<ENNENUE
OPHE B ERIRL KM IERELMTHAEX, SBBL+E
BERE AR ENZE 55

ORI RBITHEL

AR RR:

$Ll K Length (L1)
O3 Taper No. of cutter
I

BE1XS Holder type
S$IRFZT, Taper size

© Internaltolerance is H6.

© The entire through hole,favors the water leakage and quakeproof.

© May use in common and the mutual capacitance in majority
"LBK"Series.

© The side locks the solid screw and the key slot assumes 90
degrees,guaranteed that time the boring cutting function draws back the
knife phase.

© Because locks is solid when please do use the screw against card
oil to prevent to process the torsion to be oversized boring ,Causes the
screw deactivation to disassemble the assembly with difficulty.

© The pull stud must purchase alone.



5 O0-N-w®

-BT50-LBK & 3L J14%

BT50-LBK BORING HEAD SHANK

\ ‘b
/ i Y /
i
13 L2
L1
i 4 Accessories L
i B SRE S
# ¥ Model L LT L2 L3 L4 L5 D d2 o1 MR Screw EE KGS
BT50-LBK5- 95 196.8 95 57 38 45 13 100 50 28 M10*1.0P 5.4
-105 206.8 105 | 67 38 45 13 100 50 28 M10*1.0P 5.5
-150 251.8 150 | 112 38 45 13 100 50 28 M10*1.0P 6
-180 281.8 180 | 142 38 45 13 100 50 28 M10*1.0P 6.2
-240 341.8 240 | 202 38 45 13 100 50 28 M10*1.0P 6.4
-270 371.8 270 | 232 38 45 13 100 50 28 M10*1.0P 6.7
-300 401.8 300 | 262 38 45 13 100 50 28 M10*1.0P 7
-350 451.8 350 | 312 38 45 13 100 50 28 M10*1.0P 7.3
-LBK6- 90 191.8 90 52 38 55 16 100 63 36 M12*1.0P 5.9
-105 206.8 105 | 67 38 55 16 100 63 36 M12*1.0P 6.1
-150 251.8 150 | 112 38 55 16 100 63 36 M12*1.0P 6.3
-170 271.8 170 | 132 38 55 16 100 63 36 M12*1.0P 6.5
-180 281.8 180 | 142 38 55 16 100 63 36 M12*1.0P 6.7
-230 331.8 230 | 192 38 55 16 100 63 36 M12*1.0P 7.45
-270 371.8 270 | 232 38 55 16 100 63 36 M12*1.0P 8.2
-300 401.8 300 | 262 38 55 16 100 63 36 M12*1.0P 9.5
-350 451.8 350 | 312 38 55 16 100 63 36 M12*1.0P 10.8
-400 501.8 | 400 | 362 38 55 16 100 63 36 M12*1.0P 11.8
-450 551.8 | 450 | 412 38 55 16 100 63 36 M12*1.0P 12.8
-500 601.8 500 | 462 38 55 16 100 63 36 M12*1.0P 13.8
ST Features:
= © Internal tolerance is H6.

OWFLAZE H6

OEXEI, FFHXRNE

OTHAHERTKEH "LBK" &7

OMNHEIRLERIER 90 B, HREAHI<ENNENE
OHEIEERBL B LEREAMTHANT X, SHIBLF
TEMELARENE 5

ONETAABITHIE

MRS ER:

T $Ll B Length (L1)
O3 Taper No. of cutter
I

BE1XS Holder type
$HIRFZ T, Taper size

© The entire through hole,favors the water leakage and quakeproof.

© May use in common and the mutual capacitance in majority
"LBK"Series.

© The side locks the solid screw and the key slot assumes 90
degrees,guaranteed that time the boring cutting function draws back the
knife phase.

© Because locks is solid when please do use the screw against card
oil to prevent to process the torsion to be oversized boring ,Causes the
screw deactivation to disassemble the assembly with difficulty.

© The pull stud must purchase alone.

m

vs)
=
7]
iz]
ES
5

@
=
(%)
ac
>
=4
=
(%)
<
%l
=
m
=
v}




‘BT-MTA K REEKJIH BT-MTA TAPER ADAPTER(MORSE)

D e
M\ W RIS
[ MTA.NO NI_
- - 1 B —‘77 T T| T
L3 & L2
FIG.L | I
- %
I /” [ \WTANo| |_
- - - - T - L B - - T - 7-0-0
\7 [ ] L2
| L3 L1
B2 14 Accessories L
| FIG.2
»P.J19
#M #% Model *#55EE Range  FIG
BT30-MTA1- 45 93.4 45 23 22 46 25 12.065 d2-014 1 0.55
-120 168.4 120 98 22 46 25 12.065 d2-d14 2 0.85
-MTA2- 60 108.4 60 38 22 46 32 1718 D14-d23 1 0.6
-120 168.4 120 98 22 46 32 1718 D14-p23 2 0.9
-MTA3- 90 138.4 90 68 22 46 40 23.825 ®23-h32 1 0.8
-135 183.4 135 113 22 46 40 23.825 ®23-$32 2 1
BT40-MTA1- 45 110.4 45 18 27 63 25 12.065 ®2-d14 1 1.05
% -120 185.4 | 120 | 93 | 27 | 63 | 25 12.065 $2-d14 2 1.4
i -180 245.4 180 153 27 63 25 12.065 ®2-d14 2 1.5
§ -MTA2- 45 110.4 45 18 27 63 32 1718 D14-p23 1 1.1
-120 185.4 120 93 27 63 32 1718 D14-p23 2 1.85
-180 245.4 180 153 27 63 32 1718 D14-p23 2 2
-MTA3- 75 140.4 75 48 27 63 40 23.825 ®23-d32 1 1.2
-135 200.4 135 108 27 63 40 23.825 ®23-h32 2 1.9
-180 245.4 180 153 27 63 40 23.825 ®23-d32 2 2.25
-MTA4- 90 155.4 90 63 27 63 48 31.267 $32-050 1 1.4
-165 230.4 165 138 27 63 48 31.267 $32-50 2 2.5
ST Features:
i © Spindle conicity standard: JIS MAS 403 BT

O ARSI . JIS MAS 403 BT
OTIMATHREREKHEMIA., thk. RIF

© Used in Morse conicity tools, drill chuck,reamer and so on.

Ofh L E KR © Dimensions
CHETASBTIEX © The pull stud must purchase alone.
KA 5ER:
[0.012] @
L1 £ Length (L1)
L EKES Morse taper No. —
REE KT Morse taper holder type A -
= m 240
SRR Taper size A ERENE T 2R



5 O0-N-w®

‘BT50-MTA FREEKTIK BT50-MTA TAPER ADAPTER(MORSE)
D

BT.NO "_:"
Q . % A HBNET BN
. y \MTA. NO| o

7
N Fr,
L/ L2
FIG.1 .

d2
d1

#M #& Model X558 E Range FIG
BT50-MTA1- 45 146.8 45 7 38 100 25 12.065 d2-914 1 3.8

-120 221.8 120 82 38 100 25 12.065 ®2-914 2 4.3
-180 281.8 180 142 38 100 25 12.065 d2-p14 2 5
-200 301.8 200 162 38 100 25 12.065 d2-p14 2 5.2

-MTA2- 60 161.8 60 22 38 100 32 17.825 D14-¢23 1 4
-135 236.8 135 97 38 100 32 17.825 D14-¢23 2 4.7
-180 281.8 180 142 38 100 32 17.825 ®14-$23 2 5
-200 301.8 200 162 38 100 32 17.825 D14-$23 2 5.2

-MTA3- 65 166.8 65 27 38 100 40 23.825 ®23-32 1 3.7
- 75 176.8 75 37 38 100 40 23.825 D23-p32 1 3.8
- 95 196.8 95 57 38 100 40 23.825 D23-32 1 3.85
-150 251.8 150 112 38 100 40 23.825 D23-32 2 5 E
-180 281.8 180 142 38 100 40 23.825 D23-32 2 5.5
-200 301.8 200 162 38 100 40 23.825 ®23-¢$32 2 6 o
-250 351.8 250 212 38 100 40 23.825 ®23-32 2 6.4 —|§
-300 401.8 300 262 38 100 40 23.825 ®23-32 2 6.8 7 )ﬁ

-MTA4- 75 176.8 75 37 38 100 48 31.267 $32-$50 1 4.2 %ﬁg
- 95 196.8 95 57 38 100 48 31.267 $32-950 1 4.4 ’yﬁg
-150 251.8 150 112 38 100 48 31.267 $32-950 2 5
-180 281.8 180 142 38 100 48 31.267 $32-050 2 5.5
-200 301.8 200 162 38 100 48 31.267 $32-$50 2 5.7
-250 351.8 250 212 38 100 48 31.267 $32-d50 2 6.55
-300 401.8 300 262 38 100 48 31.267 $32-d50 2 6.95

-MTA5-105 206.8 105 67 38 100 65 44.399 $50-d75 1 4
-210 311.8 210 172 38 100 65 44.399 $50-d75 2 7.2
-300 401.8 300 262 38 100 65 44.399 $50-d75 2 10.5
-350 451.8 350 312 38 100 65 44.399 $50-d75 2 12.2

-MTA6-200 301.8 200 162 38 100 85 63.348 $75-$100 1 5.2
-280 381.8 280 242 38 100 85 63.348 $75-$100 2 10

ST Features:
pa © Spindle conicity standard: JIS MAS 403 BT

O ZAHEARFL . JIS MAS 403 BT

© Used in Morse conicity tools, drill chuck,reamer and so on.
OTMATERESEEMIE. L. BNE ' iy chu

O L E KR © Dimensions
©?ﬁﬂfﬁ%1?mﬂ§'k © The pull stud must purchase alone.
AL RA:
$Ll K Length (L1)
HKi#ES Morse taper No. 1
BREE KL Morse taper holder type A
SEIRAZ T Taper size




‘BT60-MTA FREEKJIK

BT60-MTA TAPER ADAPTER(MORSE)

% AR HEBNE SR

BT. NO

FIG.1
~ \WTANO
S
fic 4 Accessories
Eo 5 FIG.2
»P.J19
#;1E / BS Model d2 FIG HE¥FHLBE == KGS
BT60-MTA3-100 261.8 100 52 48 155 40 23.825 1 ®23-p32
-190 351.8 190 142 48 155 40 23.825 2 ®23-¢$32
-MTA4-110 271.8 110 62 48 155 48 31.267 1 $32-$50
-210 371.8 210 162 48 155 48 31.267 2 $32-¢50
-MTA5-135 296.8 135 87 48 155 65 44.399 1 $50-d75
-240 401.8 240 192 48 155 65 44.399 2 $50-¢75
:i: -MTA6-170 331.8 170 122 48 155 90 63.348 1 $®75-$100
g -310 471.8 310 262 48 155 90 63.348 2 ®75-$100
FFe Features:
bz © Spindle conicity standard: JIS MAS 403 BT

ORMRHEMAAE : JIS MAS 403 BT
ONMATHRERRHERIA. tht. RIF
O k& FKAE

ORIETAABITIBE

MRS RA:

BT60E - - m
L1 E Length(L1)
HKH#ES Morse taper No.
=)=

EXE KT Morse taper holder type A
SERRZTS Taper size

© Used in Morse conicity tools, drill chuck,reamer and so on.

© Dimensions

© The pull stud must purchase alone.

0.012 @

1




5 O-N-w ®

‘BT-MTB EREEKTI BT-MTB MORSE TAP HOLDER

|

|
d2
d1

FIG.1

d2
d1

@:{\@J\RWL ‘ _maw ]

L2
L3 L1

fid 4 Accessories

M % Model B4 G FTHrHETIEE
BT30-MTB1- 45 93.4 45 23 22 46 25 12.065 M6 ®10-014 1 0.55
-MTB2- 60 108.4 | 60 38 22 | 46 32 17.780 M10 d16-22 1 0.60
-MTB3- 80 128.4 | 80 58 22 | 46 | 40 23.825 M12 ®24-d32 2 0.8
BT40-MTB1- 45 110.4 45 18 27 63 25 12.065 M6 ¢10-d14 1 1.05 E
-120 185.4 | 120 93 27 63 25 12.065 M6 ®10-014 2 1.40 ;!; ;
S
-MTB2- 45 110.4 45 18 27 63 32 17180 M10 d16-d22 1 110 g;
-120 185.4 | 120 93 27 63 32 17180 M10 ®16-b22 1 1.85 b
-MTB3- 75 140.4 75 48 27 63 40 23.825 M12 ®24-d32 1 1.20
-135 200.4 | 135 | 108 | 27 63 40 23.825 M12 $24-$32 1 1.90
-MTB4- 90 155.4 | 90 63 27 63 48 31.267 M16 $32-050 2 1.40
-165 230.4 | 165 | 138 | 27 63 48 31.267 M16 $32-d50 2 2.50
e Features:
b © Spindle conicity standard: JIS MAS 403 BT

O AAHEARIMAS : JIS MAS 403 BT

oA TF SRS R R. 5L @ © Used in Morse conicity tools, drill chuck,reamer and so on.
'/ =\ >N =

O# LK KR © Dimensions
ORIETAFBTIEEL © The pull stud must purchase alone.
A& ER:
L1 EE Length (L1) —
B K$EES Morse taper No. —
TRER KT Morse taper holder type B
IR Taper size




5 O0-N-w®

‘-BT-MTB EREEKJIH BT-MTB MORSE TAP HOLDER

BT. NO G
\.
\MTB. NO [
o =
‘ ‘ S|
\ I
L3 L2
L1
FIG.1 L
D
BT. NO G
I MTB. NO
B LY/ O I B 7\j N
‘ ‘ ST
2 # Accessories \
“ L2
== L3
- L L1
»PJ19
# # Model 24T G XHFETIEE FIG
BT50-MTB1- 45 146.8 45 7 38 100 25 | 12.065 M6 ®10-014 1 3.80
-120 221.8 | 120 | 82 38 100 25 | 12.065 M6 ®10-014 2 4.30
-180 281.8 | 180 | 142 | 38 100 25 | 12.065 M6 ®10-d14 2 5.00
-MTB2- 60 161.8 60 22 38 100 32 | 17.780 M10 d16-22 1 4.00
-135 236.8 | 135 | 97 38 100 32 | 17.780 M10 d16-d22 2 4.70
-180 281.8 | 180 | 142 | 38 100 32 | 17.780 M10 P16-22 2 5.00
-MTB3- 75 166.8 75 37 38 100 40 | 23.825 M12 ®24-d32 1 3.90
-150 251.8 | 150 | 112 | 38 100 40 | 23.825 M12 ®24-d32 2 5.00
-180 281.8 | 180 | 142 | 38 100 40 | 23.825 M12 ®24-d32 2 5.50
-MTB4- 75 176.8 75 37 38 100 48 | 31.267 M16 $32-$50 1 4.20
§ - 90 191.8 90 52 38 100 48 | 31.267 M16 $32-d50 1 4.40
% -150 251.8 | 150 | 112 | 38 100 48 | 31.267 M16 $32-50 2 5.00
5 -180 281.8 | 180 | 142 | 38 100 48 | 31.267 M16 $32-050 2 5.25
:,3", -200 301.8 | 200 | 162 | 38 100 48 | 31.267 M16 $32-$50 2 5.60
-250 351.8 | 250 | 212 | 38 100 48 | 31.267 M16 $32-d50 2 6.55
-300 401.8 | 300 | 262 | 38 100 48 | 31.267 M16 $32-50 2 7.2
-MTB5-115 216.8 | 115 | 77 38 100 65 | 44.399 M20 $40-d75 1 4.30
-210 311.8 | 210 | 172 | 38 100 65 | 44.399 M20 ®40-075 2 7.2
BT60-MTB2-100 261.8 | 100 | 52 48 155 32 | 17.780 M10*1.5P d16-d22 1 /
-MTB3-100 261.8 | 100 | 52 48 155 40 | 23.825 | M12*1.75P $24-d32 1 /
-MTB4-100 261.8 | 100 | 52 48 155 48 | 31.267 | M16*2.0P $32-050 1 /
-MTB5-100 261.8 | 100 | 52 48 155 65 | 44.399 | M20*2.5P ®40-0d75 1 /
-MTB6-150 311.8 | 150 | 102 | 48 155 85 | 63.348 | M24*3.0P $75-$100 1 /
ST Features:
pa © Spindle conicity standard: ]IS MAS 403 BT

O Z{RHERRINAL : JIS MAS 403 BT

ONEATFERESREHTIA. 4. B © Used in Morse conicity tools, drill chuck,reamer and so on.

OfE L E KR © Dimensions
ORI AFBITIEE © The pull stud must purchase alone.
A& ERA:
L1 Length (L1) -
S KH#ES Morse taper No. 1
TRER KT Morse taper holder type B
IR Taper size



5 O0-N-w®

‘BT-APU — & $6 L LTI 4R

BT-APU DRILL CHUCK HOLDER

BT. NO

— = L2 12mm
L3 i1
L
R
- = [$S¢
B2 14 Accessories L2 12mm
] L3 L1
» P.F16 »P.J19
P _HBNE R
#M #% Model L L1 L2 L3 d1 d2 D R E=EKGS
BT30-APUO8- 80 140.4 | 80 |58 |22 (37| 8 | 46| 0.08 0.72
-APU13-110 170.4 | 110 | 88|22 |50 |13 |46 | 0.08 1.85
-APU16-115 175.4 | 115 |93 |22 |57 |16 |46 | 0.08 2.18
BT40-APUO8- 85 162.4 | 85 | 58|27 (37| 8 | 63| 0.08 1.46
-APU13-100 177.4 | 100 | 73|27 |50 |13 |63 | 0.08 2 —
-150 227.4 | 150 [123|27 | 50|13 |63 | 0.08 2.35 — -
-APU16-110 1874 | 110 | 83|27 |57 |16 |63 | 0.08 2.3
-150 227.4 | 150 [123| 27 |57 |16 | 63 | 0.08 2.5 V)
BT50-APU08- 90 203.8 | 90 |52 |38 |37 | 8 |100| 0.08 416 Q %
-APU13-110 223.8 | 110 | 72| 38 | 50 | 13 |100| 0.08 4.7 LA
-180 293.8 | 180 |142| 38 | 50 | 13 |100| 0.08 5.85 O Em R
-APU16-120 233.8 | 120 | 82|38 |57 | 16 |100| 0.08 5.03 right wrong
-190 303.8 | 190 |152| 38 | 57 | 16 |100| 0.08 5.85 (FEENEMBLBBAEHEE)
Please insert the drill into the bottom
of drill chuck and then lock it tight
ST Features:
E: © The shank and keyless drill chuck are combined together so
O— R EN, HO TIEEREEE, NNEEMSEH, MASH as to avoid the drill chuck slipping out for heavy-duty and high
ML EEMR speed cutting and improve the precision.

OFF#L. RIVEXSS, NuRFLEMPFTI LS
oO—INRERNEKE, ReMIBE, BNERSED
OBFBYMEE, WHEERIRF, BZAEEIA

© APU fRIZFEEN 0.06, NEESEEEKRIEFEM ER 51 SK 27
ORF. NETAMBITHUE

AR RA:

BT40[ -[H - Elm
L14€E Length (L1)
BAXFEZ Max grip diameter
I

B2 Drill chuck
HEAAZ I Taper size

© Not be used for gripping draw bolt and milling tools, instead
of drill bit and reamer.

© APU drill chuck shorten the length while length the working
life of tool.

© Each APU drill chuck attached 1pc APU wrench.

© The APU leaning precision is 0.06mm, like the need high
accuracy request, please use ER or the SK serise.

© The spanner, pull stud must purchase alone.

o — ]
machine
test bar

MittE
4D

m

vs)
=
7]
iz]
ES
5

@
=
(%)
ac
>
=4
=
(%)
<
%l
=
m
=
v}




@
=
%)
ac
>
2
=
v
<
u
=
m
=
)

5 0-N-w®

-BT30-SLN &= J] 4%

F1G. 1

BT30-SLN SIDE LOCK END MILL HOLDER

BT. NO

fid 4 Accessories

»P.J19 L3 I L1 L2
i O TE P RAR L
# #% Model L L1 L2 L3 L4 L5 L6 D d1 d2 T FIG E= KGS
BT30- SLN6-75 123.4 75 53 22 50 10 12 46 6 25 M6 1 0.6
- SLN8-75 123.4 75 53 22 50 12 14 46 8 28 M8 1 0.65
-SLN10-75 123.4 75 53 22 55 14 15 46 10 32 M10 1 0.7
-SLN12-75 123.4 75 53 22 60 16 20 46 12 | 40 M10 1 0.75
-SLN16-75 123.4 75 53 22 60 18 22 46 16 | 45 M10 1 115
-90 138.4 90 68 22 60 18 22 46 16 | 45 M10 1 1.2
-SLN20-80 128.4 80 58 22 70 20 25 46 20 50 M12 2 115
-90 138.4 90 68 22 70 20 25 46 20 50 M12 2 1.2
-SLN25-90 138.4 90 68 22 70 25 24 46 25 55 M12 2 1.9
Rre Features:
E:

O ZR{RHERRIAE : JIS MAS 403 BT

OFRAZEH5

ONIMEEE, BFEHE

OMIE X E#BAETI RN TREIIR

OEANTIEN, JNENEOFTESDSSTIHBMERETXT, B8O
PE

ORI MBITEE
AR EA:
?Ll K Length (L1)
JJFFE1Z Bore dlamenter
IHAEX S Side lock end mill holder type N
AL Taper size

© Spindle conicity standard:JIS MAS 403 BT.

© Aperture tolerance:H5.

© Used for remachining with rigidly grip.

© Face mill chuck used to be the holder of cutting tools.

© When attaching,cutting tools, with strong side aligned lock
between the plane of the part and notch solid screws.

© The pull stud must purchase alone.

0.006 @

g Ll
]



5 O0-N-w®

-BT40-SLN M E 3 JI % BT40-SLN SIDE LOCK END MILL HOLDER
FIG. 1

e

L3
L
FIG. 2
BT. NO D Y1
A S ——
= T
[ i B
= i i
S+ Accessories K ‘ ) 4. ) + .
- 3 L2
Y - Li
» P.J19 L
# #& Model
BT40- SLN6- 75 140.4 | 75 48 27 50 10 12 63 6 25 = M6 1 1.25
- SLN8- 75 140.4 | 75 48 27 50 12 14 63 8 28 = M8 1 1.3
-100 165.4 | 100 73 27 50 12 14 63 8 28 = M8 1 1.35
-SLN10- 75 140.4 | 75 48 27 55 14 15 63 10 35 = M10 1 1.3
-100 165.4 | 100 73 27 55 14 15 63 10 35 = M10 1 1.35
-SLN12- 75 140.4 | 75 48 27 60 16 20 63 12 40 - M10 1 1.32
-100 165.4 | 100 73 27 60 16 20 63 12 40 = M10 1 1.35
-SLN16- 90 155.4| 90 63 27 100 18 22 63 16 45 = M12 1 1.5
-100 165.4 | 100 73 27 100 18 22 63 16 45 = M12 1 1.55
-150 215.4 | 150 | 123 27 100 18 22 63 16 38 45 M10 2 1.7
-200 265.4 | 200 | 173 27 100 18 22 63 16 38 45 M10 2 2 E
-SLN20- 90 155.4 | 90 63 27 100 20 25 63 20 50 = M12 1 1.6
-100 165.4 | 100 73 27 100 20 25 63 20 50 - M12 1 1.65 He
-150 215.4 | 150 | 123 27 100 20 25 63 20 45 50 M12 2 1.8 —|§
-200 265.4 | 200 | 173 27 100 20 25 63 20 45 50 M12 2 2 D)ﬁ
-SLN25- 90 155.4| 90 63 27 110 25 24 63 25 55 = M12 1 2.5 %ﬁg
-100 165.4| 100 | 73 | 27 | 110 | 25 | 24 | 63 | 25 | 55 - M2 | 2.6 5%
-150 215.4 | 150 | 123 27 110 25 24 63 25 50 55 M12 2 2.8
-200 265.4 | 200 | 173 27 110 25 24 63 25 50 55 M12 2 3
-SLN32-100 165.4 | 100 73 27 120 28 24 63 32 65 - M16 1 2.75
-150 215.4 | 150 | 123 27 120 28 24 63 32 58 63 M16 2 3
-200 265.4 | 200 | 173 27 120 28 24 63 32 58 63 M16 2 3.2
-SLN40-105 170.4 | 105 78 27 120 32 30 63 40 73 = M16 1 3.5
-150 215.4 | 150 | 123 27 120 32 30 63 40 73 = M16 1 4
-200 265.4 | 200 | 173 27 120 32 30 63 40 73 = M16 2 4.5
-SLN42-110 175.4 | 110 83 27 120 32 30 63 42 73 = M16 1 3.8
e Features:
pa © Spindle conicity standard:JIS MAS 403 BT.
O AAHARMAE : JIS MAS 403 BT © Aperture tolerance:H5.
OFLERNE H5 w © Used for remachining with rigidly grip.
ORIEXYRy, BT EINH ! )
oMERDNEEBEENENTETIF © Face mill chuck used to be the holder of cutting tools.
OXEANTIEN, JJENZEOXEIBAETIHENEZETXTF, &H © When attaching,cutting tools, with strong side aligned lock between
ﬁ'\@ P the plane of the part and notch solid screws.
O AFB TS © The pull stud must purchase alone.
g5 RA:
e - BN -3- ? @
L14KFE Length (L1) R
T JI¥FE 1R Diameter *‘*“**L* l
IHEEfLS Holder type
HARAZ T Taper size




@
=
%)
ac
>
2
=
v
<
u
=
m
=
)

5 0-N-w®

-BT50-SLN &= 7]k

B2 4 Accessories

BT50-SLN SIDE LOCK END MILL HOLDER

FIG. 1 L4
BT. NO
- I 1
L2
3 L1
L
FIG. 2 D L4
BT. NO
L5 L6
N — | j]é [ qw
elne]

R L2
> PJ19 AR EBNE SR
#M # Model L L6 D d1 d2 ds3 T Fig == KGS

BT50- SLN6-100 201.8| 100 | 62 [ 38| 50 [10 |12 [ 100 6 |25 - | M6 | 1 4.
- SLN8-100 201.8| 100 | 62 |38 | 50 |12 | 14| 100 | 8 |28 - | m8 | 1 415
-SLN10-100 201.8| 100 | 62 |38 | 55 |14 [ 15 [ 100 | 10 | 35 | - [ M10 | 1 415
-SLN12-100 201.8| 100 | 62 |38 | 60 | 16 | 20 | 100 | 12 | 40 | - [ Mi0 | 1 415
-SLN16-100 201.8| 100 | 62 |38 | 100 | 18 [ 22 [ 100 | 16 | 45 | - [ Mi0 | 1 415
-150 251.8| 150 | 112 | 38 | 100 | 18 [ 22 | 100 | 16 | 38 | 45 | M10 | 2 5

-200 301.8| 200 | 162 | 38 | 100 | 18 [ 22 | 100 | 16 | 38 | 45 | mi0 | 2 6.8

-250 351.8| 250 | 212 | 38 | 100 | 18 | 22 | 100 | 16 | 38 | 45 | M10 | 2 7

-300 401.8| 300 | 262 | 38 | 100 | 18 | 22 | 100 | 16 | 38 | 45 | M10 | 2 7.5
-SLN20-100 201.8| 100 | 62 |38 | 100 | 20 [ 25 [ 100 | 20 | 50 | - [ ™M12 | 1 4.8
-150 251.8| 150 | 112 | 38 | 100 | 20 | 25 | 100 | 20 | 45 | 50 | M12 | 2 5.8

-200 301.8| 200 | 162 | 38 | 100 | 20 | 25 | 100 | 20 | 45 | 50 | M12 | 2 6.9

-250 351.8| 250 | 212 | 38 | 100 | 20 | 25 | 100 | 20 | 45 | 50 | Mm12 | 2 73

-300 401.8| 300 | 262 | 38 [ 100 | 20 | 25 | 100 | 20 | 45 [ 50 | Mm12 | 2 7.8
-SLN25-100 201.8| 100 | 62 | 38 | 170 | 25 | 24 | 100 | 25 |60 | - | Mi2 | 1 5.5
-150 251.8| 150 | 172 | 38 | 170 | 25 | 24 | 100 | 25 | 50 | 55 | M12 | 2 6

-200 301.8| 200 | 162 | 38 | 110 | 25 | 24 | 100 | 25 | 50 | 55 | M12 | 2 7

-250 351.8| 250 | 212 | 38 | 110 | 25 | 24 | 100 | 25 | 50 | 55 | M12 | 2 75

-300 401.8 | 300 | 262 | 38 | 110 | 25 | 24 | 100 | 25 | 50 | 55 | M12 | 2 8

-350 4518 | 350 | 312 | 38 | 110 | 25 | 24 | 100 | 25 | 50 | 55 | M12 | 2 8.5

e Features:

i

O ZSARHERRMAE : JIS MAS 403 BT
OFLBRAEH5

ORItEFEE, HFEH

oMEX I HEAETIENTATIR

ORATIAN, JEANEOTERSSTIHONEREITNF, BN

BUE
OHIETMHB T

A& BR:

E L1 Length (L1)
TI¥FE 1R Diameter
I

HEX S Side lock end mill holder type N

IR Taper size

© Spindle conicity standard:JIS MAS 403 BT.

© Aperture tolerance:H5.

© Used for remachining with rigidly grip.

© Face mill chuck used to be the holder of cutting tools.

© When attaching,cutting tools, with strong side aligned lock
between the plane of the part and notch solid screws.

© The pull stud must purchase alone.

0. 006 @

g L
]




5 O0-N-w®

-BT50-SLN &= 7]k

BT50-SLN SIDE LOCK END MILL HOLDER

FIG. 1
BT. NO
- I 1
L2
3 L1
L
FIG. 2 D L4

BT. NO

di |
d2

Bt ¥ Accessories
B -
» P.J19 A B BNE R
#M # Model L 14 L5 L6 D di  d2 d3 T Fig == KGS
BT50- SLN32-105 206.8 | 105 67 | 38 | 120 | 28 | 24 | 100 32 | 65 | - | M16 | 1 6

-150 251.8 | 150 | 112 | 38 | 120 | 28 | 24 | 100 32 | 58 | 63 | M16 | 2 6.5
-200 301.8| 200 | 162 | 38 | 120 | 28 | 24 | 100 32 | 58 | 63 | M16 | 2 7.5
-250 351.8 | 250 | 212 | 38 | 120 | 28 | 24 | 100 32 | 58 | 63 | M16 | 2 8
-300 401.8 | 300 | 262 | 38 | 120 | 28 | 24 | 100 32 | 58 | 63 | M16 | 2 8.5
-350 451.8 | 350 | 312 | 38 | 120 | 28 | 24 | 100 32 | 58 | 63 | M16 | 2 9

- SLN40-115 216.8 | 115 77 | 38 | 120 | 32 | 30 | 100 | 40 | 80 | - | M20 | 1 6.6
-150 251.8 | 150 | 112 | 38 | 120 | 32 [ 30 | 100 | 40 | 70 | 75 | M16 | 2 7 E
-200 301.8 | 200 | 162 | 38 | 120 | 32 | 30 | 100 | 40 | 70 | 75 | M16 | 2 7.5
-250 351.8 | 250 | 212 | 38 | 120 | 32 | 30 | 100 | 40 | 70 | 75 | M16 | 2 8
-300 401.8 | 300 | 262 | 38 | 120 | 32 [ 30 | 100 | 40 | 70 | 75 | M16 | 2 8.5 zs
-350 451.8 | 350 | 312 | 38 | 120 | 32 [ 30 | 100 | 40 | 70 | 75 | M16 | 2 9 7 g

- SLN42-120 221.8 | 120 82 |38 | 120 | 32 | 30 | 100 | 42 | 80 | - | M20 | 1 6.5 ’fﬁg
-150 251.8 | 150 | 112 | 38 | 120 | 32 [ 30 | 100 | 42 | 75 | 80 | M20 | 1 7.5 ?ﬁg
-200 301.8 | 200 | 162 | 38 | 120 | 32 | 30 | 100 | 42 | 75 | 80 | M20 | 1 8.5

- SLN50-120 221.8 | 120 82 | 38 | 120 | 35 | 35 | 100 50 | 90 | - | M20 | 1 7.2
-150 251.8 | 150 | 112 | 38 | 120 | 35 | 35 | 100 50 | 85 | 90 | M20 | 1 8.5
-200 301.8| 200 | 162 | 38 | 120 | 35 | 35 | 100 50 | 85 | 90 | M20 | 1 9.5

-SLN50.8 -120 221.8 | 120 82 | 38 | 120 | 35 | 35 | 100 | 50.8 | 90 | - | M20 | 1 7.3
-150 251.8 | 150 | 112 | 38 | 120 | 35 | 35 | 100 | 50.8 | 85 | 90 | M20 | 1 8.5
-200 301.8 | 200 | 162 | 38 | 120 | 35 | 35 | 100 | 50.8 | 85 | 90 | M20 | 1 9.5

Bre Features:

*:

O Z{RHERRIAL : JIS MAS 403 BT

OFfLEFEAZEHS
ONItESRs, ATEH

OME XTI A RN ITRTIN
ORATIAN, JENEOTEBSSTIHONEBRETNF, BN

BUE
OHIETMHB T

AL ER:

E L1 4 Length(L1)
TI¥FE 1R Diameter
1)

IfEE{LS Side lock end mill holder type N

AL Taper size

© Spindle conicity standard:JIS MAS 403 BT.

© Aperture tolerance:H5.

© Used for remachining with rigidly grip.

© Face mill chuck used to be the holder of cutting tools.

© When attaching,cutting tools, with strong side aligned lock
between the plane of the part and notch solid screws.
© The pull stud must purchase alone.

0. 006 @

g Ll
]




5 0-N-w®

-BT60-SLN & = J] &

BT60-SLN SIDE LOCK END MILL HOLDER

L4
D
BT.NO
L5 L6
\ \
T ‘ [
_ . b . . — | N
] ©|©
]
BC 1+ Accessories | |
4 | L2
m:!‘:ﬁ 3 L1
»P.J19 I—
A HBWE RN
M # Model L L1 L2 L3 L4 15 L6 D d1 d2 T B E KGS
BT60-SLN25 -135 296.8 135 87 48 110 25 24 155 25 60 M12
-SLN32 -135 296.8 135 87 48 120 28 24 155 32 65 M16
-SLN40 -135 296.8 135 87 48 120 32 30 155 40 80 M16
-SLN42 -135 296.8 135 87 48 120 32 30 155 42 80 M20
-SLN50 -135 296.8 135 87 48 120 35 35 155 50 90 M20
-SLN50.8-135 296.8 135 87 48 120 35 35 155 50.8 90 M20
ST Features:
E: © Spindle conicity standard:JIS MAS 403 BT.

O ZR{RHERRIAE : JIS MAS 403 BT

OFLFEAEH5

ONItESR;, ATEYIH

oMEXTIHEHAETIANITRTIRE
ORATEN, JANEOTEBSSTIHONEZRETSFT, BN

YE

AL ER:

@
=
(%)
ac
>
2
=
v
<
%
=
m
=
)

BT60|E Tm
T

OHIFTRMFB T

% L1 4 Length (L1)

JI#FE 1R Diameter

$ARAZT, Taper size

EfXS Side lock end mill holder type N

© Aperture tolerance:H5.

© Used for remachining with rigidly grip.

© Face mill chuck used to be the holder of cutting tools.

© When attaching,cutting tools, with strong side aligned lock
between the plane of the part and notch solid screws.

© The pull stud must purchase alone.

0.006 @

g Ll
]




5 O0-N-w®

-BT-SCA kTR BT-SCA SIDE CUTTER ADAPTET

fid 4 Accessories
»P.J19
M #& Model L L1 L2 L3 14 L5 D dI d2 d3 k H T B2 KGS
BT30- SCA10- 60 150.4| 60 38 | 22 30 12 | 46 10 18 18 = = M8x1.25P 0.8
- SCA16- 60 154.4| 60 38 | 22 30 16 | 46 16 26 26 4 17.7 M14x1.5P 1
- SCA22- 60 160.4| 60 38 | 22 30 | 22 | 46 22 34 | 34 6 24.3 M20x1.5P 1.2
- 75 175.4| 75 53 22 30 | 22 | 46 22 34 | 34 6 24.3 M20x1.5P 1.4
BT40- SCA16- 60 171.4| 60 33 27 30 16 63 16 26 26 4 17.7 M14x1.5P 1.5
- SCA22- 60 177.4| 60 33 27 30 | 22 63 22 34 | 34 6 24.3 M20x1.5P 1.6
- 75 192.4| 75 | 48 | 27 30 | 22 63 22 34 | 34 6 24.3 M20x1.5P 1.7
-120 2374|120 | 93 27 30 | 22 63 22 34 | 34 6 24.3 M20x1.5P 2
- SCA27- 75 198.4| 75 | 48 | 27 30 | 28 63 27 41 40 7 30 M24x1.5P 2.1
-120 243.4|1 120 | 93 27 30 | 28 63 27 41 40 7 30 M24x1.5P 2.5
- SCA32- 90 217.4| 90 63 27 30 32 63 32 47 | 47 8 35 M30x1.5P 2.6
-SCA22.22- 75 192.4| 75 | 48 | 27 30 | 22 63 |22.22| 34 | 34 | 317 | 24.6 M20x1.5P 1.7
-120 237.4| 120 | 93 27 30 | 22 63 |22.22| 34 | 34 | 317 | 24.6 M20x1.5P 2
-SCA25.4- 75 198.4| 75 | 48 | 27 30 | 28 63 | 25.4 | 41 40 | 6.35 | 28.4 M24x1.5P 2
-120 243.4|1 120 | 93 27 30 | 28 63 | 25.4 | 41 40 | 6.35 | 28.4 M24x1.5P 2.4
-SCA31.75- 90 217.4| 90 63 27 30 32 63 |31.75| 47 | 47 | 793 | 34.8 M30x1.5P 2.6
BT50- SCA22- 90 243.8| 90 52 38 30 | 22 | 100 | 22 34 | 34 6 24.3 M20x1.5P 4.4
-135 288.8| 135 | 97 38 30 | 22 | 100 | 22 34 | 34 6 24.3 M20x1.5P 4.7
-180 333.8| 180 | 142 | 38 30 | 22 | 100 | 22 34 | 34 6 24.3 M20x1.5P 5
- SCA27- 90 249.8| 90 52 38 30 | 28 | 100 | 27 41 40 7 30 M24x1.5P 4.6
-135 294.8| 135 | 97 38 30 | 28 | 100 | 27 41 40 7 30 M24x1.5P 5
-180 339.8| 180 | 142 | 38 30 | 28 | 100 | 27 41 40 7 30 M24x1.5P 5.5 E
- SCA32- 90 253.8| 90 52 38 30 32 | 100 | 32 47 | 47 8 35 M30x1.5P 4.7
-135 298.8| 135 | 97 38 30 32 | 100 | 32 47 | 47 8 35 M30x1.5P 5.2 = e
-180 343.8| 180 | 142 | 38 30 32 | 100 | 32 47 | 47 8 35 M30x1.5P 5.7 _'g
- SCA40- 90 261.8| 90 52 38 30 | 40 | 100 | 40 55 55 10 | 43.7 M36x2.0P 5 ;% )§>
-135 306.8| 135 | 97 38 30 | 40 | 100 | 40 55 55 10 | 43.7 M36x2.0P 6 %g
-180 351.8| 180 | 142 | 38 30 | 40 | 100 | 40 55 55 10 | 43.7 M36x2.0P 7 5”%
-SCA22.22- 90 243.8| 90 52 38 30 | 22 | 100 [22.22| 34 | 34 | 3.17 | 24.6 M20x1.5P 4.4
-135 288.8| 135 | 97 38 30 | 22 | 100 [22.22| 34 | 34 | 3.17 | 24.6 M20x1.5P 4.7
- SCA25.4- 90 249.8| 90 52 38 30 | 28 | 100 | 25.4 | 41 40 | 6.35 | 28.4 M24x1.5P 4.5
-135 294.8| 135 | 97 38 30 | 28 | 100 | 25.4 | 41 40 | 6.35 | 28.4 M24x1.5P 4.9
-SCA31.75- 90 253.8| 90 52 38 30 32 | 100 |31.75| 47 | 47 | 793 | 34.8 M30x1.5P 4.7
-135 298.8| 135 | 97 38 30 32 | 100 |31.75| 47 | 47 | 793 | 34.8 M30x1.5P 5.2
-SCA38.10- 90 261.8| 90 52 38 30 | 40 | 100 | 38.1 55 55 | 9.52 | 42.4 M36x2.0P 4.9
-135 306.8| 135 | 97 38 30 | 40 | 100 | 38.1 55 55 [ 9.52 | 42.4 M36x2.0P 5.9
ST Features:
3 © Shears the trough knife, when uses and so on three edge milling

O, SENANLERN, NEENESNITESER & cutters, is uses the cut'ting t'ool iand the cutter bar contacts closely,
requests transfer the entire filling piece.

BEER © Selects and purchases the hilt, according to the processing needs
OEMTINE, REMIEEEMIAZER EAIAN, RITERET please to confirm that installs the saw blade jamming size. Does not
_ supplement the puller bolt to select.
ORI MFB T © The pull stud must purchase alone.
FAS 5L RA:
qﬂu K Length (L1)
T1E RFLE R Diameter
IHEEFLS Holder type
HARAZ T Taper size




5 0-N-w®

4
-BT30-SLD /N Z M E 7] % BT30-SLD SMALL DIAMETER SIDE LOCK TOOL HOLDER
BT. NO D
T 41516
— IRl
L7
B ¥ Accessories L3
==
»P.J19
# % Model R
BT30-SLD3- 80-A5 128.4 |80 |58|22| 6 | 6| 6 |18|46| 3 18.5 | M3.5*3*0.35P*T6 | 5° | 5
-100-A5 148.4 |100| 78 22| 6 | 6 | 6 | 18|46 | 3 22 | M3.5*3*0.35P*T6 | 5° | 5
-SLD4- 80-A5 128.4 | 80 |58 (22| 7 | 7|6 |20[46| 4 | 11 |20.5 | M4*2.8%*0.5P*H2 | 5° | 5
-100-A5 148.4 |100| 78|22 | 7 | 7 | 6 |20 |46 | 4 | 11| 24 | M4*2.8*0.5P*H2 | 5° | 5
-SLD6- 80-A5 128.4 | 80 |58 (22| 8 | 8| 6 |22|46| 6 | 13| 22.5 | M5*4*0.5P*H2.5 | 5° | 5
-100-A5 148.4 |100| 78 | 22| 8 | 8 | 6 | 22|46 | 6 | 13| 25.5 | M5*4*0.5P*H2.5 | 5° | 5
-SLD8- 80-A5 128.4 | 80 |58 (22|10 | 10| 7 |27 | 46| 8 | 15 | 24.5 | M5*4*0.5P*H2.5 | 5° | 5
-100-A5 148.4 |100| 78 |22 |10 | 10| 7 | 27|46 | 8 | 15| 28 | M5*4*0.5P*H2.5 | 5° | 5
FAEIER: SLD MIE =TI RIERITF & iR 24
) B B B SLD side fixed extension rod special screw
?iﬁyg M #& Model fEMFL42 D Using aperture
L1 Length (L1) M3.5x3xP0.35xT6 D3
EOHE Taper No. of cutter M4x2.8xP0.5xT8 D4
IHEEFLS Holder type M4x4xP0.5xT8 D4
AL Taper size M5x3.5xP0.5xT10 D6
M5x5xP0.5xT10 D6 D8 D10
3 M6x4xP0.75xT15 D12
: M6x6xP0.75xT15 D12
g M8x5xP0.75xL4 D16 D20
z M4x2.8xP0.5xH2 D4
M5x4xP0.5xH2.5 D6 D8 D10
M6x4xP0.75%xH3 D12
M6x5xP0.75xH3 D12

& SRT T, ARIRE H’
ARIRE | EANSES (BEBEHRYT)
ISIERT | EAESE



5 O0-N-w®

-BT40-SLD /N E J] % BT40-SLD SMALL DIAMETER SIDE LOCK TOOL HOLDER
BT. NO D
NS
L O | i
B ¥ Accessories L3
g L

# ¥ Model

BT40- SLD3-135-A5 200.4 (135|108 |27 | 6 | 6 | 6 1863 | 3 | 9 | 27 | M3.5*3*0.35P*T6 | 5°
- SLD4-135-A5 200.4 |{135(108|27| 7 | 7 | 6 |20(63| 4 |11 | 29 | M4*2.8%0.5P*H2 | 5°

- SLD6-135-A5 200.4 | 135|108 (27| 8 | 8 | 6 22|63 | 6 [13| 31 M5*4*0.5P*H2.5 | 5°
-150-A5 215.4 |{150(123|27| 8 | 8 | 6 |22 (63| 6 |13|33.5| M5*4*0.5P*H2.5 | 5°

-200-A5 265.4 (20017327 | 8 | 8 | 6 22|63 | 6 |13 |41.5| M5*4*0.5P*H2.5 | 5°

- SLD8-135-A5 200.4 | 135(108 |27 |10(10| 7 |27 |63 | 8 | 15| 33 M5*4*0.5P*H2.5 | 5°
-150-A5 215.4 (15012327 |10|10| 7 |27 |63 | 8 | 15|35.5| M5*4*0.5P*H2.5 | 5°

-200-A5 265.4 |200(173|27|10|10| 7 |27 |63 | 8 | 15|43.5| M5*4*0.5P*H2.5 | 5°
-SLD10-135-A5 200.4 | 135(108 |27 |10|10|10|35|63|10|17| 35 M5*4*0.5P*H2.5 | 5°
-150-A5 215.4 (15012327 |10|10|10|35|63 |10 |17 | 37.5 | M5*4*0.5P*H2.5 | 5°
-200-A5 265.4 |200(173|27|10|10|10|35(63|10|17|45.5| M5*4*0.5P*H2.5 | 5°
-SLD12-135-A5 200.4 | 135|108 |27 |10 |10 |10|45|63 |12 |22 | 40 M6*5*0.75P*H3 5°
-150-A5 215.4 |{150(123|27|10| 10|10 |45|63|12|22|42.5| M6*5*0.75P*H3 5°
-200-A5 265.4 (20017327 |10|10|10|45|63|12|22|50.5| M6*5*0.75P*H3 5°
- SLD6-150-A3 215.4 |150 (123 |27 | 8 | 8 13| 25.5 | M5*4*0.5P*H2.5 | 3°

vuiunnuiuuvuiuivuiu vy uiuiuiuiuiuiu|u | u| U g

6 6
-200-A3 265.4 |{200(173|27| 8 | 8 | 6 |22|63| 6 |13 |30.5| M5*4*0.5P*H2.5 3° E
- SLD8-150-A3 215.4 |150|123(27 10|10 | 7 |27 |63 | 8 | 15| 27.5 | M5*4*0.5P*H2.5 3°
-200-A3 265.4 20017327 |10|10| 7 |27 |63 | 8 |15 32.5| M5*4*0.5P*H2.5 3° E" 3
-SLD10-150-A3 215.4 |150|123[27 10|10 |10|35(63 |10 |17 |29.5| M5*4*0.5P*H2.5 3° 7] E
-200-A3 265.4 | 20017327 |10|10|10|35(63 |10 |17 |34.5| M5*4*0.5P*H2.5 3° g%
)5
S BB SLD MBI TR K & FiR L ’
BT408 B ) ? SLD side fixed extension rod special screw
T s # 4& Model {742 D Using aperture
L1 4B Length (L1) M3.5x3xP0.35xT6 D3
$# &R Taper No. of cutter M4x2.8xP0.5xT8 D4
IHEE{X S Holder type M4x4xP0.5xT8 D4
HEARAZIC Taper size M5x3.5xP0.5xT10 D6
M5x5xP0.5xT10 D6 D8 D10
M6x4xP0.75xT15 D12
M6%6xP0.75xT15 D12
M8x5xP0.75xL4 D16 D20
M4x2.8xP0.5xH2 D4
M5x%4xP0.5xH2.5 D6 D8 D10
M6x4xP0.75xH3 D12
M6x5xP0.75xH3 D12

& BRRFE T, RARF H”
NARF  EAXNSEN (FEREHRYT)
IR F - ERESE




5 0-N-w®

-BT50-SLD /©NE U E J] % BT50-SLD SMALL DIAMETER SIDE LOCK TOOL HOLDER
LIVYL:
W Tk
# L7
A L2
B ¥ Accessories L3 L1
»P.J19
# 4% Model a R E=KGS
BT50- SLD4-150-A5 251.8 [ 150[112[38] 7 | 7 | 6 [20]100] 4 [12] 30 | mM4*2.8*0.5P*H2 | 5° | 10
-200-A5 301.8 |200[162[38] 7 [ 7 | 6 [20]100] 4 [12]38.5] M4*2.8*0.5P*H2 | 5° | 10
-250-A5 351.8 [ 250[212[38] 7 [ 7 | 6 [20]100] 4 [12] 475 | Ma*2.8*0.5P*H2 | 5° | 10
-300-A5 401.8 [300]262]38] 7 | 7 | 6 |20 |100] 4 [12] 56 | M4*2.8*0.5P*H2 | 5° | 10
- SLD6-150-A5 251.8 150 112[38] 8 [ 8 [ 6 [22]100] 6 [14] 32 | M5*4*0.5P*H2.5 | 5° | 10
-200-A5 301.8 [200|16238| 8 | 8 | 6 |22]100] 6 |14 40.5| M5*4*0.5P*H2.5 | 5° | 10
-250-A5 351.8 [250|21238| 8 | 8 | 6 |22]100] 6 | 14]49.5| M5*4*0.5P*H2.5 | 5° | 10
-300-A5 401.8 | 300[262|38] 8 | 8 | 6 |22 |100] 6 | 14| 58 | M5*4*0.5P*H2.5 | 5° | 10
- SLD8-150-A5 251.8 15011238 [10] 10| 7 [ 27 [100] 8 [16] 34 | M5*4*0.5P*H2.5 | 5° | 10
-200-A5 301.8 2001623810 10| 7 [ 27 [100] 8 [16]42.5| M5*4*0.5P*H2.5 | 5° | 10
-250-A5 351.8 250|212 38 [10] 10| 7 [ 27 ]100] 8 [16] 51.5 | M5*4*0.5P*H2.5 | 5° | 10
-300-A5 401.8 [ 300[262[38 1010 7 [ 27 [100] 8 [16| 60 | M5*4*0.5P*H2.5 | 5° | 10
-SLD10-150-A5 251.8 15011238 [10] 10| 10]35]100[ 10 18] 36 | M5*4*0.5P*H2.5 | 5° | 10
-200-A5 301.8 [ 20016238 [10] 10|10 35]100] 10 [ 18] 44.5 | M5*4*0.5P*H2.5 | 5° | 10
-250-A5 351.8 25021238 [ 10] 10| 1035100 10 [ 18] 53.5 | M5*4*0.5P*H2.5 | 5° | 10
-300-A5 401.8 | 300|262 3810101035 [100] 10|18 62 | M5*4*0.5P*H2.5 | 5° | 10
-SLD12-150-A5 251.8 [150[112] 38101010 ] 45 [100[12[22] 40 | M6*5*0.75P*H3 | 5° | 10
-200-A5 301.8 | 200[162] 3810 10] 1045 [100[ 12]22]48.5] M6*5*0.75P*H3 | 5° | 10
-250-A5 351.8 | 250[212] 3810 10]10]45[100[ 1222 575 | M6*5*0.75P*H3 | 5° | 10
-300-A5 401.8 | 300|262 3810101045 [100[ 12|22 66 | M6*5*0.75P*H3 | 5° | 10
) -SLD16-150-A5 251.8 150 112]38[12]12]10]50]100[ 16 [ 26| 44 | M8*5*0.75P*L4 | 5° | 10
§ -200-A5 301.8 200|162 38|12 12| 10| 50(100] 16 | 26 | 52.5 | M8*5*0.75P*L4 | 5° | 10
) -250-A5 351.8 [ 250|212 381212 |10]50(100] 16 | 26 | 61.5 | M8*5*0.75P*L4 | 5° | 10
3 -300-A5 401.8 | 300|262 |38 12121050 100/ 16|26 | 70 | M8*5*0.75P*L4 | 5° | 10
@ -SLD20-150-A5 251.8 15011238 1212|1055 [100/ 20 [ 30| 48 | M8*5*0.75P*L4 | 5° | 10
-200-A5 301.8 2001623812 12|10 5510020 [ 30| 56.5| M8*5*0.75P*L4 | 5° | 10
-250-A5 351.8 [ 2502123812 12|10 55]100/ 20 [ 30| 65.5| M8*5*0.75P*L4 | 5° | 10
-300-A5 401.8 [ 300]262|38 12121055 [100[ 2030 74 | M8*5*0.75P*L4 | 5° | 10
AU LR SLD MBI TIRIER T R
_ _ - _ ? SLD side fixed extension rod special screw
L1 #FE M & Model {EMA7FL42 D Using aperture
L1 [ Length (L1) M3.5%x3%P0.35xT6 D3
M3 Taper No. of cutter M4x2.8xP0.5xT8 D4
HRERS Holder type M4x4xP0.5xT8 D4
SRS Taper size M5x3.5xP0.5xT10 D6
S5t ST T' | ARIEE W M5x5xP0.5xT10 D6 D8 D10
ABRF  EANSESN (BEREHIRT) MEx4xP0.75xT15 D12
ERE  ERESE M6x6xP0.75xT15 D12
M8x5xP0.75xL4 D16 D20
M4x2.8xP0.5xH2 D4
M5x4xP0.5xH2.5 D6 D8 D10
M6x4xP0.75xH3 D12
M6x5xP0.75xH3 D12




5 O0-N-w®

-BT50-SLD /N2 E JI%

fid 4 Accessories

BT50-SLD SMALL DIAMETER SIDE LOCK TOOL HOLDER

LIVYL:
NI ik
f L7
L2
L3 L1

#M 1% Model E= KGS
BT50- SLD6-150-A3 251.8 |150|112|/38| 8 | 8 | 6 |22 |100| 6 | 14| 25 | M5*4*0.5P*H2.5 | 3° 10
-200-A3 301.8 |200/162|38| 8 | 8 | 6 |22|100| 6 | 14 | 30 | M5*4*0.5P*H2.5 | 3° 10
-250-A3 351.8 |250(212|/38| 8 | 8 | 6 |22 |100| 6 | 14| 35| M5*4*0.5P*H2.5 | 3° 10
-300-A3 401.8 [300(262(38| 8 | 8 | 6 |22 |100| 6 | 14 | 40 | M5*4*0.5P*H2.5 | 3° 10
- SLD8-150-A3 251.8 |150|112(38 10| 10| 7 |27 |100| 8 | 16| 27 | M5*4*0.5P*H2.5 | 3° 10
-200-A3 301.8 |200/162|38 |10 (10| 7 |27 |100| 8 | 16 | 32 | M5*4*0.5P*H2.5 | 3° 10
-250-A3 351.8 |250(212|38 (10|10 | 7 |27 |100| 8 | 16 | 37 | M5*4*0.5P*H2.5 | 3° 10
-300-A3 401.8 (300|262 (38 |10|10| 7 |27 [100| 8 |16 |42 | M5*4*0.5P*H2.5 | 3° 10
-SLD10-150-A3 251.8 |150(112/38 10|10 (10 |35|100| 10| 18| 29 | M5*4*0.5P*H2.5 | 3° 10
-200-A3 301.8 |200|162 |38 |10 |10 (10 |35|100| 10 | 18 | 34 | M5*4*0.5P*H2.5 | 3° 10
-250-A3 351.8 |250/212|38|10|10|10|35|100|10 | 18 | 39 | M5*4*0.5P*H2.5 | 3° 10
-300-A3 401.8 [300(262 (38| 10|10 |10 |35 (100|110 |18 |44 | M5*4*0.5P*H2.5 | 3° 10
-SLD12-150-A3 251.8 |150/112|38 |10 | 10| 10|45 |100|12 |22 |33 | M6*5*0.75P*H3 | 3° 10
-200-A3 301.8 |200|162 (38| 10|10 (10|45 |100|12 |22 |38 | M6*5*0.75P*H3 3° 10
-250-A3 351.8 |250/212|38 |10 | 10| 10|45 |100| 12|22 |43 | M6*5*0.75P*H3 | 3° 10
-300-A3 401.8 (300|262 (38| 10|10 |10 |45 (100|112 |22 |48 | M6*5*0.75P*H3 | 3° 10

AR ER:

$’E’EE§’

L1 4<E Length (L1)

% Taper No. of cutter
IHEEfLS Holder type
AR Taper size

SLD MBI TIMREER T & IR L

SLD side fixed extension rod special screw

#M # Model fER7L12 D Using aperture
M3.5%x3xP0.35xT6 D3
M4x2.8xP0.5xT8 D4
M4x4xP0.5xT8 D4
M5x3.5xP0.5xT10 D6
M5x5xP0.5xT10 D6 D8 D10
M6x4xP0.75xT15 D12
M6x6xP0.75xT15 D12
M8x5xP0.75xL4 D16 D20
M4x2.8xP0.5xH2 D4
M5x4xP0.5xH2.5 D6 D8 D10
M6x4xP0.75xH3 D12
M6x5xP0.75xH3 D12

& SRR T, ARRE H'
AARE | EXNHEN (TEREHRY )
IERT | ERESE

m

@
=
(%)
ac
>
=4
=
(%)
<
%l
=
m
=
v}

vs)
=
7]
iz]
ES
5




5 0-N-w®

-BT30- E il 7] 1% BT30 SEMI-FINISHED TOOL HOLDER
FIG. 1
BT. NO D
T
L2
L3 1
L
FIG. 2
BT. NO D D2
f 00
L3 |
fit 1 Accessories L4 L2
» P.J19
#; ¥ Model L L1 L2 L3 L4 D D1 D2 FIG E= KGS
BT30- D40-100 148.4 100 78 22 - 46 40 - 1
-125 173.4 125 103 22 - 46 40 - 1
-150 198.4 150 128 22 - 46 40 - 1
-175 223.4 175 153 22 - 46 40 - 1
-200 248.4 200 178 22 - 46 40 - 1
-225 273.4 225 203 22 - 46 40 - 1
-250 298.4 250 228 22 - 46 40 - 1
- D63-100 148.4 100 68 22 32 46 63 44 2
-125 173.4 125 93 22 32 46 63 44 2
-150 198.4 150 118 22 32 46 63 44 2
-175 223.4 175 143 22 32 46 63 44 2
z -200 248.4 200 168 22 32 46 63 44 2
§ -225 273.4 225 193 22 32 46 63 44 2
2 -250 298.4 250 218 22 32 46 63 44 2
g -275 323.4 275 243 22 32 46 63 44 2
-300 348.4 300 268 22 32 46 63 44 2
- D83-100 148.4 100 68 22 32 46 83 44 2
-125 173.4 125 93 22 32 46 83 44 2
-150 198.4 150 118 22 32 46 83 44 2
-175 223.4 175 143 22 32 46 83 44 2
-200 248.4 200 168 22 32 46 83 44 2
-225 273.4 225 193 22 32 46 83 44 2
-250 298.4 250 218 22 32 46 83 44 2
-275 323.4 275 243 22 32 46 83 44 2
-300 348.4 300 268 22 32 46 83 44 2
-D102-100 148.4 100 68 22 32 46 102 44 2
-125 173.4 125 93 22 32 46 102 44 2
-150 198.4 150 118 22 32 46 102 44 2
-200 248.4 200 168 22 32 46 102 44 2
-D127-100 148.4 100 68 22 32 46 127 44 2
-130 178.4 130 98 22 32 46 127 44 2
A& ER:
mﬂ KJE Length (L1)
JIMFE 1R Diameter
IHEEfLS Holder type
HERAZ T Taper size



5 O0-N-w®

-BT40- BEit#K IR BT40 SEMI-FINISHED TOOL HOLDER
FIG. 1
BT.NO D
L2
L3 1
L
FIG.2
BT.NO D D2
0.
L3
B2 14 Accessories L4 L2
. L1
g o L
»P.J19
# #% Model L L1 L2 L3 L4 D D1 D2 FIG &= KGS
BT40-D40-100 165.4 100 73 27 - 63 40 - 1
-125 190.4 125 98 27 - 63 40 - 1
-150 215.4 150 123 27 - 63 40 - 1
-175 240.4 175 148 27 - 63 40 - 1
-200 265.4 200 173 27 - 63 40 - 1
-225 290.4 225 198 27 - 63 40 - 1
-250 315.4 250 223 27 - 63 40 - 1
-275 340.4 275 248 27 - 63 40 - 1
-300 365.4 300 273 27 - 63 40 - 1
-330 395.4 330 303 27 - 63 40 - 1 E
-D50-100 165.4 100 73 27 - 63 50 - 1
-125 190.4 125 98 27 - 63 50 - 1 @ s
-150 215.4 150 123 27 - 63 50 - 1 7_3' £
-175 240.4 175 148 27 - 63 50 - 1 e
-200 265.4 200 173 27 - 63 50 - 1 EA
-225 290.4 225 198 27 - 63 50 - 1 5l &
-250 315.4 250 223 27 - 63 50 - 1
-275 340.4 275 248 27 - 63 50 - 1
-300 365.4 300 273 27 - 63 50 - 1
-330 395.4 330 303 27 - 63 50 - 1
-D63-100 165.4 100 63 27 37 63 63 61 2
-125 190.4 125 88 27 37 63 63 61 2
-150 215.4 150 113 27 37 63 63 61 2
-175 240.4 175 138 27 37 63 63 61 2
-200 265.4 200 163 27 37 63 63 61 2
-225 290.4 225 188 27 37 63 63 61 2
-250 315.4 250 213 27 37 63 63 61 2
-275 340.4 275 238 27 37 63 63 61 2
-300 365.4 300 263 27 37 63 63 61 2
-330 395.4 330 293 27 37 63 63 61 2
-D73-100 165.4 100 63 27 37 63 73 61 2
-125 190.4 125 88 27 37 63 73 61 2
-150 215.4 150 113 27 37 63 73 61 2
-175 240.4 175 138 27 37 63 73 61 2
-200 265.4 200 163 27 37 63 73 61 2
-225 290.4 225 188 27 37 63 73 61 2
-250 315.4 250 213 27 37 63 73 61 2
-275 340.4 275 238 27 37 63 73 61 2
-300 365.4 300 263 27 37 63 73 61 2
-330 395.4 330 293 27 37 63 73 61 2




5 0-N-w®

-BT40- Eit#K 71

BT40 SEMI-FINISHED TOOL HOLDER

BT. NO D D2
f f A
—
L3
BC ¥ Accessories L4‘ L2
&!‘3“—*: - L1
»P.J19
#M & Model L L1 L2 L3 L4 D D1 D2 EE KGS
BT40- D83-100 165.4 100 63 27 37 63 83 61
-125 190.4 125 88 27 37 63 83 61
-150 215.4 150 113 27 37 63 83 61
-175 240.4 175 138 27 37 63 83 61
-200 265.4 200 163 27 37 63 83 61
-225 290.4 225 188 27 37 63 83 61
-250 315.4 250 213 27 37 63 83 61
-275 340.4 275 238 27 37 63 83 61
-300 365.4 300 263 27 37 63 83 61
-330 395.4 330 293 27 37 63 83 61
- D92-100 165.4 100 63 27 37 63 92 61
-125 190.4 125 88 27 37 63 92 61
-150 215.4 150 113 27 37 63 92 61
-175 240.4 175 138 27 37 63 92 61
-200 265.4 200 163 27 37 63 92 61
-225 290.4 225 188 27 37 63 92 61
-250 315.4 250 213 27 37 63 92 61
-275 340.4 275 238 27 37 63 92 61
-300 365.4 300 263 27 37 63 92 61
-330 395.4 330 293 27 37 63 92 61
-D102-100 165.4 100 63 27 37 63 102 61
-125 190.4 125 88 27 37 63 102 61
. -150 215.4 150 113 27 37 63 102 61
:;; -175 240.4 175 138 27 37 63 102 61
z -200 265.4 200 163 27 37 63 102 61
3 -225 290.4 225 188 27 37 63 102 61
z -250 315.4 250 213 27 37 63 102 61
-275 340.4 275 238 27 37 63 102 61
-300 365.4 300 263 27 37 63 102 61
-330 395.4 330 293 27 37 63 102 61
-D127-100 165.4 100 63 27 37 63 127 61
-130 195.4 130 93 27 37 63 127 61
-150 215.4 150 113 27 37 63 127 61
-200 265.4 200 163 27 37 63 127 61
-110 175.4 110 73 27 37 63 157 61
-160 225.4 160 123 27 37 63 157 61
-210 275.4 210 173 27 37 63 157 61
-260 325.4 260 223 27 37 63 157 61
AL EA:

BT40 DIENS3E EP
L1 ¥E Length (L1)

JJ#FE1E Dia

meter

IHEEfLS Holder type

HRFZ T, Taper size




5 O0-N-w®

-BT50- EGL4#% ]

BT50 SEMI-FINISHED TOOL HOLDER

BT.NO D D2
= 0.
I—
L3
Bt 4 Accessories |-4‘ L2
’ L1
2 =5 L
»P.J19
# % Model L L1 L2 L3 L4 [b] D1 D2 = KGS
BT50-D102-110 211.8 110 62 38 48 100 102 98
-160 261.8 160 112 38 48 100 102 98
-210 311.8 210 162 38 48 100 102 98
-260 361.8 260 212 38 48 100 102 98
-310 411.8 310 262 38 48 100 102 98
-D127-110 211.8 110 62 38 48 100 127 98
-160 261.8 160 112 38 48 100 127 98
-210 311.8 210 162 38 48 100 127 98
-260 361.8 260 212 38 48 100 127 98
-310 411.8 310 262 38 48 100 127 98
-D157-110 211.8 110 62 38 48 100 157 98
-160 261.8 160 112 38 48 100 157 98
-210 311.8 210 162 38 48 100 157 98
-260 361.8 260 212 38 48 100 157 98
-310 411.8 310 262 38 48 100 157 98
S5 RA:

1L

? L1 ¥E Length (L1)

FE 1R Diameter

IHEEFLS Holder type
AR, Taper size

m

@
=
(%)
ac
>
z
=
(%)
<
%l
=
m
=
v}

vs)
=
7]
iz]
ES
5




5 0-N-w®

-BT-TC {45 N INLL TI R

B 1 Accessories

BT-TC TAPPING CHUCK WITH LENGTH COMPENSATION

o

Contacting Chuck

&d
D1

[

R =
»P.J19
# % Model BB Griplrange $3LZ R Colllet name

BT30-TC12- 71 M3-M12 119.4 | 71 49 22 46 36 19 TC312
-TC20- 91 M8-M20 139.4 | 91 69 22 46 53 31 TC820
BT40-TC12- 76 M3-M12 141.4 | 76 49 27 63 36 19 TC312
-TC20- 96 M8-M20 161.4 | 96 69 27 63 53 31 TC820
-TC33-138 M14-M33 203.4 [ 138 | 111 | 27 63 78 48 TC1433
BT50-TC12- 86 M3-M12 1874 | 86 48 38 [ 100 | 36 19 TC312
-TC20-106 M8-M20 207.8 | 106 | 68 38 | 100 | 53 31 TC820
-TC33-148 M14-M33 249.8 | 148 | 110 | 38 | 100 | 78 48 TC1433

KA 5 ER:

?Ll KJE Length (L1)
I 2435 E| Tapping range

IHREFLS Holder type
HRAZT, Taper size

@
]
%)
I
>
z
=
%)
=<
\
=
m
=
]




5 O-N-w ®

- -
‘BT30-DC BHI JI1% BT30-DC BACK LOCKING COLLET HOLDER
FIG. 1 D
BT. NO
S TR AT B =Sl PN
L4
R L2
L3 L1
L
FIG. 2 D
BT. NO
_ ,L, . ,_,J; gix e N — =1 S
- R
2 # Accessories L2
m-:!ﬂr: L3 L1
»P.J19 L
¥ Model R FIG 3X#5EE Range ZE= KGS
BT30- DC6- 60 108.4 | 60 | 38 | 22 - 46 13 - |16.5| 3° - 5 2 2-6mm
- 90 138.4 | 90 | 68 | 22 - 46 13 - 119.5| 3° - 5 2 2-6mm
-120 168.4 |120| 98 | 22 - 46 13 - 23 | 3° - 5 2 2-6mm
- DC8- 60 108.4 | 60 | 38 | 22 - 46 15 - |18.5| 3° - 5 2 2-8mm
- 90 138.4 | 90 | 68 | 22 - 46 15 - |21.5| 3° - 5 2 2-8mm
-120 168.4 |120| 98 | 22 - 46 15 - |24.5| 3° - 5 2 2-8mm
-DC10- 90 138.4 | 90 | 68 | 22 - 46 22 - 29 | 3° - 5 2 3-10mm
-105 153.4 |105| 83 | 22 46 22 30 | 3° 5 1 3-10mm
-DC12- 60 108.4 | 60 | 38 | 22 - 46 30 - |33.5| 3° - 5 2 3-12mm
- 90 108.4 | 60 | 68 | 22 - 46 30 - |36.5| 3° - 5 2 3-12mm
FMAE I BR: E

@
=
(%)
ac
>
z
=
(%)
<
%l
=
m
=
v}

vs)
=
7]
iz]
ES
5

@Ll £ Length (L1)
T FHFEE Clamping Range
IfBEFL S Holder type
#

WA, Taper size




5 0-N-w®

-BT40-DC BHIX JI1% BT40-DC BACK LOCKING COLLET HOLDER
FIG. 1
BT. NO

1| | — e ===t I
==
L2
L1
FIG. 2
BT. NO D
Bt 1 Accessories ‘ g a > al 22
] L4
fo A L2
»P.J19 h ] L1
L
M Model FIG %#58E Range ZEE KGS
BT40- DC6- 90 155.4 | 90 | 63 | 27 - 63 13 - [18.5| 3° - 10 | 2 2-6mm
-120 185.4 | 120| 93 | 27 - 63 13 - [21.5]| 3° - 10 | 2 2-6mm
-150 215.4 | 150|123 | 27 - 63 13 - 25 | 3° - 10 | 2 2-6mm
-200 265.4 | 200|173 | 27 |118| 63 13 |25.5| 43 | 10° | 3° 5 1 2-6mm
-250 315.4 | 250|223 | 27 |168| 63 13 |30.5| 48 | 10° | 3° 5 1 2-6mm
- DC8- 90 155.4 | 90 | 63 | 27 - 63 15 - 120.5| 3° - 10 | 2 2-8mm
-120 185.4 | 120| 93 | 27 - 63 15 - [23.5| 3° - 10 | 2 2-8mm
-150 215.4 | 150|123 | 27 - 63 15 - 27 | 3° - 10 | 2 2-8mm
-200 265.4 | 200|173 | 27 |118| 63 15 |27.5| 45 | 10° | 3° 5 1 2-8mm
-250 315.4 | 250|223 | 27 |168| 63 15 |32.5| 50 | 10° | 3° 5 1 2-8mm
-DC10- 75 140.4 | 75 | 48 | 27 = 63 22 = 26 | 3° - 10 2 3-10mm
- 90 155.4 | 90 | 63 | 27 = 63 22 - |275] 3° = 10 | 2 3-10mm
-120 185.4 | 120| 93 | 27 - 63 22 - [30.5| 3° - 10 | 2 3-10mm
-DC12- 90 155.4 | 90 | 63 | 27 - 63 30 - [35.5| 3° - 10 | 2 3-12mm
-120 185.4 | 120| 93 | 27 - 63 30 - [38.5| 3° - 10 | 2 3-12mm
- -150 215.4 | 150|123 | 27 - 63 30 - 42 | 3° - 10 | 2 3-12mm
% -200 265.4 | 200|173 | 27 - 63 30 - |475| 3° - 5 2 3-12mm
: HLAEHE:

J3F3BE Clamping Range
IHEEfLS Holder type
$ARAZT, Taper size

BT40RMDCEHG B %ﬂ
L1 K Length (L1)
h

__E125%sg



5 O0-N-w®

-BT50-DC BEHIR JI 4 BT50-DC BACK LOCKING COLLET HOLDER
FIG. 1
BT. NO %/
"‘lr..-_ ~
al o

it #f Accessories
=
»P.J19
#t& Model R FIG XF5EE Range =E=E KGS
BT50- DC6-100 201.8 |100| 62 | 38 - | 100 13 - |18.5| 3° = 10 | 2 2-6mm
-150 251.8 | 150|112 | 38 - [100 13 - |23.5| 3° = 10 | 2 2-6mm
-200 301.8 | 200|162 | 38 | 102|100 13 |23.5] 41 | 10°| 3° | 10 1 2-6mm
-250 351.8 | 250|212| 38 | 152|100 13 | 29 [46.5/10°| 3° | 10 1 2-6mm
-300 401.8 | 300|262 | 38 | 202|100 13 | 34 [51.5]10°| 3° | 10 1 2-6mm
- DC8-100 201.8 | 100 | 62 | 38 - | 100 15 - 120.5| 3° = 10 | 2 2-8mm
-150 251.8 | 150|112 | 38 - | 100 15 - |25.5| 3° = 10 | 2 2-8mm
-200 301.8 | 200|162 | 38 | 102|100 15 [25.5 43 | 10°| 3° | 10 1 2-8mm
-250 351.8 [ 250|212 | 38 | 152|100 15 | 31 [48.5]10°| 3° | 10 1 2-8mm
-300 401.8 | 300|262 | 38 | 202|100 15 | 36 [53.5]10°| 3° | 10 1 2-8mm
-DC10-100 201.8 | 100 | 62 | 38 - | 100 22 - |27.5] 3° - 10 | 2 3-10mm E
-150 251.8 | 150|112 | 38 - | 100 22 - |32.5| 3° = 10 | 2 3-10mm
-200 301.8 | 200|162 | 38 | 102|100 22 |32.5| 50 | 10° | 3° | 10 1 3-10mm W
-DC12-100 201.8 |100| 62 | 38 - | 100 30 - |35.5| 3° = 10 | 2 3-12mm = §
-150 251.8 |150 | 112 | 38 - | 100 30 - 140.5| 3° = 10 | 2 3-12mm ;%%
-200 301.8 | 200|162 | 38 | 102|100 30 |40.5| 58 | 10°| 3° | 10 1 3-12mm /g\%
-250 351.8 | 250|212| 38 | 152|100 30 | 46 |63.5| 10°| 3° | 10 1 3-12mm 5l &
-300 401.8 | 300|262 | 38 | 202|100 30 | 51 |68.5| 10°| 3° | 10 1 3-12mm
RS RA:

Ll KJE Length (L1)
J 45 5BE Clamping Range
IEEFLS Holder type

HRAZT, Taper size




5 0-N-w®

‘BT30-GSK BiEJI{K BT30-GSK HIGH SPEED COLLET CHUCK

BT. NO D2 M

D1

BZ ¥ Accessories ! 2
& s L3714
»P.J19 L
##& Model XF55E5E Range EE KGS

BT30-GSK06- 60 108.4 60 38 22 46 19.5 20 M15.5*1.0P 2-6mm 0.51

- 75 123.4 75 53 22 46 19.5 20 M15.5%1.0P 2-6mm 0.53

- 90 138.4 90 68 22 46 19.5 20 M15.5%1.0P 2-6mm 0.55

-GSK10- 60 108.4 60 38 22 46 27.1 27.6 M21.5*1.0P 3-10mm 0.53

- 75 123.4 75 53 22 46 271 27.6 M21.5*1.0P 3-10mm 0.6

- 90 138.4 90 68 22 46 27.1 27.6 M21.5*1.0P 3-10mm 0.67

-120 168.4 120 98 22 46 27.1 27.6 M21.5*1.0P 3-10mm 0.74

-GSK13- 60 108.4 60 38 22 46 33 33.5 M27.0*1.0P 3-13mm 0.55

- 75 123.4 75 53 22 46 33 33.5 M27.0*1.0P 3-13mm 0.62

- 90 138.4 90 68 22 46 33 33.5 M27.0*1.0P 3-13mm 0.69

-120 168.4 120 98 22 46 33 33.5 M27.0*1.0P 3-13mm 0.76

-GSK16- 60 108.4 60 38 22 46 40 40.5 M32.0*1.0P 3-16mm 0.58

- 75 123.4 75 53 22 46 40 40.5 M32.0*1.0P 3-16mm 0.64

- 90 138.4 90 68 22 46 40 40.5 M32.0*1.0P 3-16mm 0.7

-120 168.4 120 98 22 46 40 40.5 M32.0*1.0P 3-16mm 0.76

-GSK20- 60 108.4 60 38 22 46 48 48.5 M40.0*1.0P 4-20mm 0.63

- 75 123.4 75 53 22 46 48 48.5 M40.0*1.0P 4-20mm 0.8

- 90 138.4 90 68 22 46 48 48.5 M40.0*1.0P 4-20mm 0.97

-120 168.4 120 98 22 46 48 48.5 M40.0*1.0P 4-20mm 115

A& ER:

@
=
(%)
ac
>
2
=
v
<
%
=
m
=
)

@Ll K Length (L1)
332 84S Collect model
B JzFhZ Collect type GSK

IR Taper size




5 O0-N-w®

-BT40-GSK 5iE J11% BT40-GSK HIGH SPEED COLLET CHUCK

D2 M

D1

p— P

Bt 4 Accessories L2
MM Model X#BE Range  EE KGS
BT40-GSKO06- 60 125.4 60 33 27 63 19.5 20 M15.5*1.0P 2-6mm 0.96
- 75 140.4 75 48 27 63 19.5 20 M15.5*1.0P 2-6mm 1.07
- 90 155.4 90 63 27 63 19.5 20 M15.5*1.0P 2-6mm 118
-120 185.4 | 120 93 27 63 19.5 20 M15.5*1.0P 2-6mm 1.3
-GSK10- 60 125.4 60 33 27 63 271 27.6 M21.5*1.0P 3-10mm 1.04
- 75 140.4 75 48 27 63 27.1 27.6 M21.5*1.0P 3-10mm 115
- 90 155.4 90 63 27 63 271 27.6 M21.5*1.0P 3-10mm 1.26
-120 185.4 | 120 93 27 63 27.1 27.6 M21.5*1.0P 3-10mm 1.37
-150 215.4 | 150 | 123 27 63 27.1 27.6 M21.5*1.0P 3-10mm 1.5
-GSK13- 60 125.4 60 BB 27 63 33 BBES M27.0*1.0P 3-13mm 112
- 75 140.4 75 48 27 63 33 33.5 M27.0*1.0P 3-13mm 1.22
- 90 155.4 90 63 27 63 33 33.5 M27.0*1.0P 3-13mm 1.33
-120 185.4 | 120 93 27 63 33 33.5 M27.0*1.0P 3-13mm 1.44
-150 215.4 | 150 | 123 27 63 33 33.5 M27.0*1.0P 3-13mm 1.55
-GSK16- 60 125.4 60 33 27 63 40 40.5 M32.0*1.0P 3-16mm 1.2
=75 140.4 75 48 27 63 40 40.5 M32.0*1.0P 3-16mm 1.3
- 90 155.4 90 63 27 63 40 40.5 M32.0*1.0P 3-16mm 1.4
-120 185.4 | 120 93 27 63 40 40.5 M32.0*1.0P 3-16mm 1.5
-150 215.4 | 150 | 123 27 63 40 40.5 M32.0*1.0P 3-16mm 1.6
-GSK20- 60 125.4 60 33 27 63 48 48.5 M40.0*1.0P 4-20mm 1 E
- 75 140.4 75 48 27 63 48 48.5 M40.0*1.0P 4-20mm 115
- 90 155.4 90 63 27 63 48 48.5 M40.0*1.0P 4-20mm 1.3
-120 185.4 | 120 93 27 63 48 48.5 M40.0*1.0P 4-20mm 1.5 Ti ;
-150 215.4 | 150 | 123 27 63 48 48.5 M40.0*1.0P 4-20mm 1.7 7] )§>
-GSK25- 90 155.4 90 63 27 63 55 55.5 M45.0*1.0P 6-25mm 1.5 7@3
-120 185.4 | 120 93 27 63 55 55.5 M45.0*1.0P 6-25mm 1.8 ?gﬁg
S5 RA:

BT40[ -8 - qi
L1 4€E Length (L1)

&R = Collect model
3 Fh Collect type GSK
IR Taper size




5 0-N-w®

-BT50-GSK 5 & J1 1

BT50-GSK HIGH SPEED COLLET CHUCK

@
=
(%)
ac
>
2
=
v
<
%
=
m
=
)

IR Taper size

i L1 4B Length (L1)

332 84S Collect model
B geFhZE Collect type GSK

fid 4+ Accessories
s L2
##& Model F#EBE Range FE KGS

BT50-GSK10-105 168.8 105 67 38 100 | 271 | 27.6 M21.5*1.0P 3-10mm 3.7
-135 198.8 135 97 38 100 | 271 | 27.6 M21.5*1.0P 3-10mm 3.8

-165 228.8 165 127 38 100 | 271 | 27.6 M21.5*1.0P 3-10mm 3.9
-GSK13-105 168.8 105 67 38 100 33 33.5 M27.0*1.0P 3-13mm 3.8
-135 198.8 135 97 38 100 33 33.5 M27.0*1.0P 3-13mm 3.9

-165 228.8 165 127 38 100 33 33.5 M27.0*1.0P 3-13mm 4
-GSK16-105 168.8 105 67 38 100 40 | 40.5 M32.0*1.0P 3-16mm 3.9

-135 198.8 135 97 38 100 40 | 40.5 M32.0*1.0P 3-16mm 4

-165 228.8 165 127 38 100 40 | 40.5 M32.0*1.0P 3-16mm 4.

-200 263.8 200 162 38 100 40 | 40.5 M32.0*1.0P 3-16mm 4.3

-GSK20-105 168.8 105 67 38 100 48 | 48.5 M40.0*1.0P 4-20mm 4
-135 198.8 135 97 38 100 48 | 48.5 M40.0*1.0P 4-20mm 4.2

-165 228.8 165 127 38 100 48 | 48.5 M40.0*1.0P 4-20mm 4.4

-200 263.8 200 162 38 100 48 | 48.5 M40.0*1.0P 4-20mm 4.6
-GSK25-105 168.8 105 67 38 100 55 55.5 M45.0*1.0P 6-25mm 4.1
-135 198.8 135 97 38 100 55 55.5 M45.0*1.0P 6-25mm 4.43
-165 228.8 165 127 38 100 55 55.5 M45.0*1.0P 6-25mm 4.76

-200 263.8 200 162 38 100 55 55.5 M45.0*1.0P 6-25mm 5.1

RS RA:



5 O0-N-w®

-BT40-BST $27L.AAS 711k

BT40-BST ROUGH BORING TOOL HOLDER

FIG. 1
o|w
oo~
ole
FI1G. 2
J o|w
_ - N _ 0|0~
2 o e
<
55
L2 1511
it # Accessories L1
= L
»P.J19
it _ HBWE @R
#t& Model L L1 L2 L3 L4 D FIG E-g ()
BT40-BST-100 175.4 100 73 27 65.4 63 1 3.35
-150 225.4 150 123 27 65.4 63 1 3.5
-200 275.4 200 173 27 65.4 63 1 4.5
-250 325.4 250 223 27 65.4 63 2 5
-300 375.4 300 273 27 65.4 63 2 5.5 E
ST Features:

i

OEBXEI, FIFHAXRIE
©3F#RTTiT4I (400L/450L/500L/600L)
OFFRPHF=RMIELAETFIY A
OHETRB T

AR RA:

BT40 B - qm
L1 £ Length (L1)
IHREXS Holder type
#®

WFZI Taper size

© The entire through hole,favors the water leakage and

quakeproof.

@
=
(%)
ac
>
=4
=
(%)
<
%l
=
m
=
v}

vs)
=
7]
iz]
ES
5

© Can be made upon requested Dimensions

© The list of product's specifications reference to material
object.

© The pull stud must purchase alone.




5 0-N-w®

BT50-BST ROUGH BORING TOOL HOLDER

B

FIG. 1
BT. NO D
5 A S IE P R
T a0 —f1 & T1]13&
y g_/\ o ©
I il]i ==
L4 L3
L2 (3
L L1
FIG. 2
- %
| ——— O =J N N =Tt
o) A oo
o Sﬁ
\7 © =
it 1+ Accessories
. L4 L3 | L2 LK
= L1
»P.J19 L
##& Model L L1 ) L3 L4 D FIG EE KGS
BT50-BST-100 211.8 100 62 38 101.8 100 1 5.1
-150 261.8 150 112 38 101.8 100 1 6.85
-200 311.8 200 162 38 101.8 100 1 9.1
-250 361.8 250 212 38 101.8 100 1 9.5
-300 411.8 300 262 38 101.8 100 2 13.4
-350 461.8 350 312 38 101.8 100 2 15.75
-400 511.8 400 362 38 101.8 100 2 19.2
-450 561.8 450 412 38 101.8 100 2 21.5
-500 611.8 500 462 38 101.8 100 2 24.5
-550 661.8 550 512 38 101.8 100 2 27.5
-600 711.8 600 562 38 101.8 100 2 30.5
He Features:
e © The entire through hole,favors the water leakage and

@
=
%)
ac
>
2
=
v
<
u
=
m
=
)

OB, MFHAKRRE
©JEARTTIT4 (400L/450L/500L/600L)
OFIFR P B RIMIE A EFIY R E
ORI MHBITEEZ

ARSI ER:

i L1 ¥E Length (L1)
IHREFLS Holder type

TRFZT, Taper size

quakeproof.

© Can be made upon requested Dimensions

© The list of product's specifications reference to material
object.

© The pull stud must purchase alone.



5 O-N-w ®

‘BT30-M BRLUEERTIN (EW)

s (| (1N N E
L4 ]
L2
L1
#1& Model L L1 L2 L3 L4 D D1 D2 M R BEE5 KGS
BT30-MO08- 60 108.4 60 38 22 12 46 15.4 8.5 M8*1.25P 4
- 90 138.4 90 68 22 12 46 15.4 8.5 M8*1.25P 4 0.5
-110 158.4 110 88 22 12 46 15.4 8.5 M8*1.25P 4
-M10- 60 108.4 60 38 22 12 46 19 10.5 M10*1.5P 4
- 90 138.4 90 68 22 12 46 19 10.5 M10*1.5P 4 0.5
-110 158.4 110 88 22 12 46 19 10.5 M10*1.5P 4
-M12- 60 108.4 60 38 22 12 46 24 12.5 M12*1.75P 4
- 90 138.4 90 68 22 12 46 24 12.5 M12*1.75P 4 0.6
-110 158.4 110 88 22 12 46 24 12.5 M12*1.75P 4
-M16- 60 108.4 60 38 22 12 46 29 17 M16*2.0P 4
- 90 138.4 90 68 22 12 46 29 17 M16*2.0P 4 0.7
-110 158.4 110 88 22 12 46 29 17 M16*2.0P 4
g BE:

1L

@lef" Length (L1)

Ok Interface size

BE1LS Holder type
%Effﬁﬁ,iﬁ Taper size

m

@
=
(%)
ac
>
z
=
(%)
<
%l
=
m
=
v}

vs)
=
7]
iz]
ES
5




5 O0-N-w®

BT40-M THERADED CHUCK

__//_/_//‘//
,|i, 1|7| o=
‘ L4
13 | L2
L1
L
##& Model M R B KGS
BT40-M08- 60 1254 | 60 | 33 | 27 | 12 | 63 | 154 | 8.5 M8*1.25P 10 1.1
- 90 1554 | 90 | 63 | 27 | 12 | 63 | 15.4 | 85 M8*1.25P 10 1.2
-110 175.4 | 110 | 83 | 27 | 12 | 63 | 15.4 | 85 M8*1.25P 10 1.2
-M10- 60 1254 | 60 | 33 | 27 | 12 | 63 19 | 105 M10*1.5P 10 11
- 90 1554 | 90 | 63 | 27 | 12 | 63 19 | 105 M10%1.5P 10 11
-110 175.4 | 110 | 83 | 27 | 12 | 63 19 | 105 M10*1.5P 10 1.2
-M12- 60 1254 | 60 | 33 | 27 | 12 | 63 24 | 125 M12*1.75P 10 1.2
- 90 1554 | 90 | 63 | 27 | 12 | 63 24 | 125 M12*1.75P 10 13
-110 175.4 | 110 | 83 | 27 | 12 | 63 24 | 125 M12*1.75P 10 13
-M16- 60 1254 | 60 | 33 | 27 | 12 | 63 29 17 M16*2.0P 10 1.2
- 90 1554 | 90 | 63 | 27 | 12 | 63 29 17 M16*2.0P 10 13
-110 175.4 | 110 | 83 | 27 | 12 | 63 29 17 M16*2.0P 10 1.4
AR LEA:
BT40 8 M 0S)E @
L1 Length (L1)

O A/ Interface size
IHEELS Holder type
IR Taper size

@
3
(%]
ac
>
2
=
v
<
w
=
m
=
)




®
@ O-N-W BT #1874

‘BT50-M IBR4GEERTIN (EW) BT50-M THERADED CHUCK

BT. NO

L3 L2
L1
L
## Model D D1 D2 M R E= KGS
BT50-M08- 60 161.8 60 22 38 | 12 | 100 | 15.4 | 8.5 M8*1.25P 10
- 90 191.8 90 52 38 | 12 | 100 | 15.4 | 8.5 M8*1.25P 10 3.8
-110 211.8 | 110 | 72 38 | 12 | 100 | 15.4 | 8.5 M8*1.25P 10 3.8
-M10- 60 161.8 60 22 38 | 12 | 100 19 10.5 M10*1.5P 10
- 90 191.8 90 52 38 | 12 | 100 19 10.5 M10*1.5P 10 3.8
-110 211.8 | 110 | 72 38 | 12 | 100 19 10.5 M10*1.5P 10 3.8
-M12- 60 161.8 60 22 38 | 12 | 100 24 12.5 M12*1.75P 10
- 90 191.8 90 52 38 | 12 | 100 24 12.5 M12*1.75P 10 3.9
-110 211.8 | 110 | 72 38 | 12 | 100 24 12.5 M12*1.75P 10 3.9
-M16- 60 161.8 60 22 38 | 12 | 100 29 17 M16*2.0P 10 3.9
- 90 191.8 90 52 38 | 12 | 100 29 17 M16*2.0P 10 3.9
-110 211.8 | 110 | 72 38 | 12 | 100 29 17 M16*2.0P 10 3.9

MR EER:

? @Ll K E Length (L1)
®

K7\ Interface size
IHBES Holder type
$AZ R, Taper size

m

@
=
(%)
ac
>
z
=
(%)
<
%l
=
m
=
v}

vs)
=
7]
2]
ES
5




5 0-N-w®

B2 1 Accessories

" 4BNEF R

BT. NO

BT30-M THERADED CHUCK

<

L

L3

D3

L2

D2
D1

L4

L1

M Model R
BT30-M08-60-A5 108.4 60 38 22 12 46 15.4 | 8.5 | 19.5 M8*1.25P 5° 4 0.5

-90-A5 138.4 90 68 22 12 46 15.4 | 8.5 | 245 M8*1.25P 5° 4
-M10-60-A4 108.4 60 38 22 12 46 19 10.5 22 M10*1.5P 4° 4 0.5

-90-A4 138.4 90 68 22 12 46 19 10.5 26 M10*1.5P 4° 4
-M12-60-A4 108.4 60 38 22 12 46 24 12.5 27 M12*1.75P 4° 4 0.5

-90-A4 138.4 90 68 22 12 46 24 12.5 | 31.5 M12*1.75P 4° 2
-M16-60-A4 108.4 60 38 22 12 46 29 17 32.5 M16*2.0P 4° 2 0.6
-90-A4 138.4 90 68 22 12 46 29 17 36.5 M16*2.0P 4° 2 0.7

g BE:

L1 Length (L1)
Z[AK/)\ Interface size
IfEEfLE Holder type
IR, Taper size

T ?@@i&g Unilateral taper
¥

@
=
(%]
ac
>
2
=
v
<
w
=
m
=
)




5 O-N-w ®

‘BT40-M BRLUEETIN (F4) BT40-M THERADED CHUCK

D
BT.NO Y

B ¥ Accessories
[
» PJ19 I O E = R
#t& Model L L1 L2 L3 L4 D D1 D2 D3 M a R FEEKGS
BT40-M08- 60-A5 125.4 | 60 33 27 12 63 | 15.4 | 8.5 18 M8*1.25P 5° 5 1.1
- 90-A5 155.4 | 90 63 27 12 63 | 15.4 | 8.5 | 23.5 | M8*1.25P 5° 5 1.2
-110-A5 175.4| 110 | 83 27 12 63 | 154 | 85 | 27 M8*1.25P 5° 5 1.3
-150-A5 215.4 | 150 | 123 | 27 12 63 | 154 | 85 | 34 M8*1.25P 5P 5 1.5
-200-A5 265.4 | 200 | 173 | 27 12 63 | 15.4 | 8.5 | 42.5 | M8*1.25P 50 5
-M10- 60-A4 125.4| 60 33 27 12 63 19 [ 10.5 | 21.5 | M10*1.5P 40 5 1.1
- 90-A4 155.4 | 90 63 27 12 63 19 | 10.5 | 25.5 | M10*1.5P 40 5 1.2
-110-A4 175.4| 110 | 83 27 12 63 19 | 10.5 | 28.5 | M10*1.5P 40 5 1.3
-150-A4 215.4 | 150 | 123 | 27 12 63 19 [ 10.5| 34 M10*1.5P 40 5 1.6
-200-A4 265.4 | 200 | 173 | 27 12 63 19 | 10.5 | 41 M10*1.5P 40 5 2
-M12- 60-A4 125.4| 60 33 27 12 63 23 | 12.5 | 25.5 | M12*1.75P | 4° 5 1.2
- 90-A4 155.4 | 90 63 27 12 63 23 | 12.5 | 29.5 | M12*1.75P | 4° 5 1.2
-110-A4 175.4| 110 | 83 27 12 63 23 | 12.5 | 32.5 | M12*1.75P | 4° 5 1.5
-135-A4 200.4 | 135 | 108 | 27 12 63 23 [ 12.5| 36 | M12*1.75P | 4° 5 1.6
-150-A4 215.4 | 150 | 123 | 27 12 63 23 [ 12.5| 38 | M12*1.75P | 4° 5 1.7
-200-A4 265.4 | 200 | 173 | 27 12 63 23 | 12.5| 45 | M12*1.75P | 4° 5 2.5
-M16- 60-A4 125.4| 60 33 27 12 63 | 288 | 17 31 M16*2.0P 40 5
- 90-A4 155.4 | 90 63 27 12 63 | 28.8| 17 | 355 | M16*2.0P 40 5
-110-A4 175.4| 110 | 83 27 12 63 | 28.8| 17 38 M16*2.0P 40 5
-135-A4 200.4 | 135 | 108 | 27 12 63 | 28.8| 17 | 41.5 | M16*2.0P 40 5 1.7 E
-150-A4 215.4 | 150 | 123 | 27 12 63 |[28.8 | 17 | 43.5| M16*2.0P 40 5
-200-A4 265.4 | 200 | 173 | 27 12 63 | 28.8| 17 |50.5 | M16*2.0P 40 5
A5 BA:

@
=
(%)
ac
>
=4
=
(%)
<
%l
=
m
=
v}

vs)
=
7]
iz]
ES
5

BT408 - - - @
A Unilateral taper
L1 E Length(L1)

1Z A/ Interface size
IHEEfLS Holder type
AT, Taper size




5 O0-N-w®

BT50-M THERADED CHUCK

Bt 4 Accessories
»PJ19 i EIE P RAUR
#t& Model L1 L2 L3 L4 D D1 D2 [DE] \Y a R = KGS
BT50-M08- 60-A5 161.8 | 60 22 38 12 | 100 | 15.4 | 8.5 17.5 M8*1.25P 5 10
- 90-A5 194.8 | 90 52 38 12 | 100 | 15.4 | 8.5 20.5 M8*1.25P 5 10 3.9
-110-A5 211.8 | 110 | 72 38 12 | 100 | 15.4 | 8.5 24 M8*1.25P 5 10 4
-150-A5 251.8 | 150 | 112 | 38 12 | 100 | 15.4 | 8.5 31 M8*1.25P 5 10 4.3
-200-A5 301.8 | 200 | 162 | 38 12 | 100 | 15.4 | 8.5 40 M8*1.25P 5 10 5
-250-A5 351.8 | 250 | 212 38 12 100 | 15.4 8.5 48.5 M8*1.25P 5° 10
-300-A5 401.8 | 300 | 262 | 38 12 | 100 | 15.4 | 8.5 S5 M8*1.25P 5° 10
-M10- 60-A4 161.8 | 60 22 38 12 | 100 | 19 10.5 | 20.5 M10*1.5P 4° 10
- 90-A4 194.8 | 90 52 38 12 | 100 | 19 10.5 23 M10*1.5P 4° 10 3.9
-110-A4 211.8 | 110 | 72 38 12 | 100 | 19 10.5 26 M10*1.5P 4° 10 4
-150-A4 251.8 | 150 | 112 38 12 100 19 10.5 31.5 M10*1.5P 4° 10 4.3
-200-A4 301.8 | 200 | 162 | 38 12 | 100 | 19 10.5 | 38.5 M10*1.5P 4° 10 4.7
-250-A4 351.8 | 250 | 212 38 12 100 19 10.5 45.5 M10*1.5P 4° 10
-300-A4 401.8 | 300 | 262 38 12 100 19 10.5 52.5 M10*1.5P 4° 10 6.4
-M12- 60-A4 161.8 | 60 22 38 12 | 100 | 24 12.5 | 25.5 M12*1.75P 4° 10
- 90-A4 194.8 | 90 52 38 12 | 100 | 24 12.5 28 M12*1.75P 4° 10 4.2
-110-A4 211.8 | 110 | 72 38 12 | 100 | 24 12.5 31 M12*1.75P 4° 10 41
-135-A4 236.8 | 135 | 97 38 12 | 100 | 24 12.5 | 34.5 M12*1.75P 4° 10 4.3
-150-A4 251.8 | 150 | 112 38 12 100 24 12.5 36.5 M12*1.75P 4° 10 4.6
-200-A4 301.8 | 200 | 162 38 12 100 24 12.5 43.5 M12*1.75P 4° 10 5.2
-250-A4 351.8 | 250 | 212 38 12 100 24 12.5 50.5 M12*1.75P 4° 10 5.8
-300-A4 401.8 | 300 | 262 | 38 12 | 100 | 24 12.5 57.5 M12*1.75P 4° 10 7.2
z -M16- 60-A4 161.8 | 60 22 38 12 | 100 | 29 17 30.5 M16*2.0P 4° 10
2 - 90-A4 194.8 | 90 52 38 12 | 100 | 29 17 33 M16*2.0P 4° 10 4
2 -110-A4 211.8 | 110 | 72 38 12 | 100 | 29 17 36 M16*2.0P 4° 10 4.2
g -135-A4 236.8 | 135 | 97 38 12 | 100 | 29 17 39.5 M16*2.0P 4° 10 4.4
-150-A4 251.8 | 150 | 112 38 12 100 29 17 41.5 M16*2.0P 4° 10 4.8
-200-A4 301.8 | 200 | 162 | 38 12 | 100 | 29 17 48.5 M16*2.0P 4° 10 5.5
-250-A4 351.8 | 250 | 212 | 38 12 | 100 | 29 17 5585 M16*2.0P 4° 10 6.2
-300-A4 401.8 | 300 | 262 | 38 12 | 100 | 29 17 62.5 M16*2.0P 4° 10
FA& 5 ER:
T @%m%ﬁ}'ﬁ Unilateral taper
L14€E Length (L1)

1Z A/ Interface size
IHEE{X S Holder type
HEIRAZ Taper size



5 O0-N-w®

BT30-HGER 5 J]1#& BT30-HGER HIGH SPEED ER COLLET CHUCK

BT. NO D

;
/‘L \?\s

)

\7 5
L3 T
L

& Model L L1 L2 L3 D D1 D2 T 4556 E Range B KGS
BT30-HGER16- 60 108.4 60 38 22 46 30 30.5 TR22*1.5 3-10mm 0.58
- 75 123.4 75 53 22 46 30 30.5 TR22*1.5 3-10mm 0.63
- 90 138.4 90 68 22 46 30 30.5 TR22*1.5 3-10mm 0.68
-120 168.4 120 98 22 46 30 30.5 TR22*1.5 3-10mm 0.73
-HGER20- 60 108.4 60 38 22 46 32 32.5 TR26*1.5 3-13mm 0.63
- 75 123.4 75 53 22 46 32 32.5 TR26*1.5 3-13mm 0.8
- 90 138.4 90 68 22 46 32 32.5 TR26*1.5 3-13mm 0.97
-120 168.4 120 98 22 46 32 32.5 TR26*1.5 3-13mm 115
-HGER25- 60 108.4 60 38 22 46 40 40.5 TR32*1.5 3-16mm 0.61
- 75 123.4 75 53 22 46 40 40.5 TR32*1.5 3-16mm 0.81
- 90 138.4 90 68 22 46 40 40.5 TR32*1.5 3-16mm 1.01
-120 168.4 120 98 22 46 40 40.5 TR32*1.5 3-16mm 1.25
-HGER32- 75 123.4 75 53 22 46 50 45 TR40*1.5 3-20mm 0.8
- 90 138.4 90 68 22 46 50 45 TR40*1.5 3-20mm 0.9
-120 168.4 120 98 22 46 50 45 TR40*1.5 3-20mm 1.3

AL RA:

T L1 K[ Length(L1)
B2 Collect model

23 fh Collect type HGER
SEIRTAZT Taper size

m

@
=
(%)
ac
>
z
=
(%)
<
%l
=
m
=
v}

vs)
=
7]
iz]
ES
5




5 0-N-w®

BT40-HGER 5i& J]#% BT40-HGER HIGH SPEED ER COLLET CHUCK

BT. NO D

#& Model $#5EE Range  EFE KGS
BT40-HGER16- 75 140.4 75 48 27 63 30 30.5 TR22*1.5 3-20mm 1.3
- 90 155.4 90 63 27 63 30 30.5 TR22*1.5 3-10mm 1.3
-120 185.4 120 93 27 63 30 30.5 TR22*1.5 3-10mm 1.45
-150 215.4 150 123 27 63 30 30.5 TR22*1.5 3-10mm 1.6
-HGER20- 75 140.4 75 48 27 63 32 32.5 TR26*1.5 3-13mm 1.2
- 90 155.4 90 63 27 63 32 32.5 TR26*1.5 3-13mm 1.4
-120 185.4 120 93 27 63 32 32.5 TR26*1.5 3-13mm 1.55
-150 215.4 150 123 27 63 32 32.5 TR26*1.5 3-13mm 1.7
-HGER25- 75 140.4 75 48 27 63 40 40.5 TR32*1.5 3-16mm 1.3
- 90 155.4 90 63 27 63 40 40.5 TR32*1.5 3-16mm 1.6
-120 185.4 120 93 27 63 40 40.5 TR32*1.5 3-16mm 1.83
-150 215.4 150 123 27 63 40 40.5 TR32*1.5 3-16mm 2.05
-HGER32- 75 140.4 75 48 27 63 50 50.5 TR40*1.5 3-20mm 1.4
- 90 155.4 90 63 27 63 50 50.5 TR40*1.5 3-20mm 1.7
-120 185.4 120 93 27 63 50 50.5 TR40*1.5 3-20mm 2.05
-150 215.4 150 123 27 63 50 50.5 TR40*1.5 3-20mm 2.4
AL RA:
BT40[8 - - ?
L1 4<E Length (L1)
B3 BY S Collect model
B IeFhZE Collect type HGER
$HIRAZ T, Taper size

@
=
(%]
ac
>
2
=
v
<
w
=
m
=
)




5 O0-N-w®

BT50-HGER 5 J]1#& BT50-HGER HIGH SPEED ER COLLET CHUCK

BT. NO D

## Model F455EE Range =& KGS
BT50-HGER16-105 206.8 | 105 67 38 100 30 30.5 TR22*1.5 3-10mm 3.9
-135 236.8 | 135 97 38 100 30 30.5 TR22*1.5 3-10mm 41
-165 266.8 | 165 127 38 100 30 30.5 TR22*1.5 3-10mm 4.25
-HGER20-105 206.8 | 105 67 38 100 32 32.5 TR26*1.5 3-13mm 4
-135 236.8 | 135 97 38 100 32 32.5 TR26*1.5 3-13mm 4.2
-165 266.8 | 165 127 38 100 32 32.5 TR26*1.5 3-13mm 4.35
-HGER25-105 206.8 | 105 67 38 100 40 40.5 TR32*1.5 3-16mm 4.1
-135 236.8 | 135 97 38 100 40 40.5 TR32*1.5 3-16mm 4.4
-165 266.8 | 165 127 38 100 40 40.5 TR32*1.5 3-16mm 4.7
-200 301.8 | 200 162 38 100 40 40.5 TR32*1.5 3-16mm 5.1
-HGER32-105 206.8 | 105 67 38 100 50 50.5 TR40*1.5 3-20mm 4.2
-135 236.8 | 135 97 38 100 50 50.5 TR40*1.5 3-20mm 4.7
-165 266.8 | 165 127 38 100 50 50.5 TR40*1.5 3-20mm 5.2
-200 301.8 | 200 162 38 100 50 50.5 TR40*1.5 3-20mm 5.7
A% RE:

T E L1 Length (L1)
ﬁ

FzAYE Collect model

23 fh3 Collect type HGER
T Taper size

m

@
=
(%)
ac
>
z
=
(%)
<
%l
=
m
=
v}

vs)
=
7]
iz]
ES
5




5 0-N-w®

BT40-BSA 45° DEGREE SLANT-INSERTED TYPE ROUGH BORING HOLDERS

BT. NO

3
|
|
|
d2
\\ \,‘\\
R N
7 1\ N
&\
d1

L2

L1

Bt # Accessories

» P.J31 »P.J19 E '

I HBNE T @A

d1 =
#H& Model £/NITH Min ST Max w5 T 127, EE KGS
BT40-BSA25-120 25 38 185.4{120| 93 | 27 | 35| 63 | 20 | 22 8 M6*1.0P 1.2
-BSA30-150 30 42 215.4|150(123| 27 | 40 | 63 | 24| 26 8 M6*1.0P 1.4
-BSA38-165 38 52 230.4{165|138| 27 | 50 | 63 | 30| 33 10 M8*1.25P 1.7
-BSA42-165 42 56 230.4/165|138| 27 | 50 | 63 | 34 | 37 10 M8*1.25P 2
-BSA50-165 50 65 230.4|165|138| 27 | 65| 63 | 40| 44 13 M8*1.25P 2.3
-BSA62-180 62 90 245.4|180|153| 27 | 80| 63 | 50| 56 16 M10*1.5P 2.4
-BSA72-180 72 110 245.4|180|153| 27 | 95| 63 | 60| - 19 M10*1.5P 3.9
-BSA90-180 90 125 245.41180|153| 27 |110| 63 | 75 = 19 M10*1.5P 5.2
ST Features:
pa © Suitable for processing uneven aperture and rough wool
OEATARMOARNE, EFEREZMIY embryo.
OmEANARENNAEHERNIR )
OREIER © Selects the four square brazed or throw away cutting tool.
ORI RETIL AR © Particularly suitable for boring blind holes.
*m%ﬁfﬁﬂ © The pull stud must purchase alone.

@
=
(%]
ac
>
2
=
v
<
w
=
m
=
)

BT40J8 - - @
L1 Length(L1)
J1K RFLE TR Diameter
If

BB S Holder type
$IRFZ T Taper size




5 O0-N-w®

-BT50-BSA 45°#H$& 71+ (&) BT50-BSA 45° DEGREE SLANT-INSERTED TYPE ROUGH BORING HOLDERS
D
BT. NO =
I T ¢
v
[ - o : 1l - - 777% 7//®?/)\\‘1 °
\7" 1A¢ L4
13 L2
L1
fic 4 Accessories L

» P.J31 »P.J19

d1 w —
& Model g TH Min BAMTA Max - By | e |ELIGER
BT50-BSA25-135 25 38 236.8| 135 | 97 [38|35| 100 |20 | 22 8 M6*1.0P 4.2
-185 25 38 286.8| 185 | 147 |38 | 35| 100 | 20 | 22 8 M6*1.0P 4.4
-BSA30-165 30 42 266.8| 165 | 127 |38 |40 | 100 | 24 | 26 8 M6*1.0P 4.4
-BSA38-180 38 52 281.8| 180 | 142 |38 |50 | 100 |30 | 33 | 10 M8*1.25P 4.8
-240 38 52 341.8| 240 | 202 | 38|50 | 100 |30 | 33 | 10 M8*1.25P 5
-BSA42-210 42 56 311.8| 210 | 172 | 38|60 | 100 | 34| 37 | 10 M8*1.25P 5
-BSA50-180 50 65 281.8| 180 | 142 |38 | 65| 100 |40 | 44 | 13 M10*1.5P 5.4
-240 50 65 341.8| 240 | 202 |38 | 65| 100 |40 | 44 | 13 M10*1.5P 5.7
-300 50 65 401.8| 300 | 262 | 38 | 65| 100 |40 | 44 | 13 M10*1.5P 6
-BSA62-195 62 90 296.8| 195 | 157 |38 | 80| 100 |50 | 56 | 16 M10*1.5P 6.2
-270 62 90 371.8| 270 | 232 | 38|80 | 100 |50 | 56 | 16 M10*1.5P 7.6
-350 62 90 451.8| 350 | 312 |38 (80| 100 | 50 | 56 | 16 M10*1.5P 9
-400 62 90 501.8| 400 | 362 |38 |80 | 100 |50 | 56 | 16 M10*1.5P 10.4
-BSA72-195 72 110 296.8| 195 | 157 |38 | 95| 100 | 60 | 66 19 M10*1.5P 7
-285 72 110 386.8| 285 | 247 |38 (95| 100 | 60 | 66 | 19 M10*1.5P 9.2
-350 72 110 451.8| 350 | 312 |38 (95| 100 | 60 | 66 | 19 M10*1.5P 10.8
-400 72 110 501.8| 400 | 362 |38 | 95| 100 |60 | 66 | 19 M10*1.5P 12.4 E
-BSA90-210 90 125 311.8( 210 | 172 |38 (110/ 100 | 75| 80 | 19 | M12*1.75P 9.3
-300 90 125 401.8| 300 | 262 | 38 {110/ 100 | 75| 80 | 19 | M12*1.75P 12.3 3 o
-350 90 125 451.8| 350 | 312 | 38 |110| 100 | 75 | 80 19 | M12*1.75P 15.3 7] §
-BSA105-195 105 160 296.8( 195 | 157 | 38| - | 100 |90 | - 25 | M12*1.75P 10.7 o
-285 105 160 386.8| 285 | 247 | 38 |{130| 100 |90 | 94 | 25 | M12*1.75P 15 ,z{:\%
-300 105 160 401.8| 300 | 262 | 38 |{130| 100 |90 | 94 | 25 | M12*1.75P 13.2 &
-BSA130-255 130 190 356.8| 255 | 217 | 38 |120] 100 |110| - 25 | M12*1.75P 14.5
-300 130 190 401.8| 300 | 262 | 38 |120| 100 |110| - 25 | M12*1.75P 18.5
ST Features:
pa © Suitable for processing uneven aperture and rough wool
OEATARMOARE, EFRERZMIY embryo.
OmERNARENTIASESHFRA IR )
OREIEH © Selects the four square brazed or throw away cutting tool.
ORETRETILMB © Particularly suitable for boring blind holes.
%WJ*%'IHEH © The pull stud must purchase alone.

% L1 4 Length (L1)
J1F RFLE R Diameter
I

BEfLE Holder type
AR Taper size




5 0-N-w®

-BT40-BSB 90°#H£ 714+ (i&7L)

BT. NO

BT40-BSB 90° DEGREE SLANT-INSERTED TYPE ROUGH BORING HOLDERS

!

T

L4

BE #f Accessories

-
» P.J31 »P.J19

di1

I SRR MET R

w =
AUE Model & |\ A Min BAMTH, Max pa B ERKG
BT40-BSB25-120 25 52 200.4(120| 93 | 27 | 35 |63| 20 | 22 8 M6*1.0P 1.2
-BSB30-150 30 57 230.4| 150|123 | 27 | 40 | 63| 25 | 27 8 M6*1.0P 1.5
-BSB38-165 38 70 2454|165 | 138 | 27 | 55 | 63| 30 | 33 10 M8*1.25P 1.7
-BSB42-165 42 74 245.4| 165|138 | 27 | 55 | 63| 34 | 37 10 M8*1.25P 2
-BSB50-165 50 90 245.4| 165|138 | 27 | 55 | 63| 40 | 44 13 M10*1.5P 2.5
-BSB62-180 62 115 260.4| 180|153 | 27 | 80 |63 | 50 | 56 16 M10*1.5P 3.6
-BSB72-180 72 125 260.4| 180|153 | 27 | 80 |63 | 60 | 66 19 M12*1.75P 4.6
-BSB90-180 90 150 260.4|180 | 153 | 27 |115]|63| 75 | - 19 M12*1.75P 5.9
iSIe Features:
pa © Suitable for processing uneven aperture and rough wool

OEATAEMOATE, EFEEZMIY
OTEANBRBRIASEFATIA
OEBEILER

OHIFTRETILMAB M

AR RA:

BT40ENBSBE - @
L1 Length (L1)
J1H RFLE R Diameter
Ih8

BE{LS Holder type
HARAZ T Taper size

@
=
(%)
ac
>
2
=
%)
<
%
=
m
=
)

embryo.

© Selects the four square brazed or throw away cutting tool.

© Suitable for boring through holes.

© The pull stud must purchase alone.



5 O0-N-w®

-BT50-BSB 90°#H$& 71+ (iEFL) BT50-BSB 90° DEGREE SLANT-INSERTED TYPE ROUGH BORING HOLDERS

Bt 1 Accessories
»P.J31 »P.J19
& Model di
&/INNTH Min &AMIFL Max
BT50-BSB25-135 25 52 251.8| 135 | 97 | 38 |35[100|20|22| 8 M6*1.0P 4.3
-185 25 52 301.8| 185 (147 | 38 |35|100 (20|22 | 8 M6*1.0P 4.4
-BSB30-165 30 42 281.8| 165 | 127 | 38 |40 100 |24 |26 | 8 M6*1.0P 4.2
-BSB38-180 38 70 296.8| 180 | 142 | 38 | 55| 100 |30 (33| 10 M8*1.25P 4.9
-240 38 70 356.8| 240 | 202 | 38 | 55|100|30|33| 10 M8*1.25P 5.2
-BSB42-210 42 56 326.8| 210 | 172 | 38 | 60| 100 |34 |37 | 10 M8*1.25P 5
-BSB50-180 50 90 296.8| 180 | 142 | 38 | 70| 100 |40 |44 | 13 M10*1.5P 5.5
-240 50 90 356.8| 240 | 202 | 38 | 70| 100 |40 |44 | 13 M10*1.5P 6.1
-300 50 90 416.8| 300 [ 262 | 38 |70 | 100 |40 |44 |13 M10*1.5P 6.7
-BSB62-195 62 115 311.8| 195 [ 157 | 38 |80 | 100 |50 |56 | 16 M10*1.5P 6.4
-270 62 115 386.8| 270 | 232 | 38 | 80| 100 |50 |56 | 16 M10*1.5P 7.8
-350 62 115 466.8| 350 (312 | 38 | 80| 100 |50 |56 | 16 M10*1.5P 8.8
-400 62 115 516.8| 400 | 362 | 38 |80 |100|50 |56 | 16 M10*1.5P 10.2
-BSB72-195 72 135 311.8| 195 [ 157 | 38 | 95| 100 | 60| 66 | 19 M12*1.75P 7.3
-285 72 135 401.8| 285 | 247 | 38 |95|100| 60 |66 | 19 M12*1.75P 9.6
-350 72 135 466.8| 350 312 | 38 |95 |100 |60 |66 | 19 M12*1.75P 11.6
-400 72 135 516.8| 400 | 362 | 38 |95|100 |60 |66 | 19 M12*1.75P 13.6 E
-BSB90-210 90 150 326.8| 210 | 172 | 38 |[115/ 100 |75 |80 | 19 M12*1.75P 9.7
-300 90 150 416.8| 300 | 262 | 38 |115/ 100 | 75|80 | 19 M12*1.75P 12.8 3 @
-350 90 150 466.8| 350 [ 312 | 38 |115/ 100 | 75|80 | 19 M12*1.75P 16 Dg
-BSB105-195 105 190 311.8| 195 [ 157 | 38 | - [ 100 |90 |90 | 25 M12*1.75P 11.4 7@2
-285 105 190 401.8| 285 | 247 | 38 |135/ 100 |90 | 94 | 25 M12*1.75P 15.7 E-
-300 105 190 416.8| 300 | 262 | 38 (135100 |90 | 94 | 25 | M12*1.75P 17 &
-BSB130-255 130 260 371.8| 255 (217 | 38 | 60 | 100 [{110| - | 25 M12*1.75P 141
-300 130 260 416.8| 300 | 262 | 38 | 60| 100 (110| - | 25 M12*1.75P 18
ST Features:
i © Suitable for processing uneven aperture and rough wool
OERTFAAMOAT, ERMEEZMIY embryo.
ggﬁigiﬁﬁﬁﬁﬂﬂﬁﬁﬁﬁﬂﬂ © Selects the four square brazed or throw away cutting tool.
B
ORSTRETILAE © Suitable for boring through holes.
Th Il stud must purchase alone.
AR 3B © The pull stud must purchase alone

SBSBE - @
L1 E Length(L1)
TI1F RFLEYR Diameter
Ih8

BE1XS Holder type
AR Taper size




@
=
(%)
ac
>
2
=
%)
<
%
=
m
=
)

BT30-CK BORING HEAD SHANK

D L4 =
’4—»
o
_ I I | _ _ ,li, _—| N
T| T
3 L2
B2 #£ Accessories L1
: L
e 2
»P.J19
##& Model L L1 L2 L3 L4 ) D di d2 n88% Screw E= KGS
BT30-CK1-55 103.4 55 33 22 30 5.05 46 11 19 M4*0.5P 0.7
-70 118.4 70 48 22 30 5.05 46 11 19 M4*0.5P 0.7
-CK2-80 128.4 80 58 22 31 6.62 46 14 24 M5*0.5P 0.8
-CK3-80 128.4 80 58 22 35 8 46 18 31 M6*0.75P 0.9
-CK4-70 118.4 70 48 22 39 10 46 22 39 M8*0.75P 1
-CK5-60 108.4 60 38 22 45 13 46 28 50 M10*1.0P 1.1
-CK6-60 108.4 60 38 22 55 16 46 36 63 M12*1.0P 1.2
e Features:
i © Internal tolerance is H6.

OWFLAZE H6

ORZ®BI, FFHARRE

OUHAHEBRTARSH "K' K5

OMLHERLERIEE 90 &, HREAVHISZENNENVE
OBE M EERIRLERABLEREAMIHAIKR, SBBLK
EMELARENE S

ORI ABITEE

AR RA:

$Ll E Length (L1)
O Taper No. of cutter
If

BEfLS Holder type
HEARAZ T Taper size

© The entire through hole,favors the water leakage and quakeproof.

© May use in common and the mutual capacitance in majority
"CK"Series.

© The side locks the solid screw and the key slot assumes 90
degrees,guaranteed that time the boring cutting function draws back the
knife phase.

© Because locks is solid when please do use the screw against card
oil to prevent to process the torsion to be oversized boring ,Causes the
screw deactivation to disassemble the assembly with difficulty.

© The pull stud must purchase alone.



5 O0-N-w®

-BT40-CK L J14R

BT40-CK BORING HEAD SHANK

d1
d2

L2
Bt ¥ Accessories L3 L1
g L
»P.J19
A& Model d2  {iBiR% Screw EE KGS
BT40-CK1- 75 140.4 75 48 27 30 5.05 63 11 19 M4*0.5P 1
-105 170.4 105 78 27 30 5.05 63 11 19 M4*0.5P 1.2
-CK2- 85 150.4 85 58 27 31 6.62 63 14 24 M5*0.5P 1.2
-115 180.4 115 88 27 31 6.62 63 14 24 M5*0.5P 1.3
-CK3- 95 160.4 95 68 27 35 8 63 18 31 M6*0.75P 1.1
-125 190.4 125 98 27 35 8 63 18 31 M6*0.75P 1.2
-155 220.4 155 128 27 35 8 63 18 31 M6*0.75P 1.6
-185 250.4 185 158 27 35 8 63 18 31 M6*0.75P 1.7
-205 270.4 205 178 27 35 8 63 18 31 M6*0.75P 1.8
-CK4- 85 150.4 85 58 27 39 10 63 22 39 M8*0.75P 1.45
-130 195.4 130 103 27 39 10 63 22 39 M8*0.75P 1.5
-175 240.4 175 148 27 39 10 63 22 39 M8*0.75P 2.1
-205 270.4 205 178 27 39 10 63 22 39 M8*0.75P 2.2
-250 315.4 250 223 27 39 10 63 22 39 M8*0.75P 2.3
-300 365.4 300 273 27 39 10 63 22 39 M8*0.75P
-CK5- 75 140.4 75 48 27 45 13 63 28 50 M10*1.0P 1.7
-125 190.4 125 98 27 45 13 63 28 50 M10*1.0P 1.95
-175 240.4 175 148 27 45 13 63 28 50 M10*1.0P 3
-205 270.4 205 178 27 45 13 63 28 50 M10*1.0P 3.2
-250 315.4 250 223 27 45 13 63 28 50 M10*1.0P 3.5
-300 365.4 300 273 27 45 13 63 28 50 M10*1.0P
-CK6- 65 130.4 65 38 27 55 16 63 36 63 M12*1.0P 215
-115 180.4 115 88 27 55 16 63 36 63 M12*1.0P 3.5
-165 230.4 165 138 27 55 16 63 36 63 M12*1.0P 3.85
-205 270.4 205 178 27 55 16 63 36 63 M12*1.0P 4.
-250 315.4 250 223 27 55 16 63 36 63 M12*1.0P
-300 365.4 300 273 27 55 16 63 36 63 M12*1.0P
iSI= Features:
= © Internal tolerance is H6.
OMFLAZ He © The entire through hole,favors the water leakage and quakeproof.

OEZEI, FFHAXRNE

OUHAHEBRTARSH "K' K5

OMBHEIRLSHEEE 90 [, HREFHITENNBXIE
OB B EERBRLp B LEREAMTHANT X, SBIRLF
DX AR ED 4H 5%

ONETRBITHE

S5 RA:
BT40E -H- ?
L14€E Length (L1)
ZEO$EE Taper No. of cutter
INREL S Holder type
SRS T, Taper size

© May use in common and the mutual capacitance in majority
"CK"Series.

© The side locks the solid screw and the key slot assumes 90
degrees,guaranteed that time the boring cutting function draws back the
knife phase.

© Because locks is solid when please do use the screw against card
oil to prevent to process the torsion to be oversized boring ,Causes the
screw deactivation to disassemble the assembly with difficulty.

© The pull stud must purchase alone.

m

@
=
7]
iz]
ES
5

@
=
(%)
ac
>
=4
=
(%)
<
%l
=
m
=
v}




@
=
%)
ac
>
2
=
v
<
u
=
m
=
)

BT50-CK BORING HEAD SHANK

BT. NO L4

Bt ¥ Accessories

L2
o . L3 L1
= :
»P.J19
Mg Model D d1 MiKiR% Screw  E& KGS
BT50-CK1- 90 191.8 90 52 38 30 5.05 100 11 19 M4*0.5P 3.7
-115 216.8 115 77 38 30 5.05 100 11 19 M4*0.5P 3.9
-145 246.8 145 107 38 30 5.05 100 11 19 M4*0.5P 4.4
-175 276.8 175 137 38 30 5.05 100 11 19 M4*0.5P 4.5
-205 306.8 205 167 38 30 5.05 100 11 19 M4*0.5P 4.4
-CK2- 90 191.8 90 52 38 31 6.62 100 14 24 M5*0.5P 3.8
-110 211.8 110 72 38 31 6.62 100 14 24 M5*0.5P 4
-140 241.8 140 102 38 31 6.62 100 14 24 M5*0.5P 5
-175 276.8 175 137 38 31 6.62 100 14 24 M5*0.5P 4.2
-205 306.8 205 167 38 31 6.62 100 11 19 M5*0.5P 4.6
-CK3- 90 191.8 90 52 38 35 8 100 18 31 M6*0.75P 4.4
-125 226.8 125 87 38 35 8 100 18 31 M6*0.75P 4.4
-155 256.8 155 117 38 35 8 100 18 31 M6*0.75P 4.6
-185 286.8 185 147 38 35 8 100 18 31 M6*0.75P 4.7
-215 316.8 215 177 38 35 8 100 18 31 M6*0.75P 4.9
-CK4- 90 191.8 90 52 38 39 10 100 22 39 M8 *0.75P 4.6
-115 216.8 115 77 38 39 10 100 22 39 M8*0.75P 4.8
-145 246.8 145 107 38 39 10 100 22 39 M8*0.75P 4.7
-175 276.8 175 137 38 39 10 100 22 39 M8*0.75P 5.1
-205 306.8 205 167 38 39 10 100 22 39 M8*0.75P 5.4
-250 351.8 250 212 38 39 10 100 22 39 M8*0.75P 5.8
-300 401.8 300 262 38 39 10 100 22 39 M8*0.75P
-350 451.8 350 312 38 39 10 100 22 39 M8*0.75P
ST Features:
= © Internal tolerance is H6.
OMFLAZ He © The entire through hole,favors the water leakage and quakeproof.

OEBI, FIFHAKRAE

JHAHERTASH "K' &5
OMILBERLERIEZ 90 &, HREANHSZENNENVE
OYE T EEABL MM LEEAMIANIR, SHELF
SEXELAREN A SR
OHETMHB T

AL EA:

T @LIKFP Length (L1)
O %EE Taper No. of cutter
Ihg

XS Holder type
HARAZ T, Taper size

© May use in common and the mutual capacitance in majority
"CK"Series.

© The side locks the solid screw and the key slot assumes 90
degrees,guaranteed that time the boring cutting function draws back the
knife phase.

© Because locks is solid when please do use the screw against card
oil to prevent to process the torsion to be oversized boring ,Causes the
screw deactivation to disassemble the assembly with difficulty.

© The pull stud must purchase alone.



5 O0-N-w®

-BT50-CK ##sLJ14R

BT50-CK BORING HEAD SHANK

o

BT. NO L4

L5

L2

BE 1+ Accessories L3 L1
&= i
»PJ19
MM Model d2  UiniR% Screw EE KGS
BT50-CK5- 90 191.8 90 52 38 45 13 100 28 50 M10*1.0P 5.4
-105 206.8 105 67 38 45 13 100 28 50 M10*1.0P 5.5
-150 251.8 150 112 38 45 13 100 28 50 M10*1.0P 6
-180 281.8 180 142 38 45 13 100 28 50 M10*1.0P 6.2
-240 341.8 240 202 38 45 13 100 28 50 M10*1.0P 6.4
-270 371.8 270 232 38 45 13 100 28 50 M10*1.0P 6.7
-300 401.8 300 262 38 45 13 100 28 50 M10*1.0P 7
-350 451.8 350 312 38 45 13 100 28 50 M10*1.0P 7.3
-400 501.8 400 362 38 45 13 100 28 50 M10*1.0P 8.7
-450 551.8 450 412 38 45 13 100 28 50 M10*1.0P 9.1
-500 601.8 500 462 38 45 13 100 28 50 M10*1.0P 131
-CK6- 95 196.8 95 57 38 55 16 100 36 63 M12*1.0P 5.9
-150 251.8 150 112 38 55 16 100 36 63 M12*1.0P 6.5
-170 271.8 170 132 38 55 16 100 36 63 M12*1.0P 6.3
-205 306.8 205 167 38 55 16 100 36 63 M12*1.0P 6.9
-230 331.8 230 192 38 55 16 100 36 63 M12*1.0P 7.45
-270 371.8 270 232 38 55 16 100 36 63 M12*1.0P 8.2
-300 401.8 300 262 38 55 16 100 36 63 M12*1.0P 9.5
-350 451.8 350 312 38 55 16 100 36 63 M12*1.0P 10.8
-400 501.8 400 362 38 55 16 100 36 63 M12*1.0P 9.5
-450 551.8 450 412 38 55 16 100 36 63 M12*1.0P 10.8
-500 601.8 500 462 38 55 16 100 36 63 M12*1.0P
Y Features:

E:

OMFLAZE H6

OEXEI, FIFHAXRIAE

OUHAHEBRTARSH "K' K7

OMBHEIRLSHES 90 [, HREFHITENNEIE
OPEIEERBRLEFHMBLEREAMIANT X, SHIRLF
EMELAREN A

ORI MHBITIEZ

AL ER:

¥L1 K Length (L1)
58 FE Taper No. of cutter
I

XS Holder type
AT Taper size

© Internal tolerance is H6.

© The entire through hole,favors the water leakage and quakeproof.

© May use in common and the mutual capacitance in majority
"CK"Series.

© The side locks the solid screw and the key slot assumes 90
degrees,guaranteed that time the boring cutting function draws back the
knife phase.

© Because locks is solid when please do use the screw against card
oil to prevent to process the torsion to be oversized boring ,Causes the
screw deactivation to disassemble the assembly with difficulty.

© The pull stud must purchase alone.

m

vs)
=
7]
iz]
ES
5

@
=
(%)
ac
>
=4
=
(%)
<
%l
=
m
=
v}




@
=
(%)
ac
>
2
=
%)
<
%
=
m
=
)

BT-MOD MODULAR TOOL HOLDER

FIG. 1

BT. NO

BFLIE

T ¥
IHEEX S Holder type

$IRAZ T, Taper size

E L1 Length (L1)

Z [ A/)\ Collect model

RZ2,5

D4

|=0. 007
TEE

Y RZ6,3

G2

A

L2

7

optional with Helicoil

thread set

Nominal size

FIG. 2 BT. NO ‘(ﬂ‘

Il

|

f e N
\ - fe
L3 | L2
L1
L
#H Model D1 d G1 G EE KGS
BT30-MOD060-040 88.4 40 18 22 46 60 30 M8*1.0P M5*0.8P 0.7
-MOD070-040 88.4 40 18 22 46 70 35 M8*1.0P M6*1.0P 0.8
BT40-MOD060-055 120.4 55 28 27 63 60 30 M8*1.0P M5*0.8P 1.5
-MODO070-055 120.4 55 28 27 63 70 35 M8*1.0P M6*1.0P 1.6
-MODO080-065 130.4 65 38 27 63 80 40 M8*1.0P M6*1.0P 2
-MOD100-070 135.4 70 43 27 63 100 50 M10*1.0P M8*1.25P 2.6
BT45-MOD060-065 147.8 65 32 33 85 60 30 M8*1.0P M5*0.8P 3
-MOD070-065 147.8 65 32 33 85 70 35 M8*1.0P M6*1.0P 31
-MOD080-065 147.8 65 32 33 85 80 40 M8*1.0P M6*1.0P 3.3
-MOD100-075 157.8 75 42 33 85 100 50 M10*1.0P M8*1.25P 3.5
-MOD117-075 157.8 75 42 33 85 117 60 M10*1.0P M8*1.25P 4.4
BT50-MOD060-070 171.8 70 32 38 100 60 30 M8*1.0P M5*0.8P 4.8
-MOD070-070 171.8 70 32 38 100 70 35 M8*1.0P M6*1.0P 4.9
-MOD080-070 171.8 70 32 38 100 80 40 M8*1.0P M6*1.0P 5.1
-MOD100-070 171.8 70 32 38 100 | 100 50 M10*1.0P M8*1.25P 5.3
-MOD117-080 181.8 80 42 38 100 | 117 60 M10*1.0P M8*1.25P 6.3
-MOD140-080 181.8 80 42 38 100 | 140 80 M10*1.0P M8*1.25P 6.6
NS IR EE:

module
diameter D
D2+/-0.1 44 53 63 79 96 119 150 185
D3F8 30 35 40 50 60 80 100 120

D4 31 36 41 51 61 81 101 121
D5 4.5 5.0 5.0 5.0 6.0 6.0 6.0 6.0
L1 12 12 12 14 14 14 24 37
L2 7 7 7 8 8 8 8 8
G1 M5 M6 M6 M8 M8 M10 M12 M12
G2 M8*1 | M8*1 | M8*1 | M10*1 [ M10*1 | M10*1 | M10*1 | M10*1
T 11 14 14 15 15 18 25 25

T1+0.5 3 3.5 3.5 3.5 4.5 4.5 4.5 4.5




5 O0-N-w®

‘MOD EZ=# MOD FLANGE PLATE

F16.1
ol T
FIG. 2 L
# # Model
MODO060-GSK16-48 60 40 30 6 9 58 48 10 15 44 1
MODO070-GSK16-48 70 40 35 7 11 58 48 10 15 53 1 E
MOD080-GSK16-49 80 40 40 7 11 59 49 10 16 63 1 K=
I
WP
MOD080-ER32-49 80 50 40 7 11 59 49 10 16 63 2 EA
H 5
MOD100-ER40-63 100 63 50 9 14 75 63 12 18 79 2
A& EA:

T @Ll K E Length (L1)

33284 S Collect model
A3 Fh Collect type GSK
SRR Taper size




5 0-N-w®

-BT-MOD tJ@ABEJIH (RJJEH) BT-MOD ADJUSTABLE CHUCK (REAMER USING)

L4
Y =)

D
BT. NO S

BZ 4 Accessories
# #% Model d #55EE Range  #MEREFE Collets
BT30-MOD060-GSK16 -88 136.4 | 88 66 22 48 46 40 3-16mm GSK16
-MODO070-GSK16 -88 136.4 | 88 66 22 48 46 40 3-16mm GSK16
BT40-MOD060-GSK16-103 168.4 | 103 | 76 27 48 63 40 3-16mm GSK16
-MODO070-GSK16-103 168.4 | 103 | 76 27 48 63 40 3-16mm GSK16
-MOD080- ER32-114 179.4 | 114 87 27 49 63 50 2-20mm ER32
-MOD080-GSK16-114 179.4 | 114 87 27 49 63 40 3-16mm GSK16
-MOD100- ER40-133 198.4 | 133 | 106 | 27 63 63 63 2-26mm ER40
BT50-MOD060-GSK16-118 219.8 | 118 | 80 38 48 | 100 | 40 3-16mm GSK16
-MODO070-GSK16-118 219.8 | 118 | 80 38 48 | 100 | 40 3-16mm GSK16
-MODO080- ER32-119 220.8 | 119 81 38 49 100 50 2-20mm ER32
-MODO080-GSK16-119 220.8 | 119 | 81 38 49 100 | 40 3-16mm GSK16
-MOD100- ER40-133 134.8 | 133 | 95 38 63 100 | 63 2-26mm ER40
i
o
m
M
o
)
m
A
a
—,
o Al
g SCREW ADJUST
z iR4L
5
\o\0y
g x>
J "
% [ zero Al ZERO™O0
13 kL] m
0 )
A
a
— B
=]
e Features:
OJIRMNETRAZE "0" (& © The tool tip postition can be adjusted as “0” position.
‘ N - s © The accumulated error value of the spindle,the chuck,and the tool can
O EHR. Xk, JTJTANRINHREET—RIFHRANIE all be adjusted and corrected at the same time.

AR RA:

S MODOG0E - -
L1 ¥ Length (L1)
B F A S Collect model
fa

JeFthZ Collect type GSK
IJEEAL S Holder type
SEIRAZ T, Taper size



5 O0-N-w®

-BT-EMH St B ME R JIH

FIG. 1

BT. NO

M
FIG. 2 e
e
[
- T a
B2 # Accessories | L b
- |
»P.J19 L3 L2
L1
L
# & Model L L1 L2 L3 D D1 d1 H H1 FIG M E= KGS
BT40AD/B- EMH6C- 50 115.4 | 50 | 23 | 27 | 63 | 25 6 35 | 18 | 1 M6*1.0P 1
- EMHSC- 50 1154 | 50 | 23 | 27 | 63 | 28 8 35 | 18 | 1 M8*1.25P 1
-EMH10C- 63 128.4 | 63 | 36 | 27 | 63 | 35 | 10 |355| 20 | 1 M10*1.5P 1.1
-EMH12C- 63 128.4 | 63 | 36 | 27 | 63 | 42 | 12 | 36 [225] 1 M12*1.75P 1.3
-EMH14C- 63 1284 | 63 | 36 | 27 | 63 | 44 | 14 | 36 |22.5] 1 M12*1.75P 1.4 E
-EMH16C- 63 1284 | 63 | 36 | 27 | 63 | 48 | 16 | 46 | 24 | 1 M14*2.0P 1.7
-EMH18C- 63 1284 | 63 | 36 | 27 | 63 | 50 | 18 | 46 | 24 | 1 M14*2.0P 1.7 _—
-EMH20C- 63 1284 | 63 | 36 | 27 | 63 | 52 | 20 | 48 | 25 | 1 M16*2.0P 1.8 —a
-EMH25C- 90 1554 | 90 | 63 | 27 | 63 | 65 | 25 | 55 | 25 | 2 M18*2.5P 1.8 ;%%
-EMH32C-100 165.4 | 100 | 73 | 27 | 63 | 72 | 32 | 57 | 28 | 2 M20*2.5P 2 = g
BT50AD/B- EMH6C- 63 164.8 | 63 | 25 | 38 | 100 | 25 6 35 | 18 | 1 M6*1.0P 3.3 5l &
- EMHSC- 63 164.8 | 63 | 25 | 38 | 100 | 28 8 35 | 18 | 1 M8*1.25P 3.6
-EMH10C- 65 166.8 | 65 | 27 | 38 | 100 | 35 | 10 |[355| 20 | 1 M10*1.5P 3.8
-EMH12C- 80 181.8 | 80 | 42 | 38 | 100 | 42 | 12 | 36 |225| 1 M12*1.75P 3.8
-EMH14C- 80 181.8 | 80 | 42 | 38 | 100 | 44 | 14 | 36 |225| 1 M12*1.75P 4
-EMH16C- 80 181.8 | 80 | 42 | 38 | 100 | 48 | 16 | 46 | 24 | 1 M14*2.0P 4
-EMH18C- 80 181.8 | 80 | 42 | 38 | 100 | 50 | 18 | 46 | 24 | 1 M14*2.0P 4.2
-EMH20C- 80 181.8 | 80 | 42 | 38 | 100 | 52 | 20 | 48 | 25 | 1 M16*2.0P 4.2
-EMH25C-100 201.8 | 100 | 62 | 38 | 100 | 65 | 25 | 55 | 25 | 2 M18*2.5P 4.6
-EMH32C-105 206.8 | 105 | 67 | 38 | 100 | 72 | 32 | 57 | 28 | 2 M20*2.5P 4.7
-EMH40C-120 221.8 | 120 | 82 | 38 | 100 | 90 | 40 | 68 | 32 | 2 M20*2.5P 49

AR RAR:

BT40AD/BIE - @
L1 Length (L1)
12 A\ Collect model
I

BEXS Holder type
AR Taper size




m

@
|
%)
I
>
z
=
%)
=<
\
=
m
=
]

@©
=
7]
Liz]
#
5

5 O0-N-w®

‘BT =RHERTI=H

BT THREE-POINT COMBINED TOOL CALIBRATOR

L1
L
] L2 ‘
ik ® (eSS ENERED
A& / 215 Model D D1 D2 L L1 L2
BT30-ATC 31.75 46 16 49.4 21 110
BT40-ATC 44.45 63 20 66.4 26 135
BT50-ATC 69.85 100 25 103.3 36.5 145




5 O0-N-w®

BT Z#TI#H

-JIRERE

BE # Accessories

FIG.1 NERETR

TOOL SYSTEMS TRANSFORMATION SET

1}

y FIG.2 I HIETRY
M..f:!: 3 PN<HIETE
»P.J19 » P.J26
#ig / 215 Model BTLNO  bt.no L L1 D D1 d1 d2 G FIG
BT60-BT50-58 (NN4CHITR! ) BT60 | BT50 220 58 155 | 107.95 | 69.85 135 M24 2
BT60-BT50-58 (W EIRFTH ) BT60 BT50 220 58 155 107.95 | 69.85 135 M24 1
BT50-BT40-45 (f0i<HisTHE!) BT50 | BT40 150 45 100 69.85 | 44.45 90 M16 2
BT50-BT40-45 (N ERFTH) BT50 | BT40 150 45 100 69.85 | 44.45 90 M16 1
BT50-BT30-45 (WEIRFTR) BT50 | BT30 150 45 100 69.85 | 31.75 75 M12 1
BT40-BT30-36 (N EIRFTR) BT40 | BT30 102 36 63 44.45 | 31.75 62 M12 1
#ig / BS Model SK.NO  sk.no L L1 D D1 d1 d2 G FIG E
SK60-BT50-58 (fIi<HI$TH! ) SK60 BT50 220 58 155 107.95 | 69.85 135 M24 2
SK60-BT50-58 (BRI ) SK60 BT50 220 58 155 107.95 | 69.85 135 M24 1
SK50-BT40-45 (NIKHI§TR) SK50 | BT40 150 45 97.5 69.85 | 44.45 90 M16 2
SK50-BT40-45 (IEIRETHE) SK50 | BT40 150 45 975 | 69.85 | 44.45 90 M16 1

@
g
)
I
>
z
=
%)
=<
%)
=
m
=
vl

vs)
=
7]
iz]
ES
5

Bz 4 Accessories
: L2 L1
w2 L
»P.J19
#;Ag / BS Model BT.NO bt.no L L1 D D1 di (€] K
BT40-BT40-80 BT40 BT40 145.4 80L 68 44.45 44.45 M16*2.0P 8
BT40-BT40-120 BT40 BT40 185.4 120L 68 44.45 44.45 M16*2.1P 8
BT40-BT40-150 BT40 BT40 215.4 150L 68 44.45 44.45 M16*2.2P 8
BT40-BT40-200 BT40 BT40 265.4 200L 68 44.45 44.45 M16*2.3P 8
BT50-BT50-120 BT50 BT50 221.8 120L 103 69.85 69.85 M24*3.0P 12
BT50-BT50-150 BT50 BT50 251.8 150L 103 69.85 69.85 M24*3.0P 12
BT50-BT50-200 BT50 BT50 301.8 200L 103 69.85 69.85 M24*3.0P 12
BT50-BT50-250 BT50 BT50 351.8 250L 103 69.85 69.85 M24*3.0P 12
BT50-BT50-300 BT50 BT50 401.8 300L 103 69.85 69.85 M24*3.0P 12
BT50-BT50-350 BT50 BT50 451.8 350L 103 69.85 69.85 M24*3.0P 12




5 O0-N-w®

‘BT40-HSK (532 E (N EWHZ )  BT40-HSK CONVERSION SLEEVE(BUILT-IN SCREW)

FIG.1
MAS. BT /ﬁ )

o

\
\
1!
:)
63
|
\
M18%*1

L3 L2
L1
L
D
FIG.2
MAS. BT
[N 725, 0|
_ R B | e W I I =
L3 L2
L1
L
#t& Model L L1 L2 L3 D D1 T FIG E= KGS
BT40-HSK63C-60S 125.4 60 33 27 63 63 M18*1 1
E -HSK50C-30S 95.4 30 3 27 63 50 M16*1 2
-HSK40C-30S 95.4 30 3 27 63 40 M12*1 2
-HSK32C-30S 95.4 30 3 27 63 32 M10*1 2

A& ER:

BT40 B - - _ ?
R E B Z Built-in screw
L1 FE Length (L1)
$ZMO K/ Collect model
Ihd

BE{LS Holder type
AR Taper size

@
|
%)
I
>
z
=
%)
=<
\
=
m
=
]

@©
=
7]
Liz]
#
5




5 O0-N-w®

-BT50-HSK #iRE (RERZ)

BT50-HSK CONVERSION SLEEVE(BUILT-IN SCREW)

FIG.1 D
MAS. BT 3 Z
J ©
| s 5 o
a S
— — =
L3 L2
L1
L
D
FIG.2
MAS. BT
M20%1. 5
= [ ] -
[ H f-» | =
I - — — T - — (=)
L3 L2
L1
L
FIG.3 D
1
MAS. BT 3
E
] N N I I S
E
Wo
5l &
13 4z
L L1
##& Model L2 L3 D D1 T FIG EE KGS
BT50-HSK100C-95S 196.8 95 57 38 100 100 | M24*1.5 1
-HSK80C -50S 151.8 50 12 38 100 80 M20*1.5 2
-HSK63C -40S 141.8 40 2 38 100 63 M18*1 3
-HSK50C -40S 141.8 40 2 38 100 50 M16*1 3
-HSK40C -40S 141.8 40 2 38 100 40 M12*1 3
-HSK32C -40S 141.8 40 2 38 100 32 M10*1 3
AL BE:
? FWE&%Q Built-in screw
L1 #EE Length (L1)
2K\ Collect model
IHEEfLS Holder type
AT Taper size




5 O0-N-w®

‘BT E (NWEXEZHEIT) BT CONVERSION SLEEVE(CLAMPING CARTRIDGES)

FIG. 1 D .
: ala
F1G. 2 D
MAS. BT
a3
A L L1 L2 L3 D D1 D2 FIG =
BT30- HSK32C-40C 88.4 40 18 22 46 37 32 2 0.8
- HSK40C-40C 88.4 40 18 22 46 45 40 1 0.9
= BT40- HSK32C-40C 105.4 40 13 27 63 37 32 2 1
é - HSK40C-40C 105.4 40 13 27 63 45 40 2 1.1
:ﬁ - HSK50C-50C 115.4 50 23 27 63 55 50 2 1.2
3 - HSK63C-70C 135.4 70 43 27 63 70 63 1 1.4
BT50- HSK32C-50C 151.8 50 12 38 100 37 32 2 3.5
- HSK40C-50C 151.8 50 12 38 100 45 40 2 3.7
- HSK50C-60C 161.8 60 22 38 100 55 50 2 3.8
- HSK63C-60C 161.8 60 22 38 100 70 63 2 4
- HSK80C-60C 161.8 60 22 38 100 87 80 2
-HSK100C-90C 191.8 90 52 38 100 110 100 1 6
MR BLER:
- N - - - ?
T T ? B F X IT Clamping cartridges
L1 Length(L1)
0K\ Collect model
IHEEfLS Holder type
HEMRAZ T Taper size



